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LGwhitwjut qunuthwupatp

Uwullwlul woéwbhgywmidtpny nhdbtptghw; hwjwuwpnid (wjunithbnm
hwjwuwnnid) Ynyynid £ wyylh hwjwuwnnidp, npntn wtthwjmnp dthhg wdth
hnthnppwwih $nidlyghw k' Lhn npnid” wyl whwmp ' Fuwbu wwupniawyh
wihwwm $niLighuyh by yud dh pwth dwubwljuld wéwbhgyu; L Junpnn k
wwnniiwlb wmijuh thnhnhuwjutbtnd ni npntbh $nitayghwti:

Cwyjwuwnnidn Ynyynid Em -pn Jungh, Geb tpu Uty twubwlgnid E npnbbkih
PIniLiyghuyyh wniyuqh dty =m -pn yupgh dwubwlywud wéwbgjw), hul m-hg
punpdp jupgh wowtgyutip s64 dwutwlgnid:

Swljugwéd hwjwuwnnid n1tth

) Ol o
Ory Oxy” 7 0w, 0281025 .. Oz’ )

wnbupp, npntn ¢ $nitjghwtt juw E unmtindmd z,z,,...,z, wiljwphn thnthn-
hhwwbttnh, u(zq, xe,...,z,) npnith $nityghuwyh L tpw wowbgyubtinh thel:
Wuwmbn o = (aq, ag, . .. ) Yamnp £, nph punuinnhgbtipn ny puguuwjut wdpnng
pPUbn GO, o =a;+as+ ...+ a, <m, m-n huwjuwuwunpdwd jupqgb k:

Wunithtn « Pniblyghuyh dwulwjwt wowbgjwibtinh hwdwp YJogumw-

gnnottp Gule
ou 0*u

Ugix; = 73 o
3951-’ v 8951836]

Uy, =

towhwlnidtutpn:

Cwjwuwnnidp Ynyynmid k' gowght, Gpt ¢ $nityghud gbébnptl E juhugwo
u-hg W tpw woéwbhgyubitiphg!: Wuwhu, tpynnpn yupgh gduwyht hwjwuwpdwd
nnhwbinip mbupt &

ZZCLU( uxx]—l—Zb T)Uy, + c(x)u = f(x):

i=1 j=1
Wjuwmbn = = (z1,29,...,2,), u(z)-p wlhwwm Pnibyghwd L aj (x), bi(z), c(z)
Pnruyghwtiinn Ynypynmid G hwjwuwnpdwd gnpéwlhgbtipn, f(z) $nrtljghuts
Unpynid F wquum winud jud we dwu: Gphb f(z) = 0, wmyw gdéuyghlt hwjw-

"'Yuwutlp, np & +m hwwn hnthnfuwwabtnhg Yuhaqud Gty ta, . . ., te, y1, Yo, - - - Y ) SnLUYghwl
(k>0, m>0 wdpnne pytp tb) gdbuyhl £ y1,ys,...,9» hnthnpuwlwmtbbpnh tundwdp, Jud

gonntl E ywhudwiod yi, 9, - - ., ¥ thnthnhuwwbttinhg, tet wyt nith

m
Gltita, oot y1,Y2, - Ym Zaz tiyta, .oty +b(t, b, te)
=1

wmbupn: o; Pnralghwbitipn Ynyynid G gnpéwmljhgtitn, hul 4-° wmqum winuy: Gphk b = 0, wyw
G -0 Ungnid F hwdwutin gduyhtt $nruiyghw:



uwnnidp Yngynid E huwdwutin:

<tbmwgqunid Yhwdwptlp, np pwpanp Jupgh woéwbgywibtnh gnpoéw-
Uhgitiphg Yuquqwd A(z)=[a;(z)||?,—; dwwphgn uhdbwphy b Ppnp, hwpyh
wntbny, np Jht,Lb tpypnpn Juwngh wbpinhwnm woéwbgyu nibtgnn
PniLuyghwmttinph tpypnpn Ywpgh “huwnp” dwubwljut  wowbgwbtpn
hwjwuwp G ., =t,,,,, YniLittwbp

n n " - Qi \T +aji x
Zzaij<x>uwiwj = ZZ @) 9 (@) Ugiz;

i=1 j=1 i=1 j=1

htmliwpwn A(z) fwwnphgn dhpm Junptih £ thnpuwunphtig
aij(z) + aji(z) ||

S(A(@) + A7 (x)) =
2

ij=1
uhutiinnhly Ywnnhgny, wnwbtg thnpubjni hwjwuwnpnidn:
Gprt @ $niilghwd gonptt E juwhujwéd npnibih $nidyghugh wdkbwpwnan

m-nn. Junpgh wéwtgjwtbtnhg, wyw hwywuwnpnidp Ynyynid £ pyughgoéwht:
Gnunnnn yupgh pyughgéwyhft hwjwuwpdwd pnhwinip mbtupt £

Z Zaij(x, Uy Ugy s Ugys - - - 5 Uy, ) Uy, + F (T, U, Uy, Uy - ooy U, ) = 0
i=1 j=1
Gpt pyuqghgdéuhtt hwjwuwnpdwt vty wdbbwpwpdn Ywpgh wéwtg-
jujttinh gnpoéwyhgbtinn yuhudwo Gt vhwyyt wtuwh hnthnhuwjwbtttphg, wyw
wl Ungynmid £ Jhuwgoéwht hwjywuwnpnid: Ophtwl, Gpyni (z,y) wtlupa
thnihnpowjwtbtnh nbwpnid Gpypnpn yungh JYhuwgdéuyghtt hwjwuwnnidp
Uniutim
a(z,y) Upy + 2b(2,y) gy + c(2,y) uyy + F(x,y, 0, Uy, uy) =0

wmbiupn:

“thgnip Q-0 » ;uthwth R* Hyhntuywld nmwpwénipjul npllk mhpnype E
(pwg quwuwlygywd pwqunipynit): Ywublp, nn u(zq,x,...,z,) dnrughwb
hwywuwndwb niénid k£ Q mhpnypnid, tpt wjt wyn mhpnypenid

* npnpywud b wtptnhww L.

e gqnnipjnit mbkt U whpnhwunm GO wb woéwbgwbtipn, npnbp
dwublwlgnid G hwjwuwpdwbn.

* mbtnunntny hwjwuwpdwbd dte™ umwgynid b Gnybnipnid wilwhu
thnhnhpiwjwtbbnh Gundwudp Q mhpnypenid:

Phnipjul Uty wmbtnh nitbgnn wpngbubbph niunidbwuhpnipinitn
>umn nbtwptpnid pbpynid B dwubwlwt woéwbgyuttpny nhdtnttghug
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hwjwuwnpdwh nronidttn gnitmne pinpht. nw E wwwmwnp, np wyn hwjw-
uwnnidttipn Ynggnid G bwle fwpbdwmhiuywut $hghjugh hwjwuwnniditin:

Cwujwuwndwt pninp nudnidatiph puqunipinitp Yngynid E pnhwbnip ni-
6n1d: Ophtwl, v, = 0 hwjwuwndwt nnhwinip nidénidp mpynid Eu(z, y) = g(y)
pwtwdaliny, npumtin ¢(y)-n judwywujud wininhwn $niuyghw k:

Gprt unynpuwl nhdtptighw; hwjwuwpdwl phnhwbinip nidénidp
wwnnibwlnid £ judwyujut hwunmwmnibttp, wyw dwutwljut wowbgywi-
ttnny nhdtptiighw; hwjwuwnpdwt pinhwinip jnidnidp wwpnibwlynid b
Judwywwt $niayghwtitin: m-nn junpgh hwywuwndwt pnnhwbtnip ;nionidn
wwnnibwlnid £ m hwunm judwyulut $nitlghw, npntghg jnipupwbtyniph
thnthnhuwwbdtph pwbwyp dbtyny wwlwu E npntih $nityghugh thnithn-
hwjwutbtnh pwtwyhg: Gipwnpynid £, np wyn $nibtyghwbtinp pujujubw-
suith nnnpl Ga:

2

Ophtiwlyy 1: Lnidlh = 2? —y hwjwuwnpnidn:

oxdy
Lnidnid: Ghpyuwjwgtttp hwjwuwpnidp

0 /0u )
22

mbupny: Gwhi hmbgptip we b awhu dwubkpp puwm y-h°

ou ) ) 1>
5= @ —ydy =2’y - S+ Ae). oD Gudwuluh $mblghw k
jdd umnwugywon htmbtgptlp pumn z-h

2y oyl

u(z,y) = 5 = 7+f(93)+9(y) :

Wuwmtn f(z)-n b g(y)-n yudwwlwd nhdtptighih $niuyghwbp G (f(2)-n
fi(2)-h Gwhbwuh b):
7y Yz

Muunuuhiw@” u(z,y) = - 5 f(x)+9g(y):

2

ou
=2 — hwjwuwpnidnp:

OphGwly 2: L[nioh 9oy~ 2 os

Lnidnid: <wyjwuwnnidp dhpluyugtbtiip



wmbupny: hhmbgptiny we UL dwhu dwubtpn pum z-h, jumwbwip”

ou
dy

nnp, bt hwdwnpbktp z-pn wupwdbmn, wnweohtt yungh gdébuyhl unynpujwut
nhdtiptbghw) hwywuwpnid E: Lniottp wyt hwumwwmnith yuphwghwjh
tnwiwyny: <wdwwwwwuhiwld hwdwubn' v, —2u =0 hwjwuwpdwbd
nnhwbtnip n1én1dh nitth

uo(z,y) = hz)e®

wnbupp, npmtin 2(z)-n judwwlut $nibyghw E: Wahwdwutn® (1) hwjw-
uwnuiwl niénidn thhwmnpbtp

u(z,y) = z(x, y)e?

wmbupny: z(z,y) dnLyghwul qumibint hwdwnp mbnunnbtop (1) hwjwuwp-
dwb dte
0z

7 -
npntinhg, htmbgpbny pum y-h, yunmwbwip z(z, y) $niiyghw’

g1 (y)6_2y7

z(z,y) = g2(y) + f(2) :

Wuwbn g(y)-n, npwbu g(y)e? Guluwyuld $nidighuh twhibwyws,
Judwywwd nhdtnpthghih $nLiyghw k: Yyuwyhuny'

u(z,y) = (f(2) + g2(y))e® = f(x)e* + ga(y)e® = f(x)e* + g(y) :

Muuwuhiw@”™ u(z,y) = f(z)e® + g(y) :

luanhpatp

Mungly, htwlyw) hwjwuwnnipnitibnd wpnyn®p fwubwuid wéwmbgyuib-
nny nhptiptiighw) hwjwuwpnidtbp Gh: Gph wn, wyw n’n Jupgh.

1. cos(u, + u,) — COSu, COSu, + Sinwu, Sinw, =0 :

0
2. — tgu—u,sec’u—3u+2=0:
Ox

3. In |ugptiyy| — In g, | — 10 Juy, | + vy +u, =0

7



10.

11.

12.

13.

14.

15.

o 2 (uy — 2u) Ugy —

. uxuiy + (ufm — 2u:2cy + uy)2 —2zy=0:

(upg —2u)> — 2y =0

Ay
0 2
. 2umumy—a—y(um—uy) — Uy Uy + Uy =0
0 .
. 3uy 3_3/ In |u,| + sinu — 3uy,, = 6u, :
0 ; 62 Uy )
. —C = — :
ox gutbu cos2u—1+xy

. 4sin® (u, + 3u,) + x4+ y = u® — 2008 (2u, + 6u,) :

Mupqtl), htwlyw] hwjwuwpniditiphg npn®tp &4 géwyht (hwdwubin
Jwd wthwdwutin), L npnlp ™ ny gduyh@t (pyughgdwyht).

uxuiy—i-quuyy—Bxyuy —u=0:

Uy Ugy — 3T2 WUy + 2uy — f(z,y)u=0:
2sin(x + y) Uyy — T COSY Uyy + YU, —3u+1=0:
T2Y Ugy + 267Y? Uy — (22y? + Dtgy —2u=0:
BUgy — 6 Ugy + Tuy —uy +8x =0

Ugy Ugg — SUyy — 6T Uy +2Yyu =0 :

16. a(z,y)uss + b(@, y)uay + (@, y)uyy + d(z, y)u, + e(z,y)uy + h(z,y) =0
17. a(z,y, uy, Ugy) Usyy + b(2, Y, Uyy) Uyyy + 2u uiy — flz,y)=0:
18. wpy +uy+u*—2y=0:
o
19. 2z u,, — 6 %( —ay) +uy, =0:
g 2
20. % (yuy +u2) — 2uptyy + uy — 6u =0
Cwyjwuwnnidn duwhnhuly ¢, » thnthnpuowwbabbnh.
0%u 0%u y
22 = = = —
21. x 52 Y o7 0, £ =ay, n=-:



22.

23.

24.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

0?u  0%u x Yy

_— _— = O = — = — :
0?2 * Oy? ’ ¢ 22 + y? g 2+ y?
0%*u 1 0%*u . Yy

dxdy 2xy Oy2 §=ay, =3

Cwjwuwnnidn dbwhnhubg r, ¢ plinuyht ynnpnhwwmbbnh.

0z 0z 0 25 0z 0z 0
Toy Yo o oy~
@210 82u 0 I_ h II
o2 o (Lwwjwuh hwywuwpnip) :

Uwmnigb], np gubtugwd ¢ by nhdtptughbih $niuayghwbinh ntwypnid
mnywd niighudt hmjwuwpdw jnidnid k.

0z 0z 0 ) N
Yor T oy z=p(x+y?):
10z 10z =z Y
vty Tl

0z 0z y?

IR o S _ 7 )
e 8y+y 0, z 3x—|—g0(xy).

0z 0z

2 7 T — 2 ,.2) .
Y 8x+xy3y vz,  z=ye@®—y?):

d%*u ou ou 2.2

Loy e gm0, u= e (o) + ()

0x 0y ox dy
U — a*Uz, = 0 (Luph mwmwdwd hwwuwpnid), v = ¢o(z — at) + ¥ (z + at) :

Upe — 2Upy + Uy, =0, uw=2xp(x+y)+y(z+y):

Qunit] hwywuwndwb pinhwtnip ;niénidp.

9%u 0 36 0*u 38 9%u s
d%u 0%u 0%*u ou
_ . .2 . — .



40.

41.

42.

49.

50.

51.

d%u ou 43. uy, =21

=2y —:
0y O 44. wu,, =uy,:
Pu 1 0u
8:1:8y258_y: 45. uy=r+vy:
Upy = 2 46. wu,, = 67 :
Qunit] hwjwuwpdwd wyh nidnidn,
wwydwabbnh.
d*u )
axay:ery, u(z,0) =z, u(0,y)=y*:
0*u )
oy STV, u(0,y) = y*:
0z )
By = x” + 2y, z(m,y)|y:$2 =1:
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Qniju 1
WUnwohti jupngh hujuwuwpnidatp

§1. Qduyhtt hmmdwutin hwjwuwpnid
QYhwmwpltip v = u(xq, 2, . .., z,) InLughuygh Luwmdwdp

ou ou ou
Gl(l'l,l'g, e ,.Z'n)— + &2(%1,1‘2, Ce ,l’n>— 4+ ...+ Cln<£L'1,£L'2, . 7$n)a$ =

8x1 83/12

0 (L1)

hwjwuwnniunp, npntn ay, as, . . . a, gnpoéwhgbtinp 2 € R mhpnypnid npnpywd,
wininhwwm $niLilghwttin Gt L dhwdwdwbwl qpn 60 nuntnid:

1.1 Lanhwbtnip ndnidp: (1.1) hwjwuwpdwin hwdwwywwmwuhiw-
tbgltlip uhdbwmphy wmbupny gpywuéd unynpuwwt nhdptinptighw; hwyjwuw-
nnidttinh htmlyw) hwdwljwupght.

dzy - dzy — .= 4 : (1.2)
a1 (x1, o, ..., xy)  ag(xy,T0,. .., Tp) an(T1, T, ..., Ty)
“hgnip, onhtiwy, a, # 0: Yn nbwypnid, tpt z,-p hwdwuptip wtwh thnthn-
haww, (1.2) hwdwwupgp hwdwnpdtp Yihth

del aq dl‘g a9 dl’n_l Ap—1

=2 - (1.3)

dz, an

dz, a, dxr, a,

unpudw) hwdwjwupght:

Quwjwnbh E, np Gpb ¢(z,2,...,2,) $nrughwud (1.3) (Ywd np Gnybt E (1.2))
hwdwlwnpgh hbwbgpu; B, wwyw  u=¢(@,20,...,2,) Inidlghwd (1.1)
hwjuwuwpdw@ nionmid k, b hwwnwlyn' tpbt «=¢(z,2,,...,2,) # const.
Pniughmt (1.1) hwdwuwpdwb nidmd E, wmww ¢ (21,2, ...,2,) $Pnrujghuts
(1.3) hwdwlwngh httmtgpuwy k:

Gprb a1, as,...a, InLiyghwbtinh wnweohl unpgh dwutwjwb wowbtgubtph
whninhwwm G4, wyw (1.3) hwdwlwupgd nith » — 1 hwuwm gonpkd wtwph

¢1(x1,m2, e ,IL‘n), @Z)Q(xl,l’g, Ce ,ZL‘n)7 e ,¢n_1(:101,x2, e ,l’n> (14)

htwmbtgpujtutpn: Yn hwdwpwonid Yngynid E (1.2) hwdwlwpgh pinhwbGnip
hbwmtgpw): Gpb qutdh E (1.4) pnhwinip htmtgpwp, www (1.1) hwjw-

2 4p(x1,x9,...,2,) Zconst  PInLUyghwd UYngynid E (1.3) hwdwlhwupgh hinbgpu), bph
wyn hwdwlwungh gwiugwoé z; = ¢i(z), 22 = ©2(2n), ..., Zn1 = Pp-1(z,) NLOUWE hwdwn
V(p1(xn), p2(zn)s - - - on_1(zn), z,) dnLlYghwlt hwumwwmnit k, yuhudwo ¢k z,-hg: Wn nbwypnid
(1,9, .., 7,) = c hwjuuwnpnipniap §naynid Ewnwmeht httmbgpuy:

11



uwpdwl ptnhwtnip nidénidp mpynid b

u = F(Q/Jl,wg,...,l/)n_l)

pwlwalny, npnbn F-n judwywujut wiptnhwwnm nhytintughih $nitlghw E:
Gpynt wiwh thnthnhowlwbbtnph nbwpnid (1.1) hwjwuwpnidp unyn-

nwpwp gpynid E
0z

oy
wtupny, npwbtn z(z,y)-p whww d$nidyghwt t, hul Pr,y)n b Qz,y)n
mnnpjwd pnityghwttn th: Wn nbwpnid (1.2) hwdwlwnpgn ytp £ wéynid dkly
hwjwuwpdw @t

P(z,y) % +Q(z,y) 5- =0 (1.5)

dx dy

P(a,y) ~ Qa,y)
Gprt ¢(z,y)n (1.6) hwjwuwpdwd ptnhwinip htwbgpuyt E, www (1.5)
hwjwuwndwh pnhwbinip niénidp mpynid E

: (1.6)

z=F¥(z,y)) (1.7)

pwlwalny:
Gpypwewthnpt (1.7) pinhwinip jnrodwin hwdwwwwmwupiwinid £ F

Judwyuut dPnityghuyhg Ywhuyué dwlbtplnyp, npp Yngynid E (1.5)
hwjwuwnpdwlh htmbgpu) dwjtplinype:

Onhtiwlyy 1.1: Lniok] hwjwuwpnidp.

ou ou ou

A
x8x+y8y+zaz

Lnidonid: Unynpwlwh nhdtptghw; hwjuwuwpnidttnh hwdwwwmwu-

hwl hwdiwwunpgd B
d_x dy dz

= %, Uy = % (1.8)

htimbkgpw): Cnhwinip nidénida B

Yy z
U = F(¢17¢2) = F(_7_>7
xr X
npwntin F-p tpnynt hnthnppwjuth judwywuwb nhptnpttighih $nitlghw k:
Muumuujuwuét™ « = F(g, i) :
r T

12



1.2 Unphh htnhpp: Nwhwbeynid E gt (1.1) hwdwuwpdwd wybwhuh
w(zy, Ta, ..., x,) MLOMU, npp thnhnhuowlwbbtnhg Jdtyh, ophtwl, =z,-h nplk
$hpuwd® 22 wndtph ntwpmd hwjwuwpynid E wmpywd o(zg, 20, ..., 2, 1)
whnnhwwm nhybnkbghih $nibyghuyht’

= (21,9, ., Tp1) (1.9)

|17n:a:91

Lnmiodwmd gnnipjwd hwdwp wbhpwdbtpm E, nn e, (21, 29,...,0,1,2°) # 0:
(1.9) wwydwbnp Yneynid £ Unphh jud ulgpbwubd wyuydwb:

Unphh hutinph jnionidn unbih Eunmwbtw) htmbyw) pwyjtpny.

o Stnunnl (1.4) pinhwbnip htwmtgnpuwih ke z,,-h thnpuwuptt 2°: Unwugywud

PInLyghwitinp Gwbwlty ¢y, ¢, . .., ¥p_1-n]’
(e, 22, 2, 20) = 1,
o1, 2, . o, Tp1,20) = o, (1.10)
Y1 (21,22, o, L1, 20) = Yy :

* Lnioky (1.10) hwdwlwngn z;,zs,...,7,—; thnthnhumutbtph Gyundwudp

(

€T = wl(&lu 1;27 et 7wn71)7
Lo = UJ2(1/~11, 77527 s 71/;71—1)7
L Tp—1 = wnfl(z;la 7&27 ce 72;n71) :
 Stnunnty ¢ $nirtyghuyh dbe
@(Wl(?;l, 1;2, cen 77/;n—1)aw2(7;177;27 <. 77;7171)7 .- -anl(&la 7/;2, cee ,&H)),

W thnhuwphtity ¢n, s, ¢ Pnrlyghwmbbtinn oo, ¢, 1 Prllighwil-

nny: Unwugywd

U= @(W1(¢17¢27 cee a¢n—1)7w2(w17¢2a s ,@Dn_l), cee 7wn—1(w1a,¢)27 cee 72/}77,—1))

$nityghwl Yihth Unphh putinnh nioénidp:

Gnynt thnhnpupwjwth ntuypnid wwhwieynid £ gty (1.5) hwyuwuwndwh
wy (nidnidnp, npp pwjwnpwnnid k z(zg, y) = ¢(y) yuydwtthtt: Wu nbwpnid (1.10)
hwdwlwnpgn ytp E woéynid vk hwjuwuwpdwd

l/J(ﬁo,y) = 1/} :
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Wuwmbtnhg"

y=w(¥y),
L wwhwbeynn nidénidnp Yhth
z=pw(r,y))):
Ophtuwlyy 1.2: Qb
u ou o,
Yor Yoy T %6

hwjwuwpdw bl wyt jnLonidnp, npp pujwnpwnnid £
u(2,y,2) =y +z

wwydwtth:

Lnidonid: Unynpwwh nhdtptbghw; hwjuwuwpnidttnh hwdwwwnmwu-
hiut hwdwlwngh hwmbgpubtpt G4 ¢, =y/z, o =2/ (mtiu 1.1
onhttwln): Stnunptip tpwtg dby z=2 UL unwgyud Pnityghwtitinn
whwlbip ¢, ¢o-n.

%:7;17 22&27 Jud 9227;1, 2227221

. 2(y + 2)
Nuwhwbeynn nidnidp Yihtth™ u = 2¢; + 24y = :
2(y +
Muunmuujuwull™ v = b+2) :
Ophtitwlyy 1.3: GGl 5 5

z z
hwjwuwpdwd wyb htmtgpw) dwltnnypen, npp wignidk 2 = ¢? Ynpny,
tnp = 0:
Lnidnid: (1.11)-hd hwdiwwywumwuhiwbnid b

de _ dy

y -z

wiowwnynn thnthnhuwwbdtpng hwyjwuwnnidp, nph hwbgpuh B
Y =22 +y% Stnunptlp z=0 W unwgud Pnriyghud Hwlhwybip o,
Junmwbwip' ¢ = %, npmtinhg’

Yy = i\/i :

Stnunnptiny Ynph z = »? hwjuwuwpdwd dbe W ¢-p thnpuwph@tyny »-ny,
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Jumnwbwdp wwhwieynn nioniip

z-(j:\/_> = (z,y) = 22 + 3

Muunuupawm@” 2 =22 + 32

§ 2. LYyughqgdéwhtt humjwuwpniyd
QYhunwnlytip v = u(zy, 29, . . ., z,) dnrulijghwyh Gumdwdp

ou ou ou

a1 (1, T2, Tp, U )a_xl+a2($1>$27-~->$n,u)a—x2+...+an(:v1,x2,...,:cn,u)a—% =
=b(x1, 20, .., Tn,u) (1.12)
pyughgdéwhtt hwywuwnpnidp: Glwwbhp, np Gpp o; gnpdwhgtpn W b wy

dwunp juhujwod (bt v-hg, muyw wyt goéwyhtt wmtthwdwutn hwjwuwnnid k:
2.1 Lcanhwinip ndnidp: Gt (1.12) hwjwuwnpdwh nidénidnp thhwmnpbtp

V(zy,xe,...,2n,u) =0 (1.13)

wipwgwhwym mbtupny, wwyw V $niLajghuyh djumdwdp unwgynid k

oV oV ov. oV
qowhtt hwmdiwubtin hwjwuwpnidp: Unynpuwut nhdptptiighw; hwjwuwnnid-
ttnh hwdwwwmwuhiwm® hwdwjupgb £

dxy dxo dx,, du

ay(T1, T2, ..., Ty, u)  as(x1,To, ..., Ty, u) (21, T, . T, u) BTy, T,y .o Ty u)

“Qhgnip wyl niLth » hwuwn

%(371,562, s 7$n7u)7 ¢2($1,$2, s 7xn7u)7 cee 7wn<x17x27 s 7$n7u) (115>

gonntlt wmbjwhi htmtgpubttin: Wn ntuypmid V= F(¥y, s, ...,1,) pulwualing
yupyh (1.14) hwywuwnpdwd pnhwbnip nidnidp, npntn F-p judwywuuh
nhptptoghih $nitlghwm E: Swpyh wnbbmny (1.13)-n° (1.12) hwjwuwpdw
nnhwbnin jnidénidp Ygnyh

F(h1, 92, .. ) =0 (1.16)

wipwgwhwym wmbupny: Gt hwennyh (1.16)-n nLok] «-h Gumdwdp, wwyw
Junwiwip nionudp pugwhwym mtupny’ v = f(zy, 2, ..., &)
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Gnynt wijuwhi hnthnhuwljubbtnh nbwpnid nibktp

0z 0z
P(m,y,Z)%+Q(x,y,Z)a—y :R(I,y,Z) (117>
hwjwuwnpnidn: Unynpujwut nhptptighw hwjwuwnnidttnh hwdiwwwwmwu-

huwt hwdwlwngp wyn nbwpnid Yhth'

i _dy_dz
F=0-% (1.18)
Grt
¢1(1‘7?Ja Z)v ¢2(I,y,2) (119>

PniLiyghwmdiint wyn hwdwwngh wilywht htwnbgpwidtn G, www (1.17)
hwjwuwpdwd nnhwbinip niénida

F(¢1,92) =0

2.2 Unphh htnhpp: Awhwbioynid £ gty (1.12) hwjwuwpdwd wyh
InLon1dp, npp pwywpwnnid b

:(;O(xlax27"‘axn—l) (120)

Tn=19

wwjdwtht: Yuwmbn -t mpyuo wiptnhwwnm $nijghw k:

Unphh hulinhpp niobinit hwdwnp oqumytitip (1.15) hbwmbtgpwjttnhg: “9npuw
hwdwn whwmp £

o wyn htwmbgqpudtpnid mbnunnty =z, = 22"

(

(z1, 29, T, 20, u) = 1,
¢2($1,$27~-,$n—1,$gyu) = 1;27 (1‘21)
\ Un(T1, T2, ..., Ty1, x%, u) = &n

o n1Lok] 71, 79,...,7,—1, v hnthnpuwuwbitph Gumdwdp

( ~

Xy = wl(&la&?a s awn)7

Tg = w2(1;171;27 cee ;¢n>7
(1.22)

Tp—1 = Wn—l(qulazz% CIE ,@En),
L U= w('(;lﬂ/;% cee 7'(;11)
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o mbtnunpt] unwgywd nidnidp (1.20)-h Uty W thnhownphiby o, ¥, ..., U,
dnitlyghwtiinp o1, ¢s, . .., 4, dnidlyghwdpny’

W(wlﬂﬂ% S ,wn) = @(wl(%,%; s ,wn),w2(¢1>w2> s 77/1n), e ,wn71(¢1>¢2, e ,wn)) :

Umnwgywéd hwjwuwpdwdp Ynnnpyh Unphh hutinnph jnionidp wmbpugwhwjn
wmbupny:

Gnynt thnthnpuwwth ntwpnid wwhwbeoynid E gt (1.17) hwyuwuwndwh
wl 2z = z(z,y) (nrdénLUp, npp pwjwpwpnid k

z(w0,y) = ¢(y) (1.23)

wwjdwth:
[nidnidp uvnwbwint hwdwp (1.18) hwdwlwngh (1.19) htwmbgpuwjttpnid
wmbnunptp = = 2, L pwiwuykip vnwgywodn ¢y, ¥.-ny’

wl(‘r()vyuz) - Ql;h
%(350,?% Z) = 1;27

nputinhg
{ Yy = w1(@/~)1,%52);
Z = W(?Zla 1;2) :
Unphh hutinnh nionidp, hwpdh wntiting (1.23)-p, Yihth w(@, ¢2) = pwi (e, )

Onhtitwmly 1.4: Lniodlkg
ou ou ou

hwywuwnpnidp b wnwtattwugty wyh nidénidp, npp pwjwpwupnid k

u (1.24)

u(2,y,2) = %(y + 2) (1.25)

wwydwtth:
Lnidnid: ®hwnpbiny (1.24) hwjywuwndwd pnhwinip jniénidnp

V(z,y,z,u) =0 (1.26)
wipwgwhwjm mbupny, V dnibtlghwyh Gumdwudp junwgyh
fre—tu=—=0 (1.27)

hwjwuwpnidp: Unynpujut nhdptptiighw) hwjwuwnpnidttnh hwdwww-
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mwupuwd hwiwlwungbh B

—=—=—=— (1.28)

Y1 = %; Yo = 27 V3 = % : (1.29)

npnbn F-p judwywulud nhdbpnkbghih $nibijghw k' Qwdwawyt (1.26)-h°
(1.24) hwjwuwpdwd pinhwbtninp nionidp whpwgwhwjm mbtupny Yihth
y z ou\

F(Goz) =0
hull pwgwhwjn mbtupny’

u::xf(€,3>, (1.30)
npntin f-p judwyulubh nhdtntiugtih $niLtyghw k:

Ydd gmtbtip wylh nidnidp, npp pwjwpwpnid £ (1.25) yguydwth:

Stnunntip (1.29) htmtgpwibtnnid =z = 2 b ipwbwlytip

npntinhg
y=2p, 2=20y u=2;: (1.31)
Stnunnkbp (1.31)-p (1.25)-h Ut W ¢, ¥, ¢5-n thnhuwnhbbt@ip ¢y, ¢y, 45 -0,
Jumnwbwtp
1
293 = 5(2% + 21)9)
Jud
v_1leyy Z
2;_2<2x+2x)’
y+z
2

npntnhg v =
yt+z
5

Muunmuujuwu@l’ F(%, 2, g) =0 Jud u= xf(%, 9’ U=
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52.

53.

54.

55.

60.

61.

62.

63.

64.

65.

66.

67.

68.

Lni6t) hwjwuwnpnidp.

) 282 ) 8/2_0.

(z +y)%+ xya—y— :

ou ) ou _— ou
g—(?ﬁ- Z)a—y+(y+ Z)%—
0z ) 0z )
%+(y—z)a—y—y+ z:

0z 0z
x%—l—ya—y—z.

Lniot] hwjwuwpnidp L wnwtdbwgtl] wyt jnionidp, npp pwjwnpw-

nnid E ipgywd wuwydwtithi.

luanhpatp

56.

0: 57.

58.

59.

0z 0z )
smx%Jrsmya—y_smz.

0z 0z
yzg—i-xz&—yfxy.

0z
y%—z.

0z 0z 1

\/E%Jr\/?a—y—g-

=2y(y—=z), tpp =0

ou ou
x%—kyzazo, u=uz¥, bGpp z=1:

28u Ju Ju 0
(z—v) 8_x+20_y+y$_ .U
. ) 0z 82_0 _ 2k _o.
(”)a_x”ya_y—’ z=y° Gpp v =0:
ou ou 1
Yy7—+z25-=0, u=Ilnz—- tpp z=1:
ox 0z Y
0z 0z 0 2 1 1
y2%+x8_y_’ z=z7, upp y=1:
0z
vo-=2 z=2xzy), 2=y, Gpp z=1:
x
ou Ju ou b 1
x%—ya—y—l—z&—u, u=y+z, tpp zr=1:
0z 0z 0 b ]
I'a_x‘i‘za_y—a Z=-Y,, I].p.]f— .
0z 0z 5 b ]
xa—x+ya—y— z, zZz=y, unp z=1:
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Qniju 2
Gnynnpn jupgh hwywuwpnidatph nuuwuwjupgnidnp
Juanujui mtupp

§ 1. 6pym wahwh hnthnjuwjumtaatph nuypp
QYhnwnplhtip

CL([L‘, y)uxa: + 2b<l’, y)ua:y + C(ZE, y)uyy + F(I’, yv U, uwa U’y) = 07 (21)

hwjwuwnnidp, npntn  u(z,y) whwwm $nibyghwb L, (z,y) € © € R%: Qhgnip
a(z,y), blz,y), c(x,y) gnpowyhgbtinl winiinhwwm G WL Q -h ny dh Yhwmnid
thwdwdwtwl gnn ;50 nuninid: Un hwduwuwnnidp nuuwljungynid E pumn

D(z,y) = (b(z,y))* — a(z,y) - c(z,y)
nhuphdhttwmh tpwitth: Yyuwbu, hwjwuwnnidp (z,y) € Q yhmnid Yngynid £
* hhwtppnjwwb mhwh, Gt D(z,y) > 0,
* wwpwpnjwlwb whwh, tpt D(r,y) =0,

* hhhyunwlwh mhwh, et D(z,y) < 0:

Gprt hwjwuwpnidp hhwybppnyujwt (wuwpwpnuw, Fhymwlywit) mhwh E
E C Q puqunipjul pninp Ytwmbtpnid, www wyh Yngdnid £ hhwybppnujwt
(wwnpwpnuwa, bhyunwjwt) mhuyh £ puqunipinibnid:

YJuumuwnpttp thnhnhiwwbttnh thnhuwphinid:  (z,y) thnthnpowubbtnh
thnhuwuntl Ghpdniodtiip tnn” (€, 1) whjwh thnthnhuwwbttn

E=p(z,y), n=1v(y)
pwbwalitipnny, npntn ¢,y € C*(Q),

Pz Py

= Pa Wy — PyWs 0: 2.2
b ¥, Pathy — Oyta # (2.2)

Wowhgyutbnp abbwhnhuynid G

Uy = u{fz + Un Tz,
Uy = uey + Uyty,

Uaz = Uge&; + 2uen€alls + Unylly + Uelaa + Unfaa,
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Uy = Uge&aly + Ugn(&atly + EyTla) + UnyTlaTly + Ueay + UnTlay,
Uyy = Ussqu + 2uen&yny + Unn”§ + ey + Uty

puwlwalitinny: Sknunptmny (2.1) hwjwuwpdwb ke dnp thnthnhuwjuwabtpny
hwjwuwnnidp Ynbnnith

A(ga 77)“55 + 23(57 77)“577 + C(f, n)um] + F(S? n,u, ug, un) =0 (23)
wbiupn, npuntin

A(&,m) = al(z, y)& + 20(x,y)6:8, + c(z,y)E7,
C(&m) = alz,y)n; + 2b(x, y)n.ny, + c(z, y)n3,
B(f, 77) = a(x, y)ﬁaﬂ?x + 2[)(1‘, y) (gmny + gynz) + C(-T7 y)fyny :

Whdhowljwt mbnunpnidny Junbih k gnyg mwy, np
B? — AC = (b2 - ac)(gxny - fynx)Qv

hul nw Wwhwlynid Lk, np thnhnppwwttbtnh thnppwphtinid juwmwnbihu
hwjuuwpdwtt whwyn ¢ thnhuynid  (hyuphwtn E abwhnhunipjub
ayuwundwdp):

Yuwuklp, nn (2.3) hwjwuwpnidh nith jubntwlwh mbup, tpb wyh nith’

* hhwbtppnjulwl wmhwh nhwypnid
Uey + F(E,m,u,ug, 1) =0 Gl wge — wyy + F (&0, u, ug, upy) = 0

wbiupp,

* wwpwpnjuiwi mhwh nbwpnid
uge + F(&,m, uyue,uy) =0 Quad  u,, + F (€0, u,ue, u,) = 0

wbiupp,

* hhynwlwl mhwh nbwpnid
U’§§ + u’]”] + F(§7n7 U,U§, uﬂ) = 0

wmbtiupn:

QYhunwnplhtip
a(x,y)(dy)? — 2b(z, y)dxdy + c(z,y)(dx)* =0 (2.4)

unynpwljul nhdtnttighw; hwjwuwnpnidp, npp Yngynid £ (2.1) hwduwuwndwd
pinipwanphsiiph (Qwd pbnipwagnhy) hwywuwnpnid:  (2.1) hwjwuwpnidp
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Juwintwjuld wmbtuph ptpbint hwdwnp wbtwmp E Juqdly (2.4) phnipwqgnphy
hwjwuwnpnidp, npp mpnhynid E Epyne hwjwuwnpnidabph®

Yy — (b+ M) dx =0, (2.5)
y—(b—ﬂ)dxz(): (2.6)

Gunithtml. wtwmp £ gl upwtg punhwbnip htmbgputtpn L pum npw
nnnpt]  thnthnhppwwtbbtnh wybwhuh thnhowphbinid, npnd hwjwuwnnidp
Uptindh  Juintwlwb wmbtuph: Luliwunlytp nbtwptphg jnipupwiynipt
wnwtaht-wunwtah:

w)<hwbppnjwlijwd mhwyhhwJwuwpndabp b —ac>0:
Wu nbwpnid (2.5) W (2.6) hwjwuwpnidbbtnh pnhwinip htwnbgpuwttnh
hpwiwd Gt L dhfjwbghg mwunpbp® ¢(z,y)=c W ¥(z,y) = ¢: Oqgmmugnndtiny wju

httmbtgpuytitpp, ttpdniotip tnn (€, 1) hnthnpjuwwbtitn § = p(r,y) W 9 =Yz, y)
pwlwalbnny: Ynwbtu Jupytny jumwbwbtp® A, n) = 0, C(&n) =0, L hmjw-
uwnpnidn Yptpyh jutntwljud mtuph’

Ugy + F(fanﬂ%u@un) =0 (27)

Grt junwuntip hnthnhupwlwtbtnh

&+ _&—n
o= SN

thnhuowuphbnid, wmuyw®

1 1
Ug = 5(% +ug), Un = 5(% —ug), Ugn = Z(Uaa - uﬂﬁ)a

L mbnunnpbnyg (2.7)-h ke, jumwbwip”
Uga — U + Fl(a767u7uaauﬂ> =0:

Gt yngynid £ hhytppnpuijut mhwh hwjwuwpdwt tpipnpn jubtntwut
wmbiup:

pPpAwpwpnjuwjwi mhpyhhwjwuwpndabpn b¥®—a=0:
Wu nbtypnid (2.5) b (2.6) hwjwuwpnidbbnn hwdpaybnid G4, b ynibktwbp
thwy@ Uty ninhwtinip hbwmbgpwy o(z,y) = ¢: Ywumwpkop

E=p(z,y), n=1v(y) (2.8)

thnthnhuwwbttnh thnhuwuphtinidp, npumtin ¢ (z, y)-n Gpnint wbquyd wininhwn
nhdtintbgtiih wytwhuh $nLtyghw k, np mtinh n1th (2.2) wuwydwtn (unynpupwn
punniiymid b y(z,y) = 2, tpl ¢, #0 ud ¥(z,y) = y, tpht ¢, # 0): Wu nhiypnid
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hwjwuwnnidp ptipynid £
Uy + F(ﬁ,n,u,u§,un) =0

Juintwlwbh mbuph:

gFEFEjlhyumwjwid mhyhhwyjwuwpnidbp v*—ac<0:
Wu nbwpnid (2.5) W (2.6) hwjwuwpnidbtnh pnhwinip htwnbgpuwbtpp
Undybpu hwdwnid G

g0<$»y) + Z¢(I,y) =C,
o(x,y) —ip(z,y) =c:

Gprt ninhwtnip htmtigpubtinhg dtyh hpwwt dwunp yingutip npwtu &, hul
ytno dwup npwtu »°

fZQO(ZE,y>, ﬁ:¢($’y)7

www hwjwuwnnidp Ypbpgh
Uge + Uy + ﬁ’(é,n,u,ug,un) =0

Juwinttwwuh mbtuph:

Yh nbwpnid, Gpp hwjwuwpdw@ gnpowlhgbttnpn hwunmwwmnibtbn
L, Ywintwliwt wmbtuph ptpbinig htwmn Ywpbtih E Juumwpl] hbmwugu
wwngbgnidbtn: Wuwtu, Gt hhwnptip wthwm $niayghwub

u(€,n) = (€, n)

wmbtupny, wwyw Gnn’ w(&n) Pnityghuwgh Gumdwdp hwjwuwnpnidp Gnphg
UniLttittw Jubntwlwh wmbup: Pwgh npwbhg, hwdwwwwmwupwd alny
nowmptingd A W ¢ wwpwitwmptnp, Junbh £ hwtgl hwjwuwupdwt, nph dbye
pugwljuytl wnweohtt jungh wowbagyuttinp, Gebt hwjwuwnpnidt fhymwliwut
Jwd hhuytppnuwb mhwh E, jwd npnitih $nitlghwd ni wnweohlt yungh
wowtgjutiphg npuk dtyn, tebt hwjwuwpnidp wwupwpnjujud mhwh kE:

Gpptidt juintwlwl wmbuph pbptinig htwmn hwjwuwpnidp hbwpwynp
E' jhbnid wpnhb] unynpuywtt nhdtptbghw; hwjwuwpnidttnh: w
towtwlynid E, np plnipwanphy; Ynpbtph ypu dwuttwjub wowbgubtpny
nhytnptighw; hwjwuwnpnidp ybp E wéynid unynpuljumb nhptptbghug
hwjwuwpdw@: Wn unynpuljubl nhdbpbghw; hwjwuwndwd nidénidttipn
gunibinig htmn W Ybpunwnwiny hht thnhnhuwlubtbtphtt™ Junwbwip
dwutlwul wowbgwbipny nhdtintbghw; hwywuwpdwt phnhwbnip
nLonidp: Cunhwinip nionidp qubbint wyn dlip Yngynid E punipwugnphgiinh
Ubtipnn:
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Ophtuwly 2.1: A2bphb juintwlwd mbtuph.
2Upy + gy + Uyy + Tuy + 4wy —2u =0

Lnidnid: D=1/4>0, htmbwpwnp hwjwuwnnidp hhytppnjujwut mhwh k:
Qubttp 2(dy)? — 3dzdy + (dz)* = 0 pnipwagphy hwjuuwpdwh pnhwbnin
htnbignuitinp
[2dy:dx, N [2@/—96:0,
dy = dx,

y—xr=c:

Jdtpghblp ¢ =2y —x, 7=y —2z: NLUkUp
Uy = Uy + UpTly = —Ug — Uy,

Uy = Ue&y + Upy = 2Ug + Uy,
Uz = (—Ug — Up)y = —(Ugebs + Ugnn) — (Uneba + UnyTla) = Uge + 2y + Upy,
Uy = (—ug — )y = —(ugely + veyty) — (Unely + tnyTly) = —2uee — 3ugy — iy,
Uyy = (2ug + up)y = 2(ueeby + ugymy) + (uneSy + Unyny) = Qe + dugy + Uy :

Stnunnptny hwjwuwnpdwh dhe®

2(uge + 2ugy + upy) + 3(—2uge — 3ugy — uyy) + duge + dugy + upy+
+ 7(—ue — uy) + 4(2ue + u,) — 2u =0,

L Juwmwpbny ddwd winuibtnh dhwgnid® Jumwbwip Juinbwlwh
wmbupn:
Muunwupaw@™ g — ue + 3u, + 2u =0, E=2y—a, N=y—x:

Ophtuwly 2.2: PAPbpt juintwlwuwb mbuph.
Mgy — OUgy + Uyy + 10U, — 15u, — 50u + 2 — 2y =0 :

Lnidnid: D =9-9=0: Qwjuwuwpnidp wwpwpnjujud mhyh k: ~Atni-
pPwdnhy 9(dy)? + 6dzdy + (dz)* = 0 hwjuuwndwd pnnhwanip htmtgnpuyh B
3y —x = c: dipgutlp

=3y + x, =1, =3, x

'3 Yy _ 3 &y J — § &y _ 13 =340
n=ux: Ne =1, 1my, =0: Ne My 10
Nniakop

Uy = Uy + UpNy = Ug + Uy,

Uy = Uy + Uyt = g,
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Ugy = (uf + Un)x = (ufgfx + ugnnx) + (ufn&c + unnnx) = Uge + 2“6?7 + Uy,
Uzy = (3Ug)z = 3(uges + UgenTz) = Suge + 3ugy,
Uy = (Bug)y = 3(ueely + ueyny,) = uge

Stnunnptny unwugywd wowbgyuiiipn hwjuwuwnpdwd dke
Q(U& + 2u5,7 + u7777) - 6(3%55 + 3“577) + 9U§§ + 10(“5 + Un) —15- 3u5 —50u+x — 2y = 0,
W hwpyh wntny, np =z =17, y=(£—n)/3, Junwlwip juintwljuh ntupn:

. 35 10 50  5p— 26
Muunuuhim@™ v, - Ut gun— gut —p—=

Ophtwly 2.3: A£bpt] juintwlwb mbtuph.

0, E=3y+z, n=u:

(1 + 2y + (14 y*)uy, + Uy + yuy, —2u=0:

Lnidnmid: Lhnipwgnhy hwjwuwnpnidd B (1 + 22)(dy)? + (1 + y?)(dz)? = 0 :
Lwlh nnp

D=0-(1+2*)(1+y* <0,
www hwjuwuwnpnidd fhymwlwd mhwh E R2-nid: Qmbbip pnipwqgnphg
hwjwuwnpdwb pinhwtnip htmbgpun: NiLakap

(1+2%)(dy)* = —(1+y*)(dz)*

Jud
dy - dx

4 :
V1+y? ' V1422
hiwmbtgnptip we L awpu dwubtipp

In(y +/1+4+y?)xi-In(x+V1+22)=c:

Ywwmwnbkip thnthnjuwwabtnh thnpupwuphbnid®

{fln(er\/Ty?), N YT T

n=1In(x + 1+ 2?), 1 B
771 - m? 77y -
Qupytiip woéwtgywttipn.
1 1

Uy = ugfx + Unnx - \/7 U/n’ uy = uéé-y + unny =T
1+ a2 V14 y?
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1 1 Y
Uy = u = 5 Ugg — —F/——= Ug :
! (m §>y R (ETOE

Stnunnptip hwjwuwnpdwh dbe®

T Y 1
Uy + Y

1
Upy + Uge — —F——= Uy — Ug + T———= —
KV T+ i+ V1492

Muunwuhaw@™ v + u,y, —2u =0, E=In(z+vV1+22), n=In(y++/1+y?):

ug—2u=0:

Ophtuwly 2.4: PA£bptb juintwjwub mbtuph.
TUgy + Ylyy + 2uy + 2uy =0 :

Lnidnmid: LOnipwgphy; hwjuwuwpnmidd B 2(dy)? + y(dz)? =0: D = —xy:
w) NMwpwpnjuwbh mhwh E, Gpp 2 =0, v # 0, Juinbwlwh mbupp

2
Uyy + g(ux +uy,) =0,

W bpp y =0, 2 # 0, jwintwljud mtupnp’

2
um—i—g(uz—i—uy) =0:

p) <hwbtppnjuywld whwh L btpp >0,y <0 (IVpwnnpny), W btpp
x <0, y>0 (Il punnpn): Unwwip juintwwh wmbupp, tnp =z >0, y < 0:
Pinipwagnhy; hwjwuwnnidhg

dy — Vxdx
xdy = —/—xy dx, N NN
xdy = /—xy dx, dy Vadx

Vi
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hhwmtqgptip”

[—2\/—_:—2\/5‘1‘07 = \/—_y—\/E:c,

—2\/—y= 2z +c, V=y+Vr=c:
Jtpgubtip
1 1
E=vmy-vE _Je=m-on ST T sy
n=v=y+VI: y=—n+&?: I
LAV N
N1ikbp

1
Uy = Uy + UpT)y = m(w7 — ug),

1
Uy = Ugly + Uy = _2—\/_—y(u77 + ug),

1 1
Usp = \/E(Uﬁ — ) + (g — 2ugy + ),
1 1
Uyy = _4y\/—_y(u§ + up) — Zy(ufé + 2ugy + tny) :

Stnunntip upwip hwywuwnpdwb dke.

1

1 1 1
m(uf — Uy) + Z(U&" — 2ugy + Uyy) — m(uﬁ + uy) — Z(UEE + 2ugy + tpy )+

RN
Vit ey

Mupghgtbny, junwbwbp Juinbwlwud mbupp’

—+ (u,,—l—u,g):():

3
Ugy + 2 (ue — §uy) =0

r
r < 0, y > 0 ntuypnid unwgynid E Gnyt Jubnbwlwuwh nbupp, bpeb
Juunwnpbttp

f = \/g - \/__Ia

n=\y-+ V-
thnthnhiwwtbbnh thnppwuphtnidn:
q) Bfhyumwliwt mhwh E Gpp 2 >0, y >0 (I pwnnpn), W Gpp 2 <0, y <0
(ITIT punnnn): Unwbwip yubnbwwb wmbupn, tpp =z >0, y > 0: Aunipw-
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anhy hwjuwuwpnida

Vidy— +i Jjdrs L 4 @
z = I = — = Il —:
pm VRS T
hiwmbtqgnptip

2Vy =22z +ec= Jytivo=c:
Ywwnmwnbiny

_ _ 2

£ =Y, )Y £,

n=+: x =’
thnthnhuwwbttph thnppwnphinid, unmwtnid Ghp htwmlyw; jutnbwlwuh
wmbupnp”

1 1
u& + um + 3(5u5 + Eun) =0:

r < 0, y < 0 nbwypnid unwgynid t Gnyd Jubntwlwbh wmbtupp, bpehb
Juumwnpbtip

5 = \/__7
n=v-z:
thnthnhiwwtbbnh thnpupwuphtnidn:

Muumuujuw i’

2
NMupwpnjuub, Gpp z =0, y #0, wuy, + ;(uz +u,) =0, Lhppx#0, y =0,

2
Ugy + E(UI +u,) = 0:
<hwbtnpnuw II, IV punnpnbtpnid (Gpp zy < 0),

3
Ugy + 5 (nug — Eu,y) = 0,

52 _ 772
II punnpnmid™ €=y — V-2, n=y+V—z,
IV punnpnnd” § = v—y -V, n=+v-y+Vz,
Elhwyumwlyw I, III punnpnatinnid (Gpp zy > 0),

1 1
Uge + U +3<—u ~|——u)=0,
133 mm ¢ £ n n

I punnpnnud” € = /y, 1=V,
III punnpnnid € = /—y, n =+ —x:
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Ophtwly 2.5: Puph juinbwlwh mbtuph L juwmwnt] hbtmwgqu wwpqgkb-
gnidbtin.
2Upy + 2Upy + Uyy + duy +4uy +u=0:

Lnmidnmid: D = —1 < 0, hbtmbwpwp hwjuwuwpnidt Ghymwwt mhuh k:
Pinipwgnhy hwjwuwnnidh £

2(dy)* — 2dxdy + (dz)* =0 Quud 2dy = (1 +1i) du,

nph htmbtgpwia £ 2y — 2 &2 = ¢: Qudwwywmwuhiw@ thnihnhuwjwbhatnh
thnpuwnphtinidp Yihtih

€:2y_$7 5:!?:_17 5}/227
=
n=ua: ne =1, n,=0:
Woéwtgjwibtnn yabbwhnhuyto

Uy = Uy + Uply = —Ug + Uy, Uy = Uy + Uy = 2Ug,

Uge = (—Ug + Un)e = Uge — gy + Upy,  Uay = (=g + up)y = —2uge + 2ugy,

Uyy = (2ug)y = duge

pwlwalitinny: Stnunnpbiny hwjwuwnpdwb dte
2(uge — 2ugy + Uyy) + 2(—2uge + 2ugy) + duge + 4(—ue + uy) +4 - 2ue +u =0,
Junwbwip jubntwljwbh mbtupn
u55+unn+2u§+2un+%u=0: (2.9)
Lbnmwgquw wwupgtgnidttph hwdwp juwmwnbtp npntth $niayghwgh
u(€,n) = XM w (€, n)
thnpuwnhbinidp: Wn nbwpnid”
ue = (Aw + we )Ny, = (pw + w,)e T,

uge = (Nw + 2 we + w&)ekfﬂtn? Uy = (12w + 24, + wnn)eAgﬂm :
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Stnunnptny (2.9) jutnbwljwd mtuph dte, jumwbwap”

(V2w 4+ 2 we + wee )T 4 (pPw + 20, + Wy )T 4 2w + we)e T+

+ 2(/“0 + wn)e)\f-ﬂm + %eAfJ“"”w(f, 77) =0:
Pwdwitip we L awhu dwutipn e*#7-h I judpwynnptiiip”

Wee + Wy + 2N + Dwe + 2(p + Dwy + (A + g2 + 22+ 20+ 1/2w =0 :
Lowmptip A L 4 wwpwdtnptint wytwytu, np w,-h L we-h gnpéwlhgutipp
nuniwd gpn’

20+ 1) =0, A= —1,
=
2(p+1)=0: p=—1:
Stnunntny, junmwtwip wt juinbwljwt mbtupn, npp sh wupnibwlynid
wnweht yjungh woéwbhgywbtin:

Muunuwuhom@’™ we+wy,—-w=0, uln) = w(éne N E=2y—x, n=1:

2

Ophtuwly 2.6: Atpb juwintwliwlh mbuph L juwmwnt] htmwqu wwupqgb-
gnidubin.
Ugy + Ugy — Uy — 10u + 42 =0

Lnidnid: D = 1/4 > 0, htmbbwpwn hwywuwnpnidp hhytppnpujul mhwh
E: Ahnipwagnhs hwJwuwpnidh |

—dzdy + (dy)*> =0 Jud dy(dy — dx) =0,

nputinhg
d = —
y =0, N y=c,
dy —dx=0: y—xr=c:

Jtpgubtip

§:y7 53;:0, fy:].,

n=y-—x: e =—1, n,=1
UniLhthwbp”

Up = Uey + UpTly = —Uy, Uy = Uely + Uptly = Ug + Uy,
Uga = (_“n)m = Upn,  Uzy = <_U77)y = Uy — Upy -

Stnunntiny hwjwuwpdwt dte i hwpyh wntbtny, np z = £ —», jumwbwip
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quintwlywd mbupnp’
Ugy + ue +uy + 100 —4(E—n) =0 (2.10)

Stmwquw wwnpgbgnidbtph hwdwp Juumwpbbp (€, n) = X w(€,n)
thnhuwinhtinidnp: <wpytip wowtgyubtinn.

ue = (Mw + we)eX T, = (pw + w,)e T

Uey = (Wey + AWy, + pwe + pdw)e s

Stnunptip (2.10) Juintwlwl wmbtuph uvbe, pwdwibkip A#-h W
hudpwynphitip’

wey + (1 + Dwe + (A + Dwy + (A + A + p+ 10)w — 4(€ — n)e” ) =0 -

A+1=0, A=—1,
=
:u+1:07 /*L:_la

Junwtwtp wyt juinbwlwt wmbupp, npp sh wupnibwlynid wnweoht
Jwuingh woéwtgyuutn:

Gprh ytpgttip

Muunuuhawu@’

Wey + 9w +4(n— & =0, un)=wEne ", =y, n=y-—uz:

Ophtwly 2.7: A£tph uitntwlwlh wmbtuph L juunmwpbk] htmwgqu wwpqgb-

gnidbtin.
Upg — 2Ugy + Uyy — Uy + 12uy + 27u =0 :

Lnidnmid: D = 0, hwjwuwnnidp wwpwpnjuljul mhwh k: 2tnipwagnphy
hwywuwnnid@ £ (dy)? + 2dzdy + (dz)? = 0 wd (dy + dr)? = 0 : Lanhwtnip
httmtgpu £ y+ 2 =c:

Jbngutilp
€:y+$, szla fyzla
=
n=u, ne=1, n,=0:
Quwpytiip wowtgywatipn.
Uy = Uy + UpNy = Ug + Uy, uy = ugy + uyny, = ug,

Upy = (Ug + Up)e = Uge + 2Ugy + Upyy,  Uzy = (Ug)e = Uge + Ugy,  Uyy = (uf)y = Uge -

Stnunntinyg hwjwuwpdwd vty U juwmwnbny pdpwynpnid, junmwbwiip
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quintwlywd mbupnp’
Uy + Yue — 3u, +27Tu =0 : (2.11)

Ctmwqw wuwnpgtgnidotph hwdwp Juunwpbbp w(, n) = X w(E, n)
thnpuwphinidp: Unibbhwap”

ue = (Aw +we)eX Ty = (pw 4w, )N w,, = (P + 20, 4wy, )e T

Stnunpbip (2.11) Ywinlwlwd wbtuph dte, pwdwbtip M7-h W
Juwmuwnptip pudpwynpnid’

Wy + (200 — 3)wyy + we + (9N — 3+ p> + 27w =0

Gprht yungutip

\ 11
2 —3:07 =T

9N —3u+ p?+27=0, 3

Junwtwip wt Juitnbwlywh wmbupp, npp sh wupnibwlnid npnbbh
PniLilghwutt L pun »-h wnweht yupgh wowbhgywn:

Muumuwuhawm@™ w,, + 9w =0, u(&,n) =w(&,n) en=11/4 ¢ —yt g n=2x:

Ophtuwly 2.8: Quntb) pnnhwinip nidnidn.

5
gy — 10Ugy + uyy — 2u, + 4u, + 1—6u =0:

Lnidnid: D =25-9=16>0, hwjwuwnpnidp hhwbppnuywd wmhwh k:
Ptnptip Juinbwlwh mbuph: Ahnipwgnhy hwjwuwnpnidh £

3(dy)* + 10dzdy + 3(dz)?* = 0,

npntinhg
dy = —3dz, y+ 3z =c,
3dy = —dz : 3y+x=c:
Jbngutilp
§:y+3x, go&:37 gy: y
n=3y+ax: ne=1 mn,=3
Qupytiip woéwtugywitipnn.

Uy = Uy + UpNy = Ug + Uy, Uy = Uy + UyT)y = Ug + 3y,
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Uy = (3ug + Up)z = uge + Ougy + Uy,
Ugy = (Bug + Uy)y = 3uge + 10ugy + 3wy,
Uyy = (Ug + 3ty )y = Uge + 6uey + Iy,

Stnunptny hwjwuwnpdwd vk’

3(9u§§ + 6u§n + U,m) — 10(3u§§ + 10U577 + 3um7) + 3(U5§ + 6U57]+

o
+ Q) — 2(3ue + uy) + 4(ue + 3u,) + 6= 0,

Junwiwdp yuinbwwd mbupn’

1 ) )

gy + e — ooty — oot =0 (2.12)
Yuwwmwnbtp htmwgqw wwupgtgnidutp: dbpgubtitp
u(€,n) = X MMw(E,n) : (2.13)
Qwpytiip wowtgywatipn.
de = O + w )X,y = ()N,

Uy = (Wey + Mwy, + pave + pAw)e T

Stnunptip (2.12) juinhwlwh wmbtuph dte W pwdwbbkbp e*t+#-h:
Ywwmwnbny pudpwynpnid, Ynidthwbp’

it 2V wet (A= 2V (e A5 0
w — |w - — |w ——— ——— |Jw=
e TA\HT 39 e 32 ) T\ P T35 T 39 T 104

Jdtpgbtiny  p=-1/32, A=5/32, Quunwbwlp w, =0: Unwgywd
hwjwuwpdwd pnnhwbinip nidénida b

w(&,n) = g(&) + f(n),

npwntin f-0 W ¢g-0 Judwyuub nhdtnttgtih $nityghwbtip tao:
(2.13)-hg’
u(é,m) = eI (g(€) + f(n)) -

Stnunpbiny € = y + 3z, n = 3y + z, junmwbwtp pinhwtnip ;n1L6N1LUN:

Nuunuwuhaw@t™ u(z,y) = (f(z + 3y) + g3z + y))e=+¥)/16 .
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Ophtuwly 2.9: Quib] ptnhwininp nionidn.

e Py, — e_Zyuyy — ey, + e‘2yuy +8eY =0":
Lnidni: D =e¢ %% > (0, hwjwuwnnidip hhwytppnpulju@ wmhwh
Ptnktp juintwlwh mtuph: Ainipwqgnhy hwjwuwnnidb B

e " (dy)* — e *(dz)” =0,

npuntinhg
e’ —e¥ =g,

ef+e¥Y=c:

e *dy — e Ydxr =0,
e dy +eYdx =0:

Yuwunuwpbtip thnthnpuwjubttnh thnpuwnphtnid.

E=¢e"+¢€Y, &z =€", & =¢Y,
n=e"*—e¥: Ne =€, 1ny=—e¥:
Qwpytiip wowtgywatipn.
Uy = ey + upny = (ue + uy)e”,
Uy = Uy + Uy = (ug — uy)e”,
Uze = ((ug + up)e®)s = (uge + 2ug, + u,m)eh + (ug + uy)e”,
Uyy = ((ug — uy)e’)y = (uge — 2ugy + tyy)e™ + (ug — uy)e” :

Stnunntip hwjwuwnpdwh dbe”

e ((uge + 2ugy + uny)e™” + (ug + up)e”) — e ((uge — 2ugy + )™+
+ (ug — uy)e”) — e 2 (ug + uy)e” + e (ug — uy)e? + 8e¥ =0,

nputinhg
dug, +8e¥ =0:

Qwpyh wnbbny, nn e’ = (£ —7)/2, junmwbwlip’
Ugy =1 —§&

himtgnkip we UL awpu Ywubkpp Gwh punm »-h°

7]2
ug =5~ &n+ f1(8),
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wjinithtnll puwm &-h

ueon) = T8~ [ f€)ds + gn) = n- T=E 4 1) + gl

Wuwmbtn fn W ¢-0 juwdwjuut nhdtintughih $niuyghwbtin Gu: Waghbhny
(z,y) thnthnpuwwtbtph™ junmwiwip pnnhwinip nidénidn:

Muumwuhaow@™ w(z,y) = (e® — e**)e¥ + f(e* +e¥) + g(e” —e™¥) :
Ophtuwly 2.10: Quub) pnhwtnip nidnidn.
Y2 Upy — 20Y Uy + 2% Uy — T Uy — Yy Uy = 0, (x#£0, y#0):

Lnidonid: <wjwuwnpnidp wwpwpnuljud mhwh E: Atnipwagnphy; hwjw-
uwpnidh B

y2(dy)? + 2xydrdy + 2*(dr)* =0 Jud ydy + odr =0 :
LnhwbOnip htwmbgpw)h

Yuwwmwnpbny
5 — xQ + y27 n=x

thnthnhuwwaitph hnpuwnhtnidp, jumwbwap juintwlwuh mbtupp”

u,m—é__UQun:O:
Lniotlp unwugywd hwjwuwpnidp” hwdwptny -0 wwupwdbwmn.
duy _ ndn_ _ Lo O fO
u, _6_772 = 1n|uTi|_ 211’l|f 77|‘|’1n|f(f)| = un_ﬂ>
npnbnhg’

€, n) = f(€)aresin 7+ (e) :
Uaglhbtny (z,y) thnthnhuwwbtbtnh, junwbtwip

x
u(z,y) = f(x2 + y2) arcsin ——+ g(x2 + y2) :
x2 492

x
Muunwuhaw@”™ u(z,y) = f(2* + y?) arcsin T + g(2® + y?):
x Yy
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Ophtwly 2.11: Quib pnhwtnip nidénidn.

Uy — YUy — 2yu, =0, T #0, y#0:

Lnidnid: Lwbh np D = 22?2 > 0, wyw hwjwuwpnidp hhybppnjujwu
wmhwh k: Rhinipwgphy hwjwuwnpnidb b 2%(dy)? —y?(dx)? = 0 ywd zdy = +ydz:
CnhwbOnip htwmbtgputtnt o

Ty = c, y/r=c:

Gwwwpbny =2y, n=y/z hnhnjuwjuddtph thnppwphinidp,
Junwtwtp
2nuey +ue =0

Juwinwlwd mbupn: Lhpdnidbkny tnp’ v = ve Inriyghw, junmwbwp (-
hwdwnbtiny wwpwdtwnmp)

dv v

dy — 2n
wiowwnynn thnhnpuwwubtbtnny unynpujut nhdptptighw; hwjwuw-
nnidp, nph pnhwbnip nioénida B

v(&n) = “il/% :
Wuwln f;(6)-0 juduywlwd $nidyghw b Guwhuny'
¢ = hG) :
VIl
hiwmbtqgnptny ytipehtt hwjwuwnnidh puwm &-h
u(§,m) = f/(—% +9(n),

L wmtgubny (z,y) thnthnppwwbttnh, junmwbtwip ptnhwbinip n1dén1Un:

Nuunwuhow@™  u(z,y) = /|z/y| f(zy) + g (y/x):
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Ophtuwly 2.12: Qunib] nnhwbnin jnionidn.
Ugy + TU; —u+COSY =0:
Lnionid: We U dwhu dwubtipn wowbgatip pun z-h°
Ugy + TUgy + Uy — Uy =0 QU wyyy + 2y, =0

Towbwlykny’
Upe = 0, (2.14)

v dnLdyghuyh npnpdwd hwdwp Yumwgyh
vy + v =0

hwjwuwpnidp, npp, bpet z-p hwdwptip wwpwdbnp, whewwmynn
thnthnhuwwbbttpny unynpuywut nhdptptbighw; hwjwuwnpnid k. Wn
hwjwuwpdwd pnnhwbtnip nidénida B

v = f(x)e ™, (2.15)

npnbn  f(z)-p Jjuwdwwlwbh dPnityghw E: Stnunpbiny (2.15)-hg v
PniLilghwutt (2.14)-h dte, « PIniulghuwyh npnpdut hwdwp Jumwbwip
Uz = f(2)e”™ hujwuwnnidp: Yyunmtinhg Junnn Gup gnpby

o= [ F(©evde + g(y) (2.16)
0
Wowbghtp (2.16)-n puw y-h°
ey = — [ EF(€)eVdE + /() - (2.17)
0

Stnunptip hwjwuwnpdwd dke”
— [ ef©e s + gy (ff e 8¢ + g ))—u+cosy=o,
0 0

npnbtnhg
w=2g(y)+g'(y) + cosy + [ (z— &) F(€)e Ve : (2.18)

Muumwuuwb’ u(z,y) =zg(y) + ¢'(y) + cosy + f(x — &) f(§)e Ve
0
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Ophtuwly 2.13: Qunib] nnhwbnin nionidn.

0

_ 2 — .
ax(ux +u) + 227y (uy +u) =0
Lnidmid: Gowbhwlybny
Uy +u =0, (2.19)
hwjwuwpnidnp Ygnyh
Uy + 22%yv = 0

wmbtupny, npp, tpt hwdwnptip z-p wuwpwdbtmp, whowwmynn thnthnhiw-
qutbtpngy unynpuwb nhdbntbghw; hwjwuwnpnmid k' Lnidtiny wyd
Junwtwtp

v=1()e™Y (Y-t qudugwuwd $niliyghw b) :

(2.19)-hg’
Uy +u = p(z)e Y, (2.20)

nnp, Gpbt hwdwnbtp y-p wupwdtwnp, géwyht unynpujut nhybnttighuwy
hwywuwpnid E: Lnioktp wylh hwunmwwmnith Juphwghwh Gtnubtwyny:
Cwdwubin® v, + v = 0 hwjwuwndwb pnhwtnip niénidh B

uo(z,y) = gy)e "
Whhwdwubtn hwywuwndwb nidénidnp thhwmnpbtp

u(z,y) = gz, y)e™* (2.21)
wnbtupny: Stnwunnbiny (2.20)-h vk, unwbnid Gip"

gxe— . ge—x +ge—x — ¢($)e—x2y2

Juud
ge = ()Y

nputnhg

g(z,y) = j#}(ﬁ)eg‘g?y?dﬁ +oy) (vt quiwwliwud $nibyghw k) :
Stnunnbny (2.21)-h Uk, jumwbtwip ptnhwinip nidénidnp:
Munnwuhul’ (o) = e [o@e S o)
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Ophtwly 2.14: Qutb) pnhwtnip nidnidn.
Ugy + Ty + 2yuy + 22yu =0 :
Lnidmid: <wjwuwnnidp gptip
(uy + 2u)y — u+2y(uy + zu) =0

wmbtupny, nnp hwdwndtp £

U = v, + 2yv,
{ Y (2.22)

v:uy—f—xu

hwdwlunght: Upmwpubiny «-4° junmwbwbtp v = (v, +2yv), + 2 (v, +2yv), DOR
Jwnbh E gpty (v, + 2v), + 2y(v, + 2v) = 0 mbupny: Lrwbwybiny

w = vy + TV, (2.23)
Junwiwip’
w, — 2yw = 0,

nnp, bGpet hwdwpbip z-p wwpuwdtmp, wtewwmynn hnthnhuwlwbttpny
unynpujul nhdtnbtghw; hwjwuwnnid E: Un hwjwuwnpdwd jniénidt
nith

w(z,y) = g(y)e >

wmbtupn: Stnunnbny (2.23)-h Uby, v-h tjumdwdp junmwbwtp
vy + a0 = g(y)e v

wnweht yungh géduwhl hwjwuwpnidp, nph nLénida £

o, y) = e (f(a:) +| g(n)e‘x"dn> :

0
(2.22)-h wnwohtt hwjwuwnnivhg

Y

u=v, +2yv=e" (—yf () —y f g(ne ""dn + f'(z) — f??g(??)e’x"dwr
0 0

0

+2yf(x) +2y | g(n)e‘x"dn> =e " <yf (@) + @) + [ (y - n)g(n)e‘x”dn> :

Muunuwuhiw@l’™ u(z,y) =e (yf(m) + f'(z) + fy(y — n)g(n)e‘mdn) :

0
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69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

loanhpatp

Munpqgb] hwjwuwpdwd mhup.

Uy + Wy + Uy + Uy + Uy + 20 — 2%y =0
2Ugg + 2Uyy + Uyy + 2uy +2uy —u =10
Uy + 2Ugy + Uyy + Uy +uy +3u —2y® =0
TUgg + YUyy —u =0

Upe — Uzy + (44 22y*)uy, + 6uy, =+ y
T2y Uy + 20yt + Uy, = u® — Buy,

Uzz — 2 COS TUyy — sin? LUy + Ouy, = ™Y
YUz + uyy = f(z)  (Sphiyndhh hwjwuwpnid) :
Ty + 20Uy + (x + 1)y, =0

(22 + 4% — 25)Ugy + Uyy + Tuy =0 :

(Y% — @)U + Uy + Ty + 1y, =0

(2% + 4y* — 49)uyy + uyy + 2uy +uy =0

(Va2 + Y2 = 6)uge + (V22 + 42 + 6)uy, +uy +uy, =0

U + (Y — %)y + 2uy + yu, =0

(Va2 + 4992 — 8)ugy + (/22 + 49y + 8)uyy + u, = 0 :
Uzz + (22 + y* — 36)uy, + yu, =0

(Y + 3)taw — 22Ugy — (y — 3)uyy + ul + ul = u?:

2tpt; Jjuwintwliwt wbuph pnmnp wyh

hwywuwnpnidp wwhwwbtnid £ hp mhwn.

Ugg + 2Ugy + DUy, — 32u =0 :

Ugy — 2Upy + Uyy + YUy +9uy —9u =0

Ugg + Ugy — 2Uyy — 3Uy — 15Uy, + 270 =0

Ugg — OUgy + 10uyy + Uy — 3uy, = 0:
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90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

101.

102.

103.

104.

105.

106.

107.

108.

109.

110.

111.

112.

113.

114.

115.

116.

Uz + dgy + 10wy, — 24u, + 42u, +2(x +y) =0

Ugy + dyy + 13wy, + 3uy +24uy, —9u+9(x +y) =0
Ugy + 2Uzy — Uy + 2uy + 6u, =0 :

Ugg + gy + DUy + Uy + 20, =0 :

Upg — 2Ugy + Uyy + iy + Buy +cu =0

(14 22)? Upy + uyy + 22(1 + 2%) u, =0 :

Y2 Upy + 20y Uyy + 2% Uy, =0 :

Upe — (1 +y*)? uyy — 2y(1 4+ 9y?) uy, =0

22 Uy + 227y u$y+y2 Uyy — 2Y Uy + Y eV =0

Y% Upy — 22%y Ugy + x? Uyy — y? uy, =0

Y Uy + 20y Ugy + 227 uyy +y uy =0

T2 Uy + 22Y Uyy — 3Y* Uy, — 22 Uy + 4y uy + 1627 u =10
Uyr — 2SI u,, — CcOS%*x uy, —COST u, =0 :

e* Uy + 26" Uyy + €2 Uy, —zu =0

4y2 Upy — 62:(:

Uyy = 0 :

Ugpg — 20 Ugy = 0 :

T Uy + 20 Uy + (2 — 1) 1y, =0

Y Ugg + Uyy = 0 :

Ugy — T Uyy = 0 :

T Ugy — Y Uyy =0

Upy + 2SINT Uy, — (COS2 2 — SIN* 1) Uy, +COST Uy =0
Uge + TY Uyy = 0 :

Y2 Uy + 1% Uy =0

Y Uy — 2wy, =0

Uyy — 2COS T uxy—(3+sin2x) Uyy — YUy =0
Upe — 2SN T Uy, + (2 — CcOS%2) uy, =0

tg2x Upr — 2ytgx uggy—i-y2 uyy+tg3x u, =0 :
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117. wy, +2sinz u,, — cos?*z u,, + oSz u, +0,58in 2z u, =0:
118. sin’z u,, — 2ysinz Upy + Y% Uy =0

119. cth’z u,, — 2ycthz Upy + Y2y + 2y uy, =0

120. (1 —2%) wpy — 22y ugy + (1 — y?) uyy — 22 up — 2y uy, =0

121, (1 —2%) gy — 22y Uy — (1 + y?) uyy — 22 up — 2y uy, =0

£tpt] juintwwd mtuph L juwmwnt] hbmwguw wupgtgnidutp.
122, gy — 4ugy + duyy — 3uy +uy +u=0:
123. gy — 6uyy + Yuyy — uy +2u, =0
124. 2u,, —4uyy +uy —2uy,+u+2=0:
125, gy + 2uyy —uy +4uy +u=0:
126. wupe + 2uqy + uyy + 3uy; — Suy +4u =0
127, wyy —uyy +uy +uy —4u=0:
128. 3wy + upy +3uy +uy —u+y=0:
129. gy + 4ugy + Suyy — 2uy, —2uy +u =0

130. 5uy, + 16wy, + 16wy, + 24u, + 32u, + 64u =0 :

Qb ninhwbanip nioénidp” pnipwqgphstbnh dhpnnny.
131, wgy + 2u,y =0:
132. 2wy, — Suyy + 3uy,, =0
133. wyw — 2uyy — 3uy, =0
134. wuy, — 4ugy + 3uy, — 2u, + 6u, =0
135. 3wy — Sugy — 2uyy + 3uy +uy =2
136. 2uy, + 6uyy + 4wy, +uy +uy, =0

137. 3um+10uxy+3uyy+ux+uy+1—16u— 16ze="16" = 0 :
138. wuyy — 2uyy + 2uy —uy = 4e” :

139. wyy + 4uyy + 4uy, + 3u, + 6u, =0

140. gz — 2uyy +uy =0
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141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

151.

152.

153.

154.

155.

156.

157.

158.

159.

160.

161.

162.

163.

Uy — 2Ugy + Uyy — Uy + Yuy — 10u =0 :

Ugy + 20Uy + a*uyy + uy + auy =0

Ugy — 6umy + 8Uyy + Uy — 2uy + 465x+%y =0:

Uy — 2COS T Uy — (34 SN x) uyy + u, + (Sinz —cosz —2) u, =0 :

Uy — 2SiN 2T Uy, — COS% 2 Uy, — COST Uy, =0 :

TUgy — YUy, + 0.5(uy — uy) =0, (x >0,

Qunit; pbnhwinip nidnidp pninp wyb wmhpnypbbpnid,

y>0):

hwjwuwnpnidp wuwhwywtnid £ hp mhwn.

YUy + (T — Y)Uyy — TUyy =0 :

T Upy — y2uyy =0:

T Uyy + 2TYUyy — 3y2uyy —2zu, =0
T2 Uy + 20YUsy + Yy, =0

Ugy + 20yuy — 2200 =0 :

Ugy + Uy + YUy + (y — 1)u =0

Ugy + ally =0 :

Uy + Uy + buy, + abu =0 :

Uy — 2Uy — Uy + 6u = 2™V

Ugpy — TUy +u =0

Ugy + Yty —u =0

chz u,y + (Shz+ychz)u, —chzu=0:

0
a—y(ux—O—U)—i-x(ux—i-u)—b—mQy:O:

Ugy + Y Uy + T Uy +2yu =0 :
AUy + 20Uzy + Uyy = 0 :

0 , 2
— (2% uy) = 27 Uy, :

ox

(T —Y) Uzy — Uy +uy =0
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§ 2. Gpyniuhg wytjh wijuhr hnthnjuwmjuaitph ntuypnp
QYhunwnplytip

n n

Zaw T) Uy, + F(0, U, Ugy, Uy - -y Usg,,) =0 (2.24)
1 j=1

1=

hwywuwnnidp, npmbn z=(z,2,...,2,) € Q CR", n > 3: a;;(x) gnpdédwhgutinp
wnnpywd wiptnhwwm $niblghwbtin Gt L Q-h ny; dh jbmnid dhwdwdwtwly qnpn
¢l nuntnid:

Jdbtpgbtp Judwwlwb z,€ Q@ Yt b nhuwwplbip  A(zg) = [|ai (@)} =
dwwmnhgn: Lwth np wyt uhdtwmphy E, wyw Gpw pninp ubthwjub wpdtpbtpn
hpwwt th: +hgnip, hwpyh wntbiny wwwmhlynipjniubbnn, nputghg n- hwwnp
pugwuwlui th, ny hwmp gpnyujwb &b, hul », hwwnmp” npwwd: Mwunpg k, np
n_+ng+n, = n: Qujuuwnnidp nwuwungynid E pytinh {n,,ne,n_} Gnjulhh
Uthongny: Wyuwbiu, hwjwuwnpniun z, € Q jtmnid Yngynid

* hhybtppnulwt mhwh, Gptn, =n—-1, n_.=1Jwdn, =1, n_=n—1,
* nijmpwhhwytppnyuywd mhwh, tptiny > 1, n_ > 1, ng =0,

o wwpwpnjulwt mhwh, Gt ng > 0,

* hhynmwlwh mhwh, bGpebt n.=n Jwd n_=n:

“QYhgnip C = |le;ll72, edbpuubinnng dwwnphg b Gph o=(2), 25, ..., 2,) thnthn-
huwutttiphg wagttp y = (y1, 92, -+, ¥») hnihnpuowwutitinh

n

Yi = E CijTj

j=1
pwlwal tinny, wmww (2.24) hwjwuwpnidn Yptnnith

n

Z Z At (Y) Uy,y, + F(y, Uy Uy s Uy - - -y Uy, ) =0 (2.25)

k=1 l=1

wbiupn, npuntin

n n

akz E E az] Cszzg.

=1 j=1

Wythwyw b np flag(@o)|?,_, W faw(y(zo)ll,_, Uwnphgibnt niokh Gnyb
ubithwwt wnpdtpbtpp (Giwh dwnphgbtn G4): Yyumtnhg htmmlinid E, nnp (2.24)
I (2.25) hwjwuwpnidtbpnn z, Jhmnid nitobt tnyt mhwn:

YGuwubklp, nn (2.25) hwjwuwpnidp zo € Q Yhmnid nibh jubntwwud mtup,
[nein
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ar(y(ro)) =0, tpp k # 1, ark(y(z0)) € {—1,0,1} :

Swjwuwnniun zy Jhmnid jubtnwlwh mbuph ptptnt hwdwp wbwmp k.

w)

)

%)

bwquti £ = (6,8 - -, &) hnhnpuwljwbttiphg Yuhijwo

O(E) = > ai(z0)éi;

i=1 j=1
pwnwlniuwjht alin:

Quit] wbwhuh M gJbpwubtipdnn dwwphg, np bGpb = (6,8%...,6)
thnthnjuwwitiphg wagtttp 5 = (9,72, ,7.) thnthnpuwubtttph § = My
AlLwhnhunipjut dthongny, wwyw punwlniuwht aun Yptngh

k=1

Juwintwywul wmbtuph: Wuwbtn 4, € {1;0;-1}, pn npnid 1-tph, 0-Gknph
W —1-tph pwlwyn hwjwuwn k' hwdwwywwnwuhiwbwpwn ny, ng, n_
(Qud n_, ng, n+) pPYnhtt b Yupgwd & dhwthnpunipinihg (hutipghwih
ontiip): Wu pwylhg htwn {n;,ng,n-} pYtinh tojuyny Ywwngyh hwjw-
uwndwl wmhwp z, Yhwmnid: Lunwlniuwhtt aup jubntwwut wmbuph

Jwnth E pbntk), opnhttwy, Lwgputdh dtpnnny:

Swjuwuwnpdwl dbhe Jyuwmwnly v = M7z hnthnhuwlu@h thnpuwuphbinidp,
npmtn M7-0 M-h wmpwluyniwugyud dwwmphgh B Qwjwuwpnidp zg
Jtwmnid yptingh

n
§ :6kuykyk + F(y7u7uy17uy27 s 7uyn) =0
k=1

Juinbwlwd mbuph, ud np Gnyad B

hhwtppnjuwi mhwh ntwypnid’

n
Uyyyr = E Uy, gy, + F(yv Uy Uyy s Uygs - - - 7uyn)a
k=2

nijmpwhhwbppnyujud mhwh nbwpnid

m n
Zuykyk = Z uykyk+F(yvu7uy17uy27'"7uyn)a (1<m<n—1, n>4>a
k=1 k=m+1
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¢ wuwpwpnjwiwd mhwh nbwpnid

n—ng

Z Skt + F (U, Uy Uy, Uy, sy, ) =0, (6, € {1, =1}, ng > 0),
k=1

* hhuywnwlwd mhuh ntwypnid”

Uy T Uyoyy, T 00+ Uy, +F<y7u7uy17uy27"'7uyn> =0:

Gt nLitip hwmunmwwmnil gnpébwlhgbtinnyg goéwjhtt hwjwuwpnid®

i i Aijle,q; + i biug, + cu = f(x),

=1 j=1 =1

www R*-h pninp Yhnmtpnid jumwgyh Gnyb’

Z 5kuykyk + Z Bk’uyk + cu = f(y)

k=1 k=1
Jubntwjwuh mbupn, nphg htbmn Juntih £ jumwnt hbtmwuqw wwupgbgnidutn:
Wuwtiu, Gt hiunptbip wthuwwm $niuyghwut

S
u(yl’yz’ e ’yn) = w(ylay27 cee ayn) - e k=1

wmbtiupny, wwyw nn w(y, v, .-, y.) dnrLdljghuyh tuumiwdp hwyjwuwnnidnp
tunphg Unibttw jubntwjut wmbtup, L hwdwwywnmwuhiwt abny pbwnnpbny
i, o, .., iy hwmumwmnitbtnn Yyupbih B hwtgl] hwjwuwpdw, nph dby
puguluytih’

* wnweohl ungh wowbgjwbtnn, et hwjwuwpnidp hhytppnjujua jud
Fhwywmwlwh mhwh L,

* npntitih $nitlghwtt nir npnp wnwehlt Ywpgh woéwbhgyutbkn, bGpb
hwywuwnpnidp wupwpnuwt mhuh k:

Ophtuwly 2.15: Mwunpgl] hwjwuwpdwh mhwn.
2Upy — 2Uypy + 2Uy, + 33Uy —u =10

Lnidonmid: <wjwuwnpdwin hwdwwwmwuhiwinng uhdtwmphly dwnphgh £
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0 1 -1
A=11 0 1

-1 1 0
Quibtbp uthwjwt wndtptnp.
-2 1 -1
det(A—AE)=det| 1 —-X 1 |[=-N+3A-2=-A-1)N+)1-2)=0,
-1 1 =X

AM=1>0,A=1>0, \3=-2<0, n].IlhlIf].\ ny=2ny=0 n_=1:
Muunuwuhuw@”™ <hwytppnjuywi:

Ophtuwly 2.16: Nupgb] hwjwuwpdwd mhwn.

gy + 2uyy — 6u,, + 6uyy + 10Uy, + 4u,, +2u =0

Lnioniu:
4 3 5 4— A 3 5
Unwehtl tnubwly: A=13 2 2|, A-)NE= 3 02—\ 2 ,
5 2 —6 5 2 —6-—\

det(A — A\E) = —X\* + 661 =0

M=vV66>0 A=0, \3=—-V66<0=n,.=1, ng=1, n_ = 1: Qujuuwnnrip

wwnwpnjuwlwb mhwh k:
Gpipnpn tnubwl: <wdwwywumnuwuhiwmd punwyiniuuwght abh B

D&y, 8, &) =A€7 + 265 — 685 + 6616 + 106,65 + 4665 -

Ptnptip Juintwlwh mbuph inhy punwlniuhfitin wnwbatwgubng.

3 5 9
(&1, 6, &3) = (261)* +2- 26 - 552 +2-26 - 553-1— ng—l—

25 15

2 9 2 25 2 15 2 2
+Z§3+?fzf3—152—Zfz—?f2f3+2§2—6§3+45253=

3 5 ’ 1 ) 7 49 )
= 251+552+§§3 —152—55253—253:

3 ) ’ 1 7 ’
= 2514‘5524'553 - 5524'553
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Grb ihhuhwlytip”

3 5 1 7
U1=2§1+§§2+§f& 7]225524‘5537 n3 = &3,

www punwiyniuuyght aip Ygnpgh (1,72, 3) = nf — 75 fuinbwljud mbupny:
nipkdd” ny =1, ng=1, n_=1:
Muunuuhiwu@l™ Mwupuwpnuljub:

Ophtuwy 2.17: Mupqgb) hwjwuwupdwt mhwn.
Ugg + 2Ugy + 2y, + 4y, + Uy, — U, +yu, =0 :

Lnidniu: Unwohli tnubwly: <wjwuwpdwip hwdwwywwmwuhiwbnn

uhubmphl Ywwnphgt B
1 10

A=11 2 2
0 2 5

Lwth np qguwynp walpnibwgoéwyhtt thtnpobpp npuyjud o

1

1
A1:1>0, Ay = =1>0,
1 2

1
=1>0, Az=|1
0

NN
(G20 R )

www, hwdwaw)t Uhytumnh hwywmwthph, A fwinpnhgn npwujwut npnpjwg k:
bull nw Guwtwlynid £, np A dwwmphgh pninp ubthwlijwb wpdtpatnpp
npuud i ny =3, ng =0, n_ = 0, htmlLwpwn hwjwuwnnidh fhymwlwh

whuwh L:
Gnypnpn Gnwawly: Aptbp hwjuwuwnpdwin hwdwwywwmwuhiwtnn pw-
nwlniuwght alip’

B(&1, &, &) = & + 266 + 285 + 468 + 5E5,

L pbipktp yuwintwlwd mbtuph’

D(£1,60,8) =& + 265+ 8+ G +H4656+486+ 6 = (L + &)+ (L +286)° + &

Grt lpwtwlhttup 7 =& + &, =& +2&, 13 = &, myw punwjniuwiht
alp Ygnyh

(11, M2, m3) = 03 + 15 + 173

Juintwlwul mbtupny, nnnbnhg™ n, =3, ng =0, n_ = 0:
Muunuuhiwu@l™ Fhyunwlwb:

48



Ophtuwly 2.18: Nupgb] hwjwuwpdwd mhwn.
Upy — gy + 20y, + 4ty + Uy — 22yuy, + 3zu =0 :

Lnidm: UWnwehl tnubwl:

det(A—AE)=(1-=XNAd—-XN1—=X) =44 —-X) —4(1 =N ==X +6\> -4\ —4=
= —(A*—6A+ 4\ +4):

Ubtthwwb wnpdtpbtpn A3 — 6)2 + 4)\ + 4 = 0 hmjwuwnpdwd wpdwnmabtnd
Ll:  Qwjwuwpdwd wmhwyp wwpgbne hwdwnp wwpunwnhp & gunib
utithwwt wndtpbtpn, pwjwwt £ wwupgly Gpubtg tpwbtbbpnp: 9Gpw
hwdwn ogunytlip Idhtimh phnptdhg?: NLbthp

)\1)\2)\3 = —4:, )\1)\2 + /\1>\2 + )\1)\2 = 4, )\1 + )\2 + )\3 =6:

Lwlh np wpdwwmbbtph wpmwnpun pwguwuwlwd E, hull gnidwnpp’
npuiul, www tpynt wpdwwmbbpp npuwd &b, hul Jdty wpdwwmp’
puwgwuwlult: ny =2, ng=0, n_=1: Swjwuwnniip hhwybtppnjuwh

whuwh L
Gnypnpn tnutwl: Qwjwuwupdwip hwdwywwwmwuhiwtnng punwlni-
uwght aup ptpbbp yjuintwlwt wmtuph.

D(&1,&2,&3) = & — 4616 + 268 + 46 + & = & + 46 + & — 466+
+ 26083 — 4685 + 468 = (& — 26 + &) + & + 268 + &3
- (53 — 268+ &) = (& — 26 + 53)2 + (& + 53)2 — (& — 53)2 :

Lowtwluny ny = §—-25+E, ne = §+E3, 13 = &—&, Junwbwlp juintwlwt
mbupp’

®(n1>772a773) = 77% + 77% - 77?2>7

npmtnhg n, =2, ng=0, n_ = 1:
Muumuupiwet™ <hwybtppnulub:

3BpU 1,20, 23 PULND  2° + p2? + gz + r=0 hwjwuwpiwd wpdwndtnd b, wyw”
T1T2T3=—T, T1T2+ 13 + T2T3=¢q, T1+T2+T3=—DP:
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Ophtuwly 2.19: A£tpbk) jutnlwlwh mbuph.
Upg + 2Upy + 2Uyy + 4y, + du,, =0

Lnidmid: Qnptip hwdwwwwmwuhiwt punwlniuwyht aup W ptpbbp
Juwintwlwuh mbtuph.

D(E), €, E3) = E2 + 2616y + 262 + 46585 + BEZ = €2 4 2616, + 2+
+ & H46G+48+ 6 =L+ 6)°+ (L +286)°+ &

Gprh ytpgttip
m ==& +&, m==E&+28, n3=2_E;, (2.26)

www ® punwlniuuwghd alup Ygpyh yutntwljud mbtupny’

D(n1,m2,m3) = 05 + 15 + 13

npnbnhg” n, =3, ng =0, n_ =0, uyuhlpd hwjwuwpnidt Hhwywnwliwh
wmhwh L:

(2.26)-hg’
—1
M 110 & & 110 m
| =01 2 S |=| & [=]101 2 Up
n3 0 01 &3 &3 0 01 3
Lowlwlbtiny
-1
1 10 1 -1 2
M=101 2 =10 1 =21,
0 01 0 0 1
UniLbthwbp”
& 1 -1 2 m §&1="m —n2 + 213,
& | =10 1 =2 me | =4 & =mn2— 2n;3,
&)\ 0 1) A & =m:

Wuwhuny, M gbtpwubtipynn dwwmphgny géuwjhtt albwhnpunipjniun @
pwnwlniuuwght aip ptpnid £ julnbwiu® wmbuph: <tmbwpwp™ wyh
goéwjht alwthnpunipniipn, nph dwwphgp M-h mpubuwynbwgyud M7T
dwwmnhgt E, Yptnph juintwjutt mbuph hwjwuwpdwtn: Ywintwlwut
wmbupn unwbwnt hwdwn (z,y,2) hnhnhuwlwubdbtnphg wtgtbtp (¢,7,¢)
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thnthnhuwjwabtph hbmlyw) pwbwalbtpny

3 T 1 0 0 T §=ux,
n|=M"|y|=|-1 1 0f|ly| = {n=-2+y,
¢ z 2 =2 1 < (=2z—-2y+z:

Qntip v $nLughugh woéwbgyuittinn np hnthnppwlwbtbpnny.

Uy = Ue&y + UpT)y + Uy = Ug + 2ug, Uy = Uey + Uyt + UcCy = Uy — 2ug,
Uz = gz + upn: + ucC; = ug, Uz = Ugg + U + e — 2ugy + duge — duy,
Uyy = Upy + duce — Ay, Uzz = UCCs

Ugy = —Upp — 4UCC + Ugy — 2u§< + 4u77<, Uyy = _QUCC + Unp¢ -
Stnunnpbny unwugywd wowbgyuibtipn hwjuwuwnpdwd dke, junmwbwap®
U{g‘i‘ Unn+u<§ =0:

Muunwuhaw@”™ ue +u,y, +uee =0, =2z, n=—x+y, (=2r—2y+z:

OphGuwly 2.20: £tnt juintwjwt mbuph.
Ugy + Uyz + Uy + Uy + U, =20 +y — 2:
Lnidonid: <wdwwwmwuhiw@ punwlniuwght auh £
D(&1,82,83) = 6162 + &3
Yh sh wwpnibwlnid thnhnppwwth pwnwiniuh: Wu nbwypnid
bpdnidtlp Gnp” &  thnthnppwlwh, npp pwnwlyniuwgh@t  auh
gnidupbtjhtiipnhg npbk Wtyh thnhnppwjwtbbnph gnidwpt k: dbpgttp,

ophtiwmly, & = & + &, npmtinhg” & = & — &: Wi mtinunptilip punwyniuwyht
alth dbe L wbowwmbtlp ;nhy punwlniuhttp.

D(£1,6,8) = (b0 — &) + &by = & — & + &8 = — (6] — && — &&) =
) 1 1 1 1 ?
= - 52_2‘50‘5'52—2'5‘52'53 = - 52—550—553 +

1, 1, 1t (1 1 2 1 2.
+Z€O+Z§3+§§O£3_ 550‘1‘553 - 52—550—553 :
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Stnunnphny & = & + &, Junwbwbp
2
1 1 1 1 1 1
D(&1,89,83) = (5 &+ 552 + B f3> - (5 &1 — 552 + 5 §3>

Gph ytpgutip

1 1 1 1 1 1
7]1=§§1+§§2+§§3; 7722551—5524‘5537 ns = &3, (2.27)

www ® pwnwlyniuuwghd alup Ygpyh yutntwljud mbtupny
D(11,m2,113) = 17 — 715

Uwnwgytg n. =1, ng = 1, n_ = 1, wyuhlpl” hwjwuwpnidp wwpwpnjuwh

whuwh L:
(2.27)-hg niLutlp

§1=m + 12— 13,

2 =M1 — 12,
53 =3,
npnbnhg’
L =11 -1 0 72 =M=11 -1 0
53 0 0 1 3 0 0

Yuwhuny, hwjwuwpnidp Yptpyh Jubnbwwbd wmbtuph, Gpet (z,y,2)
thnthnpuwwtiinhg waghtp (¢, 7, ¢) thnthnppwlwbdtph htmlyw gdwht
alwthnhunipjwud vhongny'

13 x 1 1 0 x
n =MT y | = 1 -1 0 y |,
¢ z -1 0 1

Jwd np Gnyab £, hbmlyw) pwbwalbnny

(

11
E=z+y, vT=58tgn
11
25 2
(=—-x+z: 1 1
SARLAS

Cwjwuwndwt dby dwmbnn wnwehlt Jungh woéwbgyuttnn Gnnp
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thnthnpuwwbdbnny Yihoth’
Uy = UeSe + UnTle + UcCa = Ug + Un — U,
Uy = uey + UnThy + UcCy = Ug — Uy,
Uy = el +upn, +ueC, = uc -

Ywinbwlwt mbupn gnptjnt hwdwn tpypnpn yungh wéwbhgywdtnp tinp
thnthnhppwwtbbnnyg Juntih t shwpylb), wy ognyt) punwlyniuwhtt auh
Juintwlwb mbtuphg:

Stnunptiny wnwehlt yupgh wowbgyuyjobpnp hwjwuwpdwt dby W
hwpyh wntbny, np 2z +y — 2z =& — ¢, Junubwip julinbwjut mbupn:

Muunuwupaw@’™ v —uy, +2us=§—¢, E=a+y, n=r—y, (=—-a+2z:

Ophtuwly 2.21: Atph jutntwlwbh mbuph.

Ugg — gy + DUyy — 20y, + 2U,, — Uy + 20y =2+ 2

Lnidnid: Qnhbkp hwdwwwwmwuhpw@ punwlyniuwghtt abip W ptptip
quwintwlwuh mbtuph.

q)(gla g?a 53) = 6% - 45152 + 5522 — 25253 —+ 25% =
= (& =20 + (& &)+ G =n+m+m,

npnbin’ mn =& — 25, e =8 — &, 13 =&
Lwth np n, =3, n70=0, n_ =0, wmyw hwjwuwpniit FHhynwljwuh
whuwh L:

Nniakop
m = & — 28, §1=m + 22 + 2n3,
l=8%&—&, = &=mntn,
n3 = &s, 3 = 13,
npunbtinhg
13 12 2\ [ m 1 2 2
=10 11|l nl|l=m=[0 11
& 0 0 1 N3 0 0 1

Cwjwuwnnidp Yptnyh Juwintwlwt wmbuph, Gpbt (z,y,z) thnthnhow-
Jqutttphg wagttip (¢, 7,¢) hnthnppwwtbtnh httmlyw] gdwjhtt allwthn-
hunipyjul thongny

3 x 1 0 0 x
n|l=M"]y|=]2 10 ,
¢ 2 1 1

53



Jwd np nyhd B hbmlyw puwbwaltbpny

=1z, r=¢,
n=2x+y, =y y=—-2+n,
(=2x+y+z: z=-n+(:

Cwjwuwndwd dhe dwnbnn wnweohlt Jwngh woéwbgyuttnn Gnnp
thnthnhiwjwtbbnng jupmwhwjmybd htmlbyw Ytpy.
Uy = Uy + UpNy + UGy = Ug + 2uy + 2ug,
Uy = ueky + Uuyhy + Uy = Uy + U
Gnypnpn Jupgh woéwbgyuittpn Ywnpbih b oghwpdty, wyp oqudby
pwnuwlniuuwght auh juinttwjwt mbuphg:
Stnunntiny hwyuwuwndwd dbte W hwpyh wnubny, np z+z2=7n-¢,
Junwtwtp Juinbwljwuh mbupn:

Muumwuhawm @’ we +uyy +uee —ue=n—-¢, =z, n=20+y, (=2x+y+z:

Ophtuwly 2.22: Atpb) jutnbwlwbh mbuph.

Uz + 2Ugy + 2Uyy + 2Uys + 2Uye + 2U,, + uy =0

Lnidnmid: Qnbip hwdwwwwmwuhpiwm@ punwlniuwghtt abip W ptptap
Juintwlwuh mbtuph.

D(£1,60,83,84) = & + 26160 + 265 + 26285 + 2664 + 265 + 38, =
= (L14&)°+E + 268+ 266+286 + 38 = (G +6)° + (S + &+ &) — 2686 +8 +26 =
=G+ L+ G+ + (G-’ +E = +n+n5+ni

Wuwmbn m =& +8&, m=+8+86, m3=8 &, =&
Lwlh np n, =4, no=0, n_. =0, wwyw hwjwuwnniit Hhywnwjwbh

wmhwh E:
Niakop
(771:'51—1‘52, (51:771—772+773+2774,
na = & + & + &, N §2 = M2 — M3 — 214,
ns =& — &, §3 = 13 + N,
3E | 1= &,
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npnbnhg’

& 1 -1 1 2 m 1 -1 1 2
1 -1 -2 1 -1 -2

& [ _ |0 w2 |

€4 0 0 0 1 M4 0 0 0 1

Cwjwuwnnidp Yptipyh jJuinbwwbh wbuph, Gpb (z,y,2,¢) thnthn-
huwjubtinhg wbgttip (£,7.¢,7) thnthnpuwwudbbtph htnlyw) gdwht
alLwhnhunipjut dheongny

& x 1 0 00 x
n|_ e y | _ -1 1 0 0 Y 7
¢ z 1 -1 10 z
T t 2 =211 t

Jwd np tnyht B hbnlyw) pubwaltbnny®

(

§=u,

n=-r+y,
(=r—y+z,
\T:2x—2y+z+t:

Cwjwuwndwd Jdhe dJdwubwlygnid O Jhuwylh Gpypnpn  Yupgh
wowbgjudtipn, npnig gnpdwyhgitipn hwunmwwmnibdtp Go: Qw
towlwlynid E, np hwywuwpdwl jutnbwlwb wmbupn gptni hwdwn
Juwnnn Gup ogqunyt] punwlniuwht ah jutntwlwuh mtuphg:

Muunuuhawu@’
Uge + Upy +Uec +Ur =0, E=a, n=—2+y, (=x—y+z 7T=20—-2y+z+t:

Ophtiwy 2.23: Atph] jutntwlwb mbiuph.  wy + v + g + 1 =0
Lnidonid: Lwnwlniuwght abt B

P(&1,62,63,8) = &8 + &8+ &80+ E36a

Lowbwlttp & = & + & = & = & — & Stnunptip punwlyniuughtt aih
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Ubte U ptipnkbp Juintwlwh mbtuph.

D(£0,61,63,8) =& (& — &) 66+ && + 66 =
= & +&& + &6+ E&+ & = — (5% — &1 — &i&3 — 5154) + 8384 =

1 1 1 ? 1 ) 1 ) 1 ) 1 1 1
= — 51—550—553—554 +Z§o—153—154—55053—§§o§4+§§3§4+§3§4:

1 1 1 ? 1 ) 1 ) 1 ) 3
= - 51—550—553—554 +Z(fo+25053+2§0§4)+Z§3+Z§4+553542
2

1 1 1 ’ 1 1 1
=G5 5&-5&| H{ght &t 5&) &&=

2

1 1 1 ? 1 1 1
= <§§0+§§3+§f4> - <51—§fo—§§3—§§4> +

1 1 1 1
+ 553"‘554 - 553—554 :

Stnunnptiny & =& + &, Jumwbwip

2

1 1 1 1
P(&1,82,85,8) = (5 &+ §§2 + 5534‘ 554) -

1 1 1 1 ? 1 1 ?
- 551—552—553—+§§4 + §§3+§f4 -

2
1 1
—G@—§&>=ﬁ—%+ﬁ—ﬁ:

Lwbh np ny =2, ng =0, n_ =2, wmyw hwjwuwpnidld niyjmpwuwhhwtn-
pnjujwtt mhuh k:

Nniakup
( 15 15 15 1€
m=5&t58+58+ 58, (
9 Sl TS g —
1 1 1 1 §1=m + 12,
U2_§fl—§§2—§f3—+§§4, N o =m — 1o — 213,
11 — ot
773:§§3+§54’ &3 =13 + M4,
12 1 \54:773—7747
\?742553_5&4:
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npnbnhg’

3! 1 0 0 m
&1 [t -1 -2 0 72
1 (oo 1 1 3
&y 0 O 1 -1 N4

Qwjwuwnpnidp Yptpnyh Ywinbwlwd wbuph, bpebk (z,y,2z,t) thnhn-
huwwbilitphg wbgbbip (§,7,¢,7) thnhnjuwwdbbph htwmlyw) géwht
allwhnhunipjut dhongny

¢ 1 1 0 0 x §=z+y,

1 =10 O =x—v,

ml_ gyl )" Yy
¢ 0 -2 1 1 z (=-2y+2+t,

T 0 0 1 -1 t _ .

T=z—1:

\

Muunuujuwu@l® Niumpuwhhwbppnyuw, juinbwud mbupp’

Uge — Upy +Uec —Urr =0, =4y, n=0—y, (=-2y+z+t, 7T=2-1:

Onhttwmy 2.24: Qwyjwuwpnidp pbph jubntwlwt wmbuph L juumwnpt)
htmwugu wwpgbgnidutn.

Uy + 2Uzy — 2Ugy + Usy + Uy — Uy +0.5u =20 +y + 22 :

Lnidnid: Qntkip hwiwwwwmwuhiwd punwlyniuught alip b pipkap Yuw-
untwjut mbtuph.

B(&1,8€2,63) = €2+ 2618y — 26183+ €2 = (&1 + & — &3)? + 2683 — €2 =
=6+ & -6 — (L&) + &

Gpt ytngttlp n =& +&—&, 1 =& —&, 13 = &, wmyw @ punwyniuwght
aln Ygnyh
D(n1, M2, m3) = 05 — M5 + 13,

Juintwlwud mbupny, npntinhg ny =2, ng =0, n_ = 1, wyuhipld hwjwuw-
nnidn hhwbppnjuwwt mhwh E: Niakop

m ==& +& —&s, §S1=m —n,
ne = & — &3, =3 &=m+n
n3 = &3, &3 = s,
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npnbnhg’

3 1 -1 0 m 1 -1 0
& l=[o 1 1 m |=M=[0 1 1
3 0 0 1 13 0 0 1

Cwjwuwnnidp Yptinyh Jwintwlwt wmbup, tpbt (z,y,z) thnthnhow-
Jwbtphg wbgbip ({7,¢) thnhnpuwjwudbbph htnlyw) gdéwyht
altwhnhunipjuwd dheongny'

19 x 1 0 0 x

n =MT y |=1-1 10 y |,

¢ z 0 1 1 z
Jwd np nyht B hbmlyw) puwbwalttpny

SZZE, ZL':§7

n=-r+y, Ty=£&+n,

(=y+z z==8=n+¢

Cwjwuwndwd dte dnlnn wnweohl Ywupgh wéwbhgyutbnp tnp thnthn-
hwjuwtbtnny yupmwhwjmybt htnlyw] pubwabtnny.

Uy = Ugy + UnT)e + UcCe = Ug — Uy, Uy = Uey + Uty + ucCy = upy + uc
Lwih np  tpypnpn Jupgh  wowbgjwtph  gnpowyhgtipn
hwunmwwmnitttn G, www oquuwagnpobiny pwnwlniuwghtt auh
Juintwlywd mbupp, unnn Ghp gnpby’
Uge — Uy + Uce + (ug — ty) = (uy +ue) +0.5u =26 + (E+n) +2(={ —n+ () :
Wuwhuny, hwjwuwnpdwd juintwjwd mbupd £
Uge — Uy + Uee — Ug — 2Uy — u¢ +0.5u =& —n+2¢:

Unwgywdé hwjwuwpnidp pny; £ wmwhu Juwwwnpbk] htmwgu
wuwungbtignidtin: Ghipdnidkbp Gnp” w(€, n,¢) $nrliighw

w(&m, ¢) =w(&,n,C) erstrine

pwlwalny: Niokbp

ue = (we + pw) eué-l—un-i—v() U, = (wn + vw) eué-l—un—HC’ ue = (we + yw) €NE+V77+’YC7
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164.

165.

166.

167.

168.

169.

170.

171.

172.

173.

174.

uee = (wee + 2pwe + pPw) T w = (wy, + 20w, + vPw) T
uce = (wee + 2ywe + Y2w) eIt

Stnunntnyg jutnttwjud mtuph dte L puwdwbbiny we U dwhu dwubnnp
etsHvntCh, lumnmwbwbp

Wee — Wy + Wee + biwe + boywy, + bawe + cw = (€ —n+2(¢) e M1, (2.26)

Wuwmbin™ b, =2u+1, by=—-20—-2, b3=2v—1, c=p?>—v?*+*+pu—2v—~v+0,5:

Lhwmntbp ¢, v L v pytinpn wybiwytu, nn b, = b, = b3 = 0: Fpw hwdwn whwmp
EJbngtty ¢ = —0,5, v = -1, v = 0,5, npntinhg ¢ = 1: Sknunnkny (2.26)-h
Ut Junmwbwlp wyd yjuinhwwd mbupp, npp sh wupnidwlnid wnweht
Jwuingh woéwtgyuutn:

Muumwupawll™  we — w,, + wee +w = (€ —n+2¢) e 505

u(é,n,¢) =w(&mn, ) e WO =g p=—a+4y, (=y+z:

lvtanhpatp

Munpqgb] hwjwuwpdwd mhup.

Uy + Uys + Uy, — 322Uy, +ySinzu +267Y =0

DUgy + Uyy + DU, + 4ty — BUy, — duy, —u + yz?sinz =0 :
Ugg + 2Ugy + 2Uyy — 2Uy, + 33Uy —u =0 :

Stzy + 4uyy + du,, + 4ny - 4uyz + 2u, — Uy + zye® =0 :

£tpt] juintwwuh mtuph.
Uy + 2Uzy — 2Ug, + 2Uyy + 6u,, =0 :
Ugg + 2Ugy — 2Ugpy + 2Uyy +2u,, =0 :
Ay — dugy — 2y, +uy +u, =0
Ugy — Ugy + Uy + Uy —u, =0
Ugg + 2Upy — 4y, — Oy, —u,, =0
Ugpg — gy + 22Uy, + 4y + U,y + 3uy =0
Ugy + Ugy + Uy, — Uy + Uy =0
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175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

185.

186.

187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

gy — 2Upy — Uy, —u =0

Ugg + Sy + 3Uzy — 2Upy — 2Uy, — 2Uy, — 8u =0

Ugg + Uyy + Uzy + OUgy + 22Uy, + 2Uy, + 2uy + 20y +2u, +4u =0
2Upy + DUy + 2U,, — By — 4y, + 6uy, —3u+y —22=0:

Uyy — 2Uzy — 2uy, +4u =0

Ugg + 4Uyy + Uy + gy + 2Ug, + 4uy, +2u =0

Ugg + dUyy + Y, + 4Uyy + O6Ug, + 120y, — 20, — 4uy — 6u, =0
Ugy + Ugzy — Uy, + 2Uy —3u =0

Ugy — Ugy — Uy, = 0 :

1
Ugpy — 2Ugy + Uy, + Uy + zUy =0

2
Ugy + Uszz + Uy — Uy = 0 :
Ugy — Ugt + Uz — 2Uy + 2Uy = 0

Ugg + 2Ugy — 2Uy, — 4y, + 2uy +u,, = 0

Uy + 2Upy — 2Upp + Uyy + 20Uy, + 2Uy + 2U,, + 2uy = 0

£tnb jubntwlw b mbtuph L juwnwpt] hbtmwgqu wwupgtgnidutp.
Ugy — Ugy — Uy + Uy + Uy +u=0:
Ugy + Uy + 2uy — 3uy +4u, —u=0:
Ugpg + Upy + Uzz + Uy + Uy +u; +u=0:
Uyy — 2Ugy + Uz + Uy + Uy +u; +u=0:
Ugy — 2Upy — 2Ugy + Uy + Uy +2u, +u=0:
Ugy — Uzy — 2Ugy + Uy + Uy + U, +u=0:
2Ugg + Uyy + Uz + 2Ugy + 22Uy +uy +u, +4u=0:
QUpy + Uyy + Uzy — 2Ugy +2Uyp — Uy +u, +u=0:
gy + Uyy + Uzy — 2Ugy + 2Uyp, + 2Uy + 2uy +2u, =0 :

Ugy + Uyy + Uz — 2Ugy + 2Ugy — 2Uy, + 2Up —u, +u =0
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Qniju 3
{huytppnujui mhyh hwjuwuwpnidatp

§ 1. <hwtppnujut hwjuwuwpdwa pipynn ywupqugnya panhpatp

<hwtppnuwd mhwyh hwywuwnnidttn wnwybk] hwéwh hwinhwynid Gh
wjwhuh $hghluut hutnhnpbtnpnid, npnip Juwywéd Gt muwmwbnnujuh
wnngtubtinh htwm: Yhunwupyttp Phghjuut ninhpttnh ophttwjutp, npnip
pbipynid G0 gdwyhtt hhytppnpuw mhwyh hwjwuwnpnidtiph: Yphtwnplytip
twl. uygptwyud b tgpnuyht wuwydwtobnh npywédpn:

1.1 Lwph wwtwujjua wmunwtnidatiph hwyjwuwpnidp: “hgnip
aunil, wnwaquwub, p(zr) gduyhtt hunnipnilt nittignn jupnp agyuo b 7,
6hgny: Gupwnptip, np hwjwuwpwlppnnipjud Jhéwlinid wyt phlywd k
Ozu Unnpnhbwwnwihtt hwppnipjut Ox wnwigph yYpw: Lwnph Jwndnidp
pinipwagnynid £ u(z,t) $nruyghwyh dhongny, npp dwdwbwyh ¢+ wwhht juph
r wpughu nilitignn Ytwmh opnnhttwwni k: w(z,¢) $nrujghudt puwjwnwunnid b

p(x) g — To Uy =0

hwjwuwnpdwin, npp Yngnid E juph muwmwtdwd hwjwuwnpnid:
Cwvnwwnnil nnipjud ntuypnid, Gpp p = const, hwjwuwnnidp Yupbh k£
8 lei]

Uy — CLQUJ::E =0, a = TO/p

wmbtiupny:

Gprbt juph z wpughu nibtgnn Ytumnid dudwbwyh ¢ wwhhh wgnnid E
F(z,t) nhnnipjudp nid, wyw Gpw pwunpdnidp Gjupwuwgnynid E wthwdwutin
hwjwuwpdwdp®

F(x,t)

Uy — @ Uge = f(2,1), flz,t) = )

“Qhgnip junp guniynid Euh dhowjwypnid, npp nhdwnnnid E pw pupddwbin:
Gupth E pinnitt, np £, nhdwnpnipjut nidp hwdtdwwnwlwb E junph jtwmbph
wpwagnipjuap (£ = ku, k> 0): Wn nbypnid juph pwpdnudp Gupwgnnn
hwjwuwnpnidp Ypanni@ih htwmlyw) mbtupn

9 k
Uy + buy — a“ug, = f(z,1), b:;:

QYhdtpthghw) hwjwuwnnidtbnt nidth wophy pwbwynipjudp ;nLonidatn:

Npngbiup dhwindtp tuwpugptint hwdwnp nhdbpttghw; hwjwuwpdwin
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whtwmp I Ygb] npnp jpugnighy; wuwydwbobn: dudwtwyh gutjugud yuwhhb
jwnph Ytwtph nhppp, jud np nyht B ou(z,t) $niiljghwd npnptint hwdwn
wihpwdtpom E nittbiw) wdtt dh Ytmh nhppn L wpugnipnitp dudwttwyh
htg-nn to wwhhtt: Unynpupwnp wn wwhp wijwbnid G ulgpbwijumit W
ybngtnid G ¢ = 0: bw lpwbwlynid E, nn w(z, t) $nrdljghutt whwmp £ pujupwnph

u(l‘,O) = (p(.%’), ut(x70) = 1?(37)

wuydwbttnhb, npmtn ¢o(z) ¢ (z)-p mpywd dnrayghwbtip Gh: Yn wuydwthtpn
Ungynid G0 uhgplwut yud Unphh wwydwtbtn: Gt ¢ jud v dnityghutiiphg
nnlk dtyp Gnybwpwp qnpn £, wyw hwdwwywmwupiw bt ujgpbujut wuydwtn
Ungynid £ hwdwubtn, hwjunwl ntwypnid” wthwdwutbn:

Wodtpg junph ntwypnid dhuytt uygplwlud wuwydwidbpny juph nhppp
dhwpdtp npnpynid E: Yhuwwtdbpne Jwd ybpeowynn juph nbwpnid dhuyh
ulgptwuld wwydwidtpp pwjwpwup Lb:  Whhpwdbtpm E wmw npnpwilyh
wwydwtbbtn twle juph dwyptnnid: Qpwbp Ynyynid b Ggpuyhtt wwydwbbtn:
Ophtiwy, Ytppwynp junh nbwypnmd (0 < » < 4), tpp dSwyntipn wdpugywd b,
tgnuyht wwydwbattpn Yniotbwut

u(0,t) =0, u(l,t) =0

wmbtupn: Gpt juph Swyptnn pwupdynid G4 hte-np onttipny, www tgnpujyht
wwydwdbbtpp Ypinnitth htmlyw) mbtupn

U(O, t) = M(t)v u(f,t) = V(t),

npwtin x(1)-0 W v(t)-0 mpJud nraghwbtp G4 yjuppgwod ¢ dwdwbwyhg (4. 1):

u

u(0,6) = () /\

» u(l,t) = v(t)

Ul. 1 Lwph dwyntpn punpdynid i mpywo onkbpny:
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Shwpwynp GO Gwle ninhp mhwh Ggpnuyht wuwydwbbtn: Ophtwly, Gpp qjunph
r = /¢ 6wypn wquu E (puguuynid F wpmwpht nidp), wyw Ynittbwbp

uz(0,t) =0

tgnuyhl wwydwan (4. 2):

u

UY. 2 Luph awhu dwypn wdpwgywd E, hulj we dSuynn” wquwm: Luph we dwynnid un@ih k, npp
>undynid F wnwbg pthuwe:

Gt jwnph z = 0 Suynp pwupdynid k x(¢) optiipny, hulj z = ¢ dwypnid wgnnid
6(t) nLdn, mwyw Ynirhtitwmtp
w(0,6) = p(),  w(lt) = 0(t)

tgnuyht wwydwbatbpn:
“thgnip jwuph duyntiphg dtyn, ophttwly z = ¢, wipwgywd £ wnwaquljut
quuwiwlh: Wn nbwypnid Ggpuyh wuwydwhd phnnitnid £ htnlyw) mbupn

uz(€,t) = —hu(l,t),
npnbn 2-n quuubiwlhh Ynpunnipinitp phnipwgnnn hwumwwmni B wnwa-
qulwuinipjuld gnpdwhgn:
Gprt junh Suynptinpn wipugywo th wnwaqujub quuubtwyttnh (4. 3) W
>wndynid G mpywéd optiipny, wmww tqpuyht wuwydwbhobkpp Yihokh

Uz(ovt) = hl(u(ovt) - Xl(ﬂ)? u:v(g’ t) = _hQ(u<€7 t) - X2<t)) :
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I

Ul. 3 Unwaquwul wipwgnid. Ay, ho-p quuyubwlitiph wnwaqujutinipjut gnpébwjhgbtin
th:

Wuwhuny, =0 6wypnid hhdtwjwbh tqpuyhlt wwydwtbtpp htwmlyuwg
tptph GO

+ wnwght whwh' w(0,¢) = u(t) (wpdwd Eowndiwb onklipn),

* tnypnpn whwh'  w,(0,¢) = 6(t) (Wpywd Ewgnnn nidp),
* tpnpnpn mhwh'  u,(0,¢) = A(u(0,t) — x(¢)) (wnwaquuwl wdpwgniy):

Llwbhwwmhw tgpuyht wuwydwbbbn yupnn G4 npdb) bwle 2 = ¢ Swypnid:

Grbt we dwunid gnywod w(t), v(t) Jud x(¢) dnruyghwiinphg npk dtyn qnn k,
wwyw hwdwywmwuhiwt tgpnuyhtt wuwydwin Yngynid £ hwdwubtin, hwjunwly
nbtwypnid wthwdiwubn:

1.2 @nnh tpuyiwjud munuinidatph hwjwuwpnidp: 2nnp hwu-
mwunnil jubwud jupyuop nitignn wnwaqujubt qubuwht dwpdht E:
Oxyz Unnpnhbtwwmuwihtt hwdwlwngt pbwnptip wtwbu, np Oz wpughutbtph
wnwigpn ninnyh annh tpnuytipny: Gpluwtujud mumwbnidttnph nbwpnid
annh qwtwwb hwwmnyph pninp jtwmtpp mbnuihnpuynid Gt Oz wnwbgph
ninnnipjudp L niLtbh Gnyh wpughun, npp jutjwttip hwnnyph ynnpnhtwwn:
“Yhgnip wyl hwwmnypen, npp annh hwjwuwnpwlpnnipjud yhéwlhnid nitbn =
Unnpnhttwwnmp, dwdwbwyh ¢ wwhhG nith o(z,¢) ynnpnhttwmp: Gpluytwua
nwwnwtnidbtpn Gupugnpynmid GO u(z, t) = v(z, t) — 2 Pnrujghwyh thongny: o
pwyjwnwnnid k

(B(x)us), — ple) wy = F(a, 1)

hwjwuwpdwbtp, npwmbtn F(z,t)-6 ¢ yuhh annh wnwbgph z UYnnpnhtwwn
niliignn Ytwmnid wqnnn nidh hpwmnipnitd b, E(z)-p° wnwaquljubnipjud
gnnowlyhgn, p(z)-p° hmnipnian: Gphb annp hwdiwubn k(£ = const, p = const),
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hwjwuwnnidn Ygpyh
Uy — @*Ugy = f(2,1), a=~E/p, f(z,t)=F(x,t)/p

wmbiupny:
Yn hwjwuwnpnidbtnphg jnipwpwiygniph hwdwnp Unphh  htnhpp
albwytnwynid E wjuybu. gtk wyh nidnidnp, npp pwjwpwpnid k

U(ZB, O) = gp(x)v ut(x7 0) = ¢(I)

ulgptwut wwydwhtbnht, npntn ¢(z)-p annh Ytwmbtph uhgptwjut ptinnida L,
¥(z)-n" wpwgnipniin:

Jdbnpowynn annh ntwpnid, Gpp wl gpuntgnid £ Oz wnwtgph [0,/]
hwwmywonp, npynid G twl wnwehl, tpypnpn Jud tppnpn mhwh tgpuyht
wwydwtbbtn:

1.3 Fltjmpujut munmwuinidatph hwjuwuwpniip: <wunnpnujunnyg
hnunn htywmpwlywbh hnuwbpnp phnipwgpynid £ 7 hnuwbph nmidny W FE
jupywdnipjudp: Yn dbtonipjnitbtnp jwhiywéd Gh hwnnpnujwunph z jtmhg W
dwdwtwlh t wwhhg: I(z,¢) W E(x,t) dnLughuttipn puwjwpwunpnid G

hwywuwnnidttinht,, npwmtn R-p dhwynp GtGplwunpnipjut hwnnpnuwunph
hEympuwwh nhdwnpnipmnitb k, L-p° htpbthbnniyghwh gnpoéwyhgp, C-o
niliwlnipiniip, G- hnupnp hwnnpnuwjwunh dwytplinyphg:

Gprbt hunnpnuwjwunph dwybpbnypn dbniuvugywd £ G = 0, . nhdwnnpni-
rpInLin >wwm thnpnp B R = 0, wwyw wyn hwjwuwpnidtbpn ybip G woynid
nmwnwidwd hwjwuwnpnidbtnh’

1
Iy —a*l, =0 Ey—ad*E,, =0 S =
t— a ) tt— @ ) a .C

1.4 Utiipputh jujtujjut mumnmwuwtniiatiph hwmjyuwuwpnidp: Utdppud
E Ungynid hwupp pwunwbpn, npn ;h nhdwunpnid éndwbtp: “hgnip dbdppwin
Jbpwgpnywé E Ozyz ninnuiynit Unnpphbwnmwlut hwdwlwunpgh Ozy
hwnpnipjutn: Glpwnpynid E, np dbdppwth ybmbppn mbtnupunpdynid o
Oz wnwigph ninnnipjudp: Gpb u(z,y,t)-ny pubwltip dudwtwyh ¢ yuhhb
Ubtuppwbh z wpughu, y opnhttwwnm nittgnn Ytwmh wwihuwmp, wwyw wb
pwywnpwnniy E

puy — Ty (Uge + Uyy) = F(z,y,1)

hwywuwpdwtp, npwmbn 7,-0 qupndt E, p=p(z,y)-n dwibplnipwjht
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humnipiniin, F(z,y,t)- wipmwpht nidh hinnipiniap: Yo Yngdnid £ dtdppwth
mwnwidwt hwjwuwnnid:
<wdwubin Utdppwtth ntwpnid (p = const) hwjwuwnpnidp Ygnpyh

Tt F(x,y,t
utt_a2 (uwx+uyy):f($7yat)7 a2:?0a f(xayat) :¥a

wmbtiupny:

1.5 <hnppnphtwdhljuyh U wyniumhljuyh bhwjywuwpnidatpp:
Qtnnijatinph W quqgtph wpdnidp ptnipwqgpynid b oo (z,y, 2,t), vz, y,2,t),
v3(z,y, 2z, t) PdnLujghwitipny, npntp dwdwbwyh ¢ wwhhtt (z,y,2) Yhwonid
7 wpwgnipjul ytiwmnph pwnunphstpt G4, hbputu Gwll  p(x,y, 2,¢)
hunnipiniéiny, p(z, y, 2, t) Gipniiny b wpwmwph® nidtph F(z, vy, z,t) hinnipiniiny:
Yin dbonipiniabtpn pwjwpwpnid Gt hhnpnnhbwdhlyuwh hwjwuwpnidttpnh
hwdwlwunpght’

% +7-Vi=F — %Vp hntwjwlwh htnniyh pupddwt hwjwuwnnidp,
% +V-(pt) =0 wihugbihnipjut hwywuwnniup,
p=f(p) ptnunnhitwdhulwi Jhdwh hwjwuwnnidp,
nnunbtn’
v_7 g .0 7 0
=1 % +7 a—y + &,
htmbwpwn
B ov oy Ov o _0p _Op - 0p
U—U18—+U28—y+7)36, p—Z%—F]a—y 8,

Y (i) = d(pv1) N A(pv2) N A(pvs)
PU)= "o oy 0z

Qhnwupytip qugtpnid auyih mwupwddwd hnbnphn: Ghpwunptip”

« wpwmwpht nidbpp puguyuynid &4 F = 0.

o Awjh mwpwodwl ynngbup wnhwpwwm £

B o\’ P[P ! _&
o-n(2) w 2o (2) (1-9),

nnubn po-t qugh ugptwul pmnipniad £ pe-0 ugptwuud atpnidp,
Cy,- L Cp-t oinunitbwlnipynitiint G hwunmwwnit apdwt W dSwjwih
nbtwpnid.
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e qugh mwwnmwinidbbtpp thnpp G4 wpwgnipjud L umnipjud thnthnhunt-
pnLhitnp Junbh Ewbwnbutyg:

Yn ntbypnid wpwugnipjubd U = -V - ¥ wynmbtghwp pwjwnwupnid £
Utt — CZQ(Uxx + Uyy -+ Uzz) = O

hwjwuwpdwbp, npntin = a = +/vpo/pe  Guytth wpwugnipnihb k:
Luwl wmbuph hwjwuwnpnidutph G pwdwpwupnid twl p Qtpnidp W o
wnwgnipjniin, npntp Ynyynid G0 winiumhugh hwywuwnnidabn:

§ 2. Unphh huinhpp

2.1 Ynp)hh htnhpp Gpyni waupu thnthnhujutatph npbhuwpnid:
Lanmpwugphzitph dbpnnp: Yhnwpyttp hhwybppnjujwud mhwh

all(xv y)uxoc + 2&12($, y)uxy + agz(l‘, y)uyy + bl (337 y)ux + b2($, y)uy + C(ZL’, y)u = f(xa y) (31)

hwywuwpnidp, npntin v = u(z,y) mhuwym $nrtyghwmdt £, hull ai1, a2, ag, by, bs
gnnpoéwyhgtutpn W f we dwun mpywd whiptnhwuwm $niuyghwbitin ta,

2
D = a7y — A11G22 > 0:

“thgnip Ozy Unnpnhtwwmuwht hwppnipjniinid nittip S nnnply Ynn, npp
wpynid k y=g(z), g€ CY(R) (Quu z = h(y), h € C'(R)) hwjwuwpnidny, W nph
ny; Uh Jtwmnid pnputhnnp ¢h hwdpblonid wn Ytwmny wbghnn phnipwuqnphg
Unnh pnpuwthnnh htm: Spywd b Gwl S Ynph ypw npnpywid i(x,y) yahmnnp,
nnp guijugwd (z,y) € S jhwmnid gnith pnputhnnh ninnnipjnitup: Lowtwltip
Q={(z,y) |7 €R, y<glx) Qudy>g(z))}: Muwhwboynid k gty u € C*(Q)NCH(Q)
$niiljghw, npp © mhpnypnid puywpwnnid k (3.1) hwjuwuwpdwan

| @ el [R— 3:2)
Hlumo =P O |y ’ ‘
wuwydwbhttnhl, npwtn ¢(z)n W ¢(@)-p mpyuo Inidyghwbttp th: UWn
wwydwdbbtpp Yngynid G Unphh wwydwbhtbp, hul (3.1)-(3.2) hauinhpp Unphh
hutinhp:

Grb a1, a1, a,b1,bo gnpdébwlhgtipn . f wye dwun wiptnhwuwm th Q
wmhpnypnid, ¢ € CYR), ¥ € C(R), mwuw (3.1)-(3.2) niinph nidh dhwly jnionid:

“thgnip qumbytp £ (3.1) hwjwuwpdwl pbnhwtnip jnionidp, npp
Jwwnniiwyh vk thnhnpupwjwtthg yuhpywéd tpynt judwjwuwd $niayghw:
Unphh huinhnp (nLotnt hwdwnp wtwmp Fwyn $nityghutttint nhhnpt; wyttybu, np
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pwdwupwnytt (3.2) Unphh wwydwbbbtnp: (3.1) hwjwuwnpnidp, b htmbwpwp
Unphh hutinhnp Gppbdt htwpwydnp E jhbnid nuédt) pnipwugnphyobnh dbhpennny:
YUy + Uy — guy =0, y>0,

Ophtwly 3.1: Lniok) Unphh hutinhnpn.

u|y:1 =1-u, uy|y:1 =3:

Lnidnid: Qutbip hwjwuwpdwl pinhwtnip nionidp: Ywqubkbp
pbnipwgph; hwjwuwpnidp® —y?dedy + (dz)?> =0, nph phnhwonip hinb-
gnuitpnt &0 z=¢, 32—y =c: Yuumwnpbhngy (=2, n=3z—-1* thnthn-
huwwubbttiph thnjuwphtnidp, hwjwuwpnidp Yptpdh e, = 0 juintwjut
wmbuph, nph pnhwinip nonidh £ w(& n) = f(€) +g(n): Waghtny (z,y)
thnthnpuwwabdtph, Juunwiwip hwjwuwpdwd pinhwinip nidnidp’

w(z,y) = f(z) + 9Bz —y):
f W g $nibyghwttnp npnptbp ugptwuwt wuydwtbtnhg

f@)+9Br-1)=1-u,
—3¢'(3x—1)=3:

Wowbghlip wnweohli hmjwuwpdwd we b dGwphu dwubknpp®
f(x)+34dBr—1)=—1:

Qwpyh wnlbiny tpypnpn hwjwuwnpnidpn® ¢Bz —1) = -1, Juumwbwip
f'(x) = 2, npubnhg’ f(z) = 22 +
Unwohtt hwywuwnnidhg g8z — 1) =1 -2 — f(z) = 1 — 3z — ¢: Wuwkn
z-h thnhuwuptt mbtnunntiny (z + 1)/3, junmwbwbp g(z) = —z — ¢: Wyuwhuny,
hutnnph nionidh B
w(z,y) = f(x) + 98z —y’) =20 +c— Br —y’) —c=y’ —a:

Muunuuhiwm@®™  u(r,y)=y> —x:

Onhttwlyy 3.2: Lnidb] Unphh hutinhpn.
Upg — 2Ugy + 4e¥ = 0,
w(,y)],_g = 2W), ualz,y)|,_, = V() :

Lnidnid: Qubbkip hwjwuwndwt ptnhwtnip jnidénidp: Punipwqphg
hwjwuwnpnidh
(dy)? + 2dxdy = 0,

nph pnhwbnip htmtgpnuotnt &4 y=c¢, y+22=c:
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Yuunwnpbinyg ¢ =y, n=y+2z hnhnhuwlwudbtnh thnhuwuphnidn® hw-
Juuwnpnidp Yptpgh Jubnbwlwbd mbuph® ue, = ¢¢: Lnidkny wyd’

w(& ) =ne* + f(€) + g(n),

WL wbgbbiny (z,y) hnthnppwwubbtph™ Juonwiwip hwjuuupdwud
nnhwbtnip nidénidp’

u(z,y) = (y +2x)e’ + f(y) + g(y +27)) :

Wjumtn f-n b ¢-0 judwywjut $niuayghwttin ta:

Oquybtny ulgplwutt wuwydwtbtnhg wn $nibyghwmbdtiph npnpdwt
hwdwp yunmwgyh htnlyw; hwdwjunpgn®

{ F(y) + 9(y) = p(y) — yev,

Gninnpn hwjwuwpnidhg”

Yy

f n)dn — e’ +c:
0

Stnunptny hwdwwungh wnwehl hwjuwuwpdwd dte®

1

Y
2f ndn — e’ + ¢ = p(y) —ye’,
0

Jumnwiwp’

—_

Y
— Yy _ Z/
fly) = 20f ndn + e —c+ o(y) — ye

Unwgywd f W g Iniblyghwitinpn mbtnunptip pbnhwbinip jniddwb
pwliwalLh dbko®

y+2z

u(l’>y) = (y+ 2.1‘)@3/ + cp(y) —yel +eY —c— %J¢(n)dn+ 5 Oj w(n)dn — eyt

y+2x y+2x

Oquytny f ¥(n)dn — fz/) Ydn = j n)dn Gnybnipinithg L juwmw-
ntmny tdwt m&r}wd&hph Ufhulgnuf llumumump huinnph jnLonidn:

2:v+y
NQuunuwupawll™  u(z,y) = (1 + 22 —*)e¥ + p(y 2 j »(n
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Ophttwmy 3.3: Lniohk] Unphh hutinhnn.

{ Uz + 2 COS TUyy — sin? Ty, — Sinzu, =0,

u(z, y)‘yzsm =1 + COSz, uy(a:,y)’ =sinz:

y=sinz

Lnidnmid: Quibkip hwduwuwnpdwd pnhwtnip nidénidn: LUnipwagnhy
hwjwuwpnidh £

(dy)? — 2 cos zdzdy — sin® z(dz)? = 0,

npp mpnhynid E Gpyny
dy = (cosz — 1)dx,
dy = (cosz + 1)dx

hwjwuwpnidttph: Cinhwinip htmbgpwibtnd &4

y—Sinz +x = c,
y—Sinr—x=c

Ywwnwnpbiny

E=y—sinz + x,
n=y—Sinz —x
thnthnhuwwadtph thnpowphinidp, Junwbwip Juinbwlyul wmbupp’

gy = 0: Lanhwlnip mLonid E (&, n) = £(€) + g(n), huly (z,y) thnthnfuwlwh-
Gtpny’
u(z,y) = fly—sinz +z) + gy —sinz — x) :
Oquybiny ulygpriwumb wuwydwbttnphg f W ¢ $nithghwmbinh npnpuwt
hwdwn junwgyh
f(z) 4+ g(—x) = x + cos z,
f(x)+ ¢ (—z)=sinx
hwdwlwunpgn:
WUnwohl hwjwuwpiwd we L dwhu dwubkpnp wéwbhghkip”

f(@) =g (-2) =1-sinu,
wjtnithtmle gnidwnptip Gpypnpn hwjywuwpdwap, junwbwbp 2f/(z) =1,
npmtnhg f(z) = x/2 + c:
Unweohl hwjwuwnpnivdhg

/24 c+ g(—x) = x + COSx
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Juud
g(—z)=x—x/2+cCcOSx —c=1x/2+COSx —C,

npnbnhg, mtnunnptny z-h thnppwnpkb —2z, jumnmwbwip”
g(x) = —x/2+cosx —c:

Stnunptiny uvnwgywo f W g Pnidyghutitin phnhwinip piédwut
pwlwalih ke unwbtnid Ghp hubnnph nidnidp’

y—Sinx+x+ —(y —sinx — x)

5 c+ 5 +cos(y —sinz —z) —c=

u(r,y) =

=z +Ccos(y —sinx — x):

Muunuwuhiw@l’ u(z,y) =z + cos(y — sinz — z):
Ophtwly 3.4: L[niok) Unphh hutinhnpn.

{ih@m5uxy+2um,0

u(z,y)| ”

y=a = m, Uy(ﬂf,y)‘y:x = Sll’lx .

Lnidnid: Qubkip hwjywuwnpdwd pnhwtnip jnidénidp: APUnipwqnphg
hwjwuwnnidt £ 3(dy)? + 5dady + 2(dr)? = 0: Qunbbbp pnhwinip hiwnb-
gqnutitipp’

5 1
3dy:(—§—§ dz, dy +dx =0, N y+a=c,
3dy=(—§+1>dx: 3dy + 2dx =0 : 3y +2r=c:
2 2
Yuwunuwpbny

{=y+u,
n=2x+3y:
thnthnjuwwtbtnh thnppwphtnidp, hwjwuwpnidp Yptpdh we, = 0 jutin-

twhwl wbuph, npubnhg u(n) = f(6) + g(n): Whghtiny (z,y) hnthnfuw-
Juwtbtnh, junwbwdp hwywuwpdwd pnhwbinip nidénidp

u(z,y) = f(z+vy)+ g2z + 3y) : (3.3)

Unphh wwydwbbttnhg f W ¢ $niulyghwtiph npnpuwt hwdwp jumwgyh

£(22) + 9(52) = 37—,
f'(2z) + 3¢/ (5x) = sinx
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hwdwlwnpgn: Gpypnpn hwjwuwnpnivhg

1 3
éf(Qx) + gg(5m) = —CO0Sz +c,

Jud
f(2z) = —29(51‘) —2C0Sx +2c:

Stnunptip wnwohl hwJwuwpdwh ke

15%5

g(br) = —10cosz — T 22 + 10c, (3.4)
W z-h thnpuwuptt mtnunntip z/5, junmwbwip’
x 25x
g({L‘) = —IOCOSg — 25—_|_$2 + 10c¢ :

(3.4)-pn mtnunnbip hwdwlwupgh wnweoht hwjwuwnpdwb dte

f(2z) =10cosz +

1+a2 10c,

npnbnhg jumwbwbp

T 12x
=10cos —
f(z) 2 + 4 + 22

Stnunntny (3.3)-h vke” Jumwgyh hubnph nionidp’

— 10c :

T+y 12(x +y)
= 10cos — 10
u(z,y) 5 + It (@ ty)? c+

2
r+3y  25(2x +3y) IRTAP
5 25 + (2x + 3y)?

+ (—10003

Muumuujuwu i’

+y  25(2z +3y)
2 25 + (3z + 3y)?

2 3
— 10 cos TH Y

12
(x+y)2 +1OCOSI

A R TR

Onhttwly 3.5: Lniok) Unphh putnhnp.

1

y _ — pp2y
{e Ugy — Uyy + Uy = T,
y=0 142

u(x,y)‘yzo = sinuz, uy(x,y)’

Lnidnid: Quiblp hwjwuwpdwbd phnhwtnip nidnidp: LUnipwgnhy
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hwjwuwnpnidb ' —evdydr — (dr)? = 0: Qumbtlp pninhwinip htmbgnuybtpn®

dr =0,
=
eYdy +dr =0:

£ =,
n=e’+x

thnthnhuwlwbttph  thnhowphlinidp” Juuowbwbp  w,, =¢ Jubnbwlwub
wmbupn: Canhwbnip niomida b

T = c,

eY+x=c:

Yuwwmwnpbny

u(&,n) = 52777 + f(§) +g9(n),

npnbnhg’

(¥ + x)
2

Qumibkbp f b ¢ PnLbilyghwmtiinn ogmytyny Unphh wwydwttbtnhg:

u(, y)|y:0 = sinz wuwydwihg

u(z,y) = + f(z) +g(e? + ) :

23(1+ )

5+ fl@) +g(1+ ) =sinz: (3.5)

CLanhwininp niodwb pwbwalihg

x2e?

Uy = 5

+eYg'(e¥ + ) :

1
Stnwunpny wjunbin y = 0 W oquytiny  wy(z, y)|y—0 = T wuydwihg,
Jumnwugyh

Jud
g(+z)=

1+22 2
Wuwhuny

g(x) =arctg(z — 1) —

3

z-h thnpuwuntl mbnunptitip (1+2), junmwbiwbp” g(1+2) = arctgz— % +c:
Umnwgywén mbtnunptip (3.5)- vbke”

2(1 3 :
erf(x)Jrarctgx—%Jrc:smx:
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Wyumtinhg Ynpnpyh f $niighwtt’

23 (1+ ) 3 22(3 + 2x)

f(z) =sinz — 5 —arctgx+g—c:sinx— 5 —arctgx —c:

Unphh hulinnh nLoénidp jumwgyh pnhwtnip jniddwd pwbwalhg”

u(z,y) = w +sinz — M —arctgx — c+
+arctg(ey+x—1)—w+c:
— @ +sinz — - (xgey —b — arctgz + arctg(e? + = — 1) :
Muunuujuwull’

3 (v —e¥—1)3

5 + arctg(x — e — 1) — arctgx :

1 .
u(z,y) = §x2(ey —1)+sinx + i

Onhttwmyy 3.6: Lniok) Unphh puinhnp.

{ Y0 — uyy + Sytu, =0, x>0, y>0,
2

u(@ )|,y =% wyle,y)| =4

Lnidnid: Qubbkbp hwjwuwndwt ptnhwtnip jnidnidp: Aunipwqphg
hwjuuwnnidt £ ¢(dy)? — (dz)? = 0: Unwlhwbp pbnhwinip htwbgpui-
ttinp’

6z + % = ¢,

ydy + dxr = 0,
6x —y° =c:

y’dy —dx =0 :

& =6z + 15,
n =6z —y°
thnhnhiwwtbbnh hnppwuphtnidp, hwjwuwpnidnp Yptipygh
5)

Ugy + —— Uy =0

6(§ —n)
Juintwwut mbuph: Lowhwybing v = v,, v-h tjundwdp junwgyh

Yuwumuwpbny

hwywuwnpnidp, npp, Gpt »- hwdwntip wupwdtmp, wewwmynn thnthn-
hhwjuwubtnnyg unynpujut nhybntighw; hwjwuwnpnid k: Lniothny wya,
Jumnwbwap”

v(&,n) = (E—n)"g(n),

74



npwntn ¢-0 judwywuwbt $nibyghw k: »-h tjumdwdp junwgyh

= (£ —n)"%(n)

hwywuwnnidp, npubnhg’
u(€n) = [(€= 5"/ g(s)ds + f(€) - (3.6)
0

Cwjwuwndwd npbnhwinip nionidp vnmwbwint hwdwp wbhghtbp

(z,y) thnthnpuwwbbtph® mtnunpbiny (3.6)-h dte & = 6z + ¢°¢, n = 62 — ¢°:
Umnwlinid Gp”

6x—yo

u(w,y) = [ (6z+y° =) 0g(s)ds + f(6x +y°) - (3.7)

Wjuwntn f-p W ¢g-t dhtyl Gpninnpn yupgh wiptnhwm wéwbhgyw) nittignn
Judwyuwd $nidghwmdtn th: Qmbkip wyn PnrLtyghwubtipn” ogmybkinyg
Unphh wwydwbbtnphg:

u(@,y)|,_ = 2> wuydwbhg’

6x—y°
lim (62 + 45 — 5)"Sg(s)ds + f(6z) = 2% : (3.8)
y—0
0
Nniakop
5 6z—y
= (62+y" = (62— y) 7/ °g(6 — y°)(=6y") — & - 6y [ (6244 —5)"/og(s)ds+
0

6x—y°

+63° f'(62419°) = —6-27%g(62—y%) —5y° f (6x41°—5) "1 0g(s)ds+6y° f'(6x+1°) :
0

uy(2,9)],_o = 4 muydwbhg’

6x—y"

—6-275¢(6x) — 511I% <y5 f (62 + y° — s)ll/ﬁg(s)ds) =4: (3.9)
Yy—r

0
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Supytlp uwhdwbn.

lim (y5 6Q{Tyﬁ(ﬁaz: + % — 3)11/6g(5)d8) = 9lim (y5 6?11 g(s)d ((6x +y° — s)_5/6>) —

y—0
0

6 .. _
— g%}irolgf((&r—l—y(j—s)

6x—yS

- g fim 95( 2y®) """ 963 — y°) — (62 +y°) 09 (0) +6 Oj g'(s)d (62 + 4" — 3)1/6)) -

~5/6
_ 0 (2_5/69(6x) —¢(0) lim <6—$ + 1) +

5% y—0 yG

y—0
0

6x—y0
+61im <y5 j g (s)d(6x + 5 — 3)1/6)) =

s=6x—1y0
_ S, 27%/64(6x) 4+ 61lim ¢° ((6$ + 45 — 5)Y6¢/(s) -
5 y=0 s=0
6z—1y0 6
— f (62 + y° — 8)1/69"(3)ds) =5 276 (62) :
0
Stnunnptip (3.9)-h dte, junmwbhwbp’
—6-27%5¢(6x) — 5(% : 2_5/69(6:75)) =4,
npwntinhg”
g(6x) = —é 2256 Jwud g(z) = —% . 25/6 (3.10)

f Pnrblghwtt unwbwint hwdwp (3.10)-n mtnunptip (3.8)-h Uke®

6x—yS

lim j (62 + y° — s)_5/6( — % : 25/6)d8 + f(6z) = 2* : (3.11)
0

y—0

Qupytlip uwhdwn.

y—0 y—0

6x—yS
. 1 1 .
lim (6m—|—y6—s)_5/6<— 5-25/6)ds :—5-25/6 lim (— 6(6z + 35 — 5)1/6

s=6x—y5 )
5=0

=2-25/51im ((2y)"/¢ — (62 + y®)"/%) = —2"/6 . (62)"/6

y—0

Stnunnptny (3.11)-h dte, jumwbwip”
f(62) = 22 + 21/ . (62)"/°

76



Juud

6

Stnunntiny (3.10)-p W (3.12)-n ninhwtnip niodwt (3.7) pumbwalh vby,
Jumnmwtwiip pinnph nLonidp’

fla) = (f) S g e (3.12)

6x—y0

1 6 6 2
u(z,y) = j (6x+y6—s)_5/6<—§-25/6>d8+( xg—y) +211/6-(6x+y6)1/6=
0

6\ 2 6 2
—9. 25/6((2y)1/6 . (6.15 + y6>1/6) + <I‘ 4 %) 4 211/6(656 4 y6)1/6 — (l‘ 4 %) 4 4y .

6\ 2
Muunuuhiwm@” u(z,y) = <:c + ‘%) + 4y :

Uy — Uyy — 2Uy — 2uy = 4,
Onhttwmly 3.7: Lniok) Unphh putnhnp.

u|y:0 = —x, uy‘y:o =xr—1:

Lnidnid: Qubkip hwjywuwnpdwd pnhwtnip jnidénidp: APUnipwqnphg
hwjwuwnpnidl B (dy)? — (dz)? = 0: Canhwtnip hnbgpudbtnd Go

yt+xr= c Yy—Tr==cC:

Onthnpuwwbbtnh ¢ =y +2, n=y— 2 thnhuunhinidiny hwjwuwnpnidn
Uptinyh ue, + ve = —1 judntwjud mbuph: Ywnwpbny v = v, BPubwynidp’
v-h tquudwdp Juumwgdyh v, +v=-1 hwjwuwpnidp: o, bpb &0
hwdwnpttp wwnpwdbwmnp, wbowwmynn thnthnpupwjwtbtnng unynpujut
nhdptnbghw; hwywuwpnid k: Lnidbing wyt, junmwbwbp®

v(&n) = fil§e "+ 1,

npwnbn f1(6)-0 judwywuut $niiyghw k:
u-h tundwdp Junwgyh ue = fi1(§)e™” + 1 hmjwuwpnidp: hhwmbtgptinyg
wy@ puwn &-h, Ynidbowbp”

u(&,n) = f2(§)e™" +g(n) — ¢,

nnpubn fo-p W ¢-0 judwywuut nhptnptigtih $niuyghwbtn th:
Cwjwuwndwl pnhwinip nionidp vnmwbwnt hwdwp waghttp (z,v)
thnthnjuwwatbtph, mtnunptiny” =y -+, n=y— .

u(r,y) = folr+y)e"™ +gly—z) —y—x:
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Umnwgywédn Junpkih E gpb] htmlgw) mbupny’
u(z,y) = e flr+y)+gly—2) —y—x:

f W g Pnibilyghwttipn npnpttp Unphh wwydwbbbtphg: u|y:0 =—x
wwydwbdhg e* f(z) + g(—2) — 2 = —z : N1LUGOP

uy = e flly+a)+g(y—a)—1:

uyl o =r—1 wwydwhg' e*f(z)+g(-2) - 1=z —1:

Uwnwgytg htmlyw) hwdwwpgp®
e f () + g(—) = 0,
e f(2) + g'(—2) = :

Unwohtt hwjwuwpiwt we W awhnt dJwubpn woéwighing W
gnidwnbiny tpynnpn hwjwuwpdwbtn, jumwbwbp htwnlyw) unynpuju
nhdtntghw; hwjwuwpnidp

1
£'@)+ (@) = Jwe,
nnph pnhwbanip niomida &
f(x):—%(x+1)62x+ce’“", ceR:

Stnunnkp f(z)-n hwdwljungh wnweohtt hwjuwuwpdwa dte

1 1
g(—z) = e** (§(£ +1)e ™ —¢ e$> = 5(3: +1)—ce”:

Wuntin mbtnunnptny z-h thnpunptl —z, unwbnid Ghp"

xT

g(x):%(l—x)—ce_ ;

Unphh hutinnh nLénidnp jumnwgyh hwywuwpdwd pnhwinip jnidnidhg’

f Pnruyghuwyh wpgnidbbwmnid wmbtnunnpbingd =z + y, hull ¢ $nLuyghwyh
wngnidthmnid™ » — y: Wyuwhuny,

1 1
u(z,y) = e** (—§(y + 2+ 1)e 20 4 ¢ eyz) + 5(1 —y+z)tceV —y—x=

1 1
:5(1—3y—x)—§(y+x+1)e’21’:

N 1 1
Muuuwuhiw@l’ u(z,y) = 5(1 — 3y —1x) — E(y +x+1)e
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3 zx 4 T -3 T = O,
Ophtiwy 3.8: Lnidt) Unphh uénhpp. ¢ Ugy + Uyy — 3ty + Uy
U(xvy)’y:() - 90(1’), Uy(.T, y)|y:0 = w(‘r) .

Lnidnid: Qubkip hwjwuwndwd pnhwtnip jnidénidp: APUnipwqnphg
hwwuwnnidh £ 3(dy)? + 4dzdy + (dr)? = 0, nph pnhwinip hmbtgpwibnd
G z4+y=c 2+3y=c

Gwwmwnbny ¢ = =z + vy, n = z + 3y hnthnjuwwbbtph thnppwphtnidp’
hwjwuwnpnidp Ypbpyh

1
u§n -+ 5 u§ =0 (313)

Juintwlwh mtuph: Wt yunptih £ qgpby

0 1

wmbupny: bull nw Gywbwlnid £

1

uy+ 1= g101),

npwntin ¢;-np judwywuuwt $nityghw E: Lniobiny unmwgyuwd hwmyjwuwinniup,
Jumnwiwbip’
u(€m) = g(n) + f(€)e™"?

Waglhtbp (z,y) hnthnhuwlwbbbtph®
u(w,y) = (9(x +3y) + f(z +y))e T2

Qunbkip f L ¢ PnrLuyghwbtipn” ognytny Unphh wwydwbbbnhg:
u(z,y)|,_, = ¢(z) wwdwlhg™ (g(z) + f(2))e™* = p(z) : MU

—(z 3 —(z
uy = (39'(w+3y) + [/ (@ +y))e” TN = (gla +3y) + f(w +y))e” T

3
uy(2,y)],_y = ¥(x) wuydwhg" (3¢'(z) + f(z) - lolx) + f (x))e* = Y(a) :
Umnwgytg htmlyw) hwdwwungnp®

3(2) + £/(@) = 5(9(w) + [ (@) = pla)e’

Unwohlt hwywuwpnidip pwqduwuwuwmitip 3/2-ny W gnidwnpbtip
tpunnpnhd, junmwawbp

{ﬂ@+mwwmkm,

39/0) +1(0) = (o) + vi) )
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nputinhg )
39(z) + f(z) = j <;<p(7) + w(T)) e dr + ¢

0

Umnwgywéd hwjwuwnnivdnp niotiny hwdwljupgh wnwehtt hwjwuwpdw
htwm, junwbwbap’

g()z——so )et/? QJ( )T/QdT-f—C
1= 3o (3 s

Stnunnptip ptinhwinip niddwd dbe

zty

1 W 177073 3

43y 2

u(z,y) = ( — §<p(:c +3y)e 2 + 3 f (§g0(7') + w(T))eT/QdT +c+ igo(ac +ylez —
0

17 (3 w3 1
—3 (590(7) + ¢(7'))6T/2d7' — c) emF = gelety)e — Selr +3y)+
0

43y 4y

+ %lengy f <3<p(7') + Qw(r))eT/QdT — }lew?y f <3<p(7') + Qw(r))eT/QdT =

0 0
z+3y

3 ]. ]. x+3y
= 5%0(95 +y)e? — 5@(1’ + 3y) + na B f (3@(7) + 21#(7'))67/%17' :

T+y
Muunuuhawu@’

z+3y
x+3y

olx+yle ™ — %gp(x +3y) + i e 2 J (3p(7) +2¢(7)) e/* dr

T+y

[\CR V]

u(r,y) =

Ophtuwlyy 3.9: Lnidk) Unphh hutinhnp.

T2 Uy — 20YUyy — 3y*uy, =0, >0, y > 0,
U<I,y)|y:1 - gO(I‘), uy(x7y>‘y:1 = ¢(Z‘) :

Lnidnid: Qubkip hwjwuwndwt pnhwtnip jnidnidp: Aunipwqnphg
hwduwuwnnidt b 2%(dy)? + 2zydedy — 3y?*(dr)?> =0, nph pnhwinip hiwnb-
gnwbnt G z/y=¢, 3y =c:

Yuwwmwpbny € = z/y, n = 23y thnthnpuwjutitnh thnppwnphinidp” hwjw-

uwnnidp Ypbpyh )

=0
477 te

Ugn —
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yuintwlwh whuph: Gyuhwykny v — o, Yumwgyh v, — %v _ 0 hunju-

uwnnidp: Unwgywéh nudnidd B v = f1(6)n'/4, npntin £ (6)-0 Judwywlwb
P$nighw E: v Iniblyghuyh hwdwp Ynibithwbp

Ug = fl (5)771/47

npnbknhg’
u(&mn) = FE* +gn) :

Wuwmtn fn b ¢-0 Jjuwdwywywut nhdtptbgtih dnidyghwmbtipn bt (fn

fi dnmibighuwyh Gwhiwywbt b): UWbgbbiny (z,y) thnhnhuwlwbbbnh,
Junwbwip hwjwuwpdwh pnhwonip nidénidp’

u(z,y) = ¥y f (g) +g(2%y) :

Wowbghklp pumn y-h

Xz 1 X
e = () o (2 gty

Oguytiny Unphh wuwydwabhtpnhg f W ¢ $nrayghmliiph npnpywd hwdwp
unwgynid

2 f(x) 4 g(2*) = (),
1 ) .
—aT (@) + ¥ f (@) + 2% (2%) = ()

hwdwlwnpgn: Unweohl hwjwuwpdwd we L dwhn dwubkpp wéwmbghip

PP () + ) + 3 () = )

Gnynnpn hwjwuwpdwb we b dwha dwubkpp pugiuwwuwnmytip —3/z-ny

3241 (@) = <V (o) — 0% (o) = —= (o)

Qnidwpbngy umwgdwd hwduwuwpnidbtpp b pwdwbbny  42%/-h,

Jumwgyh
1 3

f(x) = Z$_3/490/(l‘) - 150_7/41#(1’)7
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npnbnhg’

1 T 3 T
_ C(.-3/4, N ! _
x) = 4!2 ¢'(2)dz 4!2 Y(z)dz + ¢
1
4

—(x3/490(3:) + le 27/490(z)dz> - zfz7/4w(z)dz +c:

1

Wuwhuny
f(z) = 1x o) + 3jcz7/4<p(z)dz - §f27/41/1(z)d2 +c:
4 16 / 4 / '

Stnunnptiip hwdwlwupgh wnwehlt hwjwuwnpdwt dby L qunbtip g¢(x)
P$niuyghwti: N1GkGp

3 3 -

3 €T
3y _ _.3/4 _ - 7 .3/4 —7/4 T, ..3/4 —7/4 _..3/4
g(a*) = p(a) —a¥* f(2) = Jp(e) — co j e(2)dz — fwa j e M(2)dz —ea’,

npnbnhg, mtnunptny z-h thnppwntb 7z, junwbtwtp”

3 3 vz vz

3
- Exl/‘l lj 2T p(2)dz — le/4 lf 2TAY(2)dz — catlt

fuinpnh nonidp unmwbwbp phnhwtnip piodwh pwbhwalthg hwpyh
wnitiny unwugywd f(z) W g(z) dnruyghwbtipn.

z/y

z/y
1 T 3 3
w(z,y) = *y' (Z x‘3/4so(y> +— | 2 p(2)dz — 1 f 2T (z)dz + c) +
1

16
L3 e 3 Wy
Z (x\/_) 234 1/4 j 2_7/4<p(z)dz o 1x3/4y1/4 j 2_7/47,/1(2)dz o c:173/4y1/4 _
1 1
1 T 3 x/y z/y
zzy@(g)—l—4g0 +—\/:v3 f ~y dz——\/x?’ j T (2)
Muunmuujuwu@l’

4 4

1 r\ 3 z/y z/y
u(z,y) = —yw(;) + —p(x —|— — «/x?’ f 2T p(2)dz — — /23y f /4y,
y
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lvanhpatp

Lnidt) Unphh juinhpp™ pnipwgphgtinh dtpnnny.

Uy + 2 Ugy — 3 Uy = 0,

199.

_ 2 } —_0-
u|y:0—3x, Uy yZO—O.

Uy + 4 Ugy — D Uyy + Uy — uy = 0,

200.
uly:O = (,0(1’), uy‘y:O = ¢($) .

2y

4y2 Ugq + 2(1 — y2) ny — uyy — r?ﬂ

2u, —uy) =0,
201. ( 2

ul o= e(@), uy| o =():

€Y Ugy — Uyy + Uy = 0,
372

i, =%

202.

= —sinz:

uy|y:0 -

203. 1
=sinuz, uy’ = —e":

ul
y=COSsx 2

y=COSx

Ugy — 2SN T Uy — (3 + €OS? ) uyy + u, + (2 — sinz — cosx) u, = 0,
=e*2cosm :

u| =0, uy|
y=CoS y=CO0S

Ugg — O Ugy + DUy, = 0,

205.
u| =sinz, w,| _=cosz:
y=x y=x

206 Ugy + 2SIN 2 Uy — COS® T Uy, + Uy + (Sinx + cOsz + 1) uy, =0,

=1+2sinz, uy}y:_cosz =sinz:

ul
y=—COS<zT

207 Upy + 2COS T Uyy — Sinzxuyy +u, + (1 —sinz 4+ cosz) u, = 0,

=CoSz, u =sinz:

ul, o
y=sinz y=sinz

208 Uy — Uyy + O Uy + Uy +4u =0,

{um — 2sinzu,, — (3 + cos?z) u,, — coszu, =0,

83



2.2 Unphh htnhnpp wihpwhtt hwjywuwupdw hwdwp: Ghpwht
hwywuwpnid E Yngynid w(zq, 2o, - - , 2, t) dnrujghuwyh Gumiwdp

U — a2(ux1z1 + Ugoaoy + o+ uxnxn> = f(mbx?? e 7$n7t) (314>

hwjwuwnpnidp: Uw dwptdwnhuwut $hghljuyh hhdtwjwt hwjwuwpnid-
ttnhg E, npp tqupugpnid F munmwbinnujut jud whpuhtt wpngbubtin
Uthuwhljwynid qunph, dtdpputh juytuju munmwbtnidtbn), winiumhjuynid
(Guytth wmwpwonid wmwppbp  Jdhowdwyptpnid), hHEjumpunhtwdhlyuwynid
(hEympniwgthuwlywb whpitnh mwpwénid) L wyit: Wu pninp ntwyptpnid ¢
wiuwh hnthnpuwljwtd nith dudwbwlh hdwuwm, hul zy, 29, -, 2, wmbiljwhu
thnhnpowuwtbbtpn widJuinid G mwpwowul thnthnppwubtbp: -0
npuwul hwumwwmnil £, npp pbnpnpnid E dhowduwypnid wjhph mwpwodwh
wnwgnipjniin:

n = 1 ntwypnid whpuwht hwjwuwnpnidnp Yngynid E juph mwmnmwtdwu® hwyjw-
uwnpnid, hulj » = 2 nhwypnid” dbdppwih mumwbdwd hwjwuwpnid:

Wihpwhtt hwjwuwnpnidp gpynid E dule

wy — a’Au = f(x,t)

wmbtiupny, npnbn’ = = (x4, 29, -+, x,), hul] A-it Lmwjjuuh owtipwwmnnph £

0? 0? 0?
:a—x%—l—a—x%—l—'“—kax%:

Lwbh nn 7 = at hnthnhuwwth thnhuwphtnidny wihpuwht hwjwuwnpnidp
pbpynid E
Urr — A’U, = f(l’,T/CL)

wmbtiuph, wwyw Junbjh E nhnwnlyt dhuyt o = 1 niygpn:

Ahgnip RIT=R"x (0,4+00) = {(z,t) |7 € R?, t € (0,+o0)}: Unphh hulinhpp
wihpwhlt hwjwuwndwd hwdwn abwitpwyynid | wjuybu. wwhwbeynid k
quliky u(zy, 2, - - - 2,,t) $nrbhghw, npp R -nid (3.14) hwJwuwpdwb nidnid
pwyjwnpwnniy k£

u‘t:():sp(xlaq’?a”' 7xn)7 ut‘tzoz/éb(mlal?)”' 7xn)a ($1,$2,"' 73771) ERn
Unphh wwydwbbtpht, npntn f-np, -0 W -0 mpyuéd $nibyghwtkn Ga: <wymbh

L, nptiph f € C(RYY), ¢ e C*RY), ¢ € CY(R"), myw Unphh futinhpt nitth dhwy
InLon1y:
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2.2.1 Ynphh hitnhpnp juph nmuunutdui hwjuwuwupdwi hwdwp:
Twjuiptph pwmtwalbip: Luph muwnuidud hwjuwuwupdw hwdwn Unphh

hutinhpt B
Ut — a2u:m7 = f(CL’,t), —oo <z <400, t>0, (315)
u‘t:o =p(x), w |t=0 =(x), —oo <z < 400,
nph nidénidp mpynid E Ywjwudptiph pwbwauny
(o +at) + o(x — at) 1 z+at 1 ¢ z+a(t—r) |
u(z,t) = . + 2%_[” dé + 2an j f §r)dedr:  (3.16)

— Uy = 61, R, t>0,
OphGuwly 3.10: Lniok) Unphh huinhnn. {Utt u = >

ul,_,=sinz,  w|,_,==:

Lnidoniu: Qunbtlp pinph nonidp” oquybiny (3.16) wjwdptnph
pwliwalhg.

a:—l—t t x+(t—1)
1
u(z,t) = =(sin(x + t) + sin(z — t)) £d£—|—3 T d§ dr =
2
xz—(t—7)

:sinxcost+xt+6f7(t—7) dr = sinxcost + ot + t* :

Muuwuhuw@l™ u(z,t) =sinzcost + xt +t3:

luanhpatp

Lniok) Unphh huiinhnpp (—oo < z < +00).

200, { Upp — % Uy = 0,

ult:() = Oa ut‘t:o = COSx:

2
Ut — Q7 Ugy = 07
210.
.2 ‘
u|t:0 =T Ul 1
2
Ut — A7 Ugy = Oa
211.
ult:O L ut|t—0 =7
Ugy — A° Uge = 0,
212. v
ult:O = Uty = 73
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213.

214.

215.

216.

217.

218.

219.

220.

221.

222.

223.

224.

2 _
U — A7 Ugg = 0,

ult:() =T, U =cos?z:

Uy — A% Ugy = 0,

ult:o - ) ut| =xCOST:

U — A Ugy = 0,
ul,_, = sin(a — 2z),

u|,_o = 2acos(a — 2z) :

2 _
U — A Ugy = 0,
1

ul,_, = 5008 4z,

u,_, = asinbzcosz :

2 _
U — A Ugy = 0,

= — ,—3T .
ul,_, = cosbz, u,_,=e%:
Ut — 81 gy = 0’
ult:o =Sz, ut‘t:o = 27w sin3rx :

Upt — Ugy = 6,

— 2 ‘ _ i
ult:() =7, Ut =0 4z -

— 2
Upp — Uy = bT7,

T

ult:o =e 7, ut’t:O =a:

Uy — 4 Uyy = L,

_ 2 ‘ o
ultzo_xa Ut t:O_'I'

Ugy — Ugg = a,

ult:() =7, Ut|t:0 =SInx :
_ ot

Ugg — Ugy = AC 7,

ult:o = bsinz, Ut|t:0 =cCOS:

Ut — Ugge = sin x,

ul,_,=sinz, wl|_,=0:
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225 Uty Uge = ex’
u|t:0 =Sinz, ut}t g = T+ COSx
226 Ut — 9um =Slnz,
ult:O 1, ut‘t o=1
5 .
227 U — A7 Uy = SINWT,
ult:O 0, ut‘t 0=0
2
Ut — Q° Uz = SIN WT
228. o
ult:O 0, ut‘t 0="0
Up — Ugy = X SINT,
229.
u|t:0 =sinz, wl, , = COSz
Up — Uypy = @ SINbE
230. ’
ul,_, = cosuz, _,=sinz:

231. 8nyyg muy, np tphb (3.15) nbnpnid ¢ U ¢ $niblyghwbtinp Ytahwm Go, huy f

Pnrulghwtt Yhtm E pum z-h, wmyw «(0,¢) =0

232. 8n1jg muy, np Lphb (3.15) nbnpnid ¢ U ¢ $niblyghwbtinpn gnyqg Go, huly f

Pdnruljghwmtt gqnyq k pum z-h, mwyw «,(0,¢) =0:

2.2.2 5pini nmwupuwdwujut thnthnhimjubatph ntwypp: UWhpwjht
hwywuwnnidp Gpiynt mwpwowljut hnthnppwjwubttnph ntwypnid Yngynid E

dbuppwth mwnmwtdw b hwjwuwnpnid: Unphh juinhpt £

utt_a2(u:€x+uyy) :f(xvyat)a (xvy) €R27 t>07
u|t:0 - gO(l’,y), Uy ‘t:O - w(x7y)7

nph nidnidp mpynid E Anitwunlh pwbwalny

) d€ d
o= [ )

—(n—y)?
S'n)d£dn

27ra jj \/a2t2 (77 y) T

1 gn,)dgmﬂh
2_ ofcff \/a2t2 — )2

a(t—T)

—(n—y)?
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Wyuntn C,-n (z,y) yahimpntny » punwynny ppowhitl £

={En) | -2+ (n—y)?<r’}

OphGuwly 3.11: Lniok) Unphh huinhnn.

{ U — Uy — Uyy = 6yt, (x,y) €R? > 0.

u‘t:OZL ut‘tzozl :

Lnidoniu: Qubtlp hbnph nuonidp” ogquybny (3.17) MAniwunbh
pwtiwalihg: Niakap

§d§d
u(r.y.t) = o at(ﬂwg 5 L — y))+
dédn
27Tﬂ¢t2 - n— y)

—
1 67]7'd§d77d7’
gof Jf s

_ 2 :
G -y

Cwpytiip hbwmbtgpwidtpn” wbgbbingy plbtnuwht Ynnpnhbwnwlwuwd
hwdwlwupgh@’ ¢ —2 =pcosg¢, n —y = psing, 0 < ¢ < 27, wmnwohl L tpypnpn
httmbkgpnuwjibpnnid” 0 < p < ¢, hul Gppnpn htmbgpunid 0 < p <t — 7

gdgdn _ (fx+pcose B
N e ] e

t t—7 2m .
[ sl ([ )

(n—vy

:—127ryj< (t—71)%2—p?

p=t—T

) dr = 127y f 7(t — 7)dr = 2myt?
0

p=0



Wuwhuny
1 0 1 1
(@, y,t) = o - 5o (2mwt) 4 o - 2t 4 o 2mytd =+t + yt?

™

Muuwuhow@” u(z,y,t) =z +t+yt3:

2.2.3 6ptip mupuwowjul thnthnjuwmjuaatph ntwypn: Unphh huinhnpt £

Uy — @ (U + Uyy + usn) = f(z,y,2,t),  (z,y,2) €R3, >0,
U‘t:():@(%y,z)a ut‘t:():w(x>yaz)7

nnh nLoénidn mpynid E Yhphuhndh pwtwabiny

w7 )= g o <Hs0€774 ) thsff?/)(fy??,C)der

fnc ¢<5—x>2+<n—y>2+<<—z>2>
: (3.18
47Ta2 J]I 22+ (n—y)2+ (C — 2) d§ dn d¢ : ( )

Wuwhn S,-0 (2, y, 2) Yalnpntng of pwnwynny qinughll twhtplingpd B
Sar = {(&:1,Q) | (€ —2)* + (n = y)* + (¢ — 2)* = a®*},
huly K, (z,y, 2) Yalunpntng of pwnwynny gniinp’
Ko ={(&n.0) | (€ =2+ —y)*+ (¢ —2)* <a®’}:
Ophfiul 3.12: Lniodk) Unphh ufinhpp.

{ U — (U + Uyy + uz) = 122, (2,y,2) €R3, ¢ >0,

u‘tzozz ) ut‘tzozy.

Lnidnid: Oquytilp (3.18) Uhppjuhndph pwbtwmalhg

.y 218) = 2= (ﬂgz )+4Lmjjnds+

47rﬂflzt_ D G ) il (S d€ dn d¢ :

+ =y +(C—2)

Cupytiip hbwmbtgpwibtpn® wtgtbhing udtphy Unnpnhbwnmwlwd
hwdwljupgh@’

E—x=pcos¢osing, n—y=psingsinh, (—z=pcosh:
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Wumbin 0<0 <7 0<¢<2r: UnwohQ L bpynnpn htmbtgpwibtpnid” p = ¢,
hul] Gppnpn htimbgpumnid 0 < p <t

2w

JI ¢*ds = jf(z +1tcos 0)2t2 sinédf dop =
St 0 0

= 222 Tjr sin 8dophi + t Tf cos? 6 sin Adfdp =
00 00

K ) ™ 4
= 2712 %t? f sin §df — 2rt? J cos? 0d(cos 0) = 4r2*t* + 5”4 :

2w 2T
ffnds:ff(y+tsin¢sin0)tgsin0d9d¢:thJISde@dqﬁ:élwyt?:
St 00 00
2
fﬂlzt_ —56)+(77—y)2+(4—2)2) dt dy d¢ =
)2+ (n—y)?+ (¢ — 2)?

V2p?sin@do do dp =

2 3 4

P PP

=487 (2 = -2 4
7r( 5 3—|—4>

OH:‘M

t 0
X

blb—*

p=t
= 4qtt -
p=0

Uhphuhndh pwtwalihg”

1 0 /1 4 1 1 1
t) = — 422t t* — = Ayt — Amtt = 2P byttt
u(z,y, z,t) ym at( ( +37r ) oAyt 22+t +yt +
Muumwuhuw @™ u(z,y,2,t) =22 + 2 +yt +t*:

2.3 Unphh huinph n1dn1dp 2wupptinph dhengny: “thnwnltip hwdiwubn
wihpwht hwjwuwpdwt hwdwp

Uy — a’Au =0, x= (21,29, - ,x,) €ER" >0,
u‘t 0 (10(3:17-7727 an)a (319)
Ut ‘t:o :w($17x‘27... 71*”):

Unphh hutinhpp: Wadhowjwt mtnunpnidny Junbh £ umniqghb), np Gptb ¢ UL ¢
$niuyghwiipnp waytipg nhdtintitgth G, wwyw

0 ok t2k . t2k+1 .
u(a:,t):Za <WA o(x1, 29, ,xp,) + (2k+1)'A (1, T9, - ,xn)) (3.20)
— ! !
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$nLuyghwi (3.19) hutunnh nrdénidh H, tpt dJhuyt we dwunid gpdud pwnppp W
wjtt pwunptinn, npntp unmwgynid G dhtgl tpynt wiqud winud wn winwud
wowtgtihu, hwjwuwpwywth gniquubtim G:

Gpt ¢ L ¢ -0 puwgdutinudtbn G, wwyw (3.20) >wnppn Yytp £ woynid
Jtpowynpn gnidwnh, W hbmbwpwn (3.19) htnph nudnidp Gnybwbtu Yhth
puquwinuu:

WYthwwm E, np 7 wupwitwmphg jupudwo

Uy — a?Au =0,
u|t:7_ = QO(.Tl,IQ,"' 71;7177—)7 (321>
ut|t:7_ :w(mlax%“' 7$n77-)

hubnnh nidénidp jumwgyh (3.20) pwbwdalhg t-h thnpuwupbkt mtnunnpbny (¢t —7).

u(xtT)—ia% (t_T)%Ak (21, @0, X, T) +
) Uy — (2l€)‘ P\T1, T2, sy

k=0

(t o T)Qk—i—l

2k + 1)!

Ak¢(x1a Toy: Ty, 7_)) :

(3.22)
Qhunwplytip wihwdwutn whpuwht hwdwuwnpdwd hwdwp hwdwubn

ulgptwuld ywuydwttbtnnyg punhpn.

wtt_GQAw_f(xtha 7xn7t)7
w|t:0 = O’ (323)
wt} 0

Yju ppinhpp hwdwywywwmwuphiwmttguttp (3.21) mhwh

Htt — G/QAH = O,
H|_ =0, (3.24)

Ht _ :f(xlux%'” an7t77—)
t=1

odwlnwl hutnnpht, nph nidnidp Jwunpbh ' unmwbw; (3.22)-hg, ytpgubinyg
=0, v=71.

o0 )2k+1

H(x,t, 1) = Za%L

2 k)

Cwjnlh £ Yniwdbh uhgpnitipp. Gpb H(z ¢, 7) dnruhghwb (3.24) hubnnh
nLonidh £, muyw

Akf($1,$2,"' T, T) (3.25)

w(z,t) = fH(SL’,t,T)dT (3.26)

Pnialghwt (3.23) pinnh niLonda k:

L A% =g, AFp=A(AF1y), k=1,2..., A- Luwjuuh oykpwwnnb k:
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Yniwdbih ulgpniiipn pny] E mwjhu withwudwubtn hwjwuwnnidnyg punhnp
ptint] hwdwubtn hwjwuwnnidny hutinnh:

Ophtimay 3.13: Inidhk) Unphh hulinhpp (—oo < z,y, 2 < 400, Au = Uyy + Uyy + Us,).

xt
1+ t%
u(z,y,2,0) = zsiny,

— Au=
(3.27)

u(z,y,2,0) =yCOS 2 :
Lnmidnid: “hgnip v(z,y, 2,t) dnLijghute
Vet — Av = O,

v(z,y,2,0) =zsiny (3.28)

ve(z,y,2,0) = yCcos z

hubnnh nionmdt k, huly w(z,y, z,¢t) dnrajghwd

xt
1+t
w(z,y,2,0) =0,

Wyt — Aw =
(3.29)

wy(x,y,2,0)=0:

htnnh: Wybthwwm E, np (3.27) hutnph nidnidp Yumwgyh wyn Gpyno
nidénidtbinp gnidwnbny w(x, vy, z,t) = v(x,y, z,t) + w(x,y, 2, t):

(3.28) puinph jnironidp Yumwgyh (3.20)-hg, ybhgbbiny a =1, ¢ = xsiny,
1) =1y COS 2.

e tQk L t2k‘+1 L
(x,y,2,t) kz ((Qk)‘ A%(zsiny) + mA (yCOSz)) =
=0
e t2]€ 2k+1 L
Z( xSlIly—i—m(—l)yCOSz):
00 g2k (L 1)kg2hH
:xsinyz +yCOSzZW::csinycostercos,zsint:

=0 k=0

(3.29) hutnph nidnmidp qutbint hwdwp Ywqdtbp H(z,y, 2t 7)
PnrLalyghuwyh Gumdwdp hbmlyw) odwtnwul hulinhpn

H,— AH =0,
H(xz,y,z,7,7) =0,

TT
Ht(x7yaz>7—a7—) - 1+7_2:
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Swdwawyt (3.25)-h°

°° 2’f+1 xT x7(t —7)
H( ‘) _wii—1)
@y, 2t7) ZO 2l<;+1 (1+7’2> 1+72

Umnwlwbp (3.29) nbnph nuonidp’ ogmybinyg “Hniwdbih ujgpniiphg.

t t to2
a:Tt—TdT dr
xy,zt:b[ny,th T:()j [y Oj +72—xf1+72

1
— §xt In(1+#*) — at + rarctg ¢ :
Wyuwhuny

u(z,y, z,t) = v(r,y, 2,t) + w(z,y, 2, t) =
. . 1 )
=z Sinycost+ycoszsint + §xt In(1+t°) —at +zarctg t:

Muunuuhawu@’

1
u(z,y,2,t) = SinyCcost +yCcoszsint + §xt In(1 +t*) — ot + varctg ¢ :

lvtanhpatp

Lniol) Unphh hutinhnpp (—oo < z,y < 400, Au = gy + uyy).

234.

ul,_, = cos(bz +cy), wl,_,=sin(bz +cy):
236.
237.

|
[
Y35 {uttazAu ,
|
|
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uy — Au = 22 — 3212,
238. " y
ult:O =e"Cosy, w,_,=¢€’ sinx :
uy — Au = tSsiny,
239. { " 4 |
ult:o = a?, ut‘t:o =Ssiny:
Uy — 3 Au = 23 + 93,
240. { " 2 y 2
ulf:O =75 ut‘t:o =Yy
U’tt — Au — 63$+4y’
241. oy -
= 3ot .
u|t:0 =¢€ Y, Ut|t:0 =e v .
uy — a® Au = (2 + y?)et,
242. " (@ +v7)
u|t:0 = 07 ut‘t:O - 0 .
uy — Au = —xyt,
243. { " Y

u|t:0 =0, ut‘tzo =1y
Lnidt] Unphh fjutinhpp (oo < 2,9, 2 < 400, At = Uyy + Uy, + u..).

Ut — AU = O,
244,

2,2,2

ul,_y =Yz, r?y?z?

t=0 =0

245, ) W Au=0

22 2 o
ult:o_x Tyt ut‘tzo—xy.

Ut — AU = O,
246.

2

u|t:0 = e” C0S Y, ut‘t:O =22y

Ut — AU = O,
247.

2 2 | 1.
ult:o_x+y7 uttzo_l'

|
|
|
- {uﬁ_MO,
|
|

— LT =z
ult:o =, ut}t:O =€

249 uy — Au = ax + bt,

ult:O = Yz, Ut‘tzo =xy+z:

ayzt
Uy — Au = m,

— ze¥ _
ul,_o= e,y =ye

250.

x .
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Uy — Au = 2xyz,
251, ¢ " Y
u|t:O =22+ P =222 |, =1
uy — 8 Au = t?2?,
252.
u|t:0—y2, ut‘t—o 22
Uy — 3 Au = 6(x? + 3% + 22),
253. { @ty )
ult:o = 2y, ut‘t 0o~ Y=
Uy — a Au =0,
254.
u|t:0 = (22 + 9% + 22)?, ut‘t 0= (22 + % + 22)?
255.

§ 3. lvwunp hntinhpatp juph MmumMutdwt hwywuwupdwta hwudwp

3.1 Townp hwtnhpatp Jhuvwwnwmagpnid: Yhunwpltip Yhuwwtytnyg
jun, npp ytpugnuod kx € [0, 400) npujul jhuwwnwigphti: Yyu ntiypnid juph
nhppp tyupwannn u(z,t) $nrdghwb, pugh uhgpiimjut wuydwibbphg, whnp
F pwdwnpwnph Gwlb nput wwydwbh jwuph dwpa” z = 0 Suypuybmnid (Ggpuyht
wuydwh): Wyuwhuny, Ynidbbwap hbmlyw) pbanhpp’

Uy — a*Uge = f(z,1), 0<x <400, >0,
w(0,8) = pt) (Qud w,(0,t) =wv(t)), ¢>0,
u(z,0) = o(x), w(r,0)=1v(), 0<xr<+o00:

Wju pulinph nudtjhnipjut hwdiwp wtthpwdbtom k, np mtinh nitttwb
1(0) = ¢(0),  #'(0) =9(0) (Quud ¢'(0) =v(0), ¢'(0)=1/(0))

wwjdwdbbtnp (hwdwawybitgyudnipjud yuwydwbhtbn):
QYhnwnlytip hwdwubtn hwywuwnpdwd hwdwp htnlyw) pinhpp®

Uy — a2 Uy =0, 0< 2 < 400, t>0,
u(0,t) =0, t>0, (3.30)
u(x,0) = p(x), w(r,0)=19(x), 0<z<+00

nputn’ ¢ € C*[0, +oc], ¥ € CH[0, +oo], (0) = ¢"(0) =0, ¥(0) = 0:
Lowbwlytlp @(z)ny W ¥Y(z)-ny hwduwywumwuhiwbwpwup ¢(z) W ¢(x)
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PnLayghwliiph YEowm pwupnibwlnipniabtpn

B(z) — o(z) tppz >0, ¥(o) = b(@), bpp z > 0,
—p(—z), tppz <0,

“thgnip U(z,t) dnrajghwul

Utt—a2Um:0, —OO<1'<+OO, t>0,
U(x,0) = ®(x), Ulzx,0)=T(x)

Unphh hulinpnh nionidh E: Wb mpynid £ Ywjudptnh pubwaling

z+at

®(z + at) + ®(z — at) 4 % j (&) de (3.31)

Uz,t) = 5

Whthwywm L, nn Gpp z € [0, +00), wyn 1nLénidn jhwdptyth (3.30) ppannh jniddwt
htn: dJhpwunwniwiny ¢(z) W ¢ (z) nityghmttbinhtt” ;n1onidp jumwgyh

(
ol +at) +@(x —at) 1 x
_ > < _
u(z,t) = (3.32)
o(x +at) —plat —x) 1 "L x
_ > >
5 5 tf Y(©)ds, tppe >0, ¢ > -
\ at—x

wmbtupny:
Gt whwmp E 1n1ot)

Uy — AP Uy =0, 0 <x < 400, t>0,
ug(0,£) =0, t>0, (3.33)
u(z,0) = p(x), w(x,0) =), 0<xr< 400

hutinhpp, www (3.31)-n1d ¢(z)-p W ¥(z)-p whwp L dhpgty o(z) W ¢(z)
P$nrLuyghwmliiph gnyg >wupnibwlnipynibdtpp’

U(z) =
¢(=z), bppzr <0,

{90(96), tpp > 0, {wx), tpp > 0,
O(z) =
Y(—z), Gppz<o0:
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Wn nbwpnid (3.33) ubnph nonidp Ygpyh hbmlyw) mbupny’

o(r+at) +o(x —at) 1 x
. el LGS tnpe>00<t <
u(z,t) = e—at

oz +at) +plat —z) 1 [ at—z .

OphGuwly 3.14: Lniok) ppbnhpn.

Uy — @’ Uy =0, 0<x < +00, t>0,
u(0,t) = u(t), t=0,
u(z,0) = p(x), w(x,0)=1v(z), 0<zr<4o0:

Lnidmid: Gwhi nudttp hwdwubn ujgphwjud wuwydwbtbpnyg
Uy — AP Uy =0, 0 <x < 400, t>0,

u(0,8) = p(t), >0, (3.34)
w(z,0) =0, w(x,0)=0, 0<z<+00

hwtnhpp: Lnidnidp thbwmptlp w(z,t) = g(x — at) mbupny: Gqpuyhtt wwy-
dwlthg”
u(0,t) = g(—at) = p(t),

npnbnhg’

wjhwbtiu np

Puyg pwth nn p(t) $nityghwtt npnpywd £ dhwyh Gpp ¢ > 0, wyw unmwugywd

PInLyghwutt npnpywd Yihtth, tpp et — z > 0: Npubtugh wlh npnpywd
1hth guijugwoé = > 0, ¢t > 0 wpdbpltph ntwpnid, pupnibwytip wo

ninniobny u(z,t) =0, tpp 0 <t < g: Wuwhuny (3.34) hunph niénida b

X
0, tnp 0<t < —,
u(z,t) = a

xXr e
u(t——), tpp ¢t > —:
a a

Uw gnidwnpbny (3.32) pwbwalny npnpynn (3.30) hubinph niodwbanp’
Junwtwtp dtn hntnnh jnioénidn:
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Muunuujuwul’

z+at €T

| ¥(6)de, tppr >0,0<t < -,

r—at

[ o(x+at) + oz —at) 1
+ J—
2 2a

— — 1 z+at
u( x) N o(z + at) : p(at a:)+% f e bnp 550, 15

\ at—x

SIS

Onhttwly 3.15: Lnioh puinhnp.

U — A% Uge = f(z,1), 0< <400, >0,
w(0,6) =0, 30,
u(z,0) =0, wuz,0)=0, 0<x<+oo,

nputn” f € C([0,+00) x (0,00)), f(0,¢) =0:
Lnidnid: “thgnip F(z,t) dnidyghwul f(z,¢t) $nidljghuh pum z-h Yhtwm
>unniiwlnipinitd B

QYhunwnplytip

Uyp — a?Uy = F(x,t), —o0o<z<o00, t>0,
U(x,0) = Ux,0) =0, —oo<z<o00

Unphh hulinhnp, nph jniénidn unpbh Eunwbaw) (3.16) pwbwalthg

t  xta(t—r)

1
Ux,t) = %J f F(z,7)dzdr : (3.35)
0 z—a(t—7)

Lwlh nn F(z,t) $nraljghutt Yhhwm E punm z-h, wmwyw U(0,¢) = 0: Nrukbp
tul
U(z,0) = Uy(x,0) =0
Wjumtinhg httmlnid E, np U(z,¢) dnruyghwt hwiptynid £ dtn hutnnh
mrodwl httm, tpp x>0, ¢t > 0:
QU wthnhutitip (3.35) pwhwalt wyhwbu, np wynbtn puguwhwjn auny

dwubtwlgh f(x,t) nrdljghwuti: thmwpltip Gnyne ntwp:
1) z>0,z—at>0(t<z/a): Yn nbypnid z-—a(t—7)=2—at+ar >0,
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niptuh’
1 t  xta(t—T)
u(z,t) = Uz, t) = —j j F(z,7)dzdr -

2a
0 z—a(t—7)

2) x>0, r—at <0 (t>z/a): Y niypnid”
<0, 0<7<t—2x/a,

r—a(t—7)=xz—at+ar
>0, 7>t—x/a,

htnbLwpwin®
1 t—z/a z+a(t—7) 1 t r+a(t—T7)
u(z,t) =U(x,t) = % j j F(z,7)dzdr + % f j f(z, 7)dzdr =
0 z—a(t—T) t—z/a z—a(t—T)
1 t—x/a 0 1 t—z/a x+a(t—7)
=50 f j (—f(—z,7))dzdT + o f j f(z, 7)dzdr+
@ 0 z—a(t—T) @ 0 0
1 t z+a(t—T)
% f f f(z,7)dzdr =
—z/a z—a(t—T)
1 t—z/a x+alt ) 1 t z+a(t—T)
=5 j f (z,7)dzdT + o j f flz,7)dzdr -
@ 0 t—xz/a x—a(t—T)
Muunuujuwul’
Bl 3”
— f(z,7)dzdr, x>0 0<t<—,
2a 0 z—a(t—7) @
u(z,t)=
1 t—z/a z+a(t—T) t  zta(t-7) T
2 j f fz7dzd7‘+—f f flz,m)dzdr, ©>0,t>—:
a a
0  a(t—7)—= t—x/a x—a(t—T)
lvtanhpatp
Lniodk) pwnp huinhnpn.

Uy — AP Uy =0, 0 <z < 400, t>0,
256. § u,(0,t) =v(t), t=0,
w(z,0) =0, w(z,0)=0, 0<x<+00:
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U — a2 Uge = f(x,t), 0<x<+00, >0,
257. ¢ u,(0,t) =0, t>0,
\u(x,O):(), u(z,0) =0, 0<x<+00:

(

Uy — a* Ugy = f(z,1), 0< a2 < 400, >0,
258. ¢ u(0,t)=0, t=>0,
u(z,0) = p(x), w(x,0)=v(), 0<xr<400:

)
U — a* Ugy = f(z,1), 0< <400, >0,

259. ¢ u,(0,t) =0, t>0,
\ u(z,0) = p(x), w(x,0) =), 0<xr<4o00:

(
U — a* Ugy = f(z,1), 0< a2 <400, t>0,

260. U(O,t) = ﬂ(t)a t =0,
| u(5,0) = p(@), w(5,0) = B(z), 0<z < +oo:

)
U — a* Ugy = f(z,1), 0<x <400, >0,

261. ¢ u,(0,t) =v(t), t=>0,
\ u(z,0) = p(x), w(x,0) =), 0<xr<+400:

4
Uy — AP Uy =0, 0<z< 400, t>0,

262. $ u,(0.) — hu(0,4) = x(t), h>0, ¢>0,

\u(m,()) =0, w(z,0)=0, 0<z<+00:

3.2 Tvwnp htnhptp hwwnywodnid: QGhgnip ¢ Gpunpnipjubd juph
ybwmbtnn hwjwuwnwipnnipjut nhppnid gpuntgtnid Gt Oz wnwbgph [0,/

hwnjwoén: Wu nbwpnid juph nhppp Gyuwpwugpnn w(z,t) $nidyghwi, pwugh
ugpliwjutt wuwydwbttnhg, wbtwmp ' pwjywpwnph Gult npnpulh tgpuyht
wwjdwtbtnh jwuinh 2z = 0 W 2z = ¢ dwyptinnid: Ynuwhuh hubnhpbtnp Ynyynid
Ll huwunp yud tgpuyht hutinhnpbtn:

QYhnwnlytip hwdwubtn Ggpuyhl wuwydwhtbpny hpwunp ppnhpp®

Uy — AP Ugy = f(2,1), O<z</l t>0,
uw(0,t) =0, w(l,t)=0, t=0,
U(:B,O) - 90(33)7 ut(x>0) = Q/}(x)» S [ng]’

nnnbtn’
fec{o<z < t>0}, f(0,2) = f(£,1) =0,

p € C*0,0], ¥ € CH0,4], 9(0) = p(€) = ¢"(0) = ¢"(£) =0, ¥(0) = (¢) =0
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QYhgnip  F(z,t), ®(z) W ¥(z) Pnihghwbtipn hwduwywunmwuhiwbwpwup
f(z,t), p(z) W(x) PInrtyghwbtiph Yhhwm W 2-wyupptpuui pwnpnibwlni-
PInLabtnh Gh: Wuhtph' F(z,t)-0{—0cc < 2 < 400, ¢ >0} Jhummwnpwodnipiniinid
nnnpyud wyt Pniulghwb E, npp punm z-h 2-wwppbpuwwb £ L judwywulut
t > 0 hwdwn

Flae.t) = { f(z,t), 0<x </,
— < x<0,

—f(—ZE, t)?

hull &(x) W ¥(z) Inruhghwitipn (—oo, +oc)-nid npnpywd 2-yuppbinpuud wyt
PniLulghwmbtipt ta, np

/

0 < l 0<z <Y,
b = | 2@ < N o
—p(-x), —€<z<0, —(—z), —L<z<0
Yhgnip U(z,t) $niijghwutt httmlywy hulinnh jnionida B
Uyp — a*Uyy = F(z,2), —00<x<+00, t>0,
U(x,0) = ®(z), Ulx,0)=T(x):
Swdwawyt Ywjwudpbpnh pwtwalth”
Pz +at)+P(x—at) 1 i et
Uz, t) = . to | v©de+ o f j F(€,7) de dr -

r—at 0 z—a(

Whthwywm E np {0<z</¢ t>0} pwgqunipniinid U(z,t) Pniblghwt
Jhwdntyth dbp pinph jnrodwd htin:
Whhwdwubn tgpnuyht wwydwbttpny

(

Ut — A*Ugy = f(,1), O<x</t, t>0,
u(0,t) = u(t), u(l,t) =v(t), t=0,
u(z,0) = p(x), x € 0,7,

w(z,0) = (x), x €0,

hawnnp putinph niénidp Yuptih £ thiwnptg
ule,t) = vle,t) + ult) + 7 (v(t) = p0))

mbtupny: WYn nbtypmd o(z,¢) Pnitghuyh npnpdwul hwdwp Juuomwtwbp
hwdwutin tgpnuyht wwydwtbtbnnyg pubnhn:

fFownn punph jnirodwt ytnp pupunpnywuo dtpennp Yngynid E owupnituljdwa
tnubtwl:
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loanhpatp

Lniok] huwnnp hubinhpp' pupnibwdwd tnubwlny.

(
Uy — AP Uy =0, O0<z<l, t>0,

263. ¢ U(O,t) =0, u(& t) =0, t=20,

77
u(z,0) = sin 7% u(z,0) =0, 0<zx<</L:
\

)
Uy — AP Uy =0, O0<az<l, t>0,

264. ¢ u(0,t) =0, wu,(l,t)=0, t=>0,
\u(m,O) = Az, w(z,0)=0, 0<z<</:

(
Uy — AP Uy =0, O0<z<l, t>0,

265. u$<07t) =0, ux(ga t) =0, t=0,
T

u(z,0) = cos 7% w(z,0) =0, 0<zx<< /L
\

§4. Pnthnjuwmjjubatph wmtswmdwl dhpnnp

Onthnhuwwbbtnh wiowmdwh jud dnipth dbpennp juyt Yhpwunnipinid
nibtgnn JUbtpnnitphg k, npny nioynid G ppwnp W tgpuyhtt hubnhnpbtn
hhuytppnyuw, wwpwpnuyud W Hhywnwlywi wmhwh hwjwuwnpnidbtnph
hwdwnp:

4.1 Gmnipd-Lhniyhjh hmtnhpp: “hwnwnytip htptwhwdwinié mbupny
anwd tpynnpn jungh qéuwhtt hwdwutin

(p(2)y) — q(x)y + Xp(x)y =0, =z € (a,b) (3.36)

unynpulju nhdtintighw) hwywuwpnidp, npubn p(z), p'(z), qz) W p()
Pnruyghuttint winpinhwwm Ga (¢,0) Thowuwypnid, p(z) > 0, g(z) = 0, p(z) > 0,
p(z)-n uwhdwbwthwy E, A -&" yupwdtwnn:

Quutpuytip htmlyw] hninhpp' thtwmpynid k (3.36) hwjuuwpdwh wyh y(z)
InLonidp, npp C?(a, b) N Clla, b] nuuhg k, L npp pujwpwpnid b

{a1 y'(a) + B1 y(a) = 0, (3.37)
az ' (b) + B2 y(b) =0 (3.38)

tanuyht wuwydwbbtnpht: Wuwmbn o4, 81, as, B2 gnpoéwyhgbtinpn mpywd hwuwnmw-
wnnibotp &4, pon npmd” o2+ 2 #£0, i =1,2:
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(3.36) hwjwuwpdwbinp W (3.37), (3.38) tgnuyhl wwydwbbbphtt dhpwn
pwjwnwunnid b y(z) =0 Inruyghwul, npp Yngynid E mphyhwy nidnid: o
A rhyn, nph ntwypnid (3.36) hwjwuwnpnidt nith (3.37) W (3.38) tqpnuyht
wywjdwtbbtnht pwywpwunnn ny; wmphyhw) nuonid, Yngynid £ wyn pubnph
ubthwlwd wpdbtp, hul Gpwld hwdwwwwmwuhiwinng ng mphyhw) nidénidp’
ubithwwt $niblghw: (3.36)-(3.38) hutinnh pnnp ubthwwb wpdtputnh W
tpuwig hwdwwwwnmwuhiwtnn utthwjwt $dnitlghwbbnh npntdwt pubnhpn
Ungynid £ Gunipd-Lhniyhih hubnhn:

Qwjwnbh Lk, nn.

1. Annipynihd nitbl hwpybih pyny ubthwliwh wpdtpitpn, npnip Junpbh E
hwdwpwlw ] wadwh ungny

>\1</\2<)\2<...<)\k<...,

non npnid”

k—o0

2. Pninp ubthwlwd wpdtpbtnpn ny; puwguuwlud G4 A\, >0, £ =1,2,..., pn
npnid” Ay = 0 phyn ubthwwd wpdtp F wyt L dhuyl wyh nbwypnid, bGpp
q(x) =0, Bi=p2=0:

3. Wdkt Jdh A ubhwwt wpdtph hwdwwywunwupwinid B dhwy
(hwunmwwmnit wpmwnnpsh Gunipjudp) y(z) ubthwijut $niuhghw, W
wutt Uh ubthwujwt $nityghugh hwdwwwmwuhiwiinid Edhwl ubithwujut
wndtp:

4. Ubhthwljwud $nityghwttinn juqunid kb oppngnliu] hwdwlwng p(z) Ypnny

b
fp(x)yn(x)ym(x)dx = {O’ #m,
7& 0, n=m:

5. Umtyinyh ptnptd: C?[a;b) nwuh gwiugwd f(z) Pnilyghw,
nnp pwywpwpnid b (3.37) W (3.38) wwydwttbpnht, punm utthwjwut
PniLyghwtiiph Jtpnioynid b hwjwuwpwywuth gnigudbtn  dnipjth
2wnph’

f@)=> au(z), a<z<b,

k=1

o0

npwnbn’

Qp =

1 ° b ,
o o) S e el = o) ()", k=120
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Onhtiwly; 3.16: Lniok)] Gunipd-Lhnighih panhnpp.

y'+Xy=0, z€(0,0),
y'(0) =0,
y'(6) =0:

Lnidnid: Ghwmwnplttp Gpynt nbwp:

1. X =0: Gu nbypnid hwjwuwnpnidt pnnitnid £ ¢ =0 mbupp, nph
ninhwbnip niond b y(z) = iz + e ¥/(0) = 0 yuydwlthg unwonid kop
c; =0, mpbdl” y(z) = : ¥'(¢) =0 wuydwbp pwjupupyuo £ guijugwo
co PYh nbwpnid: Wuwhuny, A =0 phyp ubtthwliwt wpdtp E huly
Gpwt hwdwwywmwuhiwbng yo(z) ubthwud $niiyjghutt qpnjhg mwunppbn
guwtugwéd hwumwwmnnil: NMupgnipjud hwdwn Yyapgttp yo(z) = 1:

2. 2> 0: WQu nbwypnid hwjwuwpdwd ptnhwbinip nidénida B

y(z) = c;cos VA + ¢y sinvz

¥ (0) = 0 wuydwlhg' vVAc; =0 Jud ¢ =0, npntinhg” y(z) = ¢; cos vV Az:
Y (0) = 0 wuydwhg' —vA ¢; sinv/A = 0 Jwd sin VA = 0, npmtinhg'

wk\ 2 ok
)\k:<7>, yk(x):COSTx, k=1,2,...:

. Tk\ 2 7k
Mumuuhawu b Ak = (7) , yr(z) = COS 7% k=0,1,2,...:

4.2 Luph munuwidul hwmyuuupdwé hwdwp jpwunp pnph nidéndp
thnthnhiwujuaatph wmiswmdwd dtpnnyny: Yhnwunytip hbmlyw; hwnp

putinhpp’
Ut — AP Uyy = 0, O<z</l t>0, (3.39)
a ug(0,t) — Bu(0,t) =0, t >0, (3.40)
v ug (0, t) +d u(l,t) =0, t>0, (3.41)
u(z,0) = ¢(x), x € (0,4, (3.42)
Lug(x,0) = (), x € 10,4, (3.43)

npubn ¢(x), ¢(x) Pnruyghmbint wtptinhwwm G4 [0;/-n1d, hul «, 5, v, o
hwunmwwmnibtpn ny puguuwub G . a+ 4 >0, v+ 6 > 0:
®hwnnptbp tnybwpwn qnnjhg mwupptn

u(z,t) = X(x)T(t) (3.44)
wnbuph $nityghw, npp pwjwpwupnid k (3.39) hwjwuwpdwbn b (3.40), (3.41)
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tapuyht wuwydwbdtphb: Sknunptinyg (3.39) hwjwuwpdwb dbe
T'(t) X(x) —a*T(t) X" (z) =0

I wmbhowwmbiny thnthnhuwjwbbtpn, yjumwbwap”

X//(x) _ T//(t) ‘
X(z) a®T(t)

(3.45)

w(z,t) dniuyghwtt Yhtth (3.39) hwjwuwpdwt nioémd, Gpt (3.45)-p 1hth
tnybnipinih: bPull nw htwpwynp E wyt W dhugyt wyb nbwpnid, tpp wye
I dwphu dwubipn hwjwuwn jhtth Gnyd hwunmwwmni@tht: Twbhwlybinyg wyn

hwumwwmnian g-ny’
X”(.TJ) T”(t) _
X(z) T "

T(t) $nLughuyh npnpdwt hwdwn junmwbwbp

T"(t) — ua*T(t) =0 (3.46)
hwjwuwpnidp, hul X (z) $nLdyghuyh npnpdwd hwdwnp
X"(z) — pX(z) =0 (3.47)

hwjwuwnnidnp:
Npwbtugh (3.44) $niblyghwl pwjwpwunph (3.40) W (3.41) Ggpuyhh
wuwydwbhttnht, X(z) $nrtljghutt whwmp £ puwjywnunh

a X'(0) — 8 X(0) =0, (3.48)
v X'(0) + 6 X(0) =0 (3.49)

wwydwtbbtnhb:
(3.47) hwjwuwpnidp nith (3.48) W (3.49) wwydwubtnht pwjwpwunpnn ng
mnphyhw) nuonid, Gpp ¢ < 0: Qupdwpnipjul hwdwnp yapgbtip ¢ = —\2%:
Wuwhuny, X(x) $nLilghwyh npnpuwlt hwdwn uinwgytg htmlywy ubinhpn

X)) + XX ( ) =0,

a X'(0) = X(0) =0,
gl ’(€)+5X() 0,

nnp Jubjwobip (3.39)-(3.43) hunphtt hwdwwwwmwuhiwt Gunipd-Lhniyhih
hutinhn:

“Yhgnip quniyly G wyn pbinph pninp A\ ubthwiwb wpdbpitpn L X (x)
ubithwwt $nibyghwbtinpn: “hmwupyttp tnynt ntwp:
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w) %462 # 0: Yn nhwpnid gpnh utithwwh wpdtp sk A, > 0: Stnunpbny
(3.46) hwjwuwnpdwd dte ¢ = -7 I niokny wyl, junwbwip’

Tk(t) = aj COS ait + by SIN at, k=1,2,---,

nnutn a;-0 W b-0 gmugwé pytn th:
Yjuwywhuny, uvnwgwiip hwpyth pwtwlnyg

uk(x, t) = Tk(t)Xk(f) = (ak COS a\it + by, sin a/\kt)Xk(x)

PniLayghwmttip, npnip pwdwpwpnid G (3.39) hwjwuwpdwtn W (3.40), (3.41)
tgnuyht wuwydwbtttpht: Wythwwm Lk, nn (3.39) hwjwuwpdwtn W (3.40), (3.41)
tgnuyhl wwydwbtbpht jpwdupwunh dwle

[e.9]

u(z,t) =Y (a, COS aryt + by Sinat) Xy (x) (3.50)
k=1

PniLiyghwmt, btpt Jhuyb we dwunid gpywéd pwppnpn UL wyd pwpphtnp,
nnpniip unwgynid b dhiyl Gpine wiqud wiinuwd wn winud wowbghbihuy,
hwywuwnpw,wth gnigudbwm G:

Nuwhwbetiny, np (3.50)-ny npnpynn u(x, t) dnrujghwul pudunuph twl (3.42)
I (3.43) uhgpliwwt wwydwhttpht, uvnwbinid Gop
Y wXi(w) =), > bpahXi(z) = ¢(x)
k=1 k=1
hwjwuwnnipjnitbbnn, npntp mbtnh Ynitthwb, tpb o, W b,e ). PUYLERD 1hUGED
hwdwwywwmwuhiwbwpwn ¢(z) W ¢ (z) dnrLbyghwiitinh $n1ipytih gnpébwyhgutinn

l

L
@) Xu@)dz, X2 = [ (X)) da

0

1 1

ap = Wof@(x)Xk(iﬂ)d% by, = WAL

(3.51)

p) B=0=0: Un nbwypnid gqpnd ubthwjwd wpndtp ¥ X\ = 0, A\p > 0, & > 1:

Ao = 0 utithwwl wpdtipht hwdwwywmwuhiwinng X, (z) utithwud $nityghwut

gqnnjhg mwppbpn guijugwd hwumwmnit E: Mwupgnipjut hwdwn ybtpguttp
Xo(z) = 1:

Gnp ©= X =0, (3.46) hmjwuwndwd pnhwbnip nidnidb B 7y(¢) = ag + bet:

Wn nhiwypnid (3.50) pupph thnjuwnptt Yytpgttip

u(x, t) = Z Tk(t)Xk(l') = ag + bot + Z (ak COS a),t + by sin a)\kt)Xk(z) (352)
k=0 k=1
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2wunpn, nputin

hul Ujniu’ ay, by, & =1,2,--- gnpoéwhghtipn npnpynid &b (3.51) pwbwalittnhg:
Wyuwhuny, (3.39)-(3.43) hulinhpp nrobne hwdwn whwmp £

1. Yuqut] honpht hwdwwywnmwuhiwt Ginnipd-Lhnighih nnhnpnp:

2. Gumilbt vnmwugywd Gunipd-Lhnigyhith hutnnph A\ ubthwiwut wndtpubpt no
Xi(z) utithmut $n1tyghwttinnp:

3. Qb a; W b, gnpowhgtbnn:
4. Stnunnh (3.50) pwunpph Ju, Gpb gqpnt ubtthwljwb wndtp E, (3.52) punph
ubio:
Onhttwmly 3.17: Lniok) punp hubnhnp.

Uy — AP Ugy = 0, O<zx<dt, t>0,
uz(0,t) =0, u(l,t) =0,

T 3 5%y
u(z,0) = COSﬂx, u(z,0) = cosﬂz +cosg:c :

Lnidnid: Cwdwwywwmwupiwb Gwunipd-Lhniyhth hubinhpt B

X"(z) + A2 X (2) = 0,
X'(0) =0,
X () =0,

nnph utthwwh wpdtptbnd ni ubkthwlwh $niayghubtnth &4

w(2k — 1) ¥ w(2k — 1)
— k() = cos —5r

Lnidénidnp, hwdwauwyh (3.50)-h, nrtbhw

Ap = T, k=1,2.---:

e am(2k — 1) ar(2k — 1) t) cos w(2k — 1)

u(x,t):;<akcosTt+bksmT 57

x (3.53)

wmbiupn: Lhwmptlp ap W b, gnpéwhgttinn wytwbtiu, nn u(z, ¢)-0 pwjwnwunh
ulgptwlub ywuwydwttbnht: Stnunptny (3.53)-h dke ¢ = 0 L ogunytiny

0 ™
u(z,0) = cos YA
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wuwydwbhg, jumwbwbp

ad m(2k — 1 T
ZakCOSQ—g:L’—COS?éx,
=1

npnbnhg a; =1, ag=a3=...=0:

(3.53)-hg’

w(z,t) =

2 an(2k — 1) . am(2k — 1) am(2k — 1) m(2k — 1)
=y ——— - ————t+b —t —
2 57 ( ay Sin 57 + by, cOSs 57 CosS x

20
Stnunntny ¢t = 0 L ogqmybtiiny

3 5
us(x,0) = cos Ty +cos Ly

20 20
wuwydwbhg, nLdbowap’
©_ ar(2k — 1) ; w(2k — 1) 3 51
ZT £ COS —— ¥ = COS 7+ COS &

k=1

Yju hwjwuwnnipijnitp mtnh Yniobtw, Gt ytpgutip

20 20
61:0, bQZ—, 3 = -, b4:b5:...:OZ
3am Sam

Umnwugywd a, W b, pytinn mbtnunntny (3.53) pupph dte™ Jumwbhwip
hutinph nLénidnp:

Muunuujuwuil’
. am . T 20 3am . 3 20 Sam . 5%
= COS — t COS — ——COS ——tCO0S — ——C0S——tC0S — x:
u(z,¢) 20 20" T 307 %% 20" T 5an 0% o0 20 "

Onhttwmy 3.18: Lwph z=0U =5 duyptipn wdpwgywéd th: Uygptwjubd
t = 0 qwhh@ jupn n1bh ¢(z) = z(z — 5) mbupn, hull  wpughu ni1ttgnn
Utwmht hwnnpnynid k¢ (z) = 2 mpugnipinih: Qnbl] duwdwbtwlh ¢t ywuwhht
Uy — 25Uz, = 0 hwJwuwnnidny npnpynn junh » wpughu niiignn Yawmh w(z, t)
opnhtwwnn:
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Lnidnmid: wu(z,t) pnruljghwul

(

U — 20Uz =0, O0< 2z <bh, t>0,
u(0,t) =0, wu(b,t) =0,

u(z,0) = ¢(z) = z(x = 5),

u(z,0) =YP(z) =

\

htnnh nidénidt E: Qujwuwpdwb jnidnidp, npp pwjwpwunnid E bgpuht
wwydwbtbnht, hbwptip w(z,t) = X(2)T(¢t) wmbupny: 7(¢t) Pnrulhghwjh
nnnpywt hwdwp jumwbwiip

T"(t) + 25X T(t) =0 (3.54)
hwjwuwnpnidp, huy X (z) $nrayghuyh npnpdwdt hwdwp®

X"(x) + )\2X(x) — 0,
X(0)
X(5) =

Gunipud-Lhniyhih hutnhpp: Ubthwiw® wnpdbpbbnt nr ubthwywubt $niily-
ghwitnb &4

nbn npniyd”

5
1 Xk(2)||2 = Sin_x jsm —xdx—

k
Lniobny (3.54) hwjwuwndp, Gpp A =\, = % Junmwbwbap”
T(t) =Tg(t) = arcosmk t + by Sinrwk t :

futinnh nLonidn hbwmptip

©© 7k
u(z,t) ZTk (t) Xy (z :Z(akCOSWkt—i—kalnﬂkt)Sln?x (3.55)
k=1

=1

o>uipph  wmbupny: OApnpktp «, W b, gnpdbwlhgttpntt wybwbtu, np
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pudwnpunytl uhgpbuut yuydwbbbnpp.

1 9 2 mkx
ar = ———— | (@) Xp(z) do = = Sln—dx—
STEHER 7RG
2 br(x —5) tkx > 5 D kx
=— |- cos — | (22 —5)CcoOS —dx | =
5( k 5 0+7T]€»0[<x 2 5

510 % 7kx
smedx =

0 7Tk
5
0>_

100 100
= =53 (cosmk — cos0) = —73 (-1)F —1),

2 [((2r—5)-5 | wkx
~ ok o

—sinnk + —sin0 COS —
o S SO 5

2 (25 25 50 wkx
T Tk

) 1 DX kad
S — sm— -
P A Xk (x ||2jw pla)de === ff” v

2 5%4 wkx |° 5 ° kad
—% ——C0S — 7Tk COST X =

7k 5
2 25 wkx
— | ——cos7k+0- cos()+—fcos—d:c =

- Sk 7k
0) a

10 10 10
_ k1 - ino) —
= =5 (1) + perE (sin7k — sin0) =

= — | ——(=1)* sin
Sk (=D +

2 25 25 | mwkx
wk m2k2 5

Stnunnptny (3.55) pwunph dbe” junmwbwbp hulinnh nionivn:
Muunuuhawu@t’

10, [ 10 —1)k . mkx
u(zx,t) sz (wk«* (1) — 1) cos wkt + 12 smmk:t) smT:

Onhttwly 3.19: Qnnh vh Suynp wdpwgywé k, huly Wniu dwynnid wgnnmid k Q

nidp: Qubl annh tpnuwtwuljut munmwtnidbtnp, Get ¢ = 0 Wwwhhg wyn

nidp nunupty £ gnpotg:

Lnidnid: “hgnip annp nith ¢ GpQwunpnipynit, £ 38nitgh unnnij,

p humnipinit, ¢ juybwud yupyuwoph dwytptu: Qnnh wquwm Gpuwytw-

Juwl mwnmwaniditnh hwjwuwpnida B

Ut — @2 Ugy = 0, a>=FE/p: (3.56)
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Glpwunptip wipwgywo k annh 2 = 0 dSwypnp’
w(0,8) =0, >0, (3.57)
hulj z = ¢ dSwypn, tpp nLdp nunwupnid £ gnpot), wquwm £
u(6,t) =0, t>0: (3.58)

futinnh npywophg wwinpg £, np ninnuhuwjwg hwwnnypitph ujqptwlyui
wnwagnipiniidbpnp qpn G4

u(z,0) =0, 0<z<0: (3.59)
Qunikip hwmnypitnh uygptwywub Jtinnidttnn: Qnnh pninp Ytmbpnid

T jupdwutt nidp dwdwbwyh ¢ = 0 wwhh hwjwuwn £ Q-h: Ujniu Ynnudhg,
Znihh ontliph hwdwawyh’

ou
T = EO' % t:()’
npnbnhg’
| _@Q
or li=o Eo’
blhwmbtgptiny yjunwbhwbp’

u(:c,O):%:E—i—C:

C' hwumnwwmniip npnptlp ognytiny (3.57)-hg: Gnpt =0 W z = 0, nLhkhp
©(0,0) = C' = 0: Miptdd’

u(a:,O):Eggaf 0<x</: (3.60)

Wyuwhuny, wtwmp t gwnil] (3.56) hwjwuwpdwl wl nidnidp, npnp
pwjwnpwnnid £ (3.57), (3.58) tqpnuyhtt W (3.59), (3.60) ulgpltwjwut
wwydwtbbnhb:

Unwugywd hnnpht hwdwwywmwuhuwl Gwmnipd-Lhniyhih pnhpt £

X"(z) + A2X (z) = 0,
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nnh utithwwl wndtptbnd nL ubthwlwbh $niayghwubtntd &4

m(2k — 1)
20

m(2k — 1)

Ak = 20

Xk(.ﬂﬁ):Sln)\k T, = sin X, k=1,2,---:

fotinnh jnLonidnp, hwdwawgh (3.50)-h, nLbh

(e 9]

2k —1 . 2k —1 . 2k —1
u(z,t) = Z (ak cosS %t + by, Sin %t) sin %x
k=1

wmbupn: Qubkip . W b, gnpoéwyhgitipn ogwmybkinyg (3.59) W (3.60)
uygpbwuut yuwydwbabbnhg:

(3.59) wwydwbhg unmwgynii kb, =0: (3.60)-hg’

npntnhg
1 - Q m(2k — 1)
d
E T sin A, x||26[EJ$S YA
Nniakop
¢ l
m(2k — 1 2
| sin )\, z]|? = OfsinQ)\k r dr = 0jsin2 %x dr = =,

httmbLwpwin®

I & m(2k — 1
ak:ifxsingxdx:

2F0 20
4Q Cx@k-1) |° L a@2k-1) ]
= Bor@h D) rsin— —u 0——Ojcos—2£ vdr | =
8Q! Cor@k—1) | (=11 8Qi
= Sin X = :
Eorm?(2k —1)? 20 . Eon?(2k —1)?

Uwnwgywd gnpoéwhgtinn mnwnntiny pwpph dbe” junwbwip luinnh
nLon1Un:
Muunmuujuwui’

8QI & (—1' ar(2k—1)  an(2k— 1)
u(@,t) = £— > RS tsin— —

k=1
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Ophtuwlyy 3.20: Lniok) hpwunp hutinhpp.

Uy — AUy = 0, O<ax</{, t>0,
uz(0,8) =0, wu,(l,t) =0,
u(z,0) =z, u(x,0)=1:

Lnidnid: Qwdwwywwmwupiwb Gwnipd-Lhniyhth huinhpt B

X//(x)
X'(0)
X'(6) =

X( ):Oa

+ A2
0,
0,

nnph utithwwb wndtpibnd nL ubkthwlwbh $niayghwubtnh &4

wk wk
Ap = —, Xi(z)=cos—uz, k=0,1,2,...:
14 14
Swdwawy (3.52)-h°
ark ark wk
u(z,t) = a0+bot+; (ak cos 7t+bk sin Tt) oS —-x : (3.61)

CLhwmnpttp a, W b, gnpéwlhgbtipn wbwbu, nn w(z,t)-0U puwjwpwph
ulgptwlwut wuwydwautnhb:
u(z,0) = r quydwlhg

> wk
ap + ZakCOS 7x =,
k=0

npnbtnhg’

i
1 14
ZzbfxdeE

l l
2 mk 2 7k
_Z!$0037Id$——kJ (SlIlTx):

—fsinlkxdx _ 2 O+£COS—k:1:
J V4 Tk 7k 14

2 sin mk Z =
7Tl€ o 14 o 0 N
/ 20

2 (/1 k
_%(%cosﬂf— m) = (D), k=12
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Wowtghiny (3.61)-p puwn ¢-h, jumwbwbp

— ark . ark k k
ug(z,t) = bo + § %(_akSH’l%t—FbkCOS%t) COS%x:
k=1

ui(2,0) = 1 yuydwhg

= ark k
bo+za%bkc S%as— 1
k=1
nputinhg
b():l, bl—bgz :O

=2
u(:r,t):t+€+z : ((—1)’“—1)cosa%/€tcosﬁ—kx:

2 w2 k? l
k=
Muunuuhawu@’
B 0 A& 1 am(2n + 1) T(2n+1)
u(;z:,t)—t+2 7T2Z:;(szrl)Qcos 7 tcos 7 x:
Ophtuwly 3.21: Lniok) hpwunp hutinhpp.
Uy — AUy = 0, O<z<dl t>0,

uz(0,t) — hu(0,t) =0, wu,(¢,t) =0,
u(,0) = @(x), w(z,0) =1(z) :

Lnionid: <wdwwwwmwupiw@ Gnnipd-Lhnighth nanhnpd B

X"(x) + NX(z) =0,
X(0) — hX(0) = 0,
X'(0)=0:

Onnt ubithwwh wpdtp ¢k (A # 0), htmbwpwn
X(z) =c1C08\x + o Sin Az : (3.62)

Ganuyhlt wuwydwattphg

)\CQ — hCl = 0,
A—c1SIn A + ¢ cOSA) =0
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Unweohlt hwjwuwpnidhg

A
=0 (3.63)

Stnunnptip Gpypnpn hwjwuwnpdwd dbe
A
Co (ﬁ sin A/ 4+ cos )\6) =0,

nnnbtnhg A-ttnph npnpdwt hwdwn junmwtwtp
Asin A\ + hcosA =0
hwywuwnpnidp: o yuptgh E gng
hctgAl = A

wmbtupny: Gwnipd-Lhniyhth hutnnh Ay uithwjut wndtpbtpn wyn hwyjw-
uwnpdwlh npujud wpdwmitpd o

A
ctg A\l = Fk k=1,2,--: (3.64)

(3.62)-n1d mbnunntyny M-h thnpuwpkh N\, W hwpyh wnbbny (3.63)-n
Junwbwtp ubtthwwt Pdnibyghwbtipn ¢, hwunmwwmni wpumwnphgh
Gonnipjudp

Xi(x) = CQ(% COS A\, + sin )\kx) k=1,2,---:

Mupgnipjul hwdwp yapghtip c; = A: Wyuuhuny,
Xi(z) = Ay COS Az + h Sin Az, k=1,2,---:

(3.50)-hg’

(e e}

w(x,t) = Z(ak COS ait + by Sin at)( Ay COS Az + h sin \yz) - (3.65)
k=1

ar W b, gnpoéwhgttinn npnpynid Ga (3.51)-hg.
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¢
| Xk (2)])? = I(Ak COS A\ + hsin \yz)*dr =
0

l y4 l
=\ f cos® \yxdx + 2\zh f sin \,x cos \yxdx + h? f sin’ \yzdr =
0 0 0

L

>\2€11)\d)\h€')\dh211)\d
= kof(§+§cos2 kx) T+ Mg 6fsm2 rrdr + Of<§—§cosz kx) T =

) l 1 h ) 14 I
=\ (§+ Ksm%ké) — 5(003 2AL — 1> +h (5— KSIHQ/\M) =
k k

Nl+h 0+ h N —h?
N 2 + A\,

B /\i€+h2£+h+ N —h%  2ctg M\l - ﬁ ctg® A\l — 1 .

n 2 A\ Ctg2 ML+1 2 Ctg2 Al + 1 '

h
sin 2.0 — 3 COS 2\l =

<wpyh wnbtbny (3.64)-n

NUAR24+h N—h 20k h A2 —h? U2+ A +h
1 X5 (2) ] = + : — = = :
2 D, XAk 2 AR 2

Muunuujuwul’

u(z,t) = Z(ak COS aXyt + by, Sin aX,t)(\, COS Ay + h Sin \yx),
k=1

2
G+ h

2
T a(0(h2 + X2) + h)

¢ ¢
f@(x)Xk(@d% by, j¢(m)Xk(x)dx,

Ax PYLERD 2 ctg M = X hwjwuwpdwl npujud wpdwnbtpt ta:

lvtanhpatp

0 <z </{ t>0whpnypnid qniby v — a®u,,, = 0 hwjuwuwupdwd wyh w(z,t)
mrénidp, npp pwjwpwnpnid E ipywd tgpuyght L ugplwjut wuwydwattphb.

2
266. u(0,t) =0, u(l,t) =0, w(z,0)=0, wu(x,0)=-sin %x :

om T
267. u(0,t) =0, wu,(¢,t) =0, u(z,0)=sin 57 % u(z,0) = sin 5%
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268.

269.

270.

271.

272.

273.

274.

275.

276.

277.

278.

279.

280.

281.

282.

283.

284.

285.

286.

m 3T
U(O’t) = 07 ux(& t) = 07 U(l’,()) =2z, Ut<l’,0) = sin ﬂ.ﬁlﬁ + sin ﬂl’ :

T om
uz(0,8) =0, wu,(¢,t) =0, u(xz,0)=cos 7% u(z,0) = Cos -

ua(0,8) = 0, u(f,t) =0, u(z,0) = p(x), u(z,0) = () :
ua(0,8) = 0, up(€,t) =0, u(x,0) = (@), uelx,0) = (z) :

u(0,t) =0, u(l,t) =0, u(x,0) =ha(l—z), uz,0)=0:

w(0,8) =0, u(l,t) =0, u(x,0) =0, uz,0)=he(l—z):

w(0,t) = 0, ug(£,t) =0, u(z,0) = Az, uy(z,0) =0

w(0,t) =0, wug(£,t) + hu(f,£) =0, h>0, u(z,0)=p(x), u(z,0)=1z):

w(0,8) = 0, wug(£,t) + hu(f,t) =0, h>0, u(z,0)=0, uy(z,0)=z:

ua(0,8) = 0, uy(€,8) + hu(l,) =0, h>0,; u(x,0) = (z), ulz,0)=1(x):

ug(0,8) = 0, wp(€,8) + hu(l,) =0, h>0, u(x,0)=0, ux,0)=1:

g (0,8) — hu(0,8) = 0, wg(£,8) + hu(l,£) =0, h>0, u(z,0)=p(x), u(r,0)=1(z):
Ua(0,8) — hu(0,) = 0, wg(f,) + hu(f,t) =0, h>0, u(z,0)=1, u(z,0)=0:
Ua(0,8) = hyu(0,8) = 0, wa(£,) + hou(£,£) =0, hy >0, hy >0,

u(x,0) = p(x), w(z,0)=y(@):

Lnidh] wy — d®u,, =0 hwjwuwpnidiny npnpynn  juph  mwnmwddwd

hutnhnp, Get dSuyntinp wipwgywéd Go, uhgptwlub ptnnidn ¢(z) £, huly
uhgpbwul wpwugnipnibn ¢ (z), 0 <z < L.

o(x)-n uhtintunhn £ ¢(z) = Asin ?, neN, ¢Yx)=0:
o(x)-n OAB phlyul £, npmbtin 0(0,0), A(c,h), B((,0), 0 < ¢ < £, ¥(x) = 0:

“thnwnlty ¢ = ¢/2 nhwpn:

0, 0<zr<a,
o) =0, Pp(x)=1< v, a<z<p,
\O, b<x<l:
(
A m(x — x0) _
p(x) =0, Y(z) = cos 200 [z =zl <, O<zpy—a<zygt+a</i:
0, |z — zo] > a,
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4.3 Wahwdwutin huwjwuwpnid, hwdwulin Ggpuhtt ywydwaabp:
®dnhnppwjubttnh wiowmdwt Jtpnnp pny; £ wmwhu Juwnnigh] hawnp
hwinhnttnh nionidp twle wyt nbwypnid, Gpp hwjwuwpnidt wthwdwubn k:
QYhnwnplhtip juph munmwitdwt withwdwutn hwjwuwpdwt hwdwn hpwnp

hutinhpp’

(U — aPUgy = f(,1), O<z<d t>0, (3.66)
a ug(0,t) — B u(0,t) =0, t>0, (3.67)
v ug(€,t) + 9 u(l,t) =0, t>0, (3.68)
u(z,0) = p(z), (3.69)

L ug(x,0) = () : (3.70)

Yhgnip Xi(z), k=1,2,--- $niihghwuitinp

X"(2) + \2X (z) = 0, (3.71)
a X'(0)) — 8 X(0) =0, (3.72)
v X'(0) +6 X(£) =0 (3.73)

Gunind-Lhniyhih putnph A ubhwiwt wpdtpitnphtt hwdwwwwmwuhiwtnn
ubithwwt $niLbyghwbtint ta:
(3.66)-(3.70) hutinnh nLénidp thhwmnptbp

= up(t) Xp(z) (3.74)

owunph wmbupny: Lwbh np Xi(z) $nruyghultinn pwjwpupnid G (3.72) W
(3.73) wwydwtbtipht, www (3.74) pwunph u(t,z) gnidunpp jpwjwnwnh (3.67)
e (3.68) tgpuyhlt wwydwubtphb: w.(t) dnibyjghwtint pttptip wyttwbu, nnp
wj pwdwnpwnh twl (3.66) hwjwuwpdwdh ni (3.69), (3.70) ulgphwlwuh
wwjdwtbbtnhb:

flz,t) dnrajghwult 2-h Gyuwmdwdp Ybpniotlip dnipth pwpph’™ punm X ()
ubthwwt $niLhyghwbtinh

=D fiO)Xi(2), (3.75)
k=1
nnpnbn’
fe(t) = HXkszfxth r)dz, k=1,2,:
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(3.74)-n W (3.75)-n mbtnunnptny (3.66) hwjwuwpdwd dte, jumwbwip

Zu’k’(t) —a Zuk X]/C, ka Xk
k=1
npunbinhg, hwpyh wntbny, np X/ (z) = —A\?Xi(z), junmwbwdp

D (i) + @ Nug(t) = ful(t)) Xi(x) =0

k=1

Unwgywd hwjwuwnnipinin wmbtnh yniobbw, Gpbt w() P$niblhghwt
pujwpwnh htbmlyw; Gpypnpn jupgh hwunmwwmnit gnpéwyhgttinnyg goéwjht
unynpulju@ nhpbnkbghw) hwjwuwpdwonp®

ul (t) + (ade)*up(t) = fu(t) : (3.76)

p(r) W ¢(@) Pniblyghwitpp dJhpmisdtip dnipth wpph pum X (z)
hwdwlwnpgh®

T) = Z o Xk (), W(z) = Zkak(@
k=1 —
npwnbn
1 ¢ 1 l
0 0

(3.69) W (3.70) uygplwwud wwydwbhbtnhg

Zuk Xk Z QOka

g ( Zuk ) Xk (x ZWXIC

npubnhg’ u(0) = ¢x, w(0) =y :
Wyuwhuny, ux(t) Pnruyghwyh npnpdwh hwdiwp unwgytg

uy(t) + (adp)*ur(t) = fil(t),
u(0) = @i,
uy,(0) =

Unphh puinhpp: Qwmtbking wyu hubnph . (¢) nLoéndp b mtnunptiny wyt (3.74)
>winph Ute” Jumwbwbap (3.66)-(3.70) hulinnh jnidénidn:
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4.4 Waihwdwutn tqpujhtt wuwydwbatp: 2Yhunwnitip wthwdwutn
tapuyht wwydwbdtpng htnlyw) pnbnhpp'

(U — aPUgy = f(,1), O<az<t, t>0, (3.77)
a ug(0,t) — B u(0,t) = pu(t), t>0, (3.78)
v ug(€,t) + 0 u(l, t) = v(t), t>0, (3.79)
u(z,0) = p(z), (3.80)

Lug(2,0) = () : (3.81)

dUwmnpttp nidnidp bpynt $nitjghwbtipnh gnidwuph mbupny’
u(z,t) =v(x,t) + w(x,t):

Stnunpting wbh (3.77)-(3.81)-h vty UL w» wwpnibwlynn whnuudtbpn
mbnuthnhutiny we dwu, Jumwbwip”

( ~
Vgt — azvz:v = f(l’,t),

a vy(0,t) — B v(0,t) = (),
v v (€, t) + 5 vl t) = p(t),
u(z,0) = p(x),

| w(z,0) = () :

Wyuwmbn jumwupywéd Lo

tpwlwlynidubinp: Wdd pwmnpbip w(z, t) dnrtyghwut wytytiu, nn
fit) = pu(t) — awe(0,8) + fw(0,8) =0, () = v(t) — ywa((, 1) — dw(l, ) =0
Yuwnbh £ thbwmntg
w(z,t) = (712% + Yr + y3)pu(t) + (6127 + Soz + 83)v(t)

wtiupny, npwtn v, 72, 73, 61, 2, 03 PULEND Ghpwlw G npnpdwb:
Wjuwhuny, o(z,¢)-h tuudwdp junwtwtp hwdwubn Ggpuhtt wuwydwo-
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Gtinny httmlywy juinhpp®

( ~
Ve — a2vzms = f(l’,t),

av,(0,t) — v(0,t) = 0,
Y. (€, t) + 0v(l,t) = 0,
u(z,0) = (),

w(,0) = P(x) :

\

Lndtiny wytt W uvwmwgywd o(z,t) Pnruhghwb gnidwpbiny  w(z,t)
PnLalghuyhtt unmwbwbp (3.77)-(3.81) unph [nLonidnp:

QYhnnnpmipni 1: Gpet (3.77)-(3.81) hinpnid hwjwuwpdwt we dwun
Ywhiwé gk t-hg” f(z,t) = f(x), huly (3.78) I (3.79) tqpuyhtt wuwydwbhtnnid 4 b v
PniLhyghwltinpn hwumwmnibbtp GO w(t) = po, v(t) = vp, wuyw Juphih E thinnty
nidniun u(z, t) = v(z, t) + w(zr) mbupny, npumbin w(z) $nrujghutt pujwnwnnid £

w'(z) = f(x),
aw'(0) — fw(0) = po,
YW (l) + u(t) = v

wuwydwbhtbtnht: Wuwbtu Jupdbiny o(z,¢) Pniblghuyh npnpdwtt hwdwn
Junmwbwbip hbnhp, npubn U hwdwuwnpnidp, U Ggpuyhl wwydwbbbpnp
hwdwutin G

(
2 _
Uy — @ Vg = 0,

av,(0,t) — Bv(0,t) =0,
Yo (€, t) + dv(l,t) =0,

v(z,0) = () — w(z),

| v (z,0) = Y(x):

Qhnnnpnipinia 2: Gt (3.78) W (3.79) tapuyhtt wwydwtbbnnp s60 wwunpni-
twynid npnith $nidyghuyh wowbgywy, ntumh nitth

w(0,8) = u(t),  ull,t) = v(t)

wmbiupp, wwyw nidénidp Jupbh Ethbwpb) w(z, t) = v(z, t) + w(z, t) mbupny, npntn’

w(z, t) = p(t) + 5 (v(t) — p(t) :

Wu ntwypnid v(z, t) dnrughuyh npnpdwlt hwdwn junmwgyh hwdwutin tiqpujht
wwydwtbtnny pubnhn:
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Ophtuwlyy 3.22: Lniok) hpwunp hutinhpp.

Uy — Uy = f(2), 0<z <l t>0,
u(0,t) =, u(l,t) =0,
u(z,0) =0, w(z,0)=0:

Lnidnmid: Gpb thbwmnpbtp (nionidnp
u(z,t) = v(z,t) + w(x)
wmbiupny, v(z,t) $nrtljghuyh npnpdw s hwdwp junmwbwtp

Ut — CLZUMC = f(l’) + a2wll(x)7
v(0,t) = a—w(0), ovl,t)=pF—w),
v(x,0) = —w(x), ve(z,0) =0

hwtnhnpp: Gdd w(z) dnrughwud phmptitp wytwytu, nn

f(x) 4+ a*w"(z) =0, w'(z) = —f (z),
a—w(0) =0, Jud w(0) = a,
f-wl)=0 w(t) =4

Unwohli hmjwuwnpnivdhg'

Y

w(z) = —%j ( j f(g)dg) dy + c1a + ¢ : (3.82)

w(0) = a wyuyiwhg ¢, = a: w(f) = 8 quydwlhg
o= f ([ £00t6)dy+cat o,
0 0

nputinhg

b — «

I
v =g | (] €06 )ay+ ==

0 0
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Stnunnptny (3.82)-h ute, jumwbhwbp’

w(z) = — <ff dﬁ)dvaHQJ(Jf dﬁ)der (51 o

Wyuwhuny, v(z,t) dnruyghuyh Gjumiwdp unwgytg

Uit = afzvacam
v(0,t) =0, v(l,t) =0,
v(z,0) = —w(x), v (x,0)=0

huwinhpn: Lnidting wyl thnhnppwwbtbtph wiowmuiwl Gnwtwlny,

Junmwbwap”
> ark 7wk
v(z,t) = ; a), COS ——t sin -,
npunbn’
24 7wk
ap = —Zoj w(x) sin Txdx :
~ o aﬁkt k
wwnwuhiwb’ u(z, ; ai COS ——t Sin — + w(x),
T x 14 Y (
:__QOI (jf dg) +@0f (J"f dg)dy+ ;

Ophtuwly 3.23: Lniohk) hpwunp hutnhnpp.

(

Ugg — Ugy = 0, O<xz<{ t>0,
uz(0,t) — hu(0,t) = «

Uz (0,t) + hu(l,t) = —a, h >0,
u(z,0) =0, u(x,0)=0:

\

ILnidnid: Ohwnbtiny jnionidp u(z,t) = v(z,t) + w(z) mbupny’

ghuyh Guwniwdp junwhwbp

.
Vig — Ugg = w”(x),

v,(0,t) — hv(0,t) = a — w'(0) + hw(0),
v (0,t) + hv(4,t) = —a — w'(€) — hw(?),
v(x,0) = —w(x), v(z,0)=0
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hwtnhnpp: Cowmnptip w(z) $niighwd wyttytiu, np mbnh nitttwt

w” =0,
a—w'(0) + hw(0) =0,
—a—w'(l) —hw(l) =0

wwydwbbbtnn: <tpwm E mbutlb], np wyn wuydwbtbbtnhtt pujwunpwupnn dhwly
$nriyghwtt B w(z) = —a/h: Wuwhuny, o(z,t) dnrayghuygh dumdwdp
Junwgyh hwdwubtin hwjwuwnpnidny L Ggpuyht wwydwtbtbpnyg htnlywg
hutinhpp’

( Vgt — Vg = 0,
v.(0,t) — hv(0,t) = 0,
v (0, t) + ho(l,t) = 0,
\ v(z,0) = %, v (2,0) =0

Cwdwywnwupiwl Gnnipd-Lhnighih ppnhnpd B

X"(z) + \2X (2) = 0,
X'(0) — RX(0) =0,
X'(0) + hX(0) =0:

A # 0, htmbbwpwp®
X(x)=c1CcoSAx+cySin Az :

Ganuyht wuwydwabhbnhg

caA — hep =0,
—Cc1ASIN AL + oA COS AL + h(c; COS M + ¢ SIn M) =0 :

Unwohlt hwjwuwnnivdhg ¢, = Aep/h: Stnunnting tpynnpn hwjwuwp-
dwl dte U hwpyh wntbny, np ¢ # 0, A-h npnpywut hwdwinp jumwgyh

2\h cos M — (\? — h?)sin M = 0
hwjwuwpnidp: G yupbh k£ gnby
1 /X h
ctg Ml = 5 <E - X)

mbtupny: Unwgywd hwjuwuwupdwt wpdumitph dnnmwynn wnpdbputpn
Jwptih b qgwmtbh gpudhlulub btnubwyny: Lowbwlhbingy &=\,
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Junwhwtp

1 lh
Ctgg:é(;h_ g)
hwjwuwnpnidn:

O¢n Unnpnhbwwnwyhtt hwppnipniinid = ctgé Yynnwbgtunhnh W
1 70
n=5 %— T hhuybtnpnih hwmdwt Ytmbtph wpughuttpn tywbwybip

&-ny, k=1,2,..., (4 4):

,'7)\

Un nbwypnid” )\, = &/¢, hbmbwpwnp

1 /N A Ay —h?
tgal=- (- = ;
CHg A 2<h /\k) W)

Qwpyh wnbbny, nn ¢ = Aex/h, hwdwuwnpdwi phnhwtnip nidnidhg
Junmwbwap”

A
X(x) = CQ(ECOS)\Z' + sin)\:c),
npnbnhg, mbtnunpbtiny A = A\, Junmwbwip ubthwwubh $nibyghwtbpnp e,
hwumwwmni wpmwnnphyh Gunnipjudp: Mupgnipjud hwdwp yipgbtbp
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co = h, I htmlowpwp®
Xip(z) = ApyCOS Az +hsin\yz, k=1,2...:

Oquytny (3.39)-(3.43) hutnnph nrovdwb (3.50) pwlwalthg” Yupnn tGip
anti

o0

v(z,t) =Y (ax COS Axt + by, SIN \t) (A COS Az + hsin A ), (3.83)
k=1

npunbn q, W b, gnpowhgitinn Jumnwgyth (3.51) pwbwalltknhg Ytpgtbing
«
a = 17 SO(I) = E? 7?@) =0

y4 V4
O[ (0%
0 0

ap =

1
bp=——— 10 -Xi(x)dz= 0, k=1,2,---:
e )

Qunitbp «, gnpdbwlhglbnn’ hwpybing || X;]>? W ka )dr Utoni-
pnLhbtnn.
l

1 Xel? = j()\k coS \y z + hsin )\, x)?dzx =
0

4 4
=\ j cos? \pxzdz + 2\,h f sin A,z cos \yzdx + h? f cos? \xdr =
0 0

2

2 V4 J4 h2 V4
- ?(]f(l + cos 2\ x)dx + A\h Of sin 2\ xdr + ?j(l — COS2)\yz)dx =

(A2 +hHE N —

j COS 2)\,zdz + \ih f sin 2\, zdz -

Lupytiip umwgywé htmbtignuwbtpn.
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£ 1 e 1 1 2ctgM\/
fcos 2 rzdr = —Ssin 2/\kx‘ = —Sin2\f = . 5 =
5 2)\k 0 2)\k 2>\k 1+ Ctg )\kg
A2 — p2
1 W) _ 1 2GR 2h(X; - B
)\k )\i _ h2 2 )\k 4)\2}12 + ()\i - h2)2 (/\i + h2)2 ’
2Xh
Z'2>\d ! | 11 I\l 1'2>\€
6[sm &L m_—2—>\kcos kx’O_Q_)\k( — COS 2\, )—A—ksm Wl =
1 1 1 1 AN h?
r 1+ ctg Al k ' )\%_hQ (k;+ )
2Mh
Stnunptiny yunmwbwbip’
(A2 4+h2)0 X2 —h% 2h(\2 — h2) AN, h2

X |I* =

: PV
2 T2 Tmrme N iy
(24120 2h((A2 — h2)? + 4X2h2)

2 2(A\f + h?)?
R 20N R (N R . (AR + 1)+ 2
B SR 2(A\7 + h2)2 y = 2 '

L

J4 l l
ij(x)dx = f()\k COS Ay + hSin A\yx)dr = A f CoS A\pxdx + h f sin \yzdr =
0 0 0 0

1 ¢ 1 ¢ h
=)\, —Sin \ ‘ — h-—COS \ ’ =Sin A\ + —(1 — cos \,0) =
k >\k kxo )\k kxO k +)\k( k)

h ) h h ) h ). — h?
=—4+SInM\N/[1——ctghl | = —+sin\l|1——- =
Ak Ak Ak

e 2\
h X2 4+n? .
= — Sin A4 :
N o S
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Qnuwdhyhg (mtiu 4. 4) niotlp 7(k-1) <& <w(k—1)+ g, Jud

T
W(k—1)<)\k€<7r(k—1)+§, k=1,2---,

hbmbwpwn® sin\.¢ > 0, tpp 40 Ythwm E sin\¢ < 0, kpp (-0 qnyq L:
Wjumtinhg"

. (=11 (=Dt (=D 200
sin \,¢ = 5 = = 2 2
1
* ( W) )
nipbdh’
l k—1 k
h X+ p2 (-1 22.h - h(1 — (-1
ka(x)dx:—+ k+2 ( Z 2k = a-( )>
) e 2X2 A2+ h Ak
Wjuwhuny,
¢ k
a « 2 h(1 — (=1)%)
= — X d = — . =
“’“ h||Xk||20f wa)de =3 50 (2 + h2)¢ e
la bpp k= 2n— 1
— I N@ht 2y DR A=A
0, tnp £=2n, ne N:

Stnunntiny (3.83) pwuipph dtio®

v(z,t) =

e 1
=4
) ; Azn-1(2h + L(A5,_y + 1?))

COS Aay_1t (A2p—1 COS gy 1@ + R SIN Agyp_17),

wjtnithtml gnidwunbinyg w(z) = —a/h, Junmwbiwp hulinph nLéNLUN:
Muunuuhawu@’

> 1
; Aon—1(2h + (A3, _1 + h?))

+ 4oy COS Agp—1t (A2n—1 COS A1 + hSIN Ay 7)),

1A h
A pUYGpn ctg M = 5 <ﬁ - X) hwjwuwpdw b npwujud wpdwnmbtnh Go:
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Ophtuwlyy 3.24: Lniok) hpwunp hutinhpp.

Uy — AUy = Aze™, 0<a </l t>0,

u(0,t) =0, wu(l,t)=0,
uw(z,0) =0, w(z,0)=0:

Lnidnmid: Qwdwwywumwuhiwl Ginnipd-Lhnighih uinhnt E
X"(x) + /\QX(x) =0,

X(0

) =
X(0)

nnph utithwwb wndtptbnd ni ubthwwbh $niayghwubtnd o

/\k:7, Xk(x):SiHTx, k=1,2,---:
Lnidénidn thhwmnpbtp
k
Z Uk Xk Z Uk Sln —
2wnph wmbtupny:
Jtnnuotip f(x,t) = Aze™" InrLujghwtr
> k
v ) =Y fult) sin -
k=1
dnipjtih Jwnpph, npwbn
24 _7rkd 2€A _t'ﬂkd 247t .’/de
fk(t)—zojf(:r,t)SIDT:B SB—ZJ xe Sme T=— ijsm7x x
2Ae~t p k 24e~t ¢ Tk ¢ ¢ k p
= 7 kax COSTCL’ 7 Wk(ICOSTxO_b[COSTm l‘)—
247t/ , " 4 k|t (—1)*12A¢
=— ﬂg( cos —%sm7xo)_—wk

Stnunntip uvnwugywd pupptnn hwywuwnpdwb dbe.

00 2
Zu’k’( Sln—:c—a2 ( (—) wp(t) sm—x> ka sm—:c
k=1 k=1
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Juud

nputinhg

ark\ 2
up (t) + (7) u(t) = fr(t) :
(3.84) pwuinph Utip mbnunnttp ¢ = 0 L oquytilip u(z,0) = 0 wuwydwihg,
Junmwbwip” uy(0) =0:
Wowtghkip (3.84)-0 pum ¢-h, mbnunnpbttp ¢t =0 W ogqmytlp u(x,0) =0
wwjdwlhg, junwiwbp «,(0) = 0: Wuwhuny, u(¢) $nijghwyh npnpdwm
hwdwn unwtnid Gap

ark —1)k+124¢
+( ) o
Tk
x(0) =0,
W(0)=0, k=12

Unphh huiinhnpp: Qwjwuwpdwb pnhwbtnip niénidnp nith
ur(t) = u (£) +ug (¢)

wmbupn, npnbin ug’) (t)-0 hmdiwubn hwjwuwndiwd pnhwonip n1énidh B

) am .oam
u,’ (t) = Dy, cos 7t + B, sin 715,

huly u,(j)(t) -i" wihwdwutin hwjwuwpdw® nplk nionid: @hwnmptip
ulgl)(t) =Che !

mbtupny: Stnunnbiny hwjwuwnpdwba dte

e

mk)2 L, (F1)F24¢
e -

_t -
C’ke +Ck( f )

npnbnhg’
(—1)*12A¢
Ck - )

1+ (7))
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L htmbbwpwp®

—1)k+124¢
u,(gl)(t) = S~ et

1+ (7))

Swjwuwndwd pnhwinip nionidh £

am . oar (—1)*12A¢
ug(t) = D}, c0S —t + By, sin —t + et

S )

up,(0) = 0 wuydwithg

(—1)F12A4¢ (—1)F+12A4¢
Dy + —0 = Dp=-

(i () (i ()

Nniatop
ark . ark ark (—1)*12A¢
uy(t) = —(—Dk sin —t + By, cos t) - e '
¢ l 4 (1 amky 2
w1+ () )
u,.(0) = 0 Wwydwdthg”
ark (—1)*12A¢ (—1)F 12402

arky 2 arky 2 :
w1+ (7)) i (1+ (7))
Wuuhuny,

(—1)*12A¢ ¢ . ark ark
ur(t) = ( sin t—cos—t+ e_t) :
a

(e (T

Stnunnptiny (3.84) pwunph ke Jjumwbwip hutnnph jnidénidn:
Muumuujuw i’

u(z,t) =

2A0 X (—1)k+t < 14 ark ark t) ik
a

sin t —Ccos —t )sin —ux
2 o o g e sy
s ()
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Ophtuwlyy 3.25: Lniohk) hpwunp hutinhpp.

Ugy — Ut = 0, O<z<m >0,
u(0,t) = e u(m, t) = t,

u(z,0) =sinzcosz, wu(x,0)=1:

Lnmidnid: Otwmptitp nidnidn wu(z,t) = v(z,t) + w(z, t) mbupny: v(z,t) dnrul-
ghwjh npnpdwt hwdwnp junmwbwbp

Vgx — Ut = Wit — Wy,
v(0,t) = et —w(0,1), v(m,t) =t —w(m,t),
v(z,0) =sinzcosz — w(x,0), v(x,0) =1—w(x,0)
futinhpp: Jtpgutitip N )
w(z,t) = <1 - —>€7t +—t:
7r T

Uin ntwpnid o(z,t) nitighuyh tumdwdp jumwgiyh

Ve — Uy = f(, 1), (3.85)
v(0,t) =0, o(mt) =0, (3.86)
v(x,0) = p(z), v(x,0)=1Y(z) (3.87)

hatinhpp, npuntin’

X

f(:z:,t)z(l—%)e_t, go(:v):%SinZzH—;—l? ¢($):2(1_;>;

Unwgywéd huanphl hwdwwywmwuhuw@ Gwnipd-Lhnighih pnhpt £

X"(2) + N2 X (2) = 0,

nph ubithwwud wpdtpitin n1 uithwwt $nidyghwdtind o
A =k, Xi(z) =sinkz, k=1,2,---:

dhwmnptip (3.85)-(3.87) huinph jnioniun

v(z,t) =Y w(t)sinka (3.88)

k=1

>uipph mbupny:
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Jtpnuoklp f(z,t) PnrLtljghwl punm X, (z) = sin kz hmdwywungh
r,t) = fu(t)sinkz,
k=1

npwnbn’

2 ¢ 2 ¢
fu(t :—ffxtsmkxdx——j<1——)e sin kxdx =
™ J s

s
et [ 2t .
- j sin kzdx — = fx sin kxdx =
0 0
2¢~t g et 7
= - coskz + jmd (coskz)dr =
T 0 w2k

2e~t 2e~t T
= — ;k ((—1)’“ — 1> + :Zk (x cos kx| — jcos kxdm) —
0 o
2e7" . 2¢" L. " 2e7"
=-— ((—1) — 1> + T <7TCOS7T]€—O— Esmkx O) =

Stnunntnyg unwugywo pwnpptinn (3.85) hwywuwpdwb dbe, junmwbwip
vp () + Ko(t) = — fi(t)

hwyjwuwpnidn:
Stnunptinyg (3.88) Jwnppnid ¢t=0 W ogwybny (3.87)-h wnwohl
wwydwbhg, junmwbwbp

x) = Z v(0) sin kz,
k=1

hull nw Wwiwynid L, np v(0) pdbipp ¢(z) $nitighuyh dnipjth
gnpoéwlhgtnh 4"

T

2 2 ¢
v(0) :%Igo Slnkmdm—% ( Sln2x—|———1) sin kxdx =
0 0

2 (1 : . . kay, — 2
%ofé 1n2xsmlcxdx+%ofgsmkxdx_%Jsmkxdx: a;k :
Wyuwnbtin®
™
ak:fsin%sink:pdm: © tnp k=2,
’ 0, tpp k#2
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L htmbbwpwp®

Uk<0)

T™—2

T tpp k=2,

, banp k#£2:
wk

Wowughiny (3.88) pupph we U dwhu dwubint puw ¢-h, mtnunnpbny ¢ =0
L ogunykyny (3.87)-h tnynnpn wwydwithg, junmwbwbp”

npntinhg™ v, (0) = %jw(x) sin kxdx = %f2<1 — %) sin kxdzx = 1
0 0

Y(x) =) v (0)sinka,
k=1

% .

Wuwhuny, v, (t) dnrughwbtiph npnpywd hwdwin unwtnid tup

(

2et

() + Fu(t) = —— (3.89)
"2 wpp k=2
w(0)=¢ Tk’ oE &= (3.90)
—3, tnp k#2
7k
4
(0= — k=123,... (3.91)

hutnhnn: (3.89) hwjwuwpdwt pninhwtnip ;nidénidn nith

0 1
=0 (1) + ")

Uk<t)

wmbtupn, npntin v,(f) (t)-0 hwdwubn hwjuwuwndwbd pnhwanip n1énIdh B

Vg

©)(t) = A}, cos kt + By sin kt,

huly v,(:)(t) -i" wmihwdwubn hwjwuwpdwd dwutwyh nidnidn: Wh jupbh

E thbwmnpty

o

(t) = C’ke_t

mbupny: Stnunnpbny hwjywuwnpdwa dbe” jumwbwip

nputinhg

2et

Cre ™t + Crke™ = — ,
wk

2

G = T k(1 + k2)
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L htmbbwpwp®

Wy 2 -
o )=~ ¢
Wjuwhuny,
_ . 2 i
v (t) = Ay, cos kt + By sinkt AT e’ (3.92)
(3.90) wwydwbhg"
(72 LT wpp k=2
, — tnp k=2, §+ 5 np = 2,
A = —
E R ) ) = A »
_ - &k k+#2:
oo me kA2, | TR Ry SRR KA
Niititp
vy, (t) = k(—Ag sin kt + By coSs kt) + ﬁ et
(3.91) wwydwbhg"
2 4 1 2 2kK*+1
kBk+7r/c(1+k2)_ﬁ = = e

Unwugywd 4, W B, pytpn wmbnunntny (3.92)-h dte™ Jumwbhwip
(3.89)-(3.91) hulinnh v (¢) 1nLéN1LUN: (3.88)-hg”

1 .
v(z,t) = 5 €os 2t sin 2z+

- 2/432 1 2 2/{52—1—1 9
Y coskta .S T Ginkt - —— 2 ot sinkr —
+;< k(L +k?) Tk T k241 7Tl€(1—|—]{;2)e )Sln x

o0

1 ) 2 1 1 . )
— ~C0Ss2tsin 2z — _Zﬁ (et + k?cos kt — <2k + E) smkt) sin kz

Anidwpbiny w(z, t) $nrdyghwu” junmwbwbp huinnph nLonLUn:

Muumuujuwé”
t 1 )
(e, t) = (1 . f) et + = 5 COS 2 sin 2r—
T

m
2 i ! 4 k*coskt — 2k + ) sinkt) sink
- = — e - — :
& k(11 k) 2 v
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lvanhpatp

0<z</{ t>0 wmhpnypnid quib] wuy — d®u., = f(z,t) hwjuuwupdwh wyh
nonidp, npp pwywpwnpnmid Eou(z,0) =0, w(z,0) =0 ulgqphwujubd W tyywuod
tgpuyht wwydwbatutph.

287. u(0,t) =u(l,t) =0, a=1, f(z,t)=2b:

™

288. u(0,t) =u(l,t) =0, f(x,t)= Ae'sin 7%

289. u(0,t) = u (¢, t) =0, f(x,t)=Asint:
290. u(0,t) = u,(¢,t) =0

291, w,(0,4) = u(f,t) =0, f(w,t) = Ae- Cos%x
292, w,(0,1) = uy((, ) = 0

293. u(0,t) =u(m,t)=0, a=1, l=m, f(z,t)=cost:

Lnioh) ppinhnp (O <z < ¢, t > 0).

.

Uy — a*Ugy = bShx, U — Uy, = f(2),
294. ¢ u(0,t) =0, u((,t) =0, 297 uy(0,t) — hu(0,t) = o, h >0
w(@,0) =0, wu(a,0)=0: ) wet) = B,

u(,0) = @(x), w(x,0)=1(z):

.

Ugp — Uy = bz (T — 1), Uy — AUy, = f(2),
u( ) ) ) u( ) ) ) 208. u ( )
w(z,0) =0, uz,0)=0: ug (0, t) + hu(€ t)=08, h>0

u(x,O) 0, u(z,0)=0:

.

U — Uy = f(2), Uy — Uy Fupr =1, 0<ax <1 t>0,
296. § u,(0,t) =, wu,(l,t) =P, 299. ¢ w(0,t) =0, wu(l,t) =0,
u(z,0) = p(x), uz,0)=1(x): \ u(z,0) =0, wu(x,0)=0:
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300.

301.

302.

303.

304.

305.

306.

307.

308.

Lniok] hhwunp putinhnn.

(
Ut — Uge = T,
u(0,t) =0, wu(m,t)=0,

u(z,0) = sin 2z,

Uyt — Ugg = 07
u(0,t) = t2,

u(z,0) =sinz,
Ut — Uge = 07

u(0,t) = t,

.1
u(z,0) = sin 3%

2 _
Uy — AUy = 0,

Uy — aUgy = SiN 2t,
u.(0,t) =0,
u(z,0) =0,

U — Ugy = 0,
u(0,t) =0,
u(z,0) =0,

u(l,t) =t,

Ut — Uge = 07
u(0,t) =t + 1,
w(z,0) =z 41,

Uty — Uge + 4u =0,
uw(0,t) =0, wu(l,t)=0,

u(z,0) = 2% — =z,

U — Uge + 20 +u =0,

u(0,t) =0, wu(mt)=0,

u(m, t) = 3,
u(z,0) =0

ug(m, t) =1,
ug(z,0) =1

O<z<m t>0,

ur(z,0) =0

O<zx<m t>0,

O<z<m t>0,

O<z</t, t>0,

ug(0,8) =0, wug(l,t)=Ae™,
Aa Chg Aa Chg
u(z,0) = —lfb, uy(x,0) = - @a.
sh — ¢
a sh -
L a

O<x</t, t>0,

2 .20 .,
uz(¢,t) = —sin — sin 2¢,

Q

2
u(z,0) = —2C0S =,

a

O<xz<d{ t>0,

ur(z,0) =0

O<z<l, t>0,
u(l,t) =3 + 2,
u(z,0) =0

O<z<l, t>0,

ur(z,0) =0

O<zx<m t>0,

\ u(z,0) = 7x — 2%, w(z,0) =0:
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309.

310.

311.

312.

313.

314.

315.

316.

317.

(

U — Uge 21 +u =0, O<ax<m t>0,
u.(0,8) =0, wu(mt)=0,
w(z,0) =0, w(z,0)=ua:
Uy — Uge TU =0, O0<ax <1, t>0,
uw(0,t) =t, wu(l,t) =0,
w(z,0) =0, w(z,0)=1—2x:
U — U u=0, O0<x<2, t>0,
u(0, t) =2t, u(2,t) =
u(z,0) =0, wu(r,0) =
Uy — Uy —u =0, O0<z<{l t>0,
u(0,t) =0, wu(l,t)=
u(z,0) =0, wu(z,0)= 7'
s
Uy — Upgy + 2u, = 4o+ 8 Ccosz, 0<z< > t>0,
uy(0,t) = 2t, u(3,t) = mt,
u(z,0) =cosz, wu(zr,0)=2z:
) s
Uy — Uz — 2uy = 4t(SInx — ), O0<zx < > t >0,
u(0,t) =3, uy(5,t) =t>+1,
u(z,0) =3, w(x,0)=z+sSinz:
3T
Upp — Ugy — SUp — U = —x(4+t)—|—COSE, O<z<m t>0,
ur(0,t) =t +1, wu(mt)=mn(t+1),
u(z,0) =z, wu(z,0)=ux
Upp — Ugy — (U — 22Uy, = =2t —Tx —e *sindz, O0<z<m, t>0,
u(0,t) =0, wu(m,t)=mnt,
w(z,0) =0, w(z,0)=ua:
T

Ut — Uy + 20 — 8u = 22(1 —4t) + cos3z, 0<zx < BL t>0,

mt
u.(0,t) = u(3,t) = oL
u(z,0) =0, w(x,0)==x
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(
Uy — Upy — du = 2sin’*z, O<z<m, t>0,

318. ¢ u,(0,t) =0, wuy(mt)=0,
\ u(z,0) =0, w(x,0)=0:
e

Uy — Uy — 10u =28SIN2xCOSz, O0<2 < g, t >0,
319 Y w0y =0, w(z.t) =0,

u(z,0) =0, w(z,0)=0:

Ugp — Ugpe — U — 2U, = —3x —2t, O<zx<m t>0,

320. uw(0,t) =0, w(m,t)=mt,

\ u(z,0) =e*sinx, wu(z,0)=x:
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Qniju 4
Mupupnjujut mhuyh hwywuwpnidabtp

§ 1. Mupupnjujui huywuwpiwa pipynn wupqugnya pnhpatp

Nunwpnulwul mhwyh hwjwuwnnidtbnt wnwyt; hwéwhit hwinhwnid
L0 otipunipjut mwpwddwh L nhdnighwyh tplinypitn ntunidttwuhnpthu:

1.1 Qtpunipjul mupuwdtwl uinhpp: “hnwnltip dnn, nph Ynnuitwyht
dwlibtnunypnp estpdwdtynivwugywsd E, b npp pwduwlwbwsuth pwpwl L,
wjuhOpl” Yupbih £ Gopunpt, np juybwiud jupduwoph yhmbnph nidth Gnyb
otipndwumhéwbn: CLunnittbp, np Oz Unnpnhbwwnwhtt ninnhnt wigbnid k
annh wnwigpny: Uowbhwltiup u(z,t)-ny dwudwbwyh ¢ yqwhht z jupywodph
otipdwumhwbtn: Qnnh Gtpunid otipunipjnitin Jwnpnn E Jubyh Jud
wnwewliw] (ophtiwl, Gpp Gputing wbtgtnid E hEjunpujwubh hnuwbp, mbtnh E
nibtinid phdhwwt ntwlghw W wyh): “thgnip F(z,t) dnruyghwt ¢ ywuhht =
Jumpywopnid otipunipjul wnpninh hunnipinidd E: Qnnnid skpdwumhéawtith
mwpwodwl ypngtiup Gyunpugpynid k

ou 0 k@u .
CPE—%( %)— (z,1)

hwjwuwpniuny, npumbn 40 shpdwhwnnpnuubinipjul gnpéwihgt E, o
mbuwlwnpup stpdnibwlynipiniin, p-0° humnipynitp: o Yngnid b obpdw-
hwunnpnujubinipjut hwjwuwnnid:

Gt annp hwdwutin £, wyjuhtipt” &, ¢ L p dbonipjnihtbpnp hwumwwmnitbtp
L, wyw sipdwhwnnpnujubtnipjut hwjwuwnnidn Ygnyh

Up — AUy = f(z,1) <a2 - fg’ flat) = F(Cxp’ t))

wmbtiupny:

Gpt annh dwitpbnypn stpdwdtlyniuvugywd £, wmwyw dhowywyph htwm
otipdwhnpiwbwlynipjutt  wprynibpnid  dhwynp dwdwbwlynid  dhwynn
tplunnipjudp  annp  Ynpghnid B Fy(z,t) pwbwlhh otnunipinili, nnp,
hwdwawt ptpdnnhtwdhluwjh opttuph, hwitiwwmwwt £ annh b dhowjwynh
otipdwumhbwhtnh mwnpptpnipjuan’

Fo(z,t) = h(T — u) :

Wyuntin 7'(z,t)-0 dhowwyph stpdwumhéwad k, A-p° oipdwuthnhumiwnipjut
gnpowlhgn: Yuwhuny, tpt annnid Yw F(z,t) hnnipjudp stpndwyhtt wnpjnip,
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wwu
F(z,t) = Fy(x,t) + Fo(z,t) = Fi(z,t) + h(T(x,t) — u(z, 1)),

L oipdwhwnnpnujuinipjud hwjwuwpnidh phnnitnid k

g = 0%ty + Bu = (1) <5 =" ft) = aT (@) + W)

cp cp
wmbiupn:

Qtinunipjuli mwpwonidp hwuppe dhdppwtnid, npp Jtpugpyuoé E Oxy
Unnpnhwwnmwht hwppnipjuin, pnipwagnynid b

Uy — az(uxz + uyy)u = f(xa y7t)

hwyjwuwpniidny, npnbn u(z,y,t)-0 dtdppwbh (z,y) ynnpnhtwwnm nittignn Ytnh
otipndwumhéwth £ dudwtwlyh ¢ wwhh:
Nhin dwpdth u(z,y, z,t) sipdwumhéwin puwjwpwnpnid E

Uy — az(u$$ + uyy + uzz) = f(f[',y, Z,t)

hwjwuwnpdwin:
Jtpn ipywo pninp hwjwuwpnidtbtnn yupth E gnbg

U — a’*Au = f(z1, 29, 2, t)

nunhwinipn mbupny, npntin A-t Lwwjuuh oytpwwmnnt E:

1.2 2Yhdnighuh hwjwuwpnidp: Uhowdwpnid tpyne jud dh pwbh
ynipbnh wunwnipywt wuwydwbdtpnid mbtnh E nidbonid nhdnighw” mwupptn
yniptnh Unjtynydtnh thnppwnwna puthwbgnidn dkhn Wniuh dte, nln npnid”
pupdnp Yntgbhbmpughw nitbkgnn Ytwmtnphg dnjtynybtppn mbnuithnpugnid o
wybih guwon Ynbghmpuwghw ni1ttgnn Yhwmbn:

QYhunwnpytip nhdnighwutt vwtwdby qutnid (junnnywynid), npp jgywd E
qugtinph jwd nidnypttnph hwntnipnny: Gopwunpynid E, np dudwbwlyh
gulijugwd wwhhtt hnnnyuyh wnwbgphtt ninnuwhwwg Judwywlwbd
hwwmnyph pnnp Gwnbtpnid wmyjuy; niph Unbgbtnpughwt Gnyt
E: Waglhwgtutp Oz Unnpnhtwwmwihtt ninhnp hunnpnjuyh wnwbgpny:
Lowbwltlp u(t,z)-ny z Ynnpnhttwwn nidtignn hwwmnypnid yniptinphg dbyh
Unigbhtmpughwt dwdwbwyh ¢ wwhht: Quymbh E, np wjt pwjwnupnid £

0 b ou ou
8_m< (ﬁ@@)-a

hwjwuwnpdwin, nputn D(¢, 2)-p nhdnighwyh gnpoéwlhgt : Gpt nhdnighwjh

141



gnnpéwhgn hwumwwmnih £, wyw hwjwuwnnidh pnnitnid £
Up — a2 Ugy = 0 (a = \/5>

wmbtupn: Gpbt hwninipnn Oz wnwbgph tpnyuwbipny pwpdynid £ o wpw-
gnipjudp, www u(t, z) ynhghttmpughwt pwywnpupnid b

Up — a2 Upy + iy = 0

hwjwuwnpdwin: Tt Ynyynid £ yntytljmhy nhdnighuyh hwjwuwpnid:

1.3 Uhgpiwmjui U Ggnuyhtt wywydwbatp: Npuwbugh dudwbwyh
gwijugwdé wwhht gqmbbtp annh Ybtwmtph etpdwuwmhwin, wthpwdtowm E
nLObLOw) annh pninp Jtwmbnph stipdwumhwtn dudwtwyh uhgpbwujut ywwuwhhb:
Qw lpwbhwlnid E, np w(t, z) Pnrujghult whwmp  pujupwuph

u(z,0) = ¢(z)

ulgptwut wuwydwht, npntn ¢(z)-n mpyud dnitghw k:

Uhuwwtytne Jwd Jbpeowynp annh nbwpnid, ulqgptwjud wwydwbhg
pwgh, wihpwdtom £ nibbhw; bwl wuwydwbbbn annh dSwypbpnid™ tgpuyht
wwydwtbtn:

QYhunwpltip Yybpowynp ann (0 < z < 4): Uhnpwnnipjnibitpnid hwéwhu
hwinhwnn tgnujht wuwydwttbnn htbwmlyw Gptph Ga:

1. Gpt/tpyunnipjut dnnh we L dwpu Swyntinnid ¢ wwhht wwhwwiynid Ga
hudwywwmwuhiwbwpwnp () W r(t) sipdwumh@wbtbnp, wyw Yniattwbp

tgnuyht wwydwbhbtpn:

2. 6pb z = 0 Ggnnid ¢ wywhh@t mpywo k 4(¢) oindwyhtt hnupn, wwyw tqpujht

wwjdwtn Ynptnnith
ou 4

wmbupn:

3. Gph z = 0 tgqpnid wmbtnh E nibbinid otpdwhnpuwbwlnipinit annh W
wpunwphtt thowyuynh dholt, wwyw tgnpuyht wuwydwbn ynittiw

ou

8_:c(o’t) = —7 (u(0,t) — g(t))
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wnbupp, npmtn -0 ohpdwhnhiwbwlynipjwl gnpowyhgt E,  g(¢)-0°
wpunwpht thowjuynh stpdwuwmhéwtn ¢ wwhhb:

Ptnbtp otnunipjuwt wmwpwoédwbh hubnph dh onphtwl: “hgnip Gpyno
dutwnn Gpnunnipinid nibtgnn wyntat annh Ynndttughtt dwytplinypn stpdw-
dbyniuwgywé Lk, hull uhgphwlud otipdwumhwin pnmnp Yhwmbtpnid 0°C E:
Gpwnptlp Gwl, np annh Yyiplth’ 2z =0 dwypp shpdwdtlyniuwmgywd E, huly
ttnplh” z = 200 Swynd paynuiywo k opny 1h wbnph dte, npp nitth hwumwwmnni
g(t) = 20°C otindwumhawl (4. 5):

u.(0,t) =0
(z = 0 dwypn shpdwdtyniuwgywo k)

Unnudtwyhtt dfwybkpnlinypen
otindwdbyniuwgywé

8 1, (200, 1) = — (w(200, 1) — 20)
g(t) = 20°C (tqpuyh® wuydwin z = 200 Swypniy)
O0<t< oo

Ul. 5 9tpuwhwnnpnulwbnipjub pinnh ophtwly:

dJudwblwlyh ¢ wwhht annh 2 Unnpphwwm nibtgnn Ybowh (¢, x)
otipndwumhwh npnpdwt hwdiwnp unwgynid k

(
Uy — @PUgpy = 0, 0<2<200, 0<t<oo,

u(z,0) =0, 0< 2z <200,
u(0,8) =0, 0<t<oo,
| 4(200,) = — (u(200,1) —20), 0 <t< oo,

hulinhpp, npubn o = 1,16 wd®/Ypy-wniah stpfwumhGwiwhwnnpnuywin-
rjul gnpoéwlyhgt E, hull + otpdwihnhuwlwbinipjut gnpoéwihgn npnpynid
E thnpattwjut dwtwwwnhny (uyt juhijwo £ dhowjuynph tyniph obipdwu-
mhwbhg, dwonighlYnipiniithg, wupddwl wpwgnipjnithg, dhowywinph W
dwnputh 2thdwt dwljtipinyphg b wy gnpénttutphg):
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§ 2. Unyhph jutinhpp
Yhgnip Hr = {(z,t)|z € R", 0 <t < T}, H = Hy, = {z € R", t > 0}: Unphh pulinhpp

alwytpwynid b wjuybu. wwhwbeynid bt qubt) C?*(H) N C(H) nuuh wu(x,t)
PniLiyghw, npp A-nid pujwpwnnid k

uy — a*Au = f(z,t) (4.1)
otipndwhwnnpnuywinipjud hwjuwuwpdwin W
u(z,0) = p(z) (4.2)

ugpbwyud wuydwbh, npmtin « = (21,2, - - - z,), f-n U -0 mpJud $nryghwmdin
Lh:

2.1 Mniwunth htmtgpup: Gpet f € C*(H) $nLbughwud L tpw wnwehl nu
tninnpn Jungh wowbgyumttnp guajugwo 7 > 0 pyh hwdwn vwhdwtwhuwly
th Hry-nid, ¢ € C(R*) $niighud uvwhdwlwithwly £, wwyw gnynipinid nith
(4.1)-(4.2) pinph vhwy niénid, npp mpynid

_ _lz—ef?
u(z,t) = 7e 4e?t-m) d¢ (4.3)

(2a\/_ ISD 0 R» <2a\/r—7)>
Mniwunth pwlwaliny: Wuwmtn® € = (6,6, ---,&,), |z — &7 = Z( —&)%:
Uty mwpwoéwud thnhnppwmjuth ntwypnid, tpp n =1, tmzhh hbinhpt £

Uy — a*ugy = f(x,t), —oo <z <oo, t>0,
u(z,0) = ¢(x), —00 < 7 < 00,
hul] ;nLénidnp, hwdwauwyt (4.3)-h, nLbh

t +o0

u(zx,t) = 2@\/_Igp _4a2t dé + o Ij P e 45l,""zi:ﬂdé“ (4.4)

wmbupn:
Gprb stpdwhwnnpnujutnipyul hwjwuwpnidp hwiwubn £

U — @y, =0, —00o<x <00, t>0,
u(z,0) = p(x), —oo <z < 00,
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www (4.4) puwbtwalh pnnitnid £

u(z,t) =

2@\/_ j p(€) e~ de, (4.5)

nbtiupn: Wb Ynyynid E Mniwunth htmbgpug:

Unphh hulinph niénidn (4.5) pwhwalinyg £ mpynid Gwl wyt nbwpnid, tpp
e(x)-n Yunp wn junp wipinhwm $nidlghu k' Un nphwpnid ugplujut
wwdwin wtwmp E hwujwbw) htmlyw) hdwuwmny. guugwéd z, Ytwmnid,
npntin p(z)-n whptnhwwm £

lim u(x,t) = @(xg) :
Tr—xTQ
t—40

Onhtiwlyy 4.1: Lni1ok) Unphh futnhnp.

U — a*ug, =0, —oo <z <oo, t>0,
T, tnp z >0,
u(z,0) = p(z) =
T, Gpp z<0:

Lnidnid: Oqgunytilip (4.5) pwhwalLhg.

u(z,t) =

(2-6)> T @92 d¢ @92 df
a2t d = — T 442t :
v A0 e o G T [

Ywwmwnbkip thnthnjuwjwdh thnpuwuphinid”

E—x
= , =z + 2aV't a, d¢ = 2aV/t da,
i 3 3
Junmwbwap”
T 72(1”\/2 ) T oo )
u(z,t) = \/—; _j e " da+ \/_i_r I e " da:
o0 _Qaﬁ

QUuuthnhubtip unwugywéd hmtigpuibtpn” oqumytny

+o00 ) 0 , 1 +o00
6[ e Y da :£ e Y da= §L e

hwjwuwpnipnithg: Lwbh np

—z 0

1 1 - 1
ﬁ!o W{@e_a da——oje_o‘2 dozzi—

Sl -
OHN
ml
Ql\.’)
QL
Q
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1 < 1%, 19 11,
ﬁfze da:ﬁofe da+ﬁ£e da:§+—ﬂoje dao,
wwu
2az\/f 2az\/f
1 1 2 1 1 2
—T - —« T - T —«
u(x,t) 5 (2 Nz Of e doz) + 1 <2+ = Of e da)
a o Th+Ty, Ty =Ty 2047 o g
wnwuhuiwm@”  u(z,t) 5 7 of e o
Qhunwplytip

Uy — aPUgy + Uy + PBu = f(x,t)

hwywuwnnidp: Y

v(y,t) = e’u(y + at, t) (4.6)

thnhuwunhtnidhg httmn ptipynid k£
vy — a*vy, = g(y, t)
ohindwhwnnpnujwanipjui hwjuwuwpdwip, npntn’
gy,t) = f(y +at,t) e -
Onhttwlyy 4.2: Lnidb] hutnhpn.

{uta%mbuzul, —o0 < x <oo, t>0,

u(z,0) =1, —00 < x <00
Lnidonid: Gwwmwnbny (4.6) thnhuwuphbnidp, junwbwbtp

{vta%yyet, —oo <y <oo, t>0,

v(y,0) =1, —00 <Y < 00:

hwtnhnpp: Lniotlp ogumybiny (4.4) Mniwmunth pulwalhg:

1 o (y—¢€)2 1 { ot e’ (=92
u(y,t) = 1- e df+ — e Wne dedr =
v:7) 2av/mt ¢ 2aoj_£o m(t—7) ¢

1 TO =92 it 1 It e’ TO ,%/—76)2) g ) d
= e 4a2t + —_ _— e H4af(t-m)z T .
2av/mt I 2.5 /Tt —1) \
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Lwlh np’

17 e i 1 TO _ 2(@2) g TO 1
e 402t -_—— e 4a4(t—T7)x I efa o = ,
2a\/mt J_ 2a/m(t —T) 2 VT
wwu
t
v(y,t) =1+ J e Tdr =2—¢e,
0
L htmbbwpwp®

u(y —bt,t) = v(y,t)e! = (2—e")e' = 2" — 1 Jud u(z,t) =2e" —1:

Muuuwuhiwm@’ u(z,t) =2 —1:
OnphGwly 4.3: Lnidh huanhnn.

u — a?Au=zye t, —oco<x,y<oo, t>0,

uw(z,y,0) =brsiny, —oco<x,y<o0:

Lnidniu: Gpt (4.3) pwhwdalnid ponniotbp n»=2, ¢(z,y) =bxrsiny,
f(z,y,t) = zye™" , mwyw YnrLuitmtp

“+o00 400

1 R O S
U(l’,y,t) = da2t f f bésinne 4a2t dédn+
t +oo +o00 ¢
Ene™T ,% B ‘
+J‘—l‘o—l‘o 4(127T(t—7') ¢ e dé-dndT—Il(.T,y,ﬁ)—|—b[]2($,y,t,7'>d7' : (47)

Qupytilip [1(x,y,t) W Ir(x,y, t) htmbgputint wnwbtaht-wnwtah:

1 et @624 (y—m)?
h(z.y.t)= 1= [ [ besinpe ™™ dedn =
—00 —00

b +oo 7<I7§>2 +o0 ' 7@ b |
= g J e [ sing iy = 1 et) ()
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Wumntn®

—+00 “+oo

2
f e Sr dé = f (x4 20Vt @) e 2av/t da = 2aV/t x j e do+

—00 —00

+ 4a®t f e da = 2aVt 17 + 0 = 2aV/wt @ :

+oo 2 +00
Jo(y,t) = j sinn o dn = f sin(y + 2avt 8) e 2Vt df =
+00
= 2aV/t f (sinycos(2aVt B) + cosysin(2avt B)) e df =

+00 +oo
= 20/t siny j cos(2av/t B) e dB + 2aV/t cosy f sin(2av/t 8) e dp =

(2avD)?

+oo
. . 1
— 4aV/t siny j cos(2avt B) e dB + 0 = 4av/t siny §ﬁ R
0

= 2av/tsiny e "

Oquwugnnoétny Ji(z,t) W J(y,t) dadnipynibttiinh hwpywd wndtipttnn, h
Jtpen Junmwbwip

b : 2 : >
Li(z,y,t) = T2 Ji(z,t) Jo(y,t) = 4—2 20/t - 20V/Ttsiny et = brsiny e ¢ :

Wjdd ubpyuywgttitp r(z, y, ¢, 7) htmbgpuh hwpydwt uhutidwt: Nibtup

“+o00 +0o0

1, € 5>2(+<y>1>2d J
4a“(t—7 —
(z,y,t,7) = 4@2 f fé“ne gdn
e T e —£)? o —1)
4a?(t—7) € . 4a?(t—-7) n =
da’m(t — 1) £> Se 3 b e "
o (7))
= T, t,T T
4a’m(t — 1) 0T I3
T ee? oo )
J3(x,t, )= | e P dE = f (x 4+ 2aVt — Ta) e 2aV/t — T dav =

+o0 +oo
=z -2aVt—T J e do+ da(t — 1) J ae da=1-20Vt—TVT+0=
=2za\/m(t—7T):
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J3 (y7t T) =2yar/7(t — 7) :
1o (t 2zar/7(t — 7T) - 2yan/T(t — 7) = xye T :
a’m

Stnunntny (4.7)-h dby, llumulﬁulﬁp_

L(z,y,t,7) =

t
u(z,y,t) = L(x,y,t) + Jfg(x,y,t,r)dT = bz sin ye*“Qt + :cyje’fdr =
0

= bz sin ye*a% + wy(l — e*t) :

Numwuhawbl® u(z,y,t) = brsiny e @t + zy(l—e™):

2.3 Unphh jutinph ndni1dp 2wupptiph dhengny: “+hnwupytip hwdwubtin
otipndwhwnnpnuywinipjud hwjwuwpdwd hwdwn Unphh hatinhnp.

u — a?Au =0, x=(xy, 29, -+ ,x,) €ER", >0,
{t (w1, 7 ) s

u|t:0 = p(x1, 29, ,Tp)
Uadhoww mtnunpnidny Juptih Eumnigly, np tpb ¢ $nriyghwud wiytpny
nhdbntbghih £, wmyw
antk

u(zx,t) = Z X Afp(zy, 29, 2y) (4.9)

k=0

Pnillhghwt (4.8) pnph nionidt E, tpt dJhuyt we dwunid gpwd pwunpn W
wjtt pwnptinn, npntp unmwgynid th dhogl tpynt wiqud winuwd wn winwd
wowtghtihu, hwjwuwpwywth gnigudbnm G:

Whthwwm Lk, np 7 wupwdtimphg juhayw6

u — a’Au =0,
(4.10)

u‘t:T = Qo(xlnya e 7:1:7177—)’

hulnnh nronidp Jummwgyh (4.9)-hg” ¢-h hnhuwunptl mtnunpbny (¢ — 7).

wu(z,t,T) Z o A o(x1, Ty Xy, T) (4.11)
k=0

Whhwdwubn hwjwuwpdwl hwdwn

{wtaQAwf($1,$27"',$mt)7 (412)

w‘t:O =0
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hwtnph w(z,t) nLonidp, hwdwawt Hniwdbih ugpniiph, junmwgyh

Ht—CZQAH:O, (413)
H‘t:’r = f(l‘l,Ig, “ X, ty T)
hutinph H(z,t,7) nonudhg’
t
w(z,t) = IH(m,t, T)dT : (4.14)
0
Ophtwly 4.4: Lnidlh putinhpp.
u — a*Au = tsin(z +y), (4.15)
u(r,y,0) = cos(z +y) : |

Lnidnmid: Gpb v dniblghwud

v — Av =0, (4.16)
v(x,y,0) = cos(z +y)

hutnnph nLonidh k, hul w $nibyghutt

{thwtsin(x—l—y), (4.17)

w(z,y,0) =0

hutinph, www (4.15) hubnph midnidp junwgdh wyn $nibjghwbtpp
gnidwunbny v = v + w:
Qunbkip (4.16) pinnph nLdénidn” ognytiny (4.9)-hg.

e an k ) 0 a?ktk L
vz, yt) = - At(cos(z +y)) = > o (72)cos(a +y) =
k=0 h=0
- (_2a2t)k —2a
=cos(z+y) Y T =¢ 2% cos(z + y) :

(4.17) huinhpp midtint hwdwp Ywqdtbp H(z,y,t,7) Pnrulghwjh
Gyundwdp htnlyw) odwblnwly puinhpp”

H — AH =0,
H|,__ =7sin(z +y),
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321.

322.

323.

nnh nLonidp Yunpbih £ gnib] ogumykny (4.11)-hg.

= g2 t —7)* 2 a2k (t — 1)k )
H(z,y,t,7) =Y ——=——AF(rsin(z +y)) = Z%T(_Q)ksm(ﬁy) =
k=0 k=0

. — (—2a°(t — 7)) .
= 7Ssin(z + y) Z s (k' ™) = 7sin(z +y) e~ 20%(t=T)
k=0 '

jdd, oguybiny (4.14) Yniwdbih ulgpnibphg, qumbtbp (4.17) hatnnph
nLdénidn

t t
w(x,y,t IH x,y,t, 7)d :j Tsin(z + y) e 2= gr =
0 0

t
13 1
: —2a2t 2a%T : —2t
= sin dr = sin <———<1— ))
(r+y)e OfTe T (z+vy) 51 I e

(4.15) pnnh nidnidp Juwwgyh gnidwunbinyg o(z,y,t) W w(z,y,t)
P$niuyghwtitinn:

t 1
b —2a2t o . —2a2t .
Muunuuhimb@” u(x,y,t) = cos(z +y) + sin(z + y) (—2a2 1o (1 e >) :

loanhpatp

Lni16b] Unphh hutnhpn (oo < 2 < +00).

(
U — a2Uyy = 0,

u(z,0) = p(z) =
\ 0, z<0, >/
0, x<x1, >

7 — < x<0,
u(r,0) = p(x) = 1, 0<z<y,
0

r<—4, x>0 (>0:
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324

325

326

327

328

329

336

337

338

339

343.

A — Ugy = 0,
| ) = e
Up — Ugy = 0,
- (,0) = ze™*" :
duy — Uy, = 0,
- u(z,0) = sinz e :
Up — dUgy =t + €,
- u(z,0) =2:
Ut — Ugy = 3t27
. (z,0) =sinx :
Up — Ugy = COST €7 ¢,
. (x,0) =cosx:

¢ — Ugy = SiN T €,

330.
=sinz:

— Uy = SINT,
331.

SC .

(e
e
{
(e

—4ug, — 2u =€,
333.
= COSzx:

; — Ugy — U =tSINT,

334.

335.

Up — @*Uyy — buy — cu =0,
u(x,0) = e "

Lniob] Unphh huinhpp  (—oco < 2,y < 400, Au = Uz, + uy,).

uy — Au = 0,
‘ ul,_y =2y +ay’ +xy
{utAuO,
ey = ey
2u; — Au =0,
' ul,_, = cosmzy
up — Au = e,
' ul,_, = coszsiny:

uy — Au = sintsin z siny,
340.

u‘t:(): 1:

u; — Au = COS t,
341.
ut 0

2,2
o=aye T YV .

8us — Au =1,
342.

— o—(z—y)? .
u‘t:() e :

Lniolb] Unphh huinhpp (—oo < z,y, 2 < 400, Au = Uy, + Uy + us2).

U —
u|t 0

Au =0,
— (a2 4y + 272

ug — Au =0,

344.

“|t 0

= (zyz)*:

uy — Au =0,
345.
u‘tzo = (zyz)*:

uy — Au =0,
346.
ul,_, = 2%y + 2?2 4yt
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up — Au = 0, ur — 3Au = e,
347. 350.

u|t:0:x3+y3+z3: u’t:O:Sin(I—y—z):

ug — Au =0, 4uy — Au = Sin 2z,
348. 351. ,

u|t:0 = cos(zy)sin z : u’t:() = COS2ye " :

u — 2Au = tcosz, uy — Au = cos(x — y + z),
349. B . 352. ey

u|,_, = COSyCOS 2 : ul,_,=e

§ 3. vwunn hninhpatp yhuwwnwigpnid

“Qhgnip nitttp YJhuwmwbytipe ann, nph wnwtgpt ptlwod k [0, +oo) npujul
Uhuwwnwtgph Jpw: Wu nbtwypnid annh w(z,t) ohpdwuwmhéwtp, pwgh
ugpliwjutt wuwydwtthg, wtwmp E pwjupwuph twle npbuk Ggpuyhtt ywuwydwth
annh awpu z = 0 Swypnid: Wnwhuh hunhnpp Yngynid £ awunp pnhp: Ywhaduéd
tqpuyhlt wwydwhg wt uptih E pipty Unphh futinph” Yhtw yud gnyg dunyg
>unniiwltinyg ujgpbwjut $nityghwti:

Ophttmly 4.5: Lnidohk) hpwnp puinhpp, nputin ¢(z)-p mpyud vwhdwtwhwly
P$nijghw L.

U — Uy, =0, 0<z<4o00, t>0,
w(0,) =0, >0,
u(z,0) =p(x), 0<z<4o00:

Lnidonid: bGuqutip

Uy —a*U, =0, —oo <z <400, t>0,
U(x,0) = ®(z), —oo<z<+00

Unphh hutinhpp, npntin ®(2)-n ¢(z)-h Y pupnibwlnipnihbd B
b 0
D) = p() np x>0, (4.18)
—p(—x) btppx<0:

Un hunnph niénidp mpynid
1 +

2av/7t -

(z—6)?

O(¢) et dE (4.19)

e}

Ulz,t) =
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Mniwunh htnbkgpwny, pn npnid” U(z,0) = ¢(z), Gpnp 0 < x < +oo:
Oquytiny (4.18)-hg" (4.19)-n Ygpyh

Uz, t) =

+oo
_ (=9 _ (2462
2a+/ Tt j 4a vt - 2av/ 7t of gp(ﬁ) e dg

wmbupny, npntinhg” U(x,0) = 0: Wuwhuny u(z,t) = U(z,t), tppz >0
Muumuiujuw i’

u(z,t) =

(z—6)? (z+6)?
e 4a2t — e 4a2t d€ -
2a¢ f ole ( ) ¢

Ophtuwly} 4.6: Lnidh] pwunnp hainhnpnp.

(ut—az(uxx+uyy+uzz):0, —oco<r <400, 0<y<+oo, 0<z<+oo, t>0,
u(z,0,z,t) =0, —oco<x <400, 0<z<+00,t>0

u(z,y,0,t) =0, —oo < x <400, 0<y<—+oo, t>0,
ku(x,y,z,O):gp(:Jc,y.z), —o<r <400, 0<y<4oo, 0<z<+00:

Inmidmid: Gwpniimytlp ¢(x,y, z) dnrdljghwult wipnne mwpwoénipyuh
Ypw uygpnid thwm aliny puwnm y-h°

p(r,y,2), y>0,
¥1 (*1'7 Y, Z) =
_80(‘7‘17_y72)7 Yy < 07
wjnihbtnl Yhtwm aliny puwn 2-h°

901(3573/72)7 z > 07
SOQ(I7y7 Z) =

_¢1($ay7_z)a 2<0:
“huwwnlttp htwmlyw Unphh utinhpp’
Uy —a*(Up + Uy + U.,) =0, —o0 <uz,y,z<+o0, t>0,
U(x7y7z):¢2('x7yaz)7 _OO<$,y,Z<+OO:

Wu hutnph nidnidp Junptjh E unwbw; (4.3) Mniwunbth pwbwalihg
(n=3, f=0), wh &’

—+o00 400 +o0
_(@=%+y-n?+(z-0?

Up,28) = o ¢— S [ eemoe e dCdnde

—00 —00 —O0

Whthwwm E, np tpp vy > 0, 2 > 0, wmwyw U dniLajghud Ypwujwpwnh dtn
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htnph hwjwuwpdwop b ujgptujutt wuydwtht: QUuuthnhutbp U(z,y, 2)
nLonidlh wybwytiu, np hbwmbgpunid pwgwhwwm wmbupny dwubwlgh

e,y 2) Pnililghwl: Lwhh np ey(r,y,2) $nillghwd Yklw b pum =h,
Uniokbwbp”

_ _ (=02 (40?2
f@zéné 4a2tdC—f901£’rz< ( W —e 4a2z>dé,

httnbLwpwin®

—+00 400 9 (

Py i -0 o+
Ulx,y,2,1) = %J_ jJ’ wi g @nc>( wt—ewt)@m&

0

Luwl auny, pwbh nn ¢, (z,y, 2) $nriyghwud Yt k pum y-h°

_ (y=m)? _ (wn)?
fsoléné 4a2tdn—f¢£nc ( W —e 4a2t)dn:
Stnunptny, jumwbwip”

U(J:,y,z,t) =

—+00

_(z—8)? o _w=n? _ (y+n)? e _(z=0? (402
<2a\/_) f 402t J € 4d?t — e  4ad2t f e 4a2t — e 4d?t go({, n, C)dgdndé_:
0

0

Yju pwlwalthg htmunid k, np U(z,0, 2,¢t) =0, U(z,y,0,t) =0, niptdl’

w(z,y.z,t) =U(z,y.2,t), GRp —oo <z <400, 0<y,z<+00:

Muumuujuwui’
U(fv,%z t) =
+oo
(y—n)? _ (ytn)? _ (=02 _(x+0?
<2a\/_ J Of( 12t — e 4at>0f (e 1a2t — ¢ 4at)g0(§,77,§)d§d77d§.
lutnhpatp
Lni16b] ppwunn hubnhnpp.

U — Uy, =0, 0<2 <400, t>0,
up(0,8) =0, t>0,
u(z,0) = ¢(x), 0<z<4o00:
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(
U — a2 Ugy +hu=0, 0<x<4o00, t>0,

354. ¢ u(0,t)=0, t>0,
\u(x,O) =p(zr), 0<z<+o00:

)
U — a% Ugy +hu=0, 0<x<400, t>0,

355. ¢ u,(0,t) =0, >0,
\u(:c,()) =p(zr), 0<z<+o00:

;

U — a* Uy, = f(x,t), 0<z<+oo, t>0,
356. ¢ u(0,t) =0, t>0,

\u(m,O)zO, 0<z<+00:

)
Uy — a? Uy, = f(x,t), 0<z<+oo, t>0,
357. { w,(0,6) =0, t>0,

\u(x,O)zO, 0<x<+00:

(

Uy — a2 Upy + hu = f(z,t), 0<z<+00, t>0,
358. § u(0,t) =0, t>0,
\u(a:,O):O, 0<z<+00:

(
U — a* Uge + hu = f(z,1), 0<x <400, t>0,

359. ¢ u,(0,t)=0, t>0,
\u(:v,O):(), 0<z<400:

(
U — a* Uge + hu = f(z,1), 0<x <400, t>0,

360. ¢ u(0,t) =0, t>0,
\u(x,O) =p(r), 0<zx<4o00:

)
U — a* Ugp + hu = f(z,1), 0<x <400, t>0,

361. ¢ u,(0,t)=0, >0,
\u(a:,O) =p(zr), 0<z<+00:

)
up — a% (U +uyy) =0, —00<x <400, 0<y<-+oo, t>0,

362. u(m,OJ):O, —00 < x < +00, t>0

\u(:c,y,O):go(x,y), —00o<x <400, 0<y<+00:

)
Up — a? (Ugg + Uyy +uzs) =0, —00 <,y <400, 0<2z<+00, t>0,

363. ¢ u(x,y,0,t) =0, —o < x,y<+4oo, t>0

\u(m,y,z,O):go(x,y.z), —o <,y <400, 0<z<+400:
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Uy — a% (Ugy + Uy +uz,) =0, —00 <y <400, 0<x,2<+00, t>0,
364. uz (0,9, 2,t) =0, —o<y<4oo 0<z<+o00,t>0

u(z,y,0,t) =0, —o<y<4oo, 0<z<4o00,t>0,

u(z,y,z,0) = p(z,y.2), 0<zx <400, =c0<y<+o0, 0<z<+00:

§4. dnihnhuwmjjubatph mtswmiwt Whpnnn

Onthnhuwjwbitnph  wiswmdwt Jbpnnny stpdwhwnnpnuljwbinipjuh
hwywuwnpdw hwdwp hownp ppbnhptbpn nidynid G wybwbu, hbywbu
nLoynid G huwunp punhptbpn juph munmwtdwt hwywuwndwt hwdwp, wyt
mwppbnnipjudp, np -hg yuhuywo $niblghwbtinh tunmdwdp vnwugynid th
wnwehl yungh unynpujwub nhptntighw; hwjwuwnpnidutn:

4.1 <udwubin hwyjwuwpnid, hwdwutn Ggpuhtt wWuydwabhtp:
Qhmwnlytip
U — @y, = 0, O<a<{, t>0,

a ug(0,t) — B u(0,t) =0, t >0,
v ug(€,t) + 9 u(l,t) =0, t>0,
u(z,0) = ¢(x), xz € [0,4]:

huwnp putinhpp, nputn p(z) $nityghwtt waptnhwwm t [0;-nid, huly o, 8, v, 0
hwunmwwmnibtpn ny puguuwub G . a+ 4 >0, v+ 6 > 0:

®uwmnbny huinnh nidnidn w(x,t) = X(2)7T(t) £ 0 mbupny, X(z) $niulghuyh
tumdwdp junwtwtp

Swnind-Lhniyhth hninhpn, hul 7(¢) $niayghwh Gumdwudp
T'(t) + a*X*T(t) = 0 (4.20)

hwywuwnniun:

QYhgnip \-0 L X (2)-p Gunipd-Lhnighih hunph utithwu@ wpdtpbtpt no
ubthwut $niyghwtintt G, hul 7.(¢)-0° (4.20) hwjwuwnpdiwd pnhwinin
Inidénidnp, Gpp A= A\, #0°

Ti(t) = ap e @Mt
Un ntuypnid

[e.e]

Z Ti(t)Xp(z) = Y ape” X (4.21)

k=1
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2wnph gnidwnpn Yihtth dtp jpinph niénidp, npunbin

L

[ e@)Xa@)dr,  Xl? = [ (X)) dr -

1
Xk

ap —

Qhnnnpnmipnilt: Gpht 4=0=0, wyw utbtthwlwt wpdtp E wle A =0 phyn:

Gnp A = Ao = 0, Gnipu-Lhnigyhih hnbnph ubthwwt $nitlyghwut gqnnjhg mwupptin
guwtjugwd hwuwmwwmnit E, ophtwml Xo(z) =1, hull (4.20) hwjwuwnpdwh
nionidn” Typ(t) = ap: Yn nbwpnid, (4.21)-h thnpuwptt, huinnh nionidnp Yhth

o0

u(z,t) = Z ap e MEX(2) = ag + i ap e MNEX (2) -
k=0 k=1
U — @y, =0, O<az<{, t>0,
u(0,8) =0,  t>0,
u(l,t) =0, t>0,
u(z,0) = Al — z), x €0, :

Onhttwly 4.7: Lniok) nnhnpn.

\

Lnionid: <wdwwwwmwuhiw@ Gnnipd-Lhnighth nanhnpd B

X"(x) + NX(z) =0,
X'(0) =0,
X(0) =0,
nnph utithwwb wndtptbnd nL ubtthwwbh $niayghwubtnh &4

w2k —1) w2k 1) B .
)\k—2—€, Xk(l')—COSQ—gflf, ]{?—1,2,
(4.21)-hg’
u(z,t) = Zake_(mr@?]zil)) ‘cos %x : (4.22)
k=1

. > m(2k — 1) .

Ulygplwuul wwydwbhg Al —z) = Z ay COS —— 1, nnubtinhg

k=1
l

2 T2k —1)  8Al B _
ak—zb[A(ﬁ—x)COSQ—gxda:—(Qk_l)ZWQ, k=1,2,---:

Stnunnptiny (4.22) pwunpph ke junmwbwip hutnnph jnidénidn:

8Al > ]_ 7(a7r(2k—1))2t 7T(2k — ].)
e 2 COS ——:
n? 2= 2k — 1) ST

Muunuuhiwm@”  u(z,t) =

Ed
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Onhtiwly 4.8: Lnidhk utnhpn.

Uy — A*Uyy = 0, O<z<d{ t>0,
ur(0,t) =0, u,(¢,t)+ hu(l,t)=0 (h>0),
u(z,0) = p(z) :

Lnidnid: Cwdwwywwmwupiwb Gwnipd-Lhnigyhth huinhpt B

X"(z) + \2X (z) = 0,
X'(0) =0,
X (0)+hX(0) =0

A = 0 ubthwlwd wupdbp &, hbmlbbwpwnp®
X(z) =1 COS Az + coSIN Az :
X'(0) =0 tgnuyhl wwydwtthg™ Ae; = 0 wd ¢, = 0: Qipbdl
X(z) =cicos Az : (4.23)

X'(0) +hX(¢) = 0 tgpnuyh@t wuwydwlhg ¢;(—Asin A + hcos M) = 0, npinbkinhg ),
utithwulwt wndbpbbnh npnpuw hwdwnp Junmwbwtp

—AsinA +hcosAM =0 Quud AtgiAM=h (4.24)
hwjwuwpnivp: Utthwwh $nidyghwmtibnn yumwgyta (4.23)-hg”
Xi(z) = Ccos A\, k=1,2,---:

futinnh nLoén1dp, hwdwawyt (4.21)-h, Gipyuywugynid k

u(z,t) = Z age~ "Nt cos A (4.25)
k=1

wmbtupny, npnbtn

1

ay = T3
F X))

1
I(p(:c) cos \pxdr, k=1,2,---:
0
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Wjuntin

0 l
1 1
2 _ 2 _ 2 - I =
| X5 (x)]|> = || cos Mpz||* = 6[Cos Mpdr = f (2 + 5 Cos 2)%1;) dx

0

= { + 4—1% sin 2\, Z = % + %)\ksm%kf = 5 41% . itgg;\lfkﬁ :
Qwpyh wnbbny, np A-0 (4.24) hwjwuwpdwl wpdwwm £ tg .l = h/\,
Yunpnn tlp gnty’
2h
X = 5+ g2 =
1+ X
Wuwhuny

VA
2(h* + \2)

(R +X}) +h)

ap = p(x)cos \yxdr, k=1,2--:

Stnunntiny (4.25) pwunph dte, junmwbwbip nidnivn:

(h? 4+ 22)
(%24 A7)

Muunuuhawu@’ =2 Z ( Y h f ) cos )\kxdm> e~ @t cos ALT,

nnwtin A\, pYbnp Atg A = h hwjwuwpdwh rmulllul& wndwuwndbtnd Ga:

4.2 Wahudiwulin hwjwuwpnid, hwdwublin Ggqnuyhtt wyuydwaatn:

0o nbtwpnid, tpp huwnp hubnphpp npdwoé B obpdwhwnnpnujubnipijuh
wihwdwutin hwJwuwpdwh hwdwnp®

(ut—a2um:f(x,t), O<z</{ t>0,
a ug(0,t) — B u(0,t) =0, t>0,
yul,t)+ 0 u(l,t) =0, t>0,

u(z,0) = p(x), z € [0, /],

nronidp thtwmpynid
v, t) =Y ug(t) Xy () (4.26)

owinph wmbtupny: Wn nbwpnid v, (¢) dnrughwyh npnpdw hwdwinp unmwgynid k

{ ui (1) + (adg)?ur(t) = fi(t), (4.27)
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Unphh hutinhpp, npubn f.(t)-0 W pp-0 hwdwywnwuhiwbwpwn f(z,¢) W e(r)
Pnilghwlinph” pum X, (z) utithwuljut $nihyghwbtinh Yytipnionipjud dnipjth
gnpowyhgttint o

¢ ¢
fu(t) = fo(xat)Xk(f)d% O = HXkHQfgo(x)Xk(x)dx, k=1,2,---: (4.28)

4.3 Wahwdwutin Ggpuyhtt wuydwaatp: Qtpdwhwnnpnujubnipiut
hwjwuwndwh hwdwn wthwdwubn Ggpuyhtt wwydwbbtpny

)
U — gy = f(z,1), O<xz<d{ t>0,

a ug(0,t) — B u(0,t) = u(t), t >0,
v ug (0, t) + 6 u(l,t) = v(t), t>0,
| u(2,0) = p(a)

hawnn hunhnp ptipynid £ hwdwubn Ggnuyhtt wuwydwtbbnnyg puinph htnlywg
Ubnw. nidénidn thtwmnpynid E u(z, t) = v(z, t) + w(z, t) mbGupny, L w(z,t) nruighwt
nbwupynid Fwyhwbu, nn o(z, t) $nrtijghuyh npnpdwuh hwdwn unwgyh hwdwubtin
tgnuyht wuwydwbtttpny hutnhp: Unynpuwpwn thbwmpynid £

w(z,t) = (ma® + Yox + 3)p(t) + (012% + o + 83)v (1)

wtiupny, npntin 71, 12, 73, 61, 2, 43 PULND Ghpwlw G npnpdwh:
Cwpl E L, np obtpdwhwnnpnwlwbnipjui hwjwuwpdwd hwdwp

hhwunp hutinhpttph nbwypnid tnytwbu gnpémid Gh 3-pn qiuh 4.4 Ltwmh
nhwunnnipinitbbtnp:

Onhttwly 4.9: Lnidhk utnhpn.

(

U — a*Uyy + Bu =0, O<x<d, t>0,
u(0,t) =0,
u(l,t) =0,

\ u(x,0) = p(x) :

®twmnpttup hwjwuwndwin b Ggpuyhtt wuwydwbbtnhtt puwjwpwupnn u(x,t)

$niulghw
u(z,t) = X(@)T'(t), X#0,T#0

mbupny: Stnunnpbiny hwjwuwnpdwbd dte

X(2)T'(t) — a®>X"(2)T(t) + BX (x)T(t) = 0,
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L whowwmbny thnthnpuwjwahtpp unwbnid Ghp

e 6 _ X"x)
a’T'(t) * a>  X(7)

hwywuwpnipjnitin: o Yhth tnybnipnita, tph we L dwhu dwubpn
hwywuwn jhobt tnyt hwunmwwmnitht: LGwbtwlbtip wyn hwumwwmniin
—-22ny (Ekph wyn hwunmwwmnip npuwub E, wyw unwgynn Gwnnipd-

Lhnighith hnanhpp ynittbw Jhuy@ mphyhw nidnid): Wn ntwypnid 7(¢)
P$nitighwyh npnpuwt hwdwn junmwbtwtp

T'(t) + (B+a®* )T(t) =0 (4.29)
hwjwuwnniup, hull X (z) $nriiyghuygh npnpdwlt hwdwn®
X"(z) + NX(z) =0,
(0)
(£)

X 0,
X 0

Gunipd-Lhniyhih hutnpp, nph ubthwlwt wnpdbpbtbnt nr ubthwljwub
PnLayghwmbtinh o

k . 7k
)\k:%, Xk<£L’>:Slnﬂ-7$, k:1,2,

Stnunntip .-t (4.29) hwjuwuwndwd dke, junmwbwtp
ark 2
T'(t) + (ﬁ + (T> )T(t) =0
hwjwuwpnidp, nph pnhwinip nioénidh £
Ti(t) = ak,e_<6+(#) )ﬂ k=1,2--:

YGuwqutilip pwinp.

w(a,t) = ;m) Xp(x) = ;ake-(ﬁ+(”z’“> )t sin ”7’% :
Gpt wn >wppnp UL w pwnpptpp, npnip unwgynid Gh dGy wbhqud
punm th W Gpynt wbqwd pun z-h winwd wn winuwd wowbghbhu
hwjwuwpwywth gnigudbm G, www Gpw  gnidwpp  Gnytwhbu
Upwyjwnwnph hwjwuwpdwid nr Ggpuyhtt wwydwbbttpht:
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u(r,0) = plr) uhqphwlul wuptwbhg' > asin e = p(r), npubhg
k=1

5 ¢
EJ ) sin —:cd:c
0
Muumuujuwé”
00 2 l
_ (5 (225) )t gipy TR _2 o~ .
—Zake( (5))81116:6, ak—gbfw(:z:)smga:da:.
Onhttwlyy 4.10: Lniohk) puinhnp.
’ut—azum:(), O<zx<dt, t>0,
u(0,t) =T,
uz(0,t) + hu(l,t) = U,
u(z,0) =0:

\

Lnidnid: Ohwmpbny midnmidn u(z,t) = v(x,t) + w(z,t) mbupny v(z,t)
$InLtyghwyh Gyumdwdp Jumnmwbwip

(
2
Vp — AP0y = — Wy + AP Wiy,

v(0,t) =T —w(0,1),
v (0, t) + ho(l,t) = U — w, (¢, t) — hw(l, 1),
v(z,0) = —w(zx,0)

\

hwtnhnpp: Lowmnpbip w(z, t) PnLghul wytytu, np mbnh nitbtwt

T — w(0,t) =0,
U—w.(lt)—hw(t)=0

wwydwtbbnn: o yunbh £ hbwnptg
w(x,t) = (mr +92)T + (617 + 6)U

wmbupny: 7 — w(0,¢) = 0 wyuydwlthg v =1, §, =0, hull U — w, (¢, t) — hw(l,t) =0
h

wuwydwihg v = T 0= T30 : Wuwhuny, tpt Jipguttp
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v(x,t) $nrlghuyh Gumdwdp jumwgyh

4
vy — a%vyy = 0,

v(0,t) =0,
vall, 1) + ho(£,1) = 0,
Wl —U
(V@0 =g T

hiunhpp: Qwdwwwwmwupiwd Gunnipd-Lhniyghih hnnhpd £

onnh ubithwlju@ wpdtp ;£ A2 > 0, hbmlLwpwn
X(x) =c1COSAx + coSIn Az :
X(0) =0 wwydwbhg' ¢; =0, nipbdl’
X(x) =cysin Az :

X'(0) + hX(0) = 0 wuyuwlihg" Ac; cos M + hey sin M = 0, npintinhg Junmwbwip

ACOSA + hsin A\ =0
hwjwuwnpnidp, npp Junbih £ gptg

htg Al = —\

wmbtupny: Gwnipd-Lhniyhth hutnnh A\ uithwjut wndtputntt wyn hwyjw-
uwpiwd npuwd wpdwmibnd th, hull ukthwwb $niLayghwubtpn

Xi(z) = sin A\ :
Oquytyny (4.21)-hg’

v(x,t) = Z ape” @t sin (4.30)
k=1

T —U
1+

Qubbtlp e, gnpdbwlhgttinn, oqumytny v(z,0) = r — T ugphwjut
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wuwydwbhg: Stnunptny (4.30) pwunpph Ut ¢t = 0, YnLdbbwbp’

- . hT — U
ZakSHl/\kx: x—"T,

k=1 14 ht
npwtnhg
l
1 T — U _
Ak = H Sin)\kaQ _O[ ( Yy T — T) sin A\yzdz
<u121]_hflp h‘l‘lmhqpmlﬂ.

l

£ £
hT — : hT — , .
j ( g hlfjx — T) SIn A\pzdx = = MU Ofa:sm)\ka:da: — Tofsm)\kxdg; =

UL+ T T-U oy, T
PRI X2(1 + he) DV
Ul+T 1—-tg*M\l AT —-U 2tg\l T

g . —|— .
Me(T+hE) 14+tg2 Ml N(1+h) tg? el +1 N

0S A\l +

Ul+T _1—<—%’“)2 WU 2(- %) T

:Ak(1+h£) 1+(_Tk) A2 (1+ he) (_%>2+1 Ak

YRSy
ERYARV/EEDY: ‘

Pwugh npuihg

; 11 01 ¢
| sin \z||? = 0jsin2 \ezdr = Of (5 — 5 oS 2)\kg:)d =3 n sin 2)\.x 0 =
(1 ¢ 1 2tgad 001 =22 OR24+22) + h
= - — —sin2\/=- — ST __ — o LT
2 4N 2 4l 1+ tg” Al 2 AMp 1+ (—T’f)Q 2<h + )\k)
Wuwhuny
y4
1 WD — U . 2h2+ 22 1 [ (1)U
ap = : r—T )sin A \,xdxr = e =T :
BT I sin a2 Of ( 1+ he > g RN +h N \ VRt a2
Muunuuhawu@’
U— 2(h? + \2) (-1)*U 2, .
u(x,t x—T—I— — T |e @) sin A\,
@ =77 Z RS RN W W/ e ¢

nnunbtn )\, pybpn ~2tg A = -\ hwjuwuwpdwt npujut wpdwumbbnt Go:
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lvanhpatp

0 <z </ t>0wmhpnypnd qunib) v — e®u,, = 0 hwJuwuwundwd wyb u(z, t)
nLénidp, npp pwywpwnnid E ipwd tgpuyht L ugpbiwjut wuwydwattpha.

365. u(0,t) =0, u(l,t)=0, u(z,0)=p(z):
366. u(0,t) =0, u(l,t)=0, u(z,0)=up:

367. u(0,t) =0, u(l,t)=0, u(z,0)= Az :

368.  w(0,t) =0, u(f,t) =0, u(z,0)=2z(f — )

369. u(0,t) =0, uy(6,t) =0, u(z,0)=p(z):

370. u,(0,8) = 0, u(f,¢) =0, u(z,0) = () :

371, u,(0,8) =0, wuy((,t) =0, u(z,0)=1U:

372. u(0,8) — hu(f,£) = 0, u((,t) =0, u(z,0)=U, h>0:

373. uy(0,8) — hu(f,£) = 0, w(0,8) + hu(f,8) =0, w(z,0)=U, h>0:

x, 0<x< /)2,

374. u(0,t) =0, u(l,t) =0, u(z,0)=
C—x, ()2<az</{:

375. u,(0,t) =0, u(1,¢t)=0, u(z,0)=2*-1, a=1, £=1:

Lnio6t pwnnp puinhnn.

(

U — @PUgy +Pu=0, 0<z<l t>0,
376. u(O,t) =0, ux(ga t) =0,

™

\u(x,O) =sing;z:

(
U — AUy + Pu=0, 0<z</l t>0,

377. § u,(0,) =0, u,(¢,t) =0,
| u(@,0) = ¢(z) :

(

U — Upe +u=0, 0<ax<l t>0,
378. ¢ u(0,t) =0, u(f,t)=0,
\u(x,O)zl:
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U — @PUgy + PBu=0, 0<z<l t>0,
379. § u,(0,t) — hu(0,t) =0, wu.(¢,t) =0, h >0,
u(z,0)=U:

U — U, =0, 0<axz</{ t>0,
380. ¢ w(0,t) =T, u(l,t)="U,
u(z,0)=0:

U — a*ug, = f(z), 0<z </l t>0,
381. § u(0,t) =0, u.(¢,t) =q,
u(z,0) = p(z) :

U — aug,, =0, 0<z</l t>0,
382' ux<07t) = q7 ux(ga t) = Q7
u(z,0) = Ax :

T
ut—azum—l—ﬁu:sinzx, O<z</t t>0,

u(0,t) =0, u(l,t)=0,
u(z,0)=0:

383.

U — aug, =0, 0<zxz</l t>0,
384. ¢ u(0,t) =0, u,(l,t) = Ae,
uw(z,0) =T

U — U, =0, 0<ax</{ t>0,
385. ¢ u,(0,t) = At, u,((,t) =T,
\ u(z,0) =0:
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Qniju 5
Ethyumuwjutt mhyh hwjwuwpnidabtp

§ 1. Ejhynmwjui huwjywuwupiwa pipynn yqupquqgnya junhpatp

Elhwumwlwl whwh hwjwuwupnidobpp vnwugynid G unwghnbwp®
duwdwtwyh npbpwgpnid shnthnpuynn Gpunyptbtn niunidbwuhpblhu: WUn
hull wuwmdawnny, h mwuppbpnipinit hhytppnyujwt b wwpwpnqujwut mhuh
hwjwuwnpnidtitinh, Hhwywnwliwb whwh hwjwuwpnidtph hubnhpbtpnid
ulgpbwut yuwydwbattn ;60 npnynid: Ejhyunwjud mhyh hwjwuwnpnidttphg
wnwyti] hwwhi hwinhwnid F Aniwuntth hwjwuwpnidp

Au=f:

Un hwjwuwpdwin hwdwwywunwuhiwbinng hwdwutn hwywuwnnidp, tpp
f= 0, Ungynid k Lwyyyuuh hwjwuwpniyd

Au =0,

nnh wiptnhwwm nidnidtbtnn Yngynid G hwndnthy $nibyghwbtin:

Uwmnple ipyud hubnhptpnid nhunwplynid E mwpwdéwjut dwpdht, npp
Ozyz Unnpnhbwwnmwlwul hwdwlwunpgnid qpuntgnid E I' dwitplnypny
uwhdwtwhwlywsd Q mhpnyjpn:

1.1 Uwmwghniwp otpduyhtti nuwpwmh hwjwuwpnidp: Uwpdbh
ytwmbnh u(z,y,2,t) eipdwumh@winp pwjuwpwnnid £ o —a®?Au=0 obpdw-
hwnnpnujwinipyut hwywuwnpdwin: Gpp dwpdth tbpuh wdtt dh (2,4, 2)
Jbmnid hwunmwwmynid £ hwumwmni@ dudwwlh ppwugpnid shnthnhuynn
uw(z,y,z) oipdwumhwl, wwyw wlt pwjwpwupnid . Avw = 0 Lwuyjwuh
hwywuwnpdwin: Gt dwnpdth tbpunid Jut otpduyht wnpmnipntbtn, wwyw
unwinid Gup

Au=—f(z,y,z) (5.1)

Mniwundh hwjwuwnpnidp, npmbn f=F/k, F-n otndwyhtt  wnpjniph
hnnipeniLhd B otpdnipyud pwbwln, npp wiowwmynid £ thwynnp duwdwbwlynid
thwynp éwjuwjhg, hul -t otpdwhwunnpnujubinipjut gnpéwyhgn:

Uwndth ttpunid gbndwumhéwth pwhipdw w(z, y, 2) dnruighwyh npnpdwut
hwdwp abwltpuwynid E htwmlyuwy htinhpp: Awhwbeynid qubty w(z,y, 2)
$niughw, npp @ mhpnypnid pwywpwnpnid £ (5.1) hwyuwuwpdwan, huy ¢
tgnh ypw htmlywy Ggpuyhtt wwydwbttnphg npbk dtGyht.

I. ulp=9¢: (mpywd EI'-h Ypw oipdwumhawip):
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Ou

I1. =g, (mpywd EI'-h ypw otpduwyht hnupp):

o |;
I1I. (% + h(u — g3)> ‘ =0 ('  dJwlytpunypny wtnh E niabGnd
thdmmnhuuﬁmrlln]_p]m& wnumuwpht dhowdwynh htin, nnh

otipdwumhwbn g; b):

Wuwtn g, gs, g5 h Pmllghwlbpp npnzduwd ko T -h pu, O
nuwn I’ dwbtplinypeh wpmwpht Gnpdwih ninnnipjwub:

1.2 Fjbjnmpuumwumhjugh b dumqgihnuumwumhljujh hwuwjwuwpnid-
atpp: Jwyninidnid HEyupuyud nuowmh jupjuénipjui E yayunpp jupth
E Gtpyuwywugut)

- wowtgyuyh

wmbupny, npwtn w(z,y,2) Pnrughwutt Ungymid E EHGumpwliwh nwpwnh
wynunbtghw): o pujwunpwnnid £

Au = —471'/)(1’, Y, Z)

hwywuwndwin, npwnbtn p-0 jhgptinph dwywuwjht humnipnitt E: Ggqpujht
wwydwbbtnh &o.

I ulp=¢; (mpywod kI'-h Yypw ynumbtitghwn):

ou

IL = =9 (mpqwd E I'-h ypw 1hgptiph hunnipiniip):
I

Juninidnid  dwglhuwlwd  puownh  qupjuénipjut H  Jbywnpp
FEympujwl nwywmh pwgwunipjut ntwypnid Junpbih E GGpuywugity
H = —grad ¢ wmbupny: Wn ntwpnid ¢ wnntighwp pwdupupnid £ Ap = 0
Lwwjuuh hwjwuwpdwbn:

1.3 Whutinitjh htnpnmiyjh wnmtighwjwhtt hnupn: “thgnip Q
wmhnpnypnid wmbtnh E nidbinid wbutindtih htnniyh hnup (p = const.), npnp
pinipwagpynid b vV(z,y,2) wpugnipjul yhijmnnpny: Gpbt htnniyjh pupdnidp
uppuyh@t sF, www® V= -grady, npwnbn ¢-0 Unygynid £ wpwgnipjubd
wnunbtighw): Whhugbhnipjut (yniph wuhywidwh)

dp i =
a5 +div (pv) =0

hwjwuwpnithg unwgynid k' div v = 0, npmtinhg™ div grad ¢ = 0, Jwuu np
nyah ' ¢ wnubbghwp pwjwpwunpnid b Ap = 0 hwjuwuwpdwiin:
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386.

387.

388.

389.

390.

391.

392.

393.

394.

395.

396.

397.

398.

399.

lvanhpatp

Qb Lwwjwuh owbtpwwmnph mbupn.

plLbnuyh@ ynnpnhwmwljud hwdwupgnid®

T =1COS p, y=rsiny:

guiuwh ynnpnhwmwud hwdwwnpgnid®

X =1 COS , y = rsinp, z2=12z:

udtinhy Ynnpnhiwmwjud hwdwljupgnid®

x =rsind cos o, y =rsinfdsin p, z =1rCosf:

Qb &-h wyh wpdtpp, nph ntwpnid « $nialjghwtt Yihth hwupunthl.
u(zy, ) = a3 + kxqa3
u(zy, o) = 2% + 23 + kad:
u(zy, o) = e**1 ch ks :
u(wy, x2) = sin 3z ch kx, :
Qb R%-nid hwupdnthly wyh pninp $nibyghwbtinp, npntig hwdwnp mtnh
nith pywd wuwydwn.
uy(z,y) = 3wy* — 2* :
up(2,y) = 2° —y* — 2y :
uy(,y) = u(z,y) :
ug (2, y) = 2u(z,y) :
“Yhgnip w(z), = (v1,79, - ,2,) P$nrujghwult hwpdnthy E: ANwnpqby,
hwunpdnh™y F wpnynp a(z) $nruyghwb.
w(x) =u(x+h), h=(hy,hg -, h,) — hwumwwmnitt ythwunn k:
w(z) = u(Az), A —ujupwup hwunmwwnmnii k:

(z) = u(Czr), C —hwunmwwmnil oppngniiu] Ywwnnphg k:
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400.

401.

402.

403.

404.

405.

406. u

U(ﬂf) = Uz Ugy, N = 2:

W(T) = UpyUgy, N> 20

U(T) = T1Uy, + Tollyy + T3lUyy, N =3:
w(r) = TUy, — Toly,, N =2:

3) w(x) = ToUy, — T1Uy,, N =2:

§ 2. Qupuinthy $niajghwmatph hhttwjut hwwmynipniaatpp:

<hdtwywd jpanhpatph npjudpp Hhywnmwywa
huwjwuwupnidatph hwudwp

Uwpuhinidh uljgpnitipn: Q wmhpnypenid hwpdnthly $niuyhghwi, tph
tnybwpwn hwunmwwmnia &5, Q-h ny Uh jtmnid ¢h yupnn hwutb; hp
dwpuhunidh:

tinptd dhohtt wupdtph ytpwuptnpuwy: thgnip Q- R* mwupwonipjut
wmhnnyp L, u(z) $nrdghwul hwpdnthy k Q-nid, 2° € Q judwyuud Yt L,
R-n judwywlwh phy k, wybwhuht, np 2° jbnpntny R punwdnny Br(z2°)
gnrlnt ptywo k Q-h Uk, Sp(z?) udtinwh Br(2°) -h kaph k: Wn nbwypnid”

u(z’) = ——— f u(z)ds L ou(?)

 w, Rr1 B o, R"
B

npntn w,-n dhwynp upbpuyh dwytplinyph dwitptub k, o,-np° dhwynn

qinh 6wdwjn R*-n1d:

Lhnighjh pinptidp: R*-nid hwpdntihy $nityghwt tph vwhdwtwthw] k

Jtnplhg wd ttpplhg, wmyw wjt hwumwwmnih E:

Jwunttuwjh wmthwyuwuwpnipyniap: Ghgnip u(z) Pniujghutt hwndnthly

E Br(0) qinnid . whpinhwwm k Bx(0)-n1d: Wn nbuypnid”

R — ||
(R+ =)= =

R+ ||

(DR @l

u(z) < u(0)R™ 1
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@tinptd hnuph ytpwptpuwyiy: thgnip u(z) $niiyjghwul hwupinthy k Q
uwhdwlwthwly mhpnypenid UL v € C1(Q): Wn nhuypnid”

f—ds-O

nnubtn » yayumnpn 00Q-h wpmwpht Gnpdwgb k:
Ejhyunmwljut hwjwuwnpnidttinh hwdwp hhdtwiwinid npynid &

tptip whwh juinhptbp: Quuwytpwttp npwip hwpdnthy $nityghwtph
hwdwn:
“Qhgnip Q-0 I’ tiqpny uvwhdwbwthwly mhpnype kE:

* Unwghll tqpuyht pjubnhp Jwd “rhphpubh jubnhp: Mwhwbieymd Lk
quniti v € C(Q) hwpinthly $niLbyghw, npp pwjwpwph

u=px), zel

tqpuyhtt wuwydwtht, nputn ¢(z)-p I'-h ypuw wmpjuoé wipbnhwuwm
P$niilyghw E:

* bpypnpn kqpuyhtt jubnhp qud Lhdwdh jubnhp: ‘thgnip ' tqpp
nnnpl E: Awhwbeoynmid E gl v € C1(Q) hwupunihy $nilyghw, npp

puwjwpwnh
ou

o
tqpuihtt wuwydwtht, npntin »-b I'-h wpmwpht tnpduwt £, huly ¢(x)-n
I'-h ypu mpywo winpnhwwm $niijghw k:

Nputugh Updwbh hubinhpp nitbbw jnionid, wbhpwdtpom E W

pwjwnpuwn, np
jgp(az)daz =
r

Un ntwypnid wunid G4, np Lhjdwth hmtinhpp npdwo k£ 6hpn:

=p(x), zel

* Gnpnpn bqpnuhtt jutinhp Jud hiunp pnhp: “hgnip T Gaqpp nnnpl k:
Muwhwigynid k gty v € C1(Q) hwpdnthy $nLtyghw, npp puwjwpwnph

0(x)$+u:g0(x), rel

Gqpuyhtt wuwydwbdht, npwmtn o(z)p W ¢(z)p b Jypu wpdwd
wiptnhwuwm $niughwttin ta:
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lutnhpatp

Quit; ywd pwqgunipniinid wu(z,y) Pnrulghwyh Epumpbtiinidh
ytwmbtnp.

407. u==xy, {(z,y)|2*+y*><1}:

408. u=2*—y* {(z,y)| 2?/4+y*/9< 1}:
409-413 puinhpbtpnid”
Bla") ={z eR"| |z —2°| <a}, S}(a")={zeR"||lz—2°|=a}:

409. u(z) $nLiyghwl hwpuinthy E B*(0) qunnid, wipinhwwm k B7(0)-nid W
u(0) = 0: Gtk uwn

pytph dhol, npwtn’ B = {z € BX(0)| u(z) > 0}, B~ = {z € B2(O)| u(x) < 0}:

410. u(r, ) Pnrlyghwl hwnuinthy £ r < 1 onppwlinid: Qunbby

411. Yhgnip u € C2(B2(0)) N C(B2(0)) W

Au =0, (x,y) € B%(0)7
u=y? (z,y) € 5{(0), y >0,
u=y, (z,y)€570), y<0
Qb
j u(z)dx :

B} ,(0)

412. Yhgnip Au=1, z € B2(0)\ B2(0): N°nl E Ut

j u,ds, Icill J upds :

53(0) 53(0)
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413. Qnynipjnil n"Luh wpynp B3 (0)-nid hwpdnthly, ny pugwuwuwi $nLuyghw

wybwhuht, np
u(0,0,0) =0,  (0,0,1/2) =10 :

414. Ahgnip Q-0 90 nnnpl tgpny vwhdwbwhwly mhpnyp k, « € C2(Q) N CY(Q) W

Au=0 x € €,

ou 90

npnbn » Yybljmnpp 09-h wpmwphtt Gnpdwih 2 Uwwgnigh), np ¢(x)
$InLuyghwutt 0Q-h ypw qnn wpdtp k pinniinid wntjwuqh tpynt jhwmnid:

§ 3. Onthnhuwjjuaitph wowmdiwa dhpnnp

Mupquqgnyt wmhpnypitnh nbwpnid Qpeowt, ninnublynit) btgpuyht
hmtnhpttnh ndnidp Lwwjuuh U MAniwundh hwjwuwpnidttph
hwdwp Ywpbtih E unmwbw] thnhnppwwubobph wiowmdwt tnubwlny:
QYhnwnplhtip Lwwjwuh Gpisuth hwywuwnnidp plinuhtt ynnpnhbwmwjut
hwdwlupgnid®

1 1
u,nr+;ur+ﬁu%p:0: (5.2)

®hwnntip wn hwyuwuwndwt ny mphyhwj jnLénidp

u(r, ¢) = F(r) - &(p)

wmbtiupny, F(r) #0, ®(p) # 0: Qujuwuwpdwd Uty mbtnunpdwudp hwbgnid kap

F/(r)8(p) + LF (1)) + 5 F(r)#(¢) =0 :

Whowwmbny thnthnhuwjwubbhtpn, jumwbwap”

r2F"(r) +rF'(r) _ _(I)//((,D) ‘
F(r) O(p)

Uwnwgywd hwjwuwpnipiniin Yihtth Gnytnipinil, tet we dwunp gutjuguo
r-h, hull awhu dwup gwilugwd ¢-h ntwypnid hwyjwuwp jhbbt Gnyh

hwumwmnitht
r2F"(r) +rF'(r) B _@”(gp)

o g
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Wjumtinhg, ®(p) $nrtljghuyh npnpdwl hwdwp junmwbwap
(i) + A2(p) =0 (5.3)
hwJwuwpnidp, huly F(r) $nrLdyghwyh npnpdwd hwdwn
r?F"(r)+rF'(r) = AF(r) =0 (5.4)

Entinh hwjwuwnnidn:
Lwlh nn u(r,p + 27k) = u(r,p), k € Z, wygu P(p + 27k) = (), wyuhtipl’
thtnmpynid GG (5.3) hwjwuwnpdwt 2r-yuppbpujud jnuonidtbpn: dYhnwuplytip

tntp ntwp:
1) A < 0 ntiwypnid (5.3) hwjwuwnpdwd phnhwinip niénida £

O(p) = cle’ﬁ‘P + CQeH“’, c1,00 € R,

nnp wwppbpwyw ok, Gt o-p W eo-p thwdwudw il gnn (L:
2) A = 0 ntiypnid (5.3) hwjwuwndwh pnhwinip niénidt £

P(p) =ao+Boy, o, Bo €R,
nnn Yhtth wwnppbpuwywb, Gt 5, = 0, wyuhlipl™ A = 0 ntwypnid (5.3) hwjw-
uwnUdwil 2r-wwnptpww jneonidp guijugwd hwumwmnid B @y (¢) = ap, nlin
npnid aq # 0:
3) A > 0 nhwpnid (5.3) hwjwuwpdw® nnhwbnip nionida &

q)((p) = c1 COS \/XQO‘FCQ Sin\/Xga, C1,Co € R:

Lwblh np ¢f + 2 # 0, wyw wyl yupbh E abpyuywughty

d(p) = Acos (VA —0), A:m, G:arcth—j
wmbtiupny: (p + 27) = &(p) Wuydwlhg
Acos(VA(g + 21) — 0) = Acos(vV g — 0),
npunbtnhg, hwpyh wntbny, np A # 0, junmwbwbp
—2sin(VA ¢ + 20V A — 0) sinmvVA = 0,

niptdl’ sin7TvA =0, npmtnhg” 7vA =7 qud A=n? n=1,2,...:
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Wuwhuny, tpp A > 0, (5.3) hwJwuwnpdw® 2r-ywunptpujut jnronidttpnd o
D, (p) =a,cosnp + B, sinnp, a,, B, €R, n=12...

Pnibhghwmttinpn: Gumukip (5.4) hwjwuwpdwb nLonidatinppn uvnmwugywd A-utinh

nbtwpnid:
Gnp A =0, (5.4) hwjwuwpdwb ptnhwbnip nidénida £

Fo(r)=c1+clnr, ¢, ¢ €R,
hulj A = n? nhwpnid”
Eu(r) =™ pm g ), M dM e R
Wyuwhuny

uo(r, ) = Fo(r)®o(p) = (c1 + coInr)ag = Ag + By Inr,

n (1) = Fu(r)@a() = ("1 + &™) (e COS np + B, simng) =
= (A" + Byr ")cosng + (Cpr™ + Dyr ) Sinng, n=1,2,...

PniLalghwmtiipn gumtjugwod

Ap = crag, By =coap, Ap= an)a/na B, = Cén)am Cn = an)ﬁna D, = Cén)ﬁn
hwumwwmnitbtinh ntuypnid (5.2) hwywuwnpdwb nidénidtbn th:
Whthwjm E, np wyn hwjwuwpdwt jnionid £ ol

u(r,p) = Ag+ Bolnr + Z ((Apr™ + Bur~™) cosng + (D™ + Cpr ™) sinnyp) (5.5)
n=1
PniLaghmt, tph vhuyt we dwunid gnywd pwnpn W wyh pwnptpn, npnap
unwgynid G Gpint wqud winud wn winud woéwtgtihu, hwjwuwnwswth
gnigquubtin Gh:
3.1 2hphjujth huanhpp 2pewtnid: Nwhwbeynid E qumaly 22 + 2 < R?
onowtinid hwnunthy $nibyghw, npp 22 + ¢? = R? pppwliwugdh Yypw hwjwuwnp b
wnpywd g(z, y) nruyghuyht’

Au =0, 2?2 + 1% < R?,
u(x,y) = g(xay)a z? +y2 =R*:
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Altnuyhl ynnpnhtwnmwut hwdwwngnid pbnhnpp Yanygh

1 1
{um«+;ur+r—2uw0, r <R, (5.6)
u(R,p) = flp), 0<p<2m (5.7)
wmbtiupny, nnpntin f(p) = g(RCcos ¢, Rsinp):
u(r,¢) $nruljghutt whwmp E 1hth vwhdwtwhwly, huy nu wiwynid E, np

(5.5) pupph gnidwpnp Yihth (5.6) hwjuwuwnpdwt jnionid » < R ppowtnid, tph
By = B, = C, =0, wyuhbpa"

u(r, ) = Ao + Z r"(A, cosny + D, sinny) : (5.8)
n=1

Chwmptbp A4g, 4, L B, hwunmwwmnibdtnt wtwytu, np wmtnh nitttw (5.7)
Lgpuyhtt wuwydwbn

fl@) =u(R, ) = Ag+ Y  R"(A, cosng + D, sinney) :

n=1
Lowbwlybkny ay = 24, a, = A, R", b, = D,R", nLukbwbap’

Qo >

f(#) = 5 + ) _an cOSnep + b, sinng),

n=1

nnunbtinhg 0

27 27 27

1 1 1 .
a =~ [ f(e)dp. an == [ f(p)cosnpdp, b=~ [ f(g)sinnpdp, n=12...: (5.9)
Ty T Ty

Stnunnptny (5.8) puupph vk, junmwbhwbp”
u(r,p) = —+ 3 <L>n(an Cos ny + b, Sinnyp), (5.10)
n=1 R
nnwubn ag, a, W b, gnpéwhgbtinn npnpynid ta (5.9) pwtwaltinhg:
Whhwdwubn hwjwuwnpdwd ntuypnid”

Au = h(z,y), 22 +y? < R?,
u@,y) =g(v,y), 2*+y° =R,

inidnidn Yupbh £ hinptb) u(z,y) = o(x,y) + w(z,y) mbupny, W pbwmnpt; npbk w
Pnrujghw wyhybtiu, np Aw = h(z,y): Yn nbypnid » Initghuyh Gumdwdp
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Jumnwgyh hwdwutin hwjwuwpnidny

Av =0, 22 +y? < R?,
v(z,y) = g(z,y) —w(z,y), 2°>+y* =R

hutinhpp:
OphGuwly 5.1: Lniohk Yhphhuth ppbnhpn.

AU:O, $2+y2<R2,
U(I,y) :g(x7y>:4xy27 $2+y2:R2 .

Lnidoniu: PUutnuh@t ynnpnhtwmwljut hwdwljupgnid Ynibtowbp
(5.6)-(5.7) juinhpp, nputin

f(p) == g(Rcos g, Rsiny) = 4R cos ¢ R?sin® ¢ = 4R*(1 — cos? ¢) cos p =
3CO0S cos3
:4R3(COSQO—COS3QO):4R3<coscp— SDI S0):R?’(cosw—cos:’xp):

fotinph nLonUp gmttiiip ogqumugnpotiny (5.10)-p: NiLathp

u(R, @) = ap + Z(an COS ny + b, Sinnyp) :

n=1

Unpwithg U tgpuyhtt wuwydwthg unwinid Gp”

R? ( COS ¢ — COS 3@) =ap + Z(an cosny + b, Sinny) :

n=1

Wju hwjwuwnnipniin mbtnh Ynittbw, tpb
CLOIO, CL1:R3, CLQIO, CL3:—R3, CL4:CL5:...:0, blzbgz...:OI
Stnunnkip uvnmwgywd gnpoéwlihgitinn (5.10) pwunpph dbe

R R
= R*rcosp —r(4cos® p —3cos ) = (R? + 3r?)rcos ¢ — 4r* cos® o :

3
u(r, @) = (1) R3¥cosp + (1> (—R*) cos3p = R*rcosyp — r°cos 3y =

Uagltiny (z,y) hnthnppwwbabtph, junwbwip
u(z,y) = (R* + 3(2® + y?))w — 4% -

Muumwuhaow@™ u(z,y) = (R? + 3y?)z — 23 :
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Ophtiwly 5.2: Qubb] 0 <r < R 2ppwlinid hwupdnthy u(r,¢) $niuiighw, npn
pwywnwnnid b u(R, ¢) = psiny tqpuyhlt wuwydwih:
Lnidnid: Oquytlp (5.10) dtpyujwugnivhg: <wpykbp pwpph gnpéw-
Yhgtitipn (5.9) pwtwalitiphg” yipgtyny f(yp) = ¢ sine.

2 2 2
B 1J ) B B 1 ) B 1 B 1 L B
ag = — | ¢Sinpdp = —2, al——fQOSIIlgoCOSgodga———, bl——jgosnl pdp =,
T T 2 T

= —1 ( i k = b —1 ( i i kod 0 k 2.3
sin ¢ cos kpd - sin o sin — _ e
ag J‘ @ 2 pap k?2 17 k bf @ 2 pap ’ 3y

Stnunnptiny unmwgywod gnpoéwlhgitpn (5.9) pwpph dbe Jumwbwbp
nLoéniUnp:
r wr

e 1 r\ "
a i = _1—- — — si 2 — ko :
wmnwuhawm@” u(r, ¢) SR COS ¢ + 7 Sin p + ;;—2 . 1(R> cos ky

OphGwly 5.3: Lnidh dhphhgth aanhnnp.

Au =y, 2?2 +y? < R?,
u(z,y) =1, z*+y* = R%:

Lmodénid: Qtwmpklp nidnmdp  w(x,t) = v(z,y) + w(z,y) wmbupny: Stnu-
nntiny hwjwuwpdwbd W tgpuyhlt wuwydwbth dte” v(z,y) Initlyghuwgh
auunmdwdp junwtwbp

Av =y — Aw, 22 +1y? < R?
v(z,y) =1—-w(z,y), 2°+y* =R

hwtnhpp: Cuwnnpbbp w(z,y) $niighwd wyybtiu, np Aw =y: Ophlhwy,
Qwptih E Jtpgty

3
Y
U)([E,y) = E :

Un nbwpnid o(z, y) dnLtyghuyh tjumdwdp jummwgyh

Av =0, 2 +y* < R?,
3

Y
U(l’;y):l—gy $2+y2:R2

hinhnpn: Altnuhtt ynnpnhtwmwlju b hwdwlwngnid wyn nbnhpn Yanpygh

Av=0, r<R,

R
U(R,QD)ZI—?SIH ©
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mbupny: Cwdwawyh (5.10)-h" nrondp Ynidokbw
v(r,p) =ag + ; (%) (a, COSNY + by, SINNY)

wmbtupp: Stnunpbtinyg » = R . hwpyh wnttinyg tgpujhtt wwydwtn, Ynibb-
wbp’

- : R R (3 L
a0+Z(anCOSncp+bnsmngp)zl—Fsm 4,0:1—? Zsmgo—zsm?w )

n=1
nputinhg

R R
CL():]_, CLQZCLg:...:O, 61:——, bQZO, bg

8 :ﬂ7 b4:b5:...:O:

Stnunnptny unwugywd gnpébwlihgbtpn pwunph dte, jumwbwbp

r R} r\* R® .
v(r,¢):1—ﬁ-§81n¢+(—R) -ﬂsmi’)go:

RQ 743 R3 7,,3
—1— —rsin — sin3p=1— —rsin —(3sinyp —4sin®v | :
g Syt g, sihog g (’0+24( 14 *0)

. R2 x? + y2 y3
Wiglbkp (z,y) hnhnjuwwubbbph' o(zr,y) =1 - —y + v

. 8 8
nnubinhg

. RZ x2+y2 y3 yg
U(Jf,y)—v(l’,y)—l—w(x,y)_ _?y"i_ ] y_g‘i‘g

(z® +y* — Ry
3 .
3.2 2hnphhijtih juinhpp 2pewtth wpmwphtt dwunid: ANwhwbeynid
E' qumiby 0(0,0) Ythwmpningy W R Jwnwynny opeowtth wpuwwphtt dwunid
uwhdwtwhwl, hwpuinthly $niblyghw, npp ppowttwgoh ypw hwyjwuwp E
wpywd g(z, y) nrujghuyht’

Muunuuhiwm@” u(z,y) =1+

Au =0, 2?2 +y? > R?
u(z,y) = g(z,y), 2*+y* =R

juz,y)| < oo
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Waghbnyg pllbnuyh nnpnhtwmwljut hwdwlunght™ junwbwip

1 1
urr"’;ur‘i‘r_Zugpap:Oa T>R7

u(R, ) = f(p), 0<p<2m,
lu(r, p)] < oo :

u(r, ) dnrujghuyh vwhdwbtwhwlnipinithg htmbnid £, np (5.5)-n Yihth
Lwuwjwuh hwywuwnpdwd jnionid » > R mhpnypnd, tpt By = A, = D, = 0,
wjuhbph’

u(r, ) = Ag + Z r~"(B,cosng + C, Sinnyp) : (5.11)
n=1

CLhmnptbp Ay, B, L C, hwmunmwwmnibdtnt wjtwytu, np mbnh nLoktw Ggpuyht
wuwydwin

flo) =u(R,p) = Ao+ Z R™"(A,cosny + D, sinny) :
n=1

Lwtwlybtiny ay = 24, a, = B,R™™, b, = C,R™", tqpuyhtt wwydwbinp Ynbnnith

ao >

fle) = 5 + ) _(ancOsnip + b, sinng)

n=1

whupp, npntinhg

21 2

1 1
a=— [ flp)e. a,=_ [ f(p)cosnpdp.

0 0

21
1 .
b, = —jf(gp) sinnedp, n=1,2,...: (5.12)
T
0

Stnunnpbny (5.11) pwunpph vk, jumwbwip

ao RN\ .
u(r, p) = 5 + Z <?> (a, cCOSnY + b, Sinny) : (5.13)

n=1

OphGuwly 5.4: Lnidh hphhuith wpmwpht hatnhnp.

Au =0, 22+ > R?
u(z,y) = g(z,y) =y +2zy, 2*+y*=R?

juz,y)| < oo
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Lnidnid: PlUbtnwhtl ynnpnhttwmwut hwdwwngnid ppnhpn Yanyh

Au, r>R,

u(R,p) = f(e), 0<p<2m,

|u(r, )| < oo
wmbtupny, npnbtn
f(p) = g(Rcosy, Rsin p) = Rsiny + 2Rsin pRcos ¢ = Rsinp + R*sin2¢p :

futinnh nLonidp gmtbnt hwdwn (5.13)-nid mtnunptbp » = R.

u(R, ) =ag+ Y _(a, COSnep + b, Sinng) :

n=1

Oqgqumugnnoébny tgpuyhl wuwydwbn, junmwbwbap”

Rsiny + R*sin2p = ag + Z(an cosny + b, sinny) :

n=1
Yju hwjwuwnnipniin mbtnh Ynitttw, tpb
an =0, n=0,1,2,..., bi=R, by=R?* b3=b,=...=0:

Stnunnbny unmwgywd gnpoéwhhghtipnn (5.13) pwapph dte®

R\ R\2R? R 2R*

u(r,p) = —|Rsinp+ [ —| — sin2¢p = — r siny + —— r Sin pr cos g,

r r) 2 r2 rt

W whglbny (z,y) thnthnpuwjuttnh, junwbwip’

R*% 9oRizy  R% 2Ry
u(z,y) = > T T a:2+y2+ (2% 4 y2)? :

r

R?y 2RYxy

Muumuujuwuft’ Y) = :
lu u(m y> LE’2 +y2 + (ZE2 +y2)2
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3.3 2hphhujth fpnhpp onuynid: NMwhwbeynid E qnbt) 72 < 22+ < R?
onuwlnid hwupdnthy $nitjghw, npp 22 + »? = R? ppwlwugdh ynpw hwjwuwn
g1(z,y) $nrthghuyht, hul 2* +y* = R§ 2npgwliugdh ynw' gx(z,y) $nLughuyht’

Au =0, R < 2% +y? < R%,
u(m,y) :gl(xvy)a $2+y2:R27
u(z,y) = go(x,y), 2*+y*=Rj:

Altnuht Ynnpnhttwnmwjut hwdwlwungnid minhnp Yanpyh

1 1
uw%—;ur—i—T—qu:O, Ry <r <R,

u(R, ) = fi(y),
u(R07 90) = f2(90)

wtupny, nputn fi(p) = gi(Rcosy, Rsing), fa(p) = ga(Ry COS ¢, Ry sin p):
Lniénidp mpynid E (5.5) pupph wmtiupny, nph gnpéwyhgttnn npnpynid G
tanuyht wwydwbttnhg:

OphGuwl 5.5: [nidh 0 < Ry < r < R onunid “+hnhhuth hninhnpn.

Au=14, Ry<r<R,
u(R,p) =cosmp, me N, (5.14)
U(Ro, QD) =0:

Lnidonid: Ouwnnblp nionidnp u(r, ) = v(r, @) + w(r, ) mbupny, npntin w-u
Aw = 4 hwjwuwpdwtnp puwjwpwupnn judwyuut niayghw k: dbapghktup,
ophtiuy,

w(r,p) =12

Stnunnbny (5.14)-h Ut v(r, ) $nriighuwyh Gumdwdp jumwbwbp

Av=0, Ry<r<R,
v(R,p) = cosmp — R*, m € N, (5.15)
U(R(),QD) = _Rg :

hutnhpn: Ogwytbtp (5.5) tbpnjuywugnivhg.

v(r,@) = Ao+ Bolnr + > ((Aur™ + Bur ™) cos ne + (Dyr™ + Cor™") sinneg) : (5.16)

n=1
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Qunbkip gnpdéwhgtbtnn’ ogmybinyg tgpuyht wuwydwbhdbtnhg: Niakip

U(R, QD) = A() + By In R+

+ Z ((A,R"+ B,R™™) cosnp + (D,R" + C,R™") sinny) = cosmy — R?,

n=1

U(Ro, 80) = AO =+ BO ln R0+

+ ) ((AuRj + B.R;™) cosng + (D, Ry + C, Ry ™) sinng) = —Ry :

n=1
Swdwnnpbnyg we W dwhu dwubnp, junmwbwbp
AO‘I’BO].DRO = —R(z), A0+BolnR: —R2,

AnR"+ B, R~ =1, A,Rj'+ B,R,™ =0,
A,=B,=0, n#m, D,=C,=0,

nputinhg
R’InR, — RZInR . R — R?
0 InR-InR, ’ " InR—InR,
R;™ — R
Ay = ° By, = .

(R/Ro)™ — (Ro/R)™ (R/Ro)™ — (Ro/R)™

A,=B,=0 n#m, D,=C,=0:

Stnunnptny (5.16) -h dke, yjumwbhwbap (5.15) ppinph nLénidp’

R*InR,— R2InR R — R?
InR—1InR, + InR—-1InR,
Ry™ . - Ry .
i ((R/Rm —®Ro/R)"" T (B[R — (Ro/B)" ) osmes

Inr+

v(r,p) =

(5.14) utinnh mniénidn” u(r, ) = v(r, @) + w(r,¢) = v(r, @) + r:

R’InRy— R2InR  R:- R

Mumuujuwu el u(r, @) = IR _Ink + Ik _Ink, Inr+
+ ™ rm — A r~™ ] cosmp + r?.
(B/Ro)™ — (Ro/R)™ (B/Ro)™ — (Ro/R)™
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415.
416.
417.
418.
419.

424.

425.

426.

430.
431.
432.

433.

434.
435.

436.

Au=0, r<R,
Ln1dt] hutinhpp.
u=f(p), =R
flp) =cos’p, R=1: 420. f(p) =sin4pcos?yp, R=2:
=2 2 :
flp) = 2c082p cos 3 421. f(p) = sindpsin8p, R—2:
f(p)=cos'y, R=1:
4272. =1 2
flp)=sin’y, R—1 f(p) =10cos 3y cos 2y,
flyp) =sin’ ¢ 423. f(p) = o2 — @) :
Au =0, 242 < R2,
u=g(z,y), 2*+y*=R
9(z,y) =z +xy 427. glz,y) =22 — 2%, R=1:
g(z,y) =2(z*+y), R=2: 428. g(z,y) =y*/5+5zy, R=5:
g(z,y) =4y*, R=4 429. g(z,y)=22>—-z2—y, R=6:
Au=h(z,y), 2*+y* < R?
ooty ¢ )y hutinhpp:
u:g(x,y), x2+y2:R2
h’(x’y):L g(may):()? R=1:
h(l’,y):LE, g(x7y):07 R=2:
hx,y)=—-1, glz,y) =v*/2, R=
h(z,y) =4, g(x,y)=1, R=4:
Au=h(z,y), 2?+y>+2r<1,
e Al e
u=g(z,y), P+’ +2r=1
h(l‘,y)zo, g(xay):4$3+6$—1
hr,y) =0, g(r,y)=a>+2y:
hz,y) =0, g(r,y)=2y*—x:

lvanhpatp
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437. h(z,y) =4, g(z,y) =2zxy+1:
438. h(z,y) =24y, g(z,y)=y:
Au =0, 2+y? > R%
Quily B vy hinph vwhdwwhwl] nLénidp.
u=g(r,y), z°+y*=R?
439. g(z,y) =ar+by+c: 442. g(z,y)=y* —zy, R=2:
440. g(z,y) =2*—y*, R=2: 443. g(z,y)=y*+x+y, R=1:
441. g(x,y)=2*+1, R=2: 444. g(z,y) =22* -z +y, R=2:
Qulb]; Ry <r< R onuinid hwpunthly u(r,¢) Pnrulghw, npp
puwnpwnnid E ipduo tgpuyht wuwydwbbbnh.
445. u(Rg,p) =0, u(R,p)=AcC0Syp:
446. u(Ry,p) = A, u(R,p)=Bsin2p:
447. u.(Ro,») =qCcose, u(R,p)=Q+Tsin2y:
448. u(Ry, o) =T +Ucosy, u.(R,¢)—hu(R,¢)=0:
Munqb), Pt np wuydwbh ntwypnid t Lhpdwbh huinhpp npyué Ghpwu:
Oqwuytny (5.5) tpyuwywgnivthg gwmib] dhpn npdud pulinhph nioénidnp
(A-0 . B-0 hwunmwwmnitbbn Gh).
(Au:(), r<R, (Au:O, r<R,
449. ¢ 5, 452. ¢ 5,
o —R- A2 _p.
L 5 A r=R: L 37 Ay — B, r=R:
Au =0, r < R, (Au:O, r < R,
450. < 5, 453. § 5,
_ 2 _ . _ _ .
\aT—zx +A7 r=~R: \E—AxQ—ByQ—f—y, r=R:
( Au =0, r < R,
451. ¢ 5,
L3, = 2ry, r=R:
Au =0, r> R, Au =0, r> R,
0 9,
454, a_:f:yQ_A’ r— R, 455. a_z:xzﬂly_B, r— R,
| (e, )| < oo fu(z, y)| < oo
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Au =0, r> R, Au =0, r> R,

ou ou

456 —ZQIy—AIE2+B, T:Ra 457' _:$2—A92+Ba ’I":R7
a/r' 67“
jufe, )] < oo u(z, )] < o0

3.4 Gqnuyht hnnhpabtp ninnuaynia mhpnypnid: dnthnhuwjubtttnh
wiowmdwl tnubwyny Yuwupth b nudty Lwwjwuh hwjwuwpdwd hwdwp
tgnuyht hninhnptbpp twle ninnualnit mhpnypenid: Nputu ophttwl nLdtip
htnlyw; hutnhnpp: AMwhwbeoynmid E quily 0<z<a, 0 <y <b nimnutlynih
mhpnypnid hwpunthy $nidyghw, npp ninnubaywb z =0, z = « Ynnutinh ypw
hwjwuwnp k qnnjh, hull ¥y = 0, ¥y = b Ynnutiph ypw™ hwdwwwnmwupiwbwpwn
fi(2) W fo(x) Prrilyghwitpht’

Upy + Uy =0, 0<z<a, 0<z<b, (5.17)
u(0,y) = u(a,y) =0, (5.18)
u(z,0) = fi(z), u(x,b) = fo(x): (5.19)

Lwh quntkip (5.17) hwjwuwnpdwan pwjwnwunnn u(z,y) = X(2)Y (y) mbtuph
Unytwpwp qpnjhg wwpptipynn nidnid, npp Ypwjwpwph (5.18) tqpuyht
wwjdwtbtnht: Stnunnpbny (5.17) hwjwuwpdwt ke L wmswwmbiny thnthn-
hwywbbbtnp, junmwawbp

Y'y)  X'(x)
Y(y — X(z)
Npuwtugh (5.20)-n 1htth tnytnipenitd, whpwdbtom E, np we L dwhu dwubtinp

hwywuwp 1hikh Gnyt hwumwmniht: Gywhwltip wyn hwunmwwmnianp A2-ny’

(5.20)

Y"(y)
Y (y)

Wjumbtinhg Y (z) $nitghuyh npnpdwdt hwdwp junmwbwap

X”(.T)

X(x) =

= \2

Y"(y) =AY (y) = 0 (5.21)
hwjwuwpnidp, hul X (z) $nrLdyghuyh npnpdwd hwdwnp
X"(x) + N X(z) =0

hwjwuwpnidn: Oputugh w(z,y) $nrujghul pwywpwnph (5.18) tgpuyhl wwy-
dwtibtpht, X (z) $nrtyghwut ywtwmp E pujupwph X(0) = X(a) = 0 yuwydwtbtipht:

Wuwhuny, vnmwgytg
X"(z) + A\2X (z) = 0,

X(0) = X(a) =0
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Gumnipd-Lhnighth hbnhpp, nph  utthwjw®  wpdtpitpt nir  ubthwljwub
PniLuyghwmbtint &4

k 7k
A = —, Xi(x) =sin —z, k=1,2,...:
a a

Gnp A = A\ = 7k/a, myu (5.21) hwjwuwpdwb pnhwinip jnionida B
}%(y)2214kC}1%§2y—F13kS}l%§2yZ

Wuwntin A;-0 L Bi-t guwbtugwd pytp Gh: Unwugwbp (5.17) hwjwuwpdwin W
(5.18) tgnuyht wuwydwbdbtpht pujywpwupnn hwpytih pubwyny nidénidbtnp’

k k 7k
ur(z,y) = Xi(2)Ya(y) = (A Ch;y + By Sh;y) sin — z, k=1,2....:

Whthwwm E, np (5.17) hwywuwpdwop W (5.18) tgpuyhtt wuwydwtabbnht
Upwjwpwnph Gwl

- - k k. Tk
u(z,y) =Y wle,y) =Y (Acch % y+ By, sh % y)sin—a (5.22)
k=1 k=1

PniLaghmd, yuydwbiny, np wyn >wppnp b wyb pupptnp, npnp unmwgynid Gu

tnynL wiquwd winwd wn winuyd wowbagbihu, hwjwuwpwywh gnigudbm Gh:
CLhwmptlp A, W By gnpéwlhhgttint wytwbtu, np (5.22)-ny npnpynn u(zx,y)

PnLayghwu@t pwdwnpwnh dwle (5.19) tgpuyhtt wwydwtbtphd, pun nph

fi(x) = u(z,0) = i(Ak + By) sin %k x,

k=1

> 7k

k koo .
fi(z) = u(z,b) = kz::(Ak Ch%b—i— By, Sh%b) sin — z,

—_

npnbnhg
7k

fi(z)sin —z dx,

Ap+ By =2 -

C—0

a k
Aych b+ B sh™p =2 | fy(z)sin —uzda
0 a

Qunibiny wyumtnhg A, W B, gnpébwhgbtnn L mbtnunntiny (5.22) punpph ute®
Junwtwbtp hunnh nLénidn:

188



Onhtiwly 5.6: Lniok) ninhnpn.

Au=0, 0<z<a 0<y<b,

u(0,y) =, ug(a,y) = 0,

. T
u,(z,0) = T'sin 5 u(z,b) =0:

Lnmidnid: Otwmpbinyg nidmdn u(z,y) = v(z,y) + U mbupny v(z,y) $nrlhly-
ghuyh tuuniwdp junwtwbp

Av=0, O<z<a 0<y<b, (5.23)

v(0,y) =0, vz(a,y) =0, (5.24)
T

vy(z,0) = T'sin 5 v(z,b) = =U (5.25)
a

hutinhpp:

Qubklp v(z,y) = X(2)Y (y) # 0 mbiuph $ni1ughw, npp Ypwjwpwnh (5.23)
hwjwuwpdwin W (5.24) tgpnuyhtt wwydwbttpht: Stnunptny (5.23)
hwjuuwndwl dbe L wlhowwmbiny thnthnpuwwbhdtpp” Y(y) $nrdyghuyh
aumdwdp junmwbwbip

Y'(y) = NY (y) =0 (5.26)

hwjwuwpnidn: <<wpyh wnbbiny (5.24) Ggpnuyhlt wwydwbbtpp, X(z)
$niLtghuwyh npnpuw hwdwn junwbwbp

X"(z) + XX (z) = 0,
X(0) = X'(a) = 0

Gunipd-Lhniyhih putnhpp, nph ubthwjwt wpdtptbnt ni ubthwjwb
PnLayghwmbtnh &4

m(2k+ 1) Com(2k+1)
M=l Xp(a)=sin—— "z, k=0,1,2,...:
2a 2a

Gnpp A = )\, www (5.26) hwywuwndwd pnhwinip nionida £

m(2k + 1) m(2k + 1)

Yk(y) = A, ch % Y+ B, sh %a

Y,
npuntin A,-0 W B,-0 gujugwd pytin Gt: Unmwgwip hwpybih putwyny

m(2k + 1) m(2k + 1) o m(2k+1)
———~y+ Bys —y) sin— "z

2a

vp(x,y) = Xik(2)Yi(y) = (Ak ch
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$niuljghwtiin: Fhgnip v(z,y) $nruyghwi i vg(z,y) 2upph gnidwnpb £
k=0

e m(2k +1) m(2k + 1) o m(2k+1)
U(x,y)zz <AkChTy+BkShTy> SIHTLUZ (527)
k=0

o tnybwbu Ypwdwpwph (5.23) hwjwuwpdwip W (5.24) tgpuyht
wuwjdwbbbtnhtt: A, W B, gnpéwlhhgttnt pbwpbtip wbtwbtu, np wt
pwwnwnh twl (5.25) Ggpuyhtt wuwydwbbtnht: Niatap

< w2k +1 m(2k + 1) m(2k + 1) (2k + 1)
= h—= Br,ch—— in——x:
a: y 2% < kS %a Y+ D C 90 y) sin 5 x

(5.25)-h wnweht wwydwlihg

m(2k+1) Com(2k+1)

. T
’Uy(LC,O):ZTBkSIHTx:TSIH%JI,
k=0
npnbnhg’ -
BO_ ¢ 5 BlZBQZ =0

Stnunnptip unwugywéd B, gnpoéwhghtipn (5.27)-h dke, jumwbwbp’
s 2aT s .
U([E,y) = <AOCh% y—I— TSh2— y) Sln% T+

T2k +1)  w(2k+1)
+2Akch S ysin— —u: (5.28)

(5.25)-h tinypnpn wuwydwihg”

b 2aT s
=(Aoch—+ —sh— —
v(x,b) (00 o - )51112@ T+
T(2k+1)b | w(2k+1)
A h i - _
+Z kC 5, SIl———32 U,
nnunbtnhg, hwpyh wntbny, np
m(2k + 1 - m(2k 4+ 1
|]Xk||2=HSinngQ:fsianxdx:—, k=0,1,2,...,
2a ]
Uniokbwbp”
Ahﬂb 2aTh7rb 2 ¢ U'ﬂd AU
0C 2a+_’ﬂ‘ S % 50 (— )Sln%l’ l’——7,
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Aich = - -U = — k=1,2
ke 2a a-of< ) sin a7 m(2k + 1) T
Wuwmbtinhg®
i) AN
A= —-(2U+aTsh— | ch—| ,
s 2a 2a
4U m(2k + 1)b\ !
A, =——+—( Ch——— k=12 ...:
F m(2k + 1) (C 2a ) ’ T

Stnunnptny (5.28)-h Ute, jumwbhwbp’

2a 2a
AU ( m(2k + 1)b> ox@k+1) | w(2k+1)
T2 D) ch———) ch—— _

2 ) b\ ! 2aT
v(z,y) = (— —- <2U—|—aTSh—) (Ch—) ch — y+ishl y) sin — z—
m 2a 2a m 2a

5 5, ysin—-
k=1
Muunuujuwull’
2 (24T T b b\ ! T o
u(z,y) =U+ ;(T Sh% Y — (2U+aTSh%) <Ch%) Ch% y) sm% T—
WweE 1 r@k+ 10\ w(2k+1) w(2k+1)
Bt o S Y Yl PSP
T = (2k+1) 2a 2a
loanhpatp

Qnibtj0 <z <a, 0<y<b nmnuilpninid Au =0 hwjwuwupdwd wyh

w(z,y) InLonidp, npp pwjwnwnnid E ipgwo Ggpuyhtt wuwydwbbttnht.
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462.

463.

464.

465.

466.

467.

468.

469.

0, uz(a,y) = A,
u(z,0) =0, wu(x,b)=U":

)
uw(0,y) =0, wu(a,y) =Ty,
Th

\ uw(z,0) =0, wu(x,b)= %

(u(0,y) = Ay(b—y), u(a,y) =0,

.
\ u(z,0) = Bsin—, wu(z,b) =0:

a

Lni16h) puinhnp.

(Au:(), 0<r<2 0O0<y<l,
u(0,y) =0, u(2,y)=0, 0<y<l,

. bmx
u(z,0) =0, uy(x,l):SIIlT, 0<e<2:
\

(

Au =0, 0<zr<2, 0O0<y<?2,
u(0,y) =0, u(2,y)=0, 0<y<2,

\uy(x,O):O, uy(r,2) =2, 0<o<2:

Au =0, <<l 0O0<y<?2,
u<0’y):07 ua:<1ay):A7 0<y<?2

u(z,0) =0, wu(z,2)=B, 0<zx<1:

.

Au =0, 0<zr<l, O<y<l,

u(0,y) =0, u,(1,y) =0, 0<y<1,
mwr

uy(a:,O):SiII?, u(z,1) =0, 0<z<1:

\

.
Au =0, 0<z<l, 0O<y<?2,

u:(0,y) =0, wu(l,y)=0, 0<y<2,

\u(:c,O)zO, uy(r,2) =Bz, 0<x<1:
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10.

21.

22.

23.

24.

25.

26.

34.

35.

36.

37.

. Ny

. Ng:

. Un, 7 Qung:
. n, I7T jupqg:
. Un, 7 Qung:
. n, I7T jupg:
. Un, 7 Qung:
. Nyg:

. Ng:

Ny gdowyhti:

1
Ugy — iun =0:

Muumnuuhiwaabp

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

u§5+u,m =0:
1 1 n 1
(6= 55) s guon =gl gg) v
0z .
0z B
==
1 1
Upp + — Uy + S Upp = 0
T T
u(z,y) = f(x) +g(y)
u(z,y) = xf(y) +9(y)
22y xy?
u(r,y) = TJF 7+f(x) +9(y)
ot xy?
u(r,y) = EJF TJF zf(z) +9g(y):
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Lquqhqdwhb:
Qéuyht, wthwdwutin:
Q6uyht, hwdwutin:
Qoé5uyht, wthwdwutin:
Ny gdowyhbi:

Q.65uyht,

wlhwdwutin, tpp A(z,y) # 0:

LJughqdéwght:
LJywuqghqgowjhti:
LJwuqghqgowjhbi:

Q6uyhl, hwdwutin:

§

u, = 0:



38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

33.

56.

7.

58.

59.

60.

u(z,y) =" +yf(x) + g(a):
u(z,y) = f(x) + g(y)e™:
u(z,y) = fx)e’” + g(y):
u(e.g) = £(2) + —g(u):
u(z,y) =2* +2f(y) + 9(y):
w(@,y) =2y + f(z) + 9(y):

u(z,y) = f(r)e’ + g(z):

l’y2 3

u(z,y) = -t €+yf($) + g(z):

u(z,y) = 2> + 2 f(y) + g(y):

u(z,y) = fi(x)y + f2(x) + g1(y)z + g2(y):

u(z,y,2) = f(x,y) + g(x.2) + h(y, 2):

1
uz,y) = gey(r +y) +o+y*

1 1 1

u(x,y) = s2%y + sy’ — ~a*y? + fz) = £(0) + y*:

2 2 4
2(z,y) = 22 + 2%y +y* + 1t

y
Z:f(xQ—zﬁ) :

u=f(e™(y+2),3y+22)e™") :

F(e*(zsinx +ycosz),e ?*(ysinz — zcosz)) =0 :

—ry

z X Yy X

2=t [ a?)

F(y,z6_5> =0 YGud z=evf(y):
Fe = VEVE—y5) =0 Gl == i+ (V- i)

xY xY
U:f<y,_), U= —":
z z

194



61.

62.

63.

64.

65.

66.

67.

68.

69.
70.
71.

72.

73.
74.
75.
76.

77.

78.

iy 2 - %

O\ 1 4a2)’ 1+ x2
x
u:F<y,lnz——), u=Inz— —:
Y

22

F(z, 2% —y*z) = 0, Z:E:

F(g,%>20 Jud z:fo(g), z=xy:
T T

s
<hwybtppnuwi:
FHhyunwywb:
Mupwpnuyui:

<hwtppnuwi, Gtz >0, y <0 qud z <0, y > 0:
FHhyunwywi, tptiz >0, y >0 jud z < 0, y < 0:
Mupupnuwb, tpb 2 =0, y A0 qud z # 0, y = 0:

Elhyunwlwu:
Munpwpnuwus:
<hwbnpnujwa:

<hwtppnuwi, tph y < 0:
Mupwpnulw, btk y = 0:
Elhyunwywi, tpt y > 0:

<hwybtppnulwi, tph » < 0:
Nunpwpnulwub, tph 2z = 0:
Elhyunwlywi, et =z > 0:

Lhwtppnyulwub, et 22 + y? < 25:
Nupwpniuwi, tpt 22 + y? = 25:
Elhwunwlw, tph 22 + % > 25:
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79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

<hwytppnuwi, Gph 2 — y? > 0:
Nunwpnyulwi, bpt 2z — y? = 0:
Elhyunwlw, tpt 2 —¢? < 0:

<hwtppnuwi, b 22 + 4y% < 49:
Nupwpniww, tpt 22 + 4y* = 49:
Elhwwmwlwb, tpb 22 + 492 > 49:

Zhwbppnjulwub, tpt 22 + 3? < 36:
Mupwpniulub, bpb 22 + 3? = 36:
Elhwumwlw, tph 22 + % > 36:

<hwybtppnuwi, b 22 —y > 0:
Mupupnulwb, teh jtmp wumjuwinid k 22 — y = 0 wupwpnihb:
Elhyunwlw, tpt 22 —y < 0:

Zhwbtippnjulwb, tpt 22 + 49y < 64:
Munpwpnjuwi, bphb 22 + 49y = 64:
Elhyuwlw, Gt 22 + 49y% > 64:

Lhwtppnyulw, tpt 22 + 4 < 36:
Mupwpnjulwub, tpt 22 + y? = 36:
Elhyuwlw, Gt 22 + y? > 36:

Lhwtppnyulwui, tpt 22 + y? > 9:
Nupwupnyulwui, tpt 22 + ¢ = 9:
Ethwumwlw, tph 22 +9% < 9:

Elhwgumwlwt,  we +uy —8u=0, &=y—z, n=2ux:
Nupwpnjuwub, w,, + 18us + Ju, — 9u = 0, E=x+y, n=ua:
Jhwtppnjulwb, we, + ue — 2u, + & +n =0, E=2r—y, n=x+y:

Elhwgumwlwt,  wee + wy, + ue =0, E=x,n=3r+y:

1 1
Elhwguwlwly, uee + u,, + 150 — 4v6 u,, + §§ + %n =0, {=y—2z, n=+6x:

Elhygumwlwt,  wee + wyy — 2ue +uy —u+n—£ =0, §=2x—y, n=3ux:

Jhwtppnjulwb, we, + %u§ =0, E=x+4+y, n=3z—y:
Elhwgumwlwt,  wee + wy, + u, = 0, E=20—vy, n=u:
NMupwpnwwul, w,, + (o + 5)ue + fu, + cu =0, E=x+y n=uy:
Elhygumwlwt, we + u,, =0, &=y, n=arctgu:
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96. Mwpwpnuwud pninp Ytwmbnnid, pwugh (0,0) Ytwhg,
§
T e+

97. Lhwtppnjulub, we, =0, ¢ =ux+arctgy, n=x — arctgy:

ug—i-%unzo, £:y2—x2,n:x2:

98. Mwpwpnuwud pninp Ytwmbpnid, pwugh (0,0) Ytwnhg,
262 1 £y Y
urm"‘ﬁ“&‘i‘ﬁe— 5 5—;,77—1/.

99. Mwnpwpnyuywi, tpp = # 0,
2n? 1 ) )
unn+wug—5unzo, §=x"+y,n=x:
1
100. Mwpwpnjulwi, tpp 2 =0, y # 0, Juintwwh mbupp™ w,, + ;uy =0:

Mupwpnuwwi, tpp z #0, y =0, jwantwyjud mtupp”™ «,, = 0:
Elhwwmwlw, tpp 2 #0, y #0, Juinbwljwh mbupn

1 1
- o = 222 o 2,
u€5+unn+€_nug+2nun 0, =z -y, n=ua"
R 4
101. Mwpwpnuiwi, Gpp 2 =0, y #0, Juintwywub mbupp™ v, — 3 uy, = 0:
Nunwpnyuwi, tpp z # 0,y = 0, juintwjul mbtupp”
2
Ugpy — Eux+16x2u:0 :
<hwbtppnyuwb, tpp 2 #0, ¥y #0, Jubnbwlwbd mbupn’
1 1 3
Ugy + — Ue — = Uy +u = 0, =xy, n=—:
&n An 3 ¢ n 3 Y, n Y
102. <hwtppnyuub, we, =0, E=x+y—COSx, n=—x+y— COSx:
5 ) _ —
103. Mwupwpnyulwa, ne My = 0, E=eV—e" n=u:

Upyny — 1—1—5677“5_

104. Mupwpnuyui, tpp y =0, Juintwywd mtupp”™ «,, = 0:
<hwtppmuwi, tpp y # 0, Juinbwlwh mbupn
1 1
T R

105. Mwpwpnulwb, tpp z =0, Jubntwljwbh mtupn” w,, = 0:
<hwybtppnuwb, tpp 2z # 0, Juintwljud mbtupp’

1
Ugy — ue=0, E=a’+y n=y:
T

(ug +uy) =0, =y’ +e", n=y"—e":

106. Mwpwpnuyui, tpp » =0, Juintwjwub wmtupp’ v, = 0:
<hwtppnyuwi, tpp 2z > 0, Juwtntwlwd mbtupp’

1

U&n_m(ué_un)zov =y—v+2Vr, n=y—z-2/r:
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Elhwywmwlw, tpp 2 < 0, Juwtntwljwd mbtupp’
1

u§5+um,—5u,7:0, E=y—x, n=2y/—x:
107. Mwpwpnyulwb, tpp y =0, jwnbwlwd mtupn” «,, = 0:
Zhwbppnujwb, tpp y < 0, Juwintwljwuh mtupp®

2 2
(uf + u"?) - O, § = §<_y)3/2 +z, n= _(_y)3/2 — X

e Ge T 3

Elhyunwlw, tpp vy > 0, juintwlwuh mbtupn
1 2 3/
u&—l—unn—l—%uf:(), §:§y , N=2:

108. Mwpwpnyuwa, tpp z =0, Jubntwlwbh mbtupn” w,, = 0:
<hwbnpnyulwb, tpp z > 0, Juintwwh mbtupn

1 2 2
- =0 — _ 3/2 - _ 3/2 .
u5”+6(§+77) (ue + uy) , £ 3:1: +y,n Sx Y

Elhwwmwlw, tpp 2 < 0, Juwtntwlwd mbtupp’

1

3T (-2, n=y:

Wl N

0, £ =

Uge + Upy —

109. Mwpwpnuywui, tpp 2 = 0, vy # 0, Juinbwwb wbupp «,, = 0, b tpp
x#0, y =0, juintwljud mtupn" v,, = 0:
<hwbppnpuwa I IIT punnpnbtpnid (Epp 2y > 0), Juintwlwh mbupp’

1
Uge — Upn — E(ué —uy) =0,

I pwnnpnmd” € = /z, n = /y, Il punnpnmid” € = /=, n = /—y:
Elhyumwlywi I, IV punnpnitpnid (Gpp 2y < 0), jutntwjuwb mbtupn

1

Uge + Upy — E(W +un) = 0,

II punnpnmid™ € = =z, n = /y, IVpunnpnmu € = /z, n = /=y:
110. Mwpwpnuw, Gpp = = g+ k, k=0,+1,4+2,...:

<hwbnpnuw, Gpp = # g+ wk, k=0,%£1,42,..., julntwuljul mtupn

§—n (u
4—(E—ny) "

ufn+2 —u,) =0, £=y+cCcoSx+Sinz, n=y+CcoSzx —Ssinz:

111. Mupwpnuywb, tpp 2z = 0 jud y = 0, Jubnbwlwbd mbupn™ w,, = 0:
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112.

113.

Zhwbpnpnuwb, tppz >0, y<oltppz <0, y >0, Juinhwlwh mbupp’

o 5@ )

1

2
£=—2(-y)" + za",

2
E=2y""+ < (—2

2
€=2"" n= 2" tppr >0, y>0:£=2(—y)"” n=

3

3 (
Elhyunwlw, tppz >0, y >0l tpp 2 <0, y <0, Juwihnwljud mbupn’

3

Uge + Upy —

)72

’]’] = —2(_y)1/2 J— _.1-3/2

n

((26 = nue — (2n — §uy) =0,

3T tppz >0, y <O,

1 2 3
:2y/2—§(—a:) 2 tppr <0, y>0:

1 1 .
—Us + —u, =0,
T

(—z)?, tppz <0, y <0 :

Wl N

Munpwpnyuwi, tpp 2 = 0, ¥y # 0, Juinbwwh wmbupp™ v, = 0, L tpp
r#0, y =0, jwintwlwud wmbupp" v,, = 0:
Elhwywmwlw, tpp 2 # 0, v # 0, jubnbwljwd mbtupp’

Uge + Uy +

Mupwpnuwui, Gpp z
r# 0, y=0, jwintwlwd wmbupp" v,, = 0:
<hwbtppnuwb, Gpp 2 # 0, v # 0, jutntwljwd mbtupp’

1

1

1
st i =0 €=y’ =1

=0, vy # 0, jwnbwywd mbupn" u,., = 0, W tpp

- - =0 — a2 _ 2 — 2 2:
Ugy, 4(52_772)(?711&&%) , =y -t n=y +u

114. <hwytppnjuwd pninp jtmbpnid, Jubnbwlwbh mbupp

115.

116.

117.

32

Ugy +

Elhwwwlwt, we + u,y, + cos€ u, =0,

(UE - un) =0,

E=2rx+sSinz+y, n=2z—Sinzr —y:

E=x,n=y—COSx:

Mupwupnuwbt pninp Jtwmbtpnid, pugh (0,0) Ytwnhg,

<hwtinpnjuw, ue,

28

Uy — — ug =0, §=ysinz, n=y:

2

n?

n+¢

2

u, =0, {=xv+y+COSz, n=2x—y— COSx:
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118.

119.

120.

121.

122,

123.

124.

125.

126.

127.

Munpwpnjuwh pninp jtnbpnid, pugh (0,0) Yekmhg, juintwljud mbupnp®
28

Uy — €2 4 2

Munwpnjuwi, tpp z # 0, jubnbwwbh mbupn
1

1+ n2 (bue +nuy) =0, {=ychz, n=-sha:

X
ue =0, fzytg§, n=y:

Uy +

Mupwpnyulwb, bpb 2?2 + 4% = 1:
<hwytppnuwi, Gpb 22 + 42 > 1, Jjutntwljwd mtupp’

Y Vi +yr—1
Uge — Uy = 0, §=x_1,77= T —1 :

Elhwuwywd, bpt 22 4+ 4% < 1, Juintwwud mbtupp’

Y V1 —x2— 2
Uge t iy =0, L= = T

Snignid: PLunipwanphy (zy+ /22 + 32 —1)de + (1 —2?) dy = 0 hmjuwuwpnidp
htwmbtignpbni hwdwp dipdnidk) tnp (2, ¢) hnthnhuowwbtbpn” = 1-22, y = 2t
pwllwalitinny:

Mupupnulwb, tph 22 -2 =1
<hwbppnuw, tphb 22 — 2 <1, juinhwlwud mbupp’

0 ¢ Yy V1—2? 492
Uge — Uy = = = :
§ 7 Tm ’ :c—l—l’77 x+1

Elhwywmwlw, tph 22 — ¢ > 1, jutntwljwd mtupp’

Y Vvaz—y?—1
uge Fugy =0, £= T = T

Snignid: Stu 120 hutnhnp:

15
wee +wyy — 5w =0, £=2+y, n=1 w(&,m) = eI 2 (g n)

Wy —we =0, {=3r+y, n=nurx, U(fn)_e%g w(é,n) :

1 n
wey 5wt 5e =0, €=20+y, n=z, u(€n) = uw(En):
wgn—7w:0, £:2$—y7 n=x, U(§77]):6_€_6nw(§777)3

15£+-8n

W —2we =0, {=y—=z, n=y+z, wEn =e = w(mn):

wgn—w:O, fzx—y, n:I+y7 u(€777>:67§/2w(§777):
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128. wyy —w+&e"=0, {=y, n=2-3y, wn) =e"wn):

129' w§§ + w7777 —w= 07 f =2r — Yy, n=ux, U(’fﬂ?) = €§+nw(£7n) :

130. wee + wy, + ; w=0, &=5y—8x, n=4dx, u(n)=_e3w(&n):
131. ug; =0, &=y—2z, n=y, ulz,y) = fly —22) +9(y):

132, uey =0, E=x+y, n=3x+2y, ulzr,y) = flx+y)+ 98z +2y):
133. u(z,y) = f(r —y)+ 9Bz +y):

134. u(z,y) =e*"f(x+y)+ 93z +y):

135. u(z,y) = f2r+y) +g(x —3y) +x—y:

136. u(z,y) =e“ 2 f(y — 2z2) + gly — ) :

137. u(z,y) = (f(y — 3z) + g(3y — x) — %x (y — 32)(3y — a))e~""e
138. u(z,y) = 2% + L f(2) + gla + 2y) -

139. u(z,y) = e~ f(y — 22) + gly — 2) :

140. u(z,y) =zf(z+y)+g(z+y):

141. u(z,y) =e'f(x +y) + e Wg(x +y):

142. u(z,y) = f(y — az) + g(y — azx)e® :

143. u(z,y) = "2 ((2z + y)e™™V + f(2z + y) + g(dz + y)) :

144. u(z,y) = fy+ 2z +sinz) + e “ > " g(y — 27 + sinz)
145. u(z,y) = f(r +y —cosz) + g(x + cOSz —y) :

146. u(z,y) = f(Ve+y) +9(V2 =)

147. u(z,y) = flz+y)+ (z —y)g(z®> —y*), e < —y Qud z > —y:

148. u(e,y) = flo) + Tl o) o 20
3

149. u(z,y) = flay) + oy g(%) 0

150. u(x,y)zf(f) —l—xg(f), 2+ y? #£0:
Y Y
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151 ulr.9) = 209(0) + 00) + [lu — SO e

1
8nignid: Lrmbwlbny u, = v, junwbwbdp v = 57 Vs + Y, Vg + 22yv, =0
x

Y
152. (o) = ¢ (uf(o) + £+ [l = mgloe )
0
8nignid: Lrmbwybny v, + v = v, junmwbwdp
U= Uy + YV, VUgy + Uy +yvy +yv =10

153. u(z,y) = f(y) + g(z) e :

154. u(z.y) = (f(x) + gly) e

155. u(z,y) = (f(z) + g(y)) e+ + e**v .

156. u(z,y) = f(y) — () + | (x — ©)g(€)evds :

0
Snignid: Gywhwlbiny v, = v, junmwbwbp

U= TV — Vy, Uy — TV =0 :

Yy
157. u(z,y) = yf(z) + f'(z) + Of(y —n)g(n)e"dn :
8nignid: Lpwmbwlybny v, = v, junmwbwbdp v,, +yv, =0:

1 y
158. (o) = gy (00 + P10+ [t = mgtoe )

0

159. u(r,y) =1 +y—ay + o (f(.y) n fg@eﬂl—wdg) :
160. u(z,y) = PE(f(x) + g(y)) -

161. u(z,y) =yflay —z) + glay — ) :

—y) + gz +
162. u(x,y) = fle—y tolz+y) . 8nignid: Lrwtwlb v = zu :

X

+
163. u(x,y) = %@gj(y): Snignid: Lrwtwlb) v = (x — y)u :

164. <hwytppnulw:

165. Ejhywnwlwut:
166. <hwytppnulw:
167. Eihyunwlw:

1 1

168. uge +upy fue =0, {=z,n=—r+y (=r—gy+5z:
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169.

170.

171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

185.

186.

187.

188.

189.

Uge +Upy =0, =z, n=—-0+y, (=2x—y+z:

1 1

1
Uge — Uy + Uee + Uy =0, §:§x, n:§x+y, C:—éx—y—i—z:

Ugg — Upy +2ue =0, =4y, n=—c+y, (=y+z:

3 1 1
Uge = Uy —Uec =0, =z, n=—x+y, (=§x—§y+§z
3 9 1 1
u§5—|—um—u<g+3u§+§un—§uC:0, £=u, n:§(x—|—y+z), §:—§(3x+y—z):

Uge — Upy — Uee +2uy =0, E=a+y, n=—-ov+y, (=-r—y+2:

1 2 V6

Uge — Upy +Uge +u =0, §:y+za77:—y+za§:%$—%y+723
1 1 1 1
Upy + Uec —8u =0, §:x+§y+§z,n:—§(y+z),C:ﬁ(y—z):
u5§—unn+u<<—|—2u§—\/§u77+\/§u<+4u:0,
1 1
=z, n=— Br—vy), (=———=(x+y—4z2):
3 n 2ﬁ( y), ¢ 2V§( y —42)
5 1( ) 0 1 3 3

Uge + Uppy —OoU+ —=(E+1n) — 20 =0, =—, nN=—F—=r+ , (=x+2z:

Uge —Upy +4u =0, {=y+z,n=—-y—2z (=2—2:

Uge+2u=0, {=2,n=-20+y, (=—x+2:

Uge —2ue =0, {=z,n=-"2x+y, (=-3rv+=z:

Uge — Upy + U +2Uy +2us —3u =0, {=av+y, n=x—y, (=x—y+2:
Uge — Uy — U =0, =x+y, n=—a+y, (=x+y+=z:

3 1

Uge — Upy +Ucc + U — zuy =0, {=zx+y, n=—-c+y, (=

5 5 (—x+2y+2):

| G

Uge — Upy +Uee —2uy =0, E=a+y, n=—-cv+y (==z2:

Uge — Upy T U +Urr =0, =4y, n=—a0+y, (=2, 7T=y+z+1:
Uge — Uy +Uec =0, E=x, n=—v+y, (=2x—y+z T=x+z2+1:
uge +ugy =0, =z, n=y, (=—r—y+z T=r—y+t:

Uge — Upy + 2Uy +2uc +u=0, E=x+y n=—-r+y (=y+2,
u(£77]7<) :w(£7n7<)€n_g7 wfﬁ _wnn+2w4 :O:
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190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

201.

202.

203.

204.

205.

Uge — Uy + Gug —
u(€,n, Q) = w(&n, e B,

Ugg — Upy + Uee + Ue + Uy + ue +u =0,

8

u, —u =0,

3

E=x+2z, n=-3rv+2y+ z,
wgg—wnn+6w:0:

w(&,n,¢) = w(&,n,¢)e” P wee — wyy +wee + cw =0

4

Uge — Upy + Uce + U + 2uy +uc+u=0, =y, n=x+y,

w(€,n,¢) = w(&,n, e tPE2t0),

Uge — Uy + Ue + 2u, + uc + 1 =0,
U(f; 7, C) = w(ﬁ, 7, C)e—0725(5—477+7<)7

Weg

3

Uge — Upy — Uce + U +2upy tuc+u=0, =z, n=1x+y,

w(&,m,¢) = w(&,n, e tPE2=0),

u§5+unn+u¢<+u5+un+u¢+4u:0, E=r—y, n=y,

u(€,n, ) = w(§,n, ()e>E),

3

Weg — Wyy — Wee — ww =0

4

(==z

—wnn+wgg+§w20:

(=z

wgg—wnn—w@—i—Zw:O:

(=z

Uge + Upy + U Hug tuy tuctu=0, {=x+y, n=-y, (=

1

U(g, 7, C) = w(ga n, C)€_075(§+77+C)’ Wee + Wy -+ Wee +-w=0:

Uge + Uy + U¢e + 2u§ — 2un + 2UC = O,

4
E=x+y—=zn=

u(,n, Q) = w(&n, Qe ¢, wee + wyy + wee — 3w =10

U& + 2u5 + 2un —
u(€,m,¢) = w(&,mn, e s,

u(x,y) = 32% +

5 L
u(z,y) = ple+y) +ge <

Y

u¢ +u =0,

wi,

z+y T+y
2 5 1 z+2y
u(z,y) =l —=y* | +5 [ wn)dn:
3 2 2.3
T—3Y
.132
u(w,y) = = +Cos(x — 1 +¢) — Cos :
y—COSx ) y —COSz
u(z,y) = e*sh +sinz cos :
Yy — COSx

U(Z‘, y) — 26—(2x—y+cosx)/4 cos z sin

u(z,y) = §sin

3
— =SIn
2

5T +y

204

Y, C‘:

5255777:1"4‘2% C:—SC—FZ,
w§§—|—2wn—3wC:0:

I 66<p €)d¢ — Iieew ):

5295777:—$+23/a C:Z

=z, n=x+y, (=—-y+z,
Weg — Wy +we =0

)

2



206. u(z,y) =1—sin(y — x + cosz) + e¥T°S* sin(x + y + cOS ) :

207. u(z,y) =cos(y —x —Sinzx) :

1 5y s
208. u(z,y) = 2 e (2y +(@+y+ 3/4)6_(9“"3’)2 +(z—y— 3/4)6—(90—1/)2) .

1
209. u(z,t) = —coszsinat :

a
210. u(z,t) =2*+a*t* +t:
211. u(z,t) =x(1—1):

T t
212. u(x,t) = g—l- m:

t 1
213. u(z,t) =+ §+ 4—sin2atcosQ:c :
a

1 x
214. u(x,t) = —cos(z + at) + —sSinat cosz +tsinxz cosat :
a a

215. u(z,t) = sin(a — 2(z — at)) :

1 1
216. u(z,t) = g cos 4(x + at) + Esin(ix sin 6at :

1
217. u(x,t) = cos bz cos Sat + 3—6*35‘7 sh 3at :
a
218. u(x,t) = sinwz cos It + sin 3wz Sin 277t :

219. u(z,t) = (z + 2t)*:

1 1
220. u(x,t) = at + 3 ba?t? + ﬁbt4 +e*cht:

1
221. u(z,t) = 2? + xt + 42 + 691:153 :

artd )
222, u(z,t) =+ T+ sinzsint :

223. u(z,t) =at+ale" —1)+bsinxcost + ccoszsint :
224. u(z,t) =sinz:

225. u(z,t) =at+sin(z +t) — (1 —cht)e” :

1
226. u(z,t)=1+t+ 5(1 — Ccos 3t)sinz :
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227.

228.

229,

230.

233.

234.

235.

236.

237.

238.

239.

240.

241.

242.

243.

244.

245.

246.

247.

248.

249.

u(z,t) =

1 8 1
u(z,y,t) = (2% + ¢*)*(1 + 1) + 8a’(2* + ¢?) (1 + = t) + - a4t4(1 4= t) :

u(z,y,t) = cos(bx + cy) cos(atv/b? + ¢2) +

1

a2w2(1 — COS awt) Sinwz :
t1
u(z,t) = oo Fsmwt :

u(z,t) = z(t — sint) + sin(z +¢) :

at a

u(z,t) = — — sinbt + cos(z — t) :

b b

u(w,y,t) = 222 — y? + (222 + y?)t + 262 + 2> :

3 3 )

1
Wsin(hx + cy) sin(atv/b? + c2):
a c

u(x,y,t) =x +ty + 2

U(Qf,y, t) = $yt(1 + t2) + 513'2 — y2 :

1
u(z,y,t) = 3 t2(2® — 3zy?) + e* cosy + te¥ sinx :

u(x,y,t) =2 +t2 +tsiny

1 ) 3
w(x,y,t) =22+t + =26+ 2+ P) + 8+ — t*z +y) :

2 4

26 11
u(z,y,t) = e?’x*‘*y(—ch 5t — — + gsh 5t) :

25 25

1
u(z,y,t) = (22 + y* + 4a?)(e! — 1 —t) — 2a%t? (1 + 3 t) :

1
U(ZL‘, Y, t) = :Eyt - A :Eytg :

6

1 1 1
u(r,y,2,t) = zyz + 229222 + < (2P + 2222 + 22+ — (P + P+ 22+ 1T

3 15 105

u(xvyazvt) :5’52‘|‘?/2+Z2—|—3t2+$yt:
u(z,y, z,t) = e* cosy + t(z? — y?) :
u(x,y, z,t) = 22 + >+t + 2%

u(z,y, z,t) = e*cht +e*sht:

art® b3

u(z,y, z,t) = zyz + t(xy + 2) + — + —

2 6
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t3

t
250. u(z,y,z,t) =xzeVcht+ye*sht+ ayz (E +t— 5 In(1 +#%) — arctgt) :

251. u(z,y, z,t) = 2? +y* — 222 + t + t2wyz :

8 1 2
252. u(x,y, z,t) :y2+t22+8t2+§t3+ﬁt4x2+Etﬁ:

253. u(x,y,z,t) = 22y?2* +toyz + 32 (2 + v + 22+ 2%yt + 2?2+ )+

9 9
+3t4(x2+y2—|—z2)+§t4+5t6:

1
254. u(z,y,z,t) = (1+t)(2® + y? + 2%)? + 10a*t? (1 +3 t) (22 + 9y + 22) + a't' (5 + 1) :

255. u(z,y,z,t) = (22 +y* + 22 +6a*)(e! — 1 —t) — a*t*(3+ 1) :

0, r>0,0<t<

256. u(z,t) = t—2/a .
— d 0, t>—:

a Of v(s)ds, x>0,t> -

Snignid: Lnionmidp hhwmnph) u(z,t) = g(z — at) wmbupny:

SIS

)

4

1 t  xta(t—r) x
%I j f(z,7)dzdr, x>0, O<t<5,
0 z—a(t—7)
1 t—2/a a(t—T)—x  x+a(t—7)
257. u(w,t) = { o j ( f + j )f(z,T)dde—
0 0 0
1 t z+a(t—T) x
+% f f f(z,7)dzdr, x>0,t> .
L t—%/a x—a(t—T)
258. u(x,t) = v(z,t) + w(z,t), npubn v(z,¢)-0
Uy — a2 Uy =0, 0< 2 < 400, t>0,
u(0,¢) =0, t>0,
u(z,0) = p(x), w(x,0)=1(), 0<z<+o00
hbinnh nironida £
o(x+at) +@(x —at) 1 T
— ¢ 0<t<=,
5 2%_“1#(6) 3 <
v(x,t) =
oz +at) —plat —x) 1 “t* x
— e t> -
5 3 tj bOdE t> -
\ at—x
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hulj w(z,t)-0" 3.14 ophttwynid nLoéYywd pulinph:
259. u(x,t) = v(z,t) + w(z,t), npubn v(z,t)-0
Uy — AP Uy =0, 0<z< 400, t>0,

u(0,t) =0, t>0,
u(z,0) = p(x), u(z,0)=1v(z), 0<xr<+o00

hbinnh nronda £
( o(x+at) +o(xr—at) 17 T
5 + %x_jat WO o<t <,
o(z,t) = o(z + at) + p(at — x) |
2 I

1 z+at at—x T
*%( Oj (E)dE + Of w@)da) t> -

\

hulj w(zx,t)-0" 257 hulinnh:

260. u(x,t) =v(x,t) +w(z,t), npubn v(z,t)-0

Uy — a2 Uy =0, 0<z <400, t>0,
u(0,t) = p(t), t=0,
u(z,0) =0, w(x,0)=0, 0<z<+00

hutnnph nLonidh £

hul w(z,£)-&° 258 jutnnh:

261. u(z,t) = v(z,t) + w(z,t), nputin v(z,t)-0 256 puannh nLoNLUh k, huly w(z,)-0°
259 hutnnph:

0, 0<t < —,
262. u(z,t) = b=/ “
—a eh(z—at) j €ahSX(S)dS, t>

x
0 5 ‘
Snignid: Lnionmidp hbwmnptb) u(z,t) = g(z — at) wmbupny:
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™ aT
263. u(z,t) =sin 7 ©Cos 7t :

264. u(z,t) = O(z —at) + (z +at)

AZ, _£<Z<£7
3

<x</{ t>0, npnbn

O(z440) =d(z2):
A0 —2), €< z<3d,

Snignid: Uygqplwub’ Az $nibjghwbd pupnitiwyk) z = 0 yhmh tumdwdp
yktwm, hulj z = ¢ ykwmh aumdwdp’ gnyqg aliny:

™ aTm
265. u(z,t) = cos 7 cos Tt :
266 1 27a | 27
. U(Sﬁ,t) = % sin TtSIH 733' :
267 . 20 aﬁt s 5a7rt . om
cu(z,t) = Esmg smﬂaﬂrcosy sin 5 :

20 am T 20 3am 3

268. —sin — —r+ —sin — —
68. u(z,t) = msm%tsm%xjt?)ﬂsn 57 tSangl'—F
80 . (— aw(?k—l—l) o m(2k+1)
t :
WZZ 2k:+ o STy
269 . CL7Tt T l 5a7rt %
cu(z,t) = cos —- cos€x+ﬁsm7 oS - :

> am(2k + 1) 2k+ 1) 2k+ 1)
270. u(z,t) = Z <ak cos —— — 1+ by sine ) t) cos ——~u,

2 ! m(2k + 1) ; (2k +1)
ap = zb[go(x) CoSs dem, by = (Zk—l— Of xr)CO0S —————xdx :
ark ark 7rk:
271. u(x,t) = ap+ bot + ; (ak CcosS Tt + b, Sin Tt) COS — f
1 1
ao = ZOISO(x)d% bo = zoflb(fﬂ)d%
2¢ mk 4 ) 2 ¢ mk 4
ay = Zofgp(a:) cos —-wdr, by Ebﬁb(aj) cos —-zdz
8hi2 > 1 ar(2k —1)  7w(2k—1)

272. u(w,t) = —; > 1P cos ——tsin— —u:

8h(3 2 1 ar(2k —1)  w(2k—1)
273. u(wt) = — > Ty tsin— —u
k=1
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AL, (—1)k ar(2k+1) . w(2k+1)
274. u(z,t) = e COS 57 tsin TR

T2
k=0

e}

275. u(x,t) = > (ax COS art + by Sin akt) sin Ay,

k=1
1
|| sin Az |2

1
~ g sin Az

¢ ¢
a j o(x) sin A\gxdz, b j o(x) sin A\yzdz,
0 0

0 2 2
0(h2 + A2) + h
. 2 - 2 _ k
| sin \pz|? = Ofsm Apzdr = ST )

A PYEpn Atg M = —X hwjwuwpdwd npujud wpdwunbbnd Go:

2 & VR

276. u(x,t) = —a’;@kwh) 2
Ar pUYERD Atg A = —A hwjuwuwndwd npujut wupdwumttnt Ga:

sin a\;t sin \,x,

o0

277. u(z,t) = Z(ak COS at + by Sina,t) cos Az,
k=1

1
|| cos A\z||?

1
~ ari] cos )2

¢ ¢
ag j ¢(x) cos A\pxdr, bk f ©(x) cos A\pxdzx,
0 0

2 ( 2 ¢ h
|| cos A\pz|| :Ofcos )\ka:da::§ 1+€(h2—+)\%> ;

A RUYERND Atg A = h hwuwjwuwpdw b npujut wpdwunmbtnh Ga:

5 2h &, (—1)F /h2 + N2
78 (o) = D ra s e Tk
k=1 k( ( + k) + )

Ax PUYERD Atg M =4 hwjuwuwupdwd npujut wpdwunmbtnb Gu:

sin a\,t cOS Ay,

279. u(z,t) = > (a; COS alt + by SN akt) (A COS \pxr + hSin \z),
k=1
1 e

)

ap = Ak COS A\ + hsin \yx)p(x)dx,

1 ‘€
oIk f(Ak coS Az + h sin Az (z)dz,
0

by = ———

£ 2 2
[Bu@)P = [0 €08 Ay 1 hsin M) = ) T2
k()] = [ (A cOoS A\ + hSin \yz)“dx = 5 :

0

1/X h
Ax YLD ctg M = E(ﬁ - X) hwjwuwnpdwlh npujud wpdumbtnh Go:
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4h

280. u(z,t) Z < Nl (h2+ X7) + 20\,

COS aMt(A, COS Az + h SIn A\yx),

/X h
A RUYEND ctg M\ = 5(5 - X) hwjwuwnpdwb nprwujut wupdumbtnd Go:

281. u(z,t) Z ax COS agl + by Sin agt)(\p COS A\pz + hy Sin \,z),

k=1
1 Z
= ——— | (Ax COS A& + hy SIn \px)p(x)dx
ag ||q)k(37)||20f( k k 1 kL)P )
1 E
b = —f()\ COS Ay + hy SIn \gz)y(z)dx
ey T |
‘ 1 (A2 + hyho)(hy + ho)
Orn(2)||* = | (\xcos Ay + h Sin)\xzdx:—( i ),
28I = [ cos e+ husinnade = 5{ €+ iy
— hyhs
Ax YLD ctg M = R hwjwuwpdwl npujud wpdwnmbtnh Go:
1 2
anmn ™n
282. u(z,t) = Acos Ttsin AL
283 . 22 =21 crk aﬂkt mk
.u($’>77rc€—czk_ —C0s ——tsin—-z

Sh (=) am(2k+1) w2k +1) ‘
u(z,t) = — Z(2k+1) cos - —tsin————a, tpp c=

k=0

4lvy & 1 Car(2k+1) . w(2k+1)

284. t) = t :
84. u(x,t) = 2 (2k+1)231n 7 Sin 7 x
285 20vg L 1 ark prk\ | amk 7k
. uz,t) = MQ kz(COST—COS 7 >sm ; t31n7x.
ark  wkxg
8Aa & COSTSIH ¢ . ark 7wk
286. u(r,t) = — sin tsin —ux :
am? £ (200k)? l l
k(l— 62 )

287 A — baole 4020 2, (—1)k 7T/€t k
(o, ) = ba(l — ) + — ; 5 COs —-tsin—u:

A am ¢ ar .om
288. u(z,t) = —(et —COS —t + —Sln—t) sin—uz :

am\ 2 14 am 14 14
14 (7)
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289.

290.

291.

292,

293.

294.

295.

296.

1

R P

) 20 o oan(2k+ 1) Com(2k+1)
X(Slnt— ( Sin t> Sl ——o .
a

m(2k + 1) 20 20
20 2, 1 ! Cam(2k +1) o w2k +1)
u(z,t) = EH (Ojfk(g) sin T(t—g)dg) sin —— 1,
m(2k + 1
gff:pt ) sin (% )xdx, k=0,1,...:
. A a7rt 20 awt 0
u(z, )——2(6 —COS o +%smﬁ )cosﬂx

2 4 1t sin &
u(z,t) = —tsmts1nx+zm(cost—cos t)sinkx :
b 2bsh ¢ & ( ark 7wk
u(z,t) = a2( sh/¢—sh x) - Z k 0s - S tsin—a—
2brsh ¢ " k a7rk:t 7wk
— 2 —1) k2ﬁ2+gzcos gisin—w:
bx 8¢t (2k’+1) m(2k +1)

- _ -9 3 . o in—— 2.
u(z,t) 12(37 lx® + %) + Z 2k +1 7 tsin 7 x
u(g:,t):ﬂz_;x +a:v+q)o+1/10t+?t2+

= ¢ \? ¢ \? ark U . ark k

— | F O, —( — | F t —
+}; (mrk:) ”( ¢ (aﬂrk) ’“) COS 1t Lk S )COS rh

l l

1 (8 — a)a? 2 (8 — a)a? mk
FO—Z6[<f(:E)—I—T dz, Fk_ZB[ f(x)—kT COSTxdx,

T \” 20 S A 20 ¢

i 2 (

wozzoj@w(x)dx, @z»k—zojw(x)cos—mdm, k=12,

212



297.

298.

299.

300.

301.

302.

303.

304.

305.

306.

u(a,t) = w(x)+ Y (arCOS a,t + by Sinak,t)(\; COS Ay z + hsin A, z),

k=1
Lol Lff 1+h
w<x>=—§0j<ojf<§>dg)dy+ (ﬁ_auﬂj(njf(&)d&)dy) o
¢
O = h+€(h22 ) j(%D(QC) — w(z))(Ap COS Az + hSin A, x) dx,
k70

l
2 .
b, = P WIENTEESY)y Ofw(x)()\k COS \x x + hsin A\, x) dx,
A UGN Atg M = - hwjwuwpdwl npwujut wupdwnmbtnh Gu:
> W24 N2
u(z, 2; (h+€ Y Ofw(f) cos Akgdf) COS a\,t COS A\,

w(z) = — (jf df)dy+BT—a(€—x+ j<jf dg)dy+ jf )de,

nnuntin )\k pllhp.n. Atg M =h hwjuwuwupdwb rmuﬂluﬁl mpdwm&hpﬁ tLt:

o0

¢ L. .
u(z,t) = — Z e ( COS puit + % sin ukt> sin(2k + 1)mx
k=0

Mk:\/(2k+1)272—i3

z(l —x)
2

e 2
u(z,t) = sin2x cos 2t + Z(— =] (1 — coskt)sinkx :
k=1

u(z,t) = (1 — E)752 + 24 4 costsinat
s s

—1)* ) .
_ZkS( 1)k3t — 1+coskt—( k)BSmkt>s1nkx:

t . 8= (—1) 2k+1 . 2k+1
u(z,t) _x+t+008231n§—%kz:: 2+ 1)2 €cos — tsin 5 T
A
u(z,t) = ag etch? .
sh - “
a
Snignid: Lnidnidp thtwmnly w(z,t) = v(x,t) + w(x)e ™ mbupny:
( t)—t 1+C082 sin 2t :
u(z,t) = 5 1 o T :

Snignid: Lnidnidn thtwmnky w(z,t) = v(x,t) + w(x) sin 2t mbtupny:

t o~ (=D*20 . 7k . 7k
u(:z:,t):x —i—Z( ) £SIII7T—tSIIl7T—x:

0 (k) i i
u(z,t) =t+1+z(t® —t+1 +§: ( ki) (6<(_k713;+1 — 1) sinkt + (_(/ir)i%) sinrkx :
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307.

308.

3009.

310.

311.

312.

313.

314.

315.

316.

317.

318.

319.

320.

321.

322.

323.

8 — 1 ,
u(w,t) =—— > T cos(\/(2k + 1)272 + 4 t) sin(2k + D)7z :
k=0
t 8€_t§ ! 2k + 1)t + ——sin(2k + 1)t ) sin(2k + 1
u(z,t) = 2 (2k+1)3<cos( +1) +2k+1sm( + ))sm( + 1) :
> 1 2 2k+1 2k+1
=8> ———((-1F - i t :
u(z,t) = 8e 2 (2k+1)2<( ) 7r(2k+1)) Sin ——1cos — —u

— 1 _t L e . .
u(z,t) =t(1 —x) + Z 2e72 COS A\t + e sin A\t — 2 | sinrkz,

p (k)3 .
Ao = (k) — &
E=A/ (T 1
> 4t Tk . .7k mk\?
u($,t):(2—$)t—|—z(W—)\—iSIH)\kt) 811'1733, A = (7) —1:

ot | = 2(—1)FH 1, ok Tk 2
u(:v,t):7+Z%<t—)\—ksm)\kt)sm7x, e = <7> —1:
u(x,t) =2zt + (2" — e~ — 3te” ") cos z :

u(z,t) =3+ x(t +t*) + (5te' — 8e' + 4t + 8) sinx :

1 4 3
u(w,t) =zt +1)+ (g et — 0ot 4 5) cos g :
u(z,t) = xt + i— 16% + iGSt e *sin3z :
’ 10 6 15
u(z,t) =at+ (1 —e*—te")cos3u:

1 I
u(z,t) = ZCth_Z_l_ECOS2x:

1
u(z,t) = 9 sinz(ch3t—1)+sin3z (cht—1):

u(x,t) = xt + (2" —e*) e *sinz :

Via?t Via?t
() - *(am)

. 1q> x+/ E—lq) T 1@ xz—/
u, )_2_5 (\/4a2t>+ 20 (\/4a2t>_§ (\/4@%)'

1 x 1 x—/ 2 -,
u(x,t):§®(—) —§¢(—), nputin ®(z) :ﬁje Tdn=erfz:
0

u(z,t) =

| &
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324.

325.

326.

327.

328.

329.

330.

331.

332.

333.

334.

335.

336.

337.

338.

339.

340.

341.

342.

343.

344.

345.

(,1) ! e
u(z,t) = sin e a0+
v1+1

1,
u(x,t):1+et+§t :
u(z,t) =t +e'sinz:
u(z,t) = (1+t)e"cosz:
u(z,t) = chtsinx :

1 o2

u(x,t) =1—Ccost+ e~ 1+4t
(&%) V144t

u(x,t) =te' + cosz:
u(z,t) =e* —e' + e ? cosux :

1,5 .
u(z,t) = e + §t2 sinu :

(v,t) = U exp (o BN
W = A g P\ T T a2 )

u(z,y,t) = 240t (z + y) + 40t (x + y)* + (z + y)° :

. 1 Ty _t(a:2+1;22)
u(z,y,t) = COS e 20+t
(:9%) V142 1+1¢2

u(z,y,t) =€ —1—e*coszsiny:

1
u(z,y,t) =1+ R sinzsiny (2sint — cost + e ) :

" int xry _a?4y?
= Sin —_— IR
U(Z‘,y, ) + (1+4t>3 e
( t) t 1 _(a—y)?
ulx,y, = —+4 e T+t -
Y 8 1+t
u(x,y, z,t) = 60t 4 20t (2* + y* + 2%) + (2° + y* + 2°)*:

u(z,y, z,t) = (2t + 22)(2t + y?)(2t + 2?) :

u(w,y, 2,t) = oy (6t + %) (6t + ) (6t + 27) :
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346. u(x,y,z,t) = 1212 + 3?22 + 22 (y? + 22) + 4t (2® + y? + 2?) :

347. u(z,y,z,t) =23+ + 22 +6t(x +y + 2) :

sin t(x? + 92
348. u(r,y, 2, 1) — ——— w ety >> ;

COS ex -t —
1+ 42 1+ 4¢2 p( 1+ 4¢2

1
349. u(z,y,z,t) = 1€08 (e — 1+ 2t) + cosycosze .

350. u(z,y,z,t)=e —1+sin(zx —y —z) e :

1 . COs2y -
351. u(xvyazvt)zz<1_e )“‘ ,—1+t exp _t_l_—&—t :
352. u(z,y,z,t) = lcos(x —y+2)(1—e3)+ L @—(wfffz?z -
B / T+ 12

o0

353. u(z,1) = 2a\/_ j(e e “ii%f)gp(g)dg;

e R e g2
354. u(z,t) = 2o j (e 12 — e da%t )gp({)df:
0

8nignid: Lnidnidp hbwmnphg u(x,t) = e "o(z,t) mbupny:

e R/ e wee?
355. u(z,t) = 2o f (e 1%t 4 e da%t )gp(ﬁ)dﬁ:
0

356. u(z,t) ! f T ! ( (1(5)2) - (Zfﬂ))f(g )déd
. ulx, = e 4aZ(t—r e 4aZ(t—r T -
2a+/T . N

)2

1 Lo (@—6)2 (e+¢
357. u(x,t) = f j (e 102(t-7) 4 ¢ 1aZ(t— n)f(g, T)d&dT -
0

2a+/T d Vit—T
358 1 00 o—h(t—7) 74(12?57)2) 74(?(_57)2) e
cu(z,t) = 2@\/_ f m(e —e )f(ﬁ,T)ﬁT
8nigniu: LannuIn hiwmpbiny u(z,t) = e "v(z,t) mbupny hulinhnpn Yptpyh
349 hutnnhb:
359 t oo 7h(t7‘r) 4(22(75)2) 4(%5)2) e
cu(z,t) = 2a\/_j j\/_T<e +e )f(f,T)ﬁT.
360. u(x,t) = v(z,t) +w(x,t), npumtn v(z,t)-0 347 ppunph nLondh k, huly w(z, t)-o
351 hutnnph:
361. u(x,t) =v(z,t) +w(z,t), npnbtn v(z,¢)-0 348 hulnnph nLondh k, hul w(z, ¢)-0°
352 hutnnph:
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1 _(==8)? h _w-n? _ wrm)?
362. u(z,y,t) = (a/ri)? fe fat f(e s —e ek )@(faﬁ)dﬁdfi
—o0 0

363.
1 T _ee2w-n? f _G-0? (z+0)?
w(x,y, z,t) = ———— e a2 e da2t — e dat ,n, C)dCdnd¢ :
(2,9, 2,1) (Mﬁ)g{o{o f( )w(&n()énf
364.
1 T _w-e? @to2\ [ _w=n?
u(x, 7,37)5 = € 42t + e 4a2t e 4a%t X
020 = Gty f( )L
x zZ— 2 z 2
[ (5 - e S Yot odcanas
0
365 s n27r2a2t 2 ;
u(x,t) = ape” 2 Sln Qp = — ) sin —dx
=2 0
dug o= 1 s (2k+ D)7
366. t)=— 2 —
WA N (DR w2e2e2
367. u(e,t) = = 3o ]z e sin =
k=1
1602 1 _eEe?2a? (2% 4 D)7
. = n——m—————:
368. u(z,1) = — ;(%H) e~ 2 si ;
00 ¢
2k+1)2724%¢ | 2k 1 2 . 2k 1
369. u(z,t) = ;ake( T sm% ap = Zofnp(x) sin (—g%dx
9 4
Qa, n271'2a2t 2
370. u(z,t) = EO—I— 2 a,e”  #  COS #, Ay = Zofcp(x) COS #dw :

371. u(x,t)=U":

B \/h2+)\k —a2\2t
372. u(x,t) 2UZ o hZHQHh)e
Ar PYENNn htg M= -\ huwjwuwupdwl npujut wpdwunmbtnh Ga:

(A, COS \pz + hsin \,x),

373. u(w,t) =Y ae (A COS \yw + hsin \x),
k=1

npnbtn a, =

2U <h h? 4+ A}

n in A0
R 1 2h\w 2 o ’“)

1/X h
Ar PUYLRD ctg M = §(ﬁ - X) hwjwuwnpdwlh npuud wpdwunmbdtnh Go:
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U (D)F e - (2k+ )ma

374. U(:L’,t) = P — m@ ¢ Sin 7
> — k 2k+1)272¢
375. u(r,t) = 2y TN eyt @R D
™ =0 (2k+1) 2

ey +/3)t
376. u(z,t)=ec ( ‘ sin —z :

ad - | = +B>t
377. u(z,t) =) are <( ‘ ) COS k%x

. (2k+1)2 72

4 1 —( 2 +1)t . (2k+1

378. u(x,t) = —Z e ‘ sin 2k + Dz kz Jr :
™

379. u(z,t) = 2hUZ W e~ (@O (N, cos Ay + hsin \yz),

((h? + A2 )+ h)
Ar RUYENRD A ctg M =X hwjwuwunpdwb npujut wupdumttpt ta:
LW 2NNy g B
380. u(z.t) = +T+7T;k(( DU — T)e™ sin =z
= _eeieat (2K + 1)
381. u(z,t) = w(z) + kzo age” i@ sinso e
1 Tz Y l
w(e) = —— [ [ J©dgdy+ = [ [()dE + qa,
00 0
0
2 (2k + 1)mx
a =7 f (o) — w(a)) e
_ (A—q)€_4€(A—q S sttt (2K + 1)mr
382. u(z,t) =qr+ 5 — ZO % n 1) oS ————
383. u(z,t) ;2 (1 - e—(ﬁ+<‘7>2)t> sin "

aA . 2(T (=DFAa®\ _ ., .
384. t)= ———e'sin= + = — 4 ——— |e *“i'sin
u(z,t) cos//a ‘ PR Z (wk Tz a’w? ‘ kL

(2k + 1)m
=" =0,1,...:
Wk 2/ ) k7£ 077

Snignid: Lm_bnuin mﬁmphl uw(z,t) = f(x)e ' +v(x,t) mbupny:
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a’A , A Al a*T T r
. S (i S BNt G I B
385. u(z,t) %t <2€:c T + 3 / )t—l—%x 6—|—
26 =1 _ a2k2x2 kmx
o > E (A€2 — (AP + (-D)fTa®kPr?)e” 2 t) COs == :
k=1
386. A 10/ Ou 1 d%u
' u_?a(r_r) r? g2
387, A 10/ Ou 1 *u  O%u
) U_FE(TE) 2 9p2 | 022
388. A 1 0/ du 1 o/ eau 1 0%u
. u——25<7" E)—Fm%(sm %)—Fma—(ﬁ
389. k=-3
390. k= -2
391. k= £2i, wyn nbwypnid chkz, = cos 2z, :
392. k=43:
393. u=a2y} -3y +cixr+toey:
3
394.u:§—xy2—2my+cly+c2:
395. u=(¢;CcoSx+cpSinx) e¥ :

396.

397.

398.

399.

400.

401.

402.

403.

404.

405.

406.

u = (¢ COS 2y + ¢ Sin 2y) €% :
Qwnunihy k:
Swnunthl k:
Qwnunthl E:
Qwnunthy k:
Swupunbhl sk:
Swnunthl k:
Qwupunbhl ;k:
Qwnunthy k:
Swupunbhl k:
Swupun@hl sk:
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407.

408.

409.

410.

411.

412.

413.

415.

416.

417.

418.

419.

420.

421.

422.

423.

424.

425.

426.

427.

Uwpuhunith Jhwmtnh to (1/\/§, 1/\/§>, (— 1/v/2, —1/\/§>, Upaz = 1/2
Uhthunidh yhntpd G4 (— 1/v/2, 1/\/5), (1/\/5, —1/\/5), Upin = —1/2 -

Uwpuhunivh Yhmbnh G (-2,0), (2,0), U = 4:
Uhthuinidh yhwmtnh &4 (0, -3), (0,3), Umin = —9:

Qnidwnnp qnpn k:

0
T —4
16
Gnlypnpnn:
Ng:
1 72
u(r, @) = 5+ 5 cos 20 :
r 7\ °
u(r, ) = Ecosw + (}—%) COSb5yp :
3 r rt
u(r,p) = gt 500529@ + §COS4¢ :
3r rd
u(r, @) = - Siny — Zsm&p :
1 72
U(T’, (p) = 5— Q—RQCOSQQO :
7,2 7,4 7,6
= —sin?2 —sin4 ——Ssin6y :
u(r, p) = g SIN2p + oo sindy + oo sin by
7,4 ?,.12
= —CO0S4p — CoS 12y :
u(r, ¢) = 35€084p — o7 v

u(r, p) = 5r(cos ¢ +r* cosbyp) :

272 > 1 /r\F
’U/(T,QO):T—ZLZ:E(E) COS]{ZQOI
k=1

u(r,y) =+ 2y :
u(z,y) = o* —y?> + 2y + 4:

u(x,y) = y® — 3x%y + 48:

(¢* —y*) —

u(z,y) =

N W
N —
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428.

429.

430.

431.

432.
433.

434.

435.
436.
437.
438.

439.

440.

441.

442.

443.

444.

445.

446.

u(r,y) = 1—0(3/2 — x?) +5xy+§:

w(z,y) =2 —y*—x—y+36:

x2—|—y2—1
1
u(z,y) = g(x3+:py2 —4x) -
1 2
u(z,y) = 5(9—3: )
u(z,y) =2* +y*> — 15

u(z,y) = 23 — 322 — 3xy? + 3y + 122 — 1 :

u(z,y) = - (2* —y*) —x+ 2y

N —

u(z,y) =y*— 2% — 3w :
w(z,y) = (x+y)?+2zx+1:

u(z,y) =3y(z +1)* + 3y* — 2y :

R*(az + by)
u(z,y) = W—F c:
16(2? — ?)
u(r,y) = Wi
8(x% — y?)
u(x,y) = m—i— 3:
8(x? — y? + 2xy)
1 2?2 — 9 r+y
u(w,y) = 5 22 1 g2)? + 21 :
16(:172 — y2) 4(x —y)
U($7y>: (I2+y2)2 - 1‘2—|—y2 +4
R R(Q)
U(T’,QO) = m(r — T) COSQO .
0
1 T
U(T’,(,O):A §+R4—Ré(r2 ﬁ
ln—0



447.

448.

449.

450.

451.

452.

453.

454.

455.

456.

457.

458.

459.

460.

qR? R? TR? ) RN .
u(r, ) = Q + W(r— 7) COS p + R§+R4<T + ﬁ) Sin 2y :
R r R
1+hR1n? (1—hR)}—%+(1+hR)?
S :
u(r, ) R+RORUR2+R§+hR(R2—R§)COS¢
1+hRIn —
Ry
u(z,y) = const, tipp A =0: Gpp A # 0, ninhpp Ghpw ¢F nnywo:

R

R R
u(z,y) = 5(:}:2 —y?) + const, tinp A = 5 Gnp A # 3 htinhpn 6hpw oF npyuod:

u(z,y) = Rry + const

AR AR? AR?
u(x,y) = —T(LL’2 —y?) + const, tinp B = : Gnp B # 5

o
nnpyuo:

, uinhpp &hpw sk

AR
u(z,y) = T(:ﬁ —y*) + Ry + const, tinp B = A: Gnp B # A, ntnhnpn Ghpw ok

npyuwo:

R’ R? R?
u(r,y) = 474(562 —y?)+const, tpp 4 = 7 bnp A # —-, Juinhnp 6how ¢t npywo:
R’ AR? R? R?

u(z,y) = ;5 (y* —#%) — —5-y + const, tnp B = — &np B # —-, lutinhpp 6how
£ npywis:

AR® R’ AR? AR?
u(z,y) = (" = y?) — —pwy +const, tpp B = ——: bpp B # ——, ulnhnp
Ghpw sk nnyuwo:
(1+A)R° R? R?
u(z,y) = T(y2 —2%) + const, tipp B = (A — 1)7: Gnp B # (A - 1)7,
hutinhpp 6hpw (£ npyuwd:
AU & 72k +1)a\ '  7Rk+1)(a—2z) | 7(2k+1)y
u(z,y) = — kz_o ((2k +1)sh T) S 7 -sin 7 :
aB —2A
u(z,y) = ( % kl + A—
4aB 2k +1)b\ ! 2k +1 2k +1
_a_2 ((2k+ 1)*sh u) cos il )z sh il )y:
m a a a
k=0
8Ba? =, (—1)kr2(2k +1)?2 -2 2k +1 2k +1
w(.y) = j 3 (=1)"m=( ) sh( )Wycos( )m:
T (2k + 1)7b 2a 2a
(2k +1)3ch —
a
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461.

462.

463.

464.

465.

466.

467.

468.

469.

2a b\ ~t /22U
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Pe3omMme
Oranucsu 3orpa6 barpaTtoBuyu

YPABHEHUSA MATEMATUYECKOM ®U3UKU
3afjayu U pelleHus

HacTosiee mocobue mpencTaBisieT CO00M M3JI0KEHWEe OCHOBHBIX METOIIOB
pellleHrsT HEKOTOPHIX KJIaCCOB 3afad I10 ypaBHEHUSIM MaTeMaTU4YeCKOU (PU3UKH.
I719 o6JieryeHus MOb30BaHUSA KHUTOU CTyOeHTaMU, B TEKCT BKJIIOUEHO KpaTKoe
U3JI0KEeHNEe OCHOBHBIX TEOPETUUYECKUX CBEIEHUN.

Kaxawiii pa3gen COCTOUT U3 pPelleHu IPUMEPOB TUIOBHIX 3a7ad, a B KOHIIE
pa3fera IpuBedeHbl 3aayuy [JI1 CAaMOCTOSTEJIbHOU U ayIUTOPHOU paboTHI, a Tak
XKe OTBETHI K HUM.

COopHMK paccuMTaH [OJIs1 CTYOeHTOB U IIpemogaBaTtesiel (QakymabTeTa
nHpopMaTUKU ¥ NpUKiIagHou mateMaTuku EI'Y, a TakXke Ojsa Opyrux QU3UKO-
MaTeMaTHU4YeCKUX U TEXHUYECKUX (PaKyIbTETOB.

Summary
Zohrab B. Hovhannisyan

EQUATIONS OF MATHEMATICAL PHYSICS
Problems and solutions

This manual presents basic methods for solving certain classes of mathemati-
cal physics equation problems. To make the book easier for students to use, the
text includes a brief summary of the main theoretical facts.

Each section includes solutions to examples of typical problems, and at the
end of the section there are tasks for independent and in-class work, as well as
answers to them.

The book is intended for students and teachers of the Faculty of Informatics
and Applied Mathematics of Yerevan State University. Specialists from other
mathematical and engineering faculties can also use it.
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